Nursing Facility Payment Method Recommendations Report

Prepared for:

Florida Agency for Health Care Administration

December 29, 2016

navigant.com/healthcare





Table of Contents

1	Intr	oduction	1
2	Bac	kground	3
	2.1	Unit of Payment	3
	2.2	Prospective Payment Method	3
	2.3	Process	4
3	Gui	ding Principles	5
4	Cur	rent Payment Method	7
	4.1	Background	7
	4.2	Per Diem Components	8
	4.3	Reimbursement Ceilings	8
	4.4	Reimbursement Targets	9
	4.5	Other Reimbursement Limitations	9
	4.6	Per Diem Paid	9
	4.7	Rate Adjustments	10
	4.8	Property Component	10
	4.9	Nursing Facility Quality Assessment	11
	4.10	Supplemental Payment for Medically Fragile Children	11
	4.11	Statutory Unit Cost Per Diem Cap	11
5	Sco	ppe of Nursing Facility Prospective Payment System	12
	5.1	Discussion	12
	5.2	Recommendation	12
6	Acu	uity Adjustment to Payment	13
	6.1	Discussion	13
	6.2	Recommendation	14
7	Per	Diem Rates	16
	7.1	Facility Specific or Average	16
	7.1.	1 Discussion	16
	7.1.2	2 Recommendation	17
	7.1.3	3 Other Options	18
	7.2	Peer Grouping	
	7.2.	1 Discussion	19
	7.2.2	2 Recommendation	19
	7.2.3	3 More Detailed Geographic Grouping	21



7.3	Per Diem Components	24
7.3.1	Discussion	24
7.3.2	Recommendation	24
7.4	Budget Neutrality	24
7.4.1	Discussion	24
7.4.2	Recommendation	25
7.5	Percentage of Median Value	25
7.5.1	Discussion	25
7.5.2	Recommendation	26
7.6	Per Diem Floor	26
7.6.1	Discussion	26
7.6.2	Recommendation	27
7.7	Costs Mapped to Direct, Indirect and Operations Per Diem Components	28
7.7.1	Discussion	28
7.7.2	Recommendation	28
7.8	Property Per Diem Component	29
7.8.1	Fair Rental Value System Method	29
7.8.2	Fair Rental Value System Parameters	31
7.8.3	Renovation Adjustments	34
7.9	Pass Through Payments	35
7.9.1	Discussion	35
7.9.2	Recommendation	35
	Provider Quality Assessment	
7.10.	1 Discussion	35
7.10.	2 Recommendation	36
7.11	Specific Service Add-On Payments	36
7.11.	1 Discussion	36
	2 Recommendation	
	Budget Neutrality Factors	
7.12.	1 Discussion	37
	2 Recommendation	
	Statutory Unit Cost Per Diem Cap	
	1 Discussion	
	2 Recommendation	
8 Qual	lity Incentive Program	39
8 1	Introduction	30



8.2 Discussion	39						
8.2.1 Size of the Quality Incentive Program	39						
8.2.2 Process Followed to Develop the Quality Model	40						
8.2.3 Framework	40						
8.2.4 Data Sources	41						
8.3 Recommendation	41						
8.3.1 Size of the Quality Incentive Payment Program	41						
8.3.2 NPPS Quality Incentive Model	42						
8.3.3 Calculation of Quality Scores	44						
8.3.4 Calculation of Quality Incentive Program Payments	45						
8.3.5 Data Sources	46						
8.4 Rationale for Inclusion of Individual Measures	46						
8.4.1 Process Measures	46						
8.4.2 Outcome Measures	47						
8.4.3 Structural Measures							
9 Additional Implementation Items	55						
9.1 Transition Period Discussion							
9.1.1 Discussion							
9.1.2 Recommendation							
9.2 Rate Setting Timing and Frequency							
9.2.1 Discussion							
9.2.2 Recommendation							
9.3 Hospice Provider Rates							
9.3.1 Discussion							
9.3.2 Recommendation							
10 Conclusion							
11 Appendix A – Summary of Recommendations							
12 Appendix B – Glossary of Acronyms							
13 Appendix C – Data Used in Modelling							
13.1 Facility Cost and Medicaid Reimbursement Data							
13.2 MDS Data							
14 Appendix D – Listing of Meetings with Industry Stakeholders67							
I5 Appendix E – Adjusted Facility Age68							
6 Appendix F – Quality Scores by Facility87							
7 Appendix G – Quality Per Diem Add-On Calculation							



18	Appendix H –	Final Pricing	Model –	Results by Facility	



1 Introduction

In Florida's fiscal year 2016/17 General Appropriations Act (GAA), the Florida Legislature prescribed exploration of a prospective payment system for Medicaid nursing facility reimbursement, permitting the study with the specific language below:

"...the Agency for Health Care Administration to contract with an independent consultant to develop a plan to convert Medicaid payments for nursing facility services from a cost-based reimbursement methodology to a prospective payment system. The study shall identify steps necessary for the transition to be completed in a budget neutral manner."

The legislation directs that the study be completed and submitted to the Governor, the President of the Senate, and the Speaker of the House of Representatives no later than January 1, 2017. The Legislative request also includes a review of hospice rates, which are currently derived from nursing facility rates. The Florida Agency for Health Care Administration (AHCA) has contracted with Navigant Consulting to complete this study. This document is intended to fulfill this Legislative requirement.

The language in the 2016/17 GAA specifically requests consideration of a prospective payment system that is not cost-based. The instructions also indicate that the new prospective payment method should be designed in a budget neutral manner in aggregate for the entire Medicaid nursing facility program. In this report, we outline the design of a new nursing facility payment method that is both prospective and budget neutral. The design takes into consideration the impact of Medicaid reimbursement on nursing facilities and the unique circumstances for the nursing facility industry in Florida – most notably, the relatively high minimum staffing requirements. The payment method design also takes into consideration the goals of AHCA and feedback from the Florida nursing facility industry. AHCA's goals for this new payment method were communicated via five meetings between Navigant and AHCA's internal "Nursing home Prospective Payment System (NPPS) Governance Committee" which comprises all affected members of AHCA's management team. Feedback from the Florida nursing facility industry was garnered over a six month period through six formal public meetings and from numerous less formal meetings with individual stakeholders.

The proposed new method described in this document balances financial incentives for high quality care with incentives for efficiency. The payment method also attempts to provide fair and equitable payments for similar services. More specifically, the new payment method contains the following components:

- Standardized rates, some with pricing floors, for Direct Care, Indirect Care, and Operations components of per diems. This will reward facilities that operate and provide care most efficiently.
- o Facility peer groupings, which account for higher costs in South Florida
- A Quality Incentive Program, which uses quality metrics to increase reimbursement to high performing facilities. Facilities with, for example, low infection rates, high star ratings, Gold Seal status, and/or external industry quality accreditation can earn higher rates. The new system projects to provide approximately \$10 million in additional reimbursement to four star, five star, and



Gold Seal facilities in the first year of implementation, given the quality scores we have modelled to date.

- A fair rental value property component, which pays a reasonable amount to providers for well-maintained and updated facilities.
- o A transition period that allows facilities to adjust to the new incentive structure.
- No case mix adjustment
- o Additional payments for specific high cost services to promote access to care

With these components, all providers have the opportunity to earn higher rates through demonstration of high quality and/or increased efficiency.

The current payment method, which utilizes cost-based facility-specific rates, could fulfill these goals of efficiency and quality if all nursing facilities shared the same priorities. However, it is not clear that these priorities are always aligned as we did not find perfect alignment between facility cost and quality of care. As a result, our recommended new payment method generates changes in Medicaid reimbursement which are significant for some facilities.

We found it challenging to gain strong consensus on the new payment method from the Florida nursing home industry, which was expected considering that the starting point was today's facility-specific and cost-based model. Unfortunately, various stakeholder groups within the industry had strongly differing opinions regarding appropriate design of the Medicaid payment method. Most design options considered were pleasing to some in the industry while displeasing to others. It was our goal to select a set of options that we felt were an appropriate compromise between various stakeholder requests while maintaining consistency with the guiding principles established for this project, promoting value for Florida Medicaid and maintaining budget neutrality.

In this document, we offer a discussion and a recommendation for each payment design consideration. Generally, the discussion includes descriptions of various options considered, many of which were suggested by industry stakeholders. The recommendations offer an explanation of why we selected each particular option. We also provide a comparison of current Medicaid reimbursement with the projected Medicaid reimbursement under this new payment method, summarized by facility, in Appendix H – Final Pricing Model – Results by Facility.



2 Background

2.1 Unit of Payment

The unit of payment under the proposed new prospective payment system is a per diem as is the case in the current payment method. This unit of payment is typical for nursing facility reimbursement, and is used across most states' Medicaid programs and the Medicare program. In general, we believe a per diem method is a reasonable way to tie reimbursement to resource utilization for nursing facility care. However, unlike the current per diems which are primarily cost-based and are calculated separately for each nursing facility, the new per diems are more standardized and are generally based on average cost for facilities within a peer group. Further, the facility peer groups are defined to reflect appropriate and measurable differences in provider costs.

2.2 Prospective Payment Method

A prospective payment system is a reimbursement system in which rates are determined in advance of payment and considered final upon payment. In contrast, AHCA uses a payment method for nursing facility reimbursement that contains facility-specific cost-based rates and is generally retrospective. AHCA's current payment method includes determination of facilityspecific rates based on unaudited, historical cost reports submitted prior to services being rendered. These rates are then adjusted post-payment for some facilities each year based on audited cost reports¹. The cost report audit and rate adjustment processes can take several years for full reconciliation and finalization of payment. This payment method has been in place for several decades with minimal updates, and has a number of identifiable detractors.

- For providers, the length of time required to finalize payment can pose hardship on those years in which their rates are adjusted post-payment. This is especially problematic when overpayment has been identified, which requires the provider to remit funds back to AHCA. Additionally, the cost report auditing process is administratively burdensome for both providers and AHCA staff.
- For the State, the current cost audit and rate adjustment process is also highly burdensome. Additionally, this cost-based method aligns poorly with the prospective reimbursement system of Managed Long-Term Care, which is now implemented statewide, and includes nursing facilities as a critical provider of long-term care services.
- For the State, retrospective review inhibits predictability, a feature that offers challenges when analyzing and finalizing the proposed State Medicaid budget. Medicaid expenditures in long-term care continue to grow for all States, including Florida, thus posing a challenge to lawmakers who are responsible for managing a wide spectrum of state programs. The ability to maximize budget predictability using a prospective

significant and unanticipated change in their cost structure. In total, AHCA audits cost reports for approximately 20% of the Florida nursing facilities each year.

¹ A variety of criteria exist to determine which nursing facilities receive cost report audits and/or retroactive rate adjustments each year. Most are selected through a rotating schedule that has a general goal of auditing each nursing facility's annual cost report about once every five (5) years. Others are selected because of change of ownership for which rates were set based on budgeted (estimated) costs, or because a nursing facility reports a



payment system is beneficial to both AHCA and the Florida Executive and Legislative branches.

• For the State, the current method generates relatively little incentive for nursing facilities to reduce rates of increases in provider costs. In addition, the facility-specific rates may result in significantly different payment amounts to facilities providing similar services. And while we understand that in many cases, the providers receiving higher rates today also provide better, if not exceptional quality nursing care, the current system is not designed to either measure or reflect these differences in quality. In other words, today's facility-specific methodology pays more to providers incurring higher costs than those with lower costs, without consideration of relative differences in the quality of care provided.

A fully prospective payment system will eliminate the need for retroactive rate adjustments, allowing nursing facilities and AHCA to record final reimbursement amounts in a more expedient manner. In addition, a payment method in which rates are more uniform across facilities will provide more incentives for nursing facilities to control costs. At the same time, we understand that uniformity of rates should not compromise the model's ability to pay more to providers who offer higher quality of care.

2.3 Process

Development of this report began in May of 2016 and was completed in December of 2016. During this timeframe, AHCA conducted a very open and collaborative process in which the Agency worked with Navigant Consulting and Florida nursing facility stakeholders to receive input and develop ideas for the new payment method. AHCA also convened an "NPPS Governance Committee" comprised of members of the AHCA's leadership team to review pricing models, consider industry input, and discuss alternatives. Five formal meetings were held with the NPPS Governance Committee along with six formal public meetings soliciting feedback from the industry. Numerous meetings with individual stakeholders were also conducted. A list of meetings between AHCA, Navigant, and industry stakeholders is documented in Appendix D – Listing of Meetings with Industry Stakeholders.



3 **Guiding Principles**

Developing a Medicaid payment method requires balancing a variety of trade-offs and competing priorities. Payment methods have an impact on nursing facility residents, staff, medical providers, taxpayers, Medicaid managed care organizations, and program administrators, each with their own perspective on what makes a payment method successful. To balance the priorities of these different stakeholders, guiding principles were established that describe the goals of the payment method and offer a structure against which various system design options can be evaluated. These principles were openly shared with stakeholders, and served as an anchor for considering input across the spectrum of stakeholders.

The guiding principles are driven, where appropriate, by Federal guidelines established for state Medicaid program rate setting. The Federal requirements that apply to the methods states employ to pay for Medicaid services are described in U.S.C. § 1396a (a)(30)(A). These requirements specify that a state plan for Medical Assistance [Medicaid] "provide such methods and procedures relating to the utilization of, and the payment for, care and services available under the plan as may be necessary to safeguard against unnecessary utilization of such care and services and to assure that payments are consistent with efficiency, economy, and quality of care and are sufficient to enlist enough providers so that care and services are available under the plan at least to the extent that such care and services are available to the general population in the geographic area."

With these Federal guidelines in mind, the list below offers a series of guiding principles we used in evaluating the options related to designing a new nursing facility payment method for Florida Medicaid. Note that these guiding principles were broadly accepted by the NPPS Governance Committee, and by those that participated in the stakeholder process for this project.

Quality – The (a)(30)(A) language above requires that the state establish rates that are consistent with providing quality care. As such, a new methodology should result in rates that are consistent with promoting quality care and services to nursing facility residents, who are some of the state's most vulnerable citizens. The methodology should promote quality and align with federal quality measures, while considering state-specific features that incentivize clinical performance and recognize a commitment to quality.

Access – Nursing facility care is a mandated state plan service, which can pose challenges for a state like Florida, often recognized for its significant number of aging citizens. The proposed payment method must drive adequate access to long-term care services for populations at risk for access issues, whether that access relates to provider availability across state regions, advanced care needs, or local variances in quality amongst providers. Local variances in quality can restrict access within the managed care system, as managed care organizations are able to refine their networks to include only high performing providers.

Equity – A new payment methodology should be equitable across providers where possible, and in a manner consistent with quality and access principles. This may include reflecting differences such as variations in acuity, the size of the facility (measured by the number of beds), geographic location and the quality of care provided, while establishing rates. Generally, this principle is consistent with establishing some standardization of payment levels, where payments should be similar among nursing facilities that provide similar services, and have other similar attributes.



Predictability – A new methodology should increase the predictability of payment for providers who must budget and plan for reimbursement, for the Medicaid managed care plans that have contracted to cover Medicaid lives, and for the State who must budget and account for expense funded from State general revenue.

Simplicity – While a reimbursement system that addresses the size and nuances of the nursing facility system in Florida may never be "simple," it should be transparent, logical, and understandable by the provider network, the managed care plans, AHCA staff, State lawmakers and other stakeholders. Stakeholders have expressed a desire for a method that can be explained at a high-level to consumers and their caregivers, who often request clarity when payment may affect the services for which a resident is eligible, such as the availability of private rooms versus semi-private rooms, etc. Simplicity also applies to reducing administrative burden, a significant goal identified by both the State and the nursing facility providers.

Efficiency – The (a)(30)(A) language requires that the state establish rates that are consistent with efficiency and economy. This requirement implies that a state Medicaid program must employ a prudent purchaser concept, whereby the program makes reasonable efforts to economize. As such, a new methodology should promote cost efficiency by providers. This is in contrast to the current payment method which compensates facilities for increasing costs up to the ceiling values.

These principles provide a baseline for an objective review of system features that were considered as part of this study. At the same time, it should be noted that some of these principles tend to work against each other. For example, establishing a methodology that effectively recognizes or rewards facilities for providing high quality care can be quite complex. In other words, a quality incentive program can promote the principles of Quality and Equity while detracting from the goal of Simplicity. As such, there will be trade-offs or a need for compromise when evaluating methodology parameters against these principles.

One of the most significant challenges that needed to be addressed for this project clearly illustrates this need for compromise in our recommendations. Trying to move from a system that establishes rates on a facility-specific basis to one that is more standardized, without any other accommodation, would by itself create significant swings in payments for providers. Many providers would see substantial increases in rates, while others would see substantial decreases. If the state were to move in this direction, how would it maintain access to care while still establishing a system that is more equitable?

In this example, we would expect that the providers that stand to gain under a standardized rate system would argue in favor of standardization. Those that stand to lose would build a case that a rate reduction would affect access to or quality of care. We heard these arguments on numerous occasions as part of the stakeholder process for this project. And while the recommendations in this report are intended to mitigate the effects of these inconsistencies, this example illustrates the need for significant and rational compromise.



4 Current Payment Method

4.1 Background

AHCA currently reimburses nursing facility care using facility-specific, cost-based per diem rates. As of September 1, 2015, these rates are updated yearly. Prior to September 1st of each year, annual rates are calculated using inflated historical facility-specific cost information. The rates and reimbursements may be adjusted post-payment if cost reports for the timeframe in which services were rendered are audited or adjusted. For rate year 2016/17, which started on September 1, 2016, these per diem rates ranged from \$161.25 to \$308.35 per patient day. The unweighted (each facility counted once) average per diem was \$228.79. Thus, the facility with the lowest per diem receives 70 percent of the statewide average and the facility with the highest per diem receives 135 percent of the statewide average.

The nursing facility industry in Florida is sizeable and is heavily dependent on Medicaid reimbursement. As of September 1, 2016, there were 658 nursing facilities participating in the Florida Medicaid program. These nursing facilities account for a total of 81,835 beds, with an average of 124 beds per facility. These facilities account for over 26.35 million resident days a year, of which over 16 million, or 61 percent are Medicaid days, corresponding to a Medicaid daily census of approximately 44,070 individuals statewide. The number of beds per facility ranges from a minimum of 20 to a maximum of 438. Statewide, the average occupancy rate for a Medicaid participating nursing facility is 88 percent. The fiscal year 2016/17 estimated total Medicaid spend for nursing facility care is approximately \$3.6 billion.²

Since 2013, nearly all long term care for Florida Medicaid has been administered through Medicaid managed care. The managed care plans are required to pay nursing facilities the same rates that are calculated for Medicaid fee-for-service. The specific language that documents this requirement in the AHCA-to-managed care plan contract is,

"The Agency will set facility–specific payment rates based on the rate methodology outlined in the most recent version of the Florida Title XIX Long-term Care Reimbursement Plan. The Managed Care Plan shall pay nursing facilities an amount no less than the nursing facility specific payment rates set by the Agency and published on the Agency website. The Managed Care Plan shall use the published facility-specific rates as a minimum payment level for all payments."

Thus, the description of per diem rate calculations described in this chapter applies to both the Medicaid fee-for-service and managed care programs.

_

² This total spend is calculated using the number of annualized Medicaid days reported in nursing facility cost reports.

³ http://ahca.myflorida.com/medicaid/statewide_mc/pdf/Contracts/2015-11-01/Exhibit_II-B-Long-term_Care_LTC_Program_2015-11-01.pdf, Page 76



4.2 Per Diem Components

In AHCA's current methodology, the nursing facility per diems are calculated as an aggregate of five components:

- Operation,
- Direct Resident Care,
- Indirect Resident Care,
- Property, and
- Return on Equity (ROE).

The Operation component includes administration, laundry and linen services, plant operations, and housekeeping expenses. It may also include Medicaid bad debt expenses. The Direct Resident Care component includes wage and benefit costs of direct care nursing staff and contracted direct care nursing staff. The Indirect Resident Care component includes non-direct care nursing, dietary, other resident care (e.g., social services and medical records) and ancillary services. The Property component includes either: interest and depreciation or a fair rental value. In either case, the property component also includes the costs of property insurance, property taxes and home office property. The Return on Equity component is a rate of return based on the equity in the facility and is only paid to providers who receive interest and depreciation for property reimbursement. Each of these components is calculated independently and is then combined to determine the total per diem rate for each facility.

4.3 Reimbursement Ceilings

Operation, Direct and Indirect Resident Care, and cost-based Property components are subject to limits on the maximum amount a provider can receive for the component, regardless of actual cost. These limits are called reimbursement ceilings.

Nursing facilities are presently divided into six ceiling classes. The classes are based upon facility size (1-100 beds = small, or over 100 beds = large), and location (North, South, or Central) of the facility within the state. The distribution of the facilities throughout the state on September 1, 2016 was as follows:

Figure 1. Count of Nursing Facilities in each of the Classes Used for Determining Ceilings.

Class	Location	Number of Facilities
1	North/Small	47
2	North/Large	158
3	South/Small	57
4	South/Large	169
5	Central/Small	44
6	Central/Large	183

The Operation and Resident Care (both Direct and Indirect) cost-based class ceilings are calculated using inflation adjusted Operation and Resident Care per diems for the year for which rates are being set. The cost-based class ceilings for the Central class are the simple averages



of the North and South cost-based ceilings. The Operation cost-based class ceilings are based on the statewide operation median plus one (1) standard deviation adjusted by the ratio of the class median to the statewide median. The Direct and Indirect Resident Care cost-based class ceilings are based on the statewide Direct and Indirect Resident Care medians plus a 1.75 standard deviation adjusted by the ratio of the class medians to the statewide median.

4.4 Reimbursement Targets

On January 1, 1988, a nursing facility target rate system was implemented limiting the rate of increase in Operation and Indirect Resident Care per diem rates from one rate year to the next. Target rates were set for class ceilings and the Operation and Indirect Resident Care cost components for each facility. Targets were inflated year over year by the target rate of inflation, which is 2.0 times the rate of inflation as measured by an IHS Economics Healthcare Cost Review Index for facility specific target rates and 1.4 times the rate of inflation for target class ceilings.

On July 1, 2007, targets were rebased and minimum thresholds for the target system were implemented. These modifications guarantee that the provider target reimbursement limitation cannot fall below 75 percent of the corresponding cost-based class ceiling. Similarly, target ceiling limitations cannot fall below 90 percent of the corresponding cost-based ceilings.

4.5 Other Reimbursement Limitations

Facility specific new provider limitations are another limit placed on the Operation and Indirect Resident Care components for new facilities and facilities that undergo a change of ownership. The limit for new facilities is the average Operation and Indirect Resident Care per diem in the region in which the facility is located plus 50 percent of the difference between the average region per diem and the facility's effective class ceiling. For providers with no cost history resulting from a change of ownership or operator, where the previous provider participated in the Medicaid program, the limit is the previous providers' Operation and Indirect Resident Care cost per diem, plus 50 percent of the difference between the previous providers' per diem and the effective class ceiling. These limitations are also increased by 2.0 times the rate of inflation each year.

4.6 Per Diem Paid

The nursing facility Operation and Indirect Resident Care cost per diem component values are the lower of the following per day values and limits:

- Facility specific inflated cost
- Facility specific target rate
- Facility specific new provider limitation
- · Target rate class ceiling
- Cost-based class ceiling

The nursing facility Direct Resident Care cost per diem component value is the lower of the following per day values and limits:



- Facility specific inflated cost
- · Cost-based class ceiling

In addition, as explained in the following section, for Direct and Indirect Resident Care, nursing facilities with Medicaid utilization in excess of 50 percent may be eligible for the Medicaid Adjustment Rate add-on.

4.7 Rate Adjustments

The Medicaid Adjustment Rate (MAR) is an add-on to the Direct and Indirect Resident Care component for qualifying facilities. This add-on is not subject to class ceilings, targets or new provider limitations and is added to the per diem components after any limitations have been applied.

To qualify for the MAR, a provider must have ratings other than conditional for one year prior to the rate semester and have Medicaid utilization greater than 50 percent. The MAR is 4.5 percent of the Direct and Indirect Resident Care per diem multiplied by the ratio of non-conditional days divided by total days. The MAR is then prorated for facilities with between 50 and 90 percent Medicaid utilization. Providers with 90 percent or greater Medicaid utilization receive the full MAR; facilities with less than 50 percent Medicaid utilization receive no MAR.

4.8 Property Component

For most facilities⁴, the property component of the nursing facility per diem is calculated as the aggregate of three sub-components,

- Capital component or 80 percent component,
- Return on Equity (ROE) or 20 percent component and
- FRVS pass-through component

To begin calculation of the capital component (80 percent component), the current asset value of the facility must be determined based on the original allowable historical cost basis, including costs of land, building, equipment and other costs associated with the original acquisition. The current asset value is multiplied by 80 percent and amortized over 20 years to arrive at the annual debt service amount. This amount is then divided by annual available resident days⁵ and an occupancy adjustment factor of 90 percent to compute the capital component. (The occupancy adjustment factor is set to 75 percent, instead of 90 percent, for the first 12 months of operation or for 12 months after a bed addition of 50 percent or more of the existing bed capacity, or 60 beds or more.)

The ROE component (20 percent component) is computed in a similar fashion by multiplying 20 percent of the current asset value by the CMS-designated ROE percentage. This product is then divided by annual available resident days then subsequently divided by the same occupancy adjustment factor. The resulting quotient is the ROE component.

⁴ As of SFY 2016/17, 28 nursing facilities continue to be grandfathered in to use of a cost-based determination of the property component.

⁵ Number of beds on last day of cost report multiplied by 365



The pass-through component includes property taxes, property insurance, and home office property cost allotments. This amount is divided by total resident days to compute the FRVS pass-through amount, and is added to the capital and ROE sub-components to arrive at the property component of the overall per diem.

4.9 Nursing Facility Quality Assessment

State share and federal funds collected through the quality assessment fee are used to replenish historical rate reductions referred to as Medicaid Trend Adjustments (MTAs) applied uniformly to all Florida Medicaid nursing facility providers.

4.10 Supplemental Payment for Medically Fragile Children

Florida Medicaid makes available an additional supplemental payment for care of medically fragile recipients under the age of 21 and needing skilled nursing care. In State Fiscal Year (SFY) 2016/17, this supplemental payment applied to three nursing facilities who care for residents under the age of 21. The supplemental payment is an add-on to the per diem and is factored into managed care plan capitation rates. Thus, these funds are distributed as part of standard claim payments. For rate year 2016/17, the add-on payment amount was \$299.63 per resident day.

4.11 Statutory Unit Cost Per Diem Cap

The overall Florida Medicaid nursing facility reimbursement has been capped as of July 1, 2011 by the Florida Legislature. During the rate setting process in subsequent years, if the cost-based per diems generate an estimated annual outlay that is above this cap, then a reduction factor is applied evenly across specific components of the per diem to reduce the projected Medicaid spend. This unit cost cap is documented in Attachment 4.19-D of the Florida Medicaid State Plan and documented in Florida Statute Section 409.908 (24) (a) with the following language,

"(24)(a) The agency shall establish rates at a level that ensures no increase in statewide expenditures resulting from a change in unit costs effective July 1, 2011. Reimbursement rates shall be as provided in the General Appropriations Act."



5 Scope of Nursing Facility Prospective Payment System

5.1 Discussion

When designing a new healthcare payment method, one of the decision points to consider is whether or not there are any specific providers, recipients, or services that are sufficiently unique to merit exclusion from the new payment method. If so, then they can be carved out of the payment method and either given another new payment method, or held under their current payment method. Carving providers, recipients and/or services out of the payment method will increase overall complexity for the Agency, as this forces the Agency to maintain multiple methods, but may be worthwhile to ensure equity and access to healthcare services.

In contrast to hospital services, the nature of nursing care services provided to long-stay Medicaid recipients on a daily basis is relatively homogeneous. However, there are some facilities that provide specialty care, such as those who serve children, or serve unique populations, such as veterans. Other facilities serve residents with unique care needs, such as those with severe behavioral disorders or those requiring 24-hour ventilator care.

5.2 Recommendation

We recommend excluding care for children in nursing facilities and excluding veterans' nursing facilities from the new NPPS. The populations served in these facilities are sufficiently unique that their inclusion in the NPPS would create inequities for the providers included in our recommended facility peer groups. Further, both of these provider types include such a small number of residents and facilities as to allow continuation of the current payment method without significant administrative burden for AHCA. We also recommend that the current rates for these providers be maintained, but subject to the annual updates recommended later in this report.

For facilities who care for both adults and children, two cost reports will need to be submitted – one describing costs related to care of adults and a second describing costs related to children. This idea was agreed to by the two facilities in Florida who currently accept both children and adults. The cost reports accounting for care of pediatric residents will be used to determine facility-specific cost-based rates specifically for care of their pediatric residents. The separate accounting for pediatric care will eliminate the need for a Fragile Under 21 Years Old per diem add-on.

In the two facilities who care for both adults and children, reimbursement for care of adults will be calculated through the new NPPS.

In collaboration with AHCA, we recommend that the Property portion of the per diem for all of the excluded facilities be paid using the new FRVS method. The new FRVS calculation for the Property per diem component is significantly less complicated than the current FRVS calculation.



6 Acuity Adjustment to Payment

6.1 Discussion

Measurement of patient acuity is used by some payers to adjust nursing facility rates to reflect differences in the nurse staffing needs for Medicaid residents among providers (i.e., adjust a standardized base rate for differences in acuity). Medicaid agencies that perform this type of rate adjustment primarily use average facility acuity scores to adjust the direct or resident care rate component, rather than the entire rate. In most cases, the direct care rate component is computed by multiplying the direct care standardized rate by the applicable Medicaid case mix (average acuity) for each facility.

Acuity adjustments are typically intended to increase payment for facilities that, on average, care for residents with more complex healthcare needs and reduce payment for facilities that care for residents with less complex healthcare needs. In theory, this allows payment to more accurately align with expected costs of providing nursing care, based on an assumption that facilities caring for residents with more complex healthcare needs are providing higher levels of staffing and thus incurring higher levels of direct care cost.

To determine whether an acuity adjustment, in some form, would be appropriate for Florida Medicaid, we performed regression analyses to determine if there is a relationship between average resident acuity and nursing facility cost for the Medicaid population in Florida. Cost data for this analysis was retrieved from nursing facility cost reports. Resident average acuity by facility was determined by assigning Resource Utilization Groups (RUG)⁶ to each resident based on their most current Minimum Data Set (MDS) review. Our analysis, when controlling for other factors (i.e.: geography, urban setting, etc.) was statistically significant ($p \le .00$) and accounted for almost 38 percent of the variance in facility costs per day ($R^2 = 37.85$). The analysis showed no positive relationship between facility cost per day and average facility case mix. Figure 2 below shows the relationship between facility cost per day and patient acuity.

Figure 2. Select coefficients for facility cost per day to resident case mix.

Type of Cost (Model R²=37.85, p≤.00)	Correlation Coefficient to Case Mix	P value
Total Care Cost	-\$4.16	p <u><</u> .01
Direct Care Cost	-\$2.36	p <u><</u> .00
Indirect Care Cost	None	
Operation Cost	-\$1.28	p <u><</u> .01

Note:

 R^2 represents the amount of variance in cost accounted for by the increases in case mix. The correlation coefficient represents the relationship between cost and case mix. The p value represents the probability (i.e., 0.01 equals one percent) that the finding occurred simply by chance alone.

⁶ The RUG IV 48-group code set was utilized for assigning case mix.

⁷ Please see Appendix C – Data Used in Modelling for a more detailed discussion of the cost and MDS data used in our analyses.



The correlation coefficient to case mix figures above show that for every one-tenth unit increase in case mix (for example case mix change from 1.0 to 1.1), the expected cost per day amount declines by \$4.16 per day. That is, the higher the case mix, the lower the facility cost. We believe this inverse relationship is due, in part, to the high levels of minimum staffing required in Florida. Currently, nursing facilities are required to maintain a minimum weekly average of 3.6 nursing-related hours of resident care per day. It is possible that if this minimum staffing were not in place, many of these facilities would be staffed somewhat below this level, as the acuity of the population wouldn't warrant higher staffing. However, due to the minimum staffing requirement, as the Case Mix Index (CMI) for these facilities increase, the level of staffing remains static. In the regression model used, this relationship is illustrated as a negative correlation coefficient.

The current Florida minimum staffing requirements for nursing facilities are outlined below from Chapter 400.23 of the 2016 Florida Statutes.

The agency shall adopt rules providing minimum staffing requirements for nursing home facilities. These requirements must include, for each facility:

- a. A minimum weekly average of certified nursing assistant and licensed nursing staffing combined of 3.6 hours of direct care per resident per day.
- A minimum certified nursing assistant staffing of 2.5 hours of direct care per resident per day. A facility may not staff below one certified nursing assistant per 20 residents.
- c. A minimum licensed nursing staffing of 1.0 hour of direct care per resident per day. A facility may not staff below one licensed nurse per 40 residents.

These minimum average staffing levels give facilities limited flexibility to lower staffing levels for lower acuity residents, and make it more difficult to measure the differences that would be consistent with caring for higher acuity residents. In other words, because of the minimum standards, some facilities may not need to adjust staffing levels and related nursing costs based on individual resident healthcare needs beyond what is already required. As a result, there is less variability in staffing levels among providers than one would expect to see if the minimum staffing requirement did not exist.

6.2 Recommendation

Including a case mix adjustment adds complexity to the payment method, and in this case, does so without any clear benefit of improving alignment of reimbursement with facility cost. As a result, we are recommending no case mix adjustment to nursing facility per diem rates for Florida Medicaid at this time.

We are, however, recommending an increase in per diem for facilities providing specific types of care to specific types of residents. These specific cases are scenarios in which resident care is clearly more expensive for nursing facilities and we wish to increase reimbursement with the goal of promoting access to care. These payment increases are discussed in detail in section 7.10.

We recognize that the use of managed care, and the financial incentives applied to encourage the use of community based services, is relatively new in Florida. We expect that as the MCO's



become more efficient at identifying individuals at risk for nursing home placement, we should see an increase in acuity as less impaired individuals are either moved from nursing facilities back to the community, or are diverted from nursing facilities. As such, we also recommend that the State periodically review the relationship between costs and acuity measures to determine if cost structures change in future periods in ways that would merit the implementation of some type of acuity adjustment.



7 Per Diem Rates

7.1 Facility Specific or Average

7.1.1 Discussion

One of the fundamental decisions to make when designing a per-diem based nursing facility payment method is whether the per diems will be facility specific or standardized across facilities. Florida Medicaid's current nursing facility rate structure is facility specific. Generally, when using facility-specific rates, the rates are calculated based on facility-specific costs. In addition, facility-specific rates are generally determined pre-payment based on costs submitted in historical cost reports and then adjusted post-payment after cost reports have been submitted and audited for the timeframe the services were rendered. Recalculating rates and payments is performed through a process commonly referred to as "cost settlement" (or "final settlement" if rates are settled to something other than facility-specific costs). The cost settlement process is generally performed one or more years after services were provided. If the audited cost-based rate is less than the interim rate, then the nursing facility owes money back to Medicaid. If on the other hand, the audited rate is higher than the interim rate, then Medicaid pays additional money to the nursing facility. Florida Medicaid's current nursing facility payment method uses post payment cost settlement, although cost report audits are performed on only a portion of the nursing facilities each year.

Post payment cost settlement and rate adjustment is contractually and administratively problematic in a Medicaid managed care environment in which managed care organizations are accepting financial risk. Managed care organizations are reluctant to accept this risk if the payment rates are not final prior to delivery of services. Continuation of the cost settlement process would memorialize an additional complexity that would limit risk for the providers, with no corresponding upside to the managed care organizations.

Post payment cost settlement and rate adjustment can be avoided by using audited cost reports to set the pre-payment rates. This allows the rates to be prospective instead of retrospective. However, submission and audit of cost reports is generally a multi-year process. As a result, prospective facility-specific cost-based rates would be based on information applicable to a timeframe several years prior to the dates in which services would be rendered. Thus, rate updates would lag and be slow to adjust to changes in facility cost structures.

Such lags could be avoided by establishing facility-specific rates based on unaudited cost report information. However, a facility-specific rate methodology based on self-reported and unaudited costs could be problematic as it increases the risk of establishing rates that are not equitable amongst providers. Such an approach would also be inconsistent with the federal requirements related to efficiency and economy.

Whether retrospective or prospective, facility-specific cost-based per diems may have a positive influence on access to care as long as the percentage of cost covered is reasonable. However, this rate calculation method increases the financial risk to the State, and as evidenced by the wide range of rates under the current system, 8 results in significantly different reimbursement

 $^{^{\}rm 8}$ The rates effective September 1, 2016 ranged from \$161.25 to \$308.35 per patient day.



amounts for similar services provided at different facilities. In addition, this method is not well aligned with maintaining incentives for nursing facilities to be cost effective. And while the current method may be consistent with enhancing the quality of care provided, it assumes that providers with higher costs are more likely to be providing higher quality care.

To test this assumption, we conducted an analysis that compared the costs incurred by providers to the same quality scores we are recommending for the proposed quality incentive component of the new model. Our analysis showed that the connection between high cost and high quality is not consistent.

Figure 3 below compares facility cost to quality of care. In this figure, each Medicaid nursing facility in Florida is grouped into cost quintile with the highest cost facilities in quintile 1 and the lowest cost facilities in quintile 5. Similarly, each facility is grouped by quality score, using Navigant's quality matrix described in Section 8.3.2, with the highest quality facilities in quintile 1 and the lowest quality facilities in quintile 5. This figure does suggest some correlation between high cost and high quality. However, it also indicates that there are significant numbers of facilities who are relatively high cost that are offering lower quality care when compared to their peers. In addition, there are some facilities who are able to provide high quality care more efficiently (at lower cost) than some other facilities.

Per Diem		Qual	ity Qui	ntile		Total
Quintile	1	2	3	4	5	IOlai
1	50	24	18	14	10	132
2	31	40	28	26	17	131
3	21	19	20	23	20	131
4	20	31	41	33	34	131
5	10	17	24	35	51	132
Totals	132	131	131	131	132	657

Figure 3. Comparison of facility cost to facility quality of care.

To correct some of the inequities associated with cost-based facility-specific rates, a Medicaid agency may choose to set a single statewide rate, or to set rates based on peer groups which group together nursing facilities based on common characteristics that influence cost. In addition, Medicaid agencies may choose a hybrid approach in which the payment method includes different solutions for different components of the rate. Some components of the per diem may be set using a statewide average, while others are set based on peer groups, and still other components are determined separately for each facility.

7.1.2 Recommendation

The Legislative direction for this redesign of Medicaid payments for nursing facility services clearly states that the new payment method be prospective. In addition, we find payment methods to be more effective when they align with the guiding principles of simplicity, equity, and predictability. Thus, we recommend prospective, standardized rates based on median costs for related groupings of facilities. These standardized rates should apply to the Direct,



Indirect, and Operation components of the per diems. All facilities within a peer group should be given the same standardized rate for the Direct, Indirect, and Operation per diem components. These components of the per diem constitute 80 percent of total reimbursement. At the same time, we recommend prospective, facility-specific rates for other, smaller portions of the per diem, including the components for property, property tax, property insurance, provider assessments, and the quality incentive payments. We believe this mix of standardized and facility-specific components of the per diems offers the best combination of simplicity and equity while promoting quality care for Medicaid residents.

A shift from facility-specific rates to primarily standardized rates will likely generate changes in Medicaid reimbursement by facility with some of those changes being significant. With this in mind, we also recommend later in this report that the State implement a temporary risk corridor (see section 9.1), limiting potential gains and losses to providers resulting from the changes in rates.

7.1.3 Other Options

Changes in Medicaid reimbursement levels can be mitigated to some extent through implementation of a risk corridor, which is discussed in section 9.1, and through selection of provider peer groups, which is discussed in the following section. However, all of our models implementing these two options in various forms resulted in some facilities experiencing sizeable changes in Medicaid reimbursement. To avoid these changes in Medicaid reimbursement, industry representatives suggested a few different payment design options including,

- Freezing rates at their current values, increasing them for inflation annually, and recalculating facility-specific rates periodically (every few years) based on reported costs
- Calculating the Direct Care portion of the per diem based on actual cost
- Paying each facility 98 percent of their current Direct Care, Indirect Care, and Operations per diem components and using the two percent removed from these components to fund the quality incentive program
- Create four or five provider peer groups based off of current per diem rates in this
 method, facilities would get ranked based on their current per diem (from largest to
 smallest) and using five groups, for example, the top (largest per diems) 20 percent
 would be included in one group, the next 20 percent in a second group, the next 20
 percent in a third group, etc.

Most of these options base new rates on current rates, and the current rates are not particularly well aligned with efficiency and delivery of quality care. In addition, the idea of calculating the Direct Care component of the per diem based off of actual costs provides little incentive for efficiency and does not directly correlate to high quality care. We also considered a model that "held harmless" the higher quality providers, but had difficulty reconciling the significant cost differences among providers that, based on our quality measurements, performed similarly. For these reasons, we did not recommend any of the options described above.



7.2 Peer Grouping

7.2.1 Discussion

Given the recommendation that the primary portions of the per diem be standardized based on median costs for related groupings of facilities, the next decision point is to define the groupings. One simple option is to treat all facilities in Florida as basically the same, and create a single group, thus giving all facilities in Florida the same rate. However, if measureable and justifiable cost differences exist for some facilities, then separate groupings based on these cost differences will allow for a more fair distribution of Medicaid funds. In theory, nursing facility cost differences may occur for a variety of reasons, including:

- Variances in labor costs in different regions of the state
- Quality of the care provided
- Types of high cost specialized services provided (ventilation care, traumatic brain injury care, and pediatric care)
- Specialized resident population (Certain types of residents may be more costly to care for, such as residents with mental or cognitive disorders, dementia, residents with HIV/AIDS, and uncontrollable diabetes.)
- Facility size (potentially, economies of scale can be obtained for administrative costs)

To be justifiable in terms of affecting reimbursement rates, the cost differences need to be those that either cannot be reasonably controlled by the facilities, or are the result of facility actions intended to improve the quality of care provided. Grouping facilities together simply because they currently have higher costs without clearly identifying what benefit residents are receiving for those higher costs would fail to meet our goals of promoting efficiency and economy, and providing incentives to enhance quality of care.

It may be appropriate to establish different facility peer groupings for different rate components, although doing so would make the payment methodology more administratively complex. For example, direct care is heavily dependent on nursing-related labor costs, so a peer group based on geographic regions could be used specifically for direct care. Also, administrative costs may be more easily spread across residents in large facilities versus small facilities, so administrative rates may be set based on peer groups determined based on the number of beds. Other support costs, which might include food and resident activities, may not vary across facilities, in which case a statewide rate may be applicable. In addition, property or capital costs may be an item the Medicaid Agency chooses to determine separately by facility.

7.2.2 Recommendation

To help inform a decision on this topic, we performed regression analyses looking for nursing facility characteristics that showed patterns of influencing facility cost per day. Our overall regression model was statistically significant ($p \le .000$) and accounted for almost 60% of the variance in cost per day ($R^2 = .59$). We reviewed geographic differences using the AHCA defined regions and using rural versus urban designations, facility size, and level of nursing staff. Results of these regression analyses are shown in Figure 4.



Figure 4. Relation between facility characteristics and cost per day.

Type of Cost	Correlation to Co	Correlation to Cost				
(Model R ² =.59, p≤.000)	Urban vs Rural	North vs South	Facility Size (nbr of beds)	Licensed Nursing Hours		
Total Care Cost	None	\$10.88, p≤.000	(\$0.05), p≤.01	\$52.17 p <u><</u> .000		
Direct Care Cost	\$4.11 p <u><</u> .05	\$3.41, p <u><</u> .01	\$0.01 p <u><</u> .10	\$26.17 p <u><</u> .05		
Indirect Care Cost	None	\$3.58, p <u><</u> .01	(\$0.03), p≤.000	\$13.44, p<.000		
Operation Cost	None	\$3.88, p<.000	(\$0.04), p≤.000	\$12.55, p<.000		

Note:

R² represents the amount of variance in cost accounted for by the increases in case mix. The correlation coefficient represents the relationship between cost and location, facility size and nursing hours. The p value represents the probability that the finding occurred simply by chance alone.

Excerpts from the regression analysis (Figure 4) show a positive relationship between urban versus rural designation for Direct Care Costs Per Day only. For facilities operating in the region defined as South under the current nursing facility payment method, Total Care Cost Per Day, Direct Care Cost Per Day, Indirect Care Cost Per Day and Operation Cost Per Day are significantly higher than for those facilities operating in the North and Central Regions. Throughout the public hearings and stakeholder meetings, it was discussed that larger facilities are able to leverage their size and buying power to lower costs other than direct care. The regression analysis supports this in that there appear to be small economies of scale for all costs other than direct care, as the number of beds increased. This indicates that larger facilities are able to benefit from economies of scale where staffing is not tied to census. As expected, the analysis also shows a very strong positive relationship between nursing hours and facility cost.

Further analysis of the AHCA-defined southern region identified Statewide Medicaid Managed Care (SMMC) regions 10 and 11 as primarily responsible for the increased cost. Given the results of this analysis, we are recommending two peer groups, one for SMMC regions 10 and 11, which comprise Broward, Miami-Dade, and Monroe counties, and one for all other SMMC regions. The grouping of SMMC regions 10 and 11 will be referred to as the "South" peer group and facilities in all other regions will be included in the "North" peer group.

Our recommended grouping of facilities by North and South regions is responsive to the only consistent, statistically significant, positive relationship to cost that we found, other than the expected relationship of nursing hours to cost. We chose not to recommend peer groupings based on nursing hours because a simple count of staff hours does not definitively indicate more or better care for Medicaid recipients. Using the already existing CMS Five Star Rating as a proxy for overall quality, there was only a weak relationship between facilities receiving a higher overall star rating and increased nursing staff hours. When examining only the quality measure sub-component of the CMS Five Star, there was no relationship between nurse staffing hours and quality. In addition, our overall payment method contains additional incentive payments based on quality of care and level of staffing. Also, many of the specific medical conditions in the quality incentive model are staff dependent. Thus, our recommendations do provide for additional payment for additional staff levels when the additional staff do translate into more or better care.

_

⁹ Note, we did not analyze cost by individual county in Florida because the sample size (i.e. the number of facilities in each county) is too small in many of the counties.



7.2.3 More Detailed Geographic Grouping

Based on feedback from our meetings with industry stakeholders, we also considered establishing the geographic peer groups using definitions that were more granular than those accomplished by application of the SMMC regions. Two potential indices were considered for measuring cost by region; the CMS skilled nursing facility wage indices and the Florida Price Level Index (FPLI), which is developed through a collaboration between Florida Polytechnic University and the University of Florida's Bureau of Economic and Business Research. These two indices are provided below in Figure 5 and Figure 6, respectively.

Feedback was offered in some of our public meetings suggesting that Palm Beach and Collier Counties be added to the South region because they have Florida Price Level Index values above those of Miami-Dade and Broward counties (see Figure 6). This would certainly be reasonable if we chose to use Florida Price Level Indices as criteria for defining the standardized rate peer groups. However, we would have also needed to consider all other counties in Florida, not just counties in the southern regions of the State.

To use one of these indices in defining peer groups, we would have had to select somewhat arbitrary thresholds within the index values to separate one peer group from another. For example, we might define a high cost peer group as facilities in a region with a CMS wage index above 0.96 or we might define a high cost peer group as facilities in a region with a Florida Price Level Index above 101.0. Unfortunately, any such thresholds would have the potential to make a significant impact in rates even though the difference in cost index value may be very small between the bottom of one peer group and the top of the next peer group. For these reasons, we find indices tend to work better as multipliers rather than measures used for peer grouping.

In addition, our regression analyses described above, which correlated facility cost to geographic region, did not identify any area other than the south of Florida in which geographic area correlated well to nursing facility cost. Also, history has shown that use of detailed geographic indices can result in ongoing bartering between healthcare providers and policy makers over which region is the most appropriate assignment for individual facilities. Facilities that are in a lower cost region but are geographically close to a higher cost region will likely barter to get their geographic region reassigned to increase their reimbursement.

Acknowledging this, we decided to recommend only the North and South peer groups defined above in section 7.2.2 instead of more granular region groupings and/or use of cost indices as multipliers in the calculation of a per diem.

Figure 5. Listing of CMS skilled nursing facility wage indices for Federal Fiscal Year 2016.

County	CBSA Code	Urban Area	Constituent Counties	Wage Index FFY 2016
Broward	22744	Fort Lauderdale-Pompano Beach-Deerfield Beach, FL	Broward County, Florida	0.9776
Manatee	35840	North Port-Sarasota-Bradenton, FL	Manatee County, Florida	0.9690
Sarasota	35840	North Port-Sarasota-Bradenton, FL	Sarasota County, Florida	0.9690
Alachua	23540	Gainesville, FL	Alachua County, Florida	0.9672
Gilchrist	23540	Gainesville, FL	Gilchrist County, Florida	0.9672
Miami-Dade	33124	Miami-Miami Beach-Kendall, FL	Miami-Dade County, Florida	0.9653



County	CBSA Code	Urban Area	Constituent Counties	Wage Index FFY 2016
Lee	15980	Cape Coral-Fort Myers, FL	Lee County, Florida	0.9456
Palm Beach	48424	West Palm Beach-Boca Raton-Delray Beach, FL	Palm Beach County, Florida	0.9376
Martin	38940	Port St. Lucie, FL	Martin County, Florida	0.9350
St. Lucie	38940	Port St. Lucie, FL	St. Lucie County, Florida	0.9350
Charlotte	39460	Punta Gorda, FL	Charlotte County, Florida	0.9125
Baker	27260	Jacksonville, FL	Baker County, Florida	0.9082
Clay	27260	Jacksonville, FL	Clay County, Florida	0.9082
Duval	27260	Jacksonville, FL	Duval County, Florida	0.9082
Nassau	27260	Jacksonville, FL	Nassau County, Florida	0.9082
St. Johns	27260	Jacksonville, FL	St. Johns County, Florida	0.9082
Lake	36740	Orlando-Kissimmee-Sanford, FL	Lake County, Florida	0.8986
Orange	36740	Orlando-Kissimmee-Sanford, FL	Orange County, Florida	0.8986
Osceola	36740	Orlando-Kissimmee-Sanford, FL	Osceola County, Florida	0.8986
Seminole	36740	Orlando-Kissimmee-Sanford, FL	Seminole County, Florida	0.8986
Hernando	45300	Tampa-St. Petersburg-Clearwater, FL	Hernando County, Florida	0.8980
Hillsborough	45300	Tampa-St. Petersburg-Clearwater, FL	Hillsborough County, Florida	0.8980
Pasco	45300	Tampa-St. Petersburg-Clearwater, FL	Pasco County, Florida	0.8980
Pinellas	45300	Tampa-St. Petersburg-Clearwater, FL	Pinellas County, Florida	0.8980
Brevard	37340	Palm Bay-Melbourne-Titusville, FL	Brevard County, Florida	0.8885
Indian River	42680	Sebastian-Vero Beach, FL	Indian River County, Florida	0.8838
Bay	37460	Panama City, FL	Bay County, Florida	0.8694
Gulf	37460	Panama City, FL	Gulf County, Florida	0.8694
Collier	34940	Naples-Immokalee-Marco Island, FL	Collier County, Florida	0.8603
Okaloosa	18880	Crestview-Fort Walton Beach-Destin, FL	Okaloosa County, Florida	0.8583
Walton	18880	Crestview-Fort Walton Beach-Destin, FL	Walton County, Florida	0.8583
Flagler	19660	Deltona-Daytona Beach-Ormond Beach, FL	Flagler County, Florida	0.8519
Volusia	19660	Deltona-Daytona Beach-Ormond Beach, FL	Volusia County, Florida	0.8519
Gadsden	45220	Tallahassee, FL	Gadsden County, Florida	0.8397
Jefferson	45220	Tallahassee, FL	Jefferson County, Florida	0.8397
Leon	45220	Tallahassee, FL	Leon County, Florida	0.8397
Wakulla	45220	Tallahassee, FL	Wakulla County, Florida	0.8397
Rural		Non-urban areas	All Other	0.8294
Marion	36100	Ocala, FL	Marion County, Florida	0.8191
Sumter	45540	The Villages, FL	Sumter County, Florida	0.8173
Polk	29460	Lakeland-Winter Haven, FL	Polk County, Florida	0.8078
Highlands	42700	Sebring, FL	Highlands County, Florida	0.7846
Escambia	37860	Pensacola-Ferry Pass-Brent, FL	Escambia County, Florida	0.7537
Santa Rosa	37860	Pensacola-Ferry Pass-Brent, FL	Santa Rosa County, Florida	0.7537
Citrus	26140	Homosassa Springs, FL	Citrus County, Florida	0.7173



Figure 6. Listing of price level indices for counties in Florida for 2015.¹⁰

County	Index	County	Index	County	Index
Palm Beach	105.42	Charlotte	98.10	Flagler	94.03
Collier	104.47	Okaloosa	98.07	Citrus	93.69
Broward	103.23	De Soto	97.10	Columbia	93.47
Dade	102.63	Baker	97.06	Highlands	93.43
Sarasota	101.62	Okeechobee	97.05	Wakulla	93.35
Duval	101.46	Lake	96.99	Gadsden	93.29
Monroe	101.35	Glades	96.63	Jefferson	93.04
Hillsborough	100.97	Bradford	96.49	Gilchrist	92.66
Pinellas	100.81	Hernando	96.35	Levy	92.51
Lee	100.74	Polk	96.34	Holmes	91.58
Martin	100.53	Escambia	95.96	Gulf	91.54
Orange	100.46	Hardee	95.92	Washington	91.31
Indian River	99.30	Alachua	95.83	Hamilton	91.14
Manatee	99.28	Leon	95.81	Suwannee	91.07
Saint Johns	99.16	Santa Rosa	95.48	Calhoun	90.84
Clay	99.10	Union	95.41	Liberty	90.80
Seminole	99.03	Putnam	95.33	Dixie	90.57
Nassau	98.70	Volusia	95.33	Jackson	90.33
Brevard	98.59	Bay	95.02	Taylor	89.96
Saint Lucie	98.53	Walton	95.02	Madison	89.87
Pasco	98.27	Sumter	94.83	Lafayette	89.22
Hendry	98.13	Marion	94.41	Franklin	89.16
Osceola	98.13				

23

¹⁰ These price indices are developed through a collaboration between Florida Polytechnic University and the University of Florida's Bureau of Economic and Business Research; Downloaded from https://floridapolytechnic.org/wp-content/uploads/2015fpli.pdf on November 14th, 2016.



7.3 Per Diem Components

7.3.1 Discussion

Similar to the current payment method, our recommendations for a new nursing facility prospective payment system are based on per diem rates, and those per diem rates are calculated as the sum of a variety of components. The per diem components under the new and current payment methods are listed in the figure below.

Figure 7. Per diem components.

New Payment Method	Current Payment Method
Direct care	Direct care
Indirect care	Indirect care
Operations / administration	Operations / administration
Nursing facility provider assessment	Nursing facility provider assessment
Property component	Property component
Pass through payments for property taxes and property	Pass through payments for property taxes, property
insurance	insurance, and home office costs
	Excess from nursing facility provider assessment
Quality incentive program	
Add-on payments for specific high cost services	

The combination of Direct Care, Indirect Care and Operations components comprise 80 percent of total Medicaid reimbursement. Thus, these components comprise the vast majority of total reimbursement.

7.3.2 Recommendation

Our recommended set of per diem components, as shown in Figure 7 above, allow for most (approximately 80 percent) of the reimbursement to come from standardized rates while still allowing for some portions of reimbursement to be facility specific. The Direct, Indirect, and Operations components will be calculated as standardized rates based on median facility cost within facility peer groups. The rest (approximately 20 percent) of the per diem components will be determined separately for each facility.

These components allow for considerable flexibility in terms of financial incentives that may be defined. Financial incentives are created through the percentage of median value and per diem floor value (discussed in more detail in subsequent sections), which can be set separately for the Direct, Indirect, and Operations components.

7.4 Budget Neutrality

7.4.1 <u>Discussion</u>

Legislative direction for this study clearly states that the recommendations for the new method should be designed in a "budget neutral manner." We interpreted the budget neutrality requirement to apply to the overall budget for the Medicaid nursing facility program, and not a requirement for budget neutrality by facility. In addition, we assumed this requirement allowed



for redistribution of funds within current components of the per diem and to new components of the per diem, most notably the Quality Incentive Program.

7.4.2 Recommendation

Through discussions with the AHCA Governance Committee and industry stakeholders, we decided to maintain budget neutrality separately for the property and for the non-property components of the per diem. Within the property component, we chose to continue including the funds currently distributed as pass through payments for home office property costs. Our models include current reimbursement for home office property costs in the total budget available for determination of the new Fair Rental Value System (FRVS) payment parameters (see section 7.8.2 for more detail on this topic). Other existing pass through payments, specifically property tax and property insurance, are included in our models in a budget neutral manner as stand-alone payments separate from our FRVS calculations (see section 7.9 for more detail on pass through payments in our proposed new payment method). In addition, facility-specific budget neutrality was maintained for the nursing facility provider assessment portion of the per diem.

The Quality Incentive Program was funded first with the funds currently identified as Operations add-on payments, which come from "surplus" funds from the nursing facility quality assessment program. These funds total approximately \$130.5 million. The rest of the funds for the Quality Incentive Program, \$86.4 million, came from a reduction in funds for the non-property per diem components – Direct Care, Indirect Care, and Operations.

Funds for service specific add-on payments (for ventilator care) also came out of the budget for the non-property components of the final per diems. The resulting estimated Medicaid spend¹¹ by per diem component for residents and facilities included in the new NPPS is shown in Figure 8 below.

Figure 8. Medicaid targeted spend by per diem component.

New Payment Method	Budget in New Payment Method
Non-Property (sum of Direct Care, Indirect Care, and Operations)	\$2,873,320,011
Nursing facility provider assessment	\$268,171,011
Property component (includes payments for home office property costs)	\$174,115,050
Pass through payments for property taxes and property insurance	\$46,892,799
Quality incentive program	\$216,884,906
Add-on payments for ventilator care	\$8,150,881
Total	\$3,587,534,658

7.5 Percentage of Median Value

7.5.1 Discussion

The standardized rates for the Direct, Indirect and Operations components of the per diem are calculated as percentages of the median costs for facilities within each peer group. These percentages are one of the tools AHCA can use to incent nursing facility behavior. For example, using a higher percentage for Direct Care costs, particularly in combination with a per

¹¹ This total spend is calculated using the number of annualized Medicaid days reported in nursing facility cost reports.



diem floor, (as described in section 7.6) allows the Agency to incent nursing facility investment in direct care. Similarly, using a lower percentage of the cost median for operations costs enables the Agency to incent nursing facility efficiency on costs that have less of an effect on the residents' quality of life.

7.5.2 Recommendation

In general, we recommend using the largest incentive values for costs that have the most impact on Medicaid resident quality of life and lower incentive values for costs that likely have a lesser impact on Medicaid resident quality of life. With this in mind, we are recommending some shifting of costs between the Direct, Indirect, and Operations components (as described in section 7.7). The shift allows us to set the highest percentage of the median and the highest floor on the nursing facility costs that potentially have the most impact on resident quality of life.

We recommend using the highest percentage of the median cost per day value for Direct Care, a lessor percentage of the median value for Indirect Care and an even lessor percentage of the median value for Operations. With this ranking in mind, we set the percentages in our pricing models to ensure budget neutrality in aggregate for the sum of the Direct Care, Indirect Care, and Operations components. In our final pricing model, provided in Appendix H – Final Pricing Model – Results by Facility, the percentage of median cost values are:

Direct Care 100% Indirect Care 92% Operations 86%

In conjunction with per diem floors, which are discussed in the next section, these values promote continued investment by nursing facilities in components of their business that have the greatest effect on resident quality of life, such as nursing staff, therapy staff, and nutrition, while at the same time, promoting cost efficiency.

7.6 Per Diem Floor

7.6.1 <u>Discussion</u>

Per diem floors work in conjunction with the percentage of median value parameters (discussed in the previous section) to promote nursing facility investment in areas expected to enhance quality of care. Per diem floors are used to reduce the amount of profit a facility can achieve through cost reductions. This is important when transitioning to standardized rates versus a method that relies primarily on facility-specific rates. Under the current payment method, which utilizes cost-based facility-specific rates, a facility's per diem rate would be reduced if the facility chose to maintain lower costs in any area of its operations, including items such as nursing salaries, nursing benefits and food. Thus, for the services paid for under the Medicaid program, facilities cannot maximize profits by minimizing cost. In contrast, the new payment method uses standardized rates which have the benefit of promoting cost efficiency, but also offer a consequence of allowing facilities to increase profits by inappropriately reducing costs.

While one of the objectives of this redesign process is to create appropriate incentives for cost effective provision of care, it is also important to guard against creating incentives that could jeopardize the quality of care given. We understand that nursing facilities have a need to generate margins (for profit or reinvestment). However, in the extreme, nursing facilities could



potentially reduce costs to levels that result in very poor living conditions for Medicaid residents, and in so doing, generate very large profits. Thus, when using standardized rates, we recommend applying policies which appropriately curb these incentives by limiting extreme financial gains.

Per diem floors are a tool that limits extreme financial gains. Per diem floors can be used with the Direct, Indirect and Operations components of the overall per diem. A per diem floor reduces a facility's per diem component rate when a facility's cost for that component is below a specific threshold. This threshold is called a floor, and is calculated as a percentage of the standardized rate. If a facility's cost is below the floor then their rate gets reduced by the difference between the floor and their actual cost. Examples of this calculation are shown in Figure 9 below.

Figure 9. Example of per diem floor adjustment to rate.

Calculation Item	Value	Calculation			
Example with facility cost below the floor:					
Standardized Direct Care component rate	\$107.34				
Floor percentage	95%				
Floor value	\$101.98	(\$107.34 * 95%)			
Facility Direct Care costs	\$99.81				
Amount facility's cost is below the floor	\$2.16	(\$101.98 – \$99.82)			
Facility's assigned Direct Care component rate	\$105.18	(\$107.34 – \$2.16)			
Example with facility cost between the floor and the standardized rate:					
Standardized Direct Care component rate	\$107.34				
Floor percentage	95%				
Floor value	\$101.98	(\$107.34 * 95%)			
Facility Direct Care costs	\$103.41				
Amount facility's cost is below the floor	\$0				
Facility's assigned Direct Care component rate	\$107.34				
Example with facility cost greater than the standardized rate:					
Standardized Direct Care component rate	\$107.34				
Floor percentage	95%				
Floor value	\$101.98	(\$107.34 * 95%)			
Facility Direct Care costs	\$111.85				
Amount facility's cost is below the floor	\$0				
Facility's assigned Direct Care component rate	\$107.34				

7.6.2 Recommendation

We recommend including a floor equal to 95 percent of the Direct Care standardized per diem component and 92.5 percent for the Indirect Care per diem component. In addition, we recommend no floor be applied to the Operations component. These values are recommended in concert with suggested changes to the mapping of facility cost centers to the Direct, Indirect



and Operations components. The new mappings attempt to align costs most directly related to patient quality of life/quality of care in the Direct Care component, costs with a medium impact on patient quality of life/quality of care in the Indirect Care component, and costs with the least impact on patient quality of life in the Operations component.

The Direct Care and Indirect Care¹² floors will limit facility profit for these two components to approximately five percent (5%) and 7.5 percent (7.5%), respectively, of the standardized rate. The floors do not mandate or guarantee that facilities maintain investment in Direct and Indirect Care. However, the floors do remove the opportunity to generate large profits by inappropriately reducing costs in these areas.

The recommendation of no per diem floor for the Operations component is intended to incent nursing facilities to do what they can to improve efficiency for administration, housekeeping, and facility operations. The absence of a floor will allow facilities the full benefit when maintaining costs below the standardized per diem.

7.7 Costs Mapped to Direct, Indirect and Operations Per Diem Components

7.7.1 Discussion

The recommended payment method is designed to balance financial incentives for high quality care with incentives for efficiency. Along with the quality incentive program, the parameters selected for the percentage of median costs and for per diem floors are specific tools within the payment method used to create this balance. To use these tools most effectively, costs for nursing facility functions that have the greatest impact on resident quality of life need to be included in (or mapped to) the Direct Care per diem component, functions that have a strong impact on resident quality of life need to be mapped to the Indirect Care per diem component, and functions that have less impact on resident quality of life need to be mapped to the Operations per diem component. Mapping of facility costs to these three per diem components is important because median cost is used as a baseline in setting the standardized rate for each component.

7.7.2 Recommendation

Most, but not all, of the current mapping of nursing facility cost centers to per diem components achieved the goals described in section 7.7.1. As a result, we are recommending only a small number of changes. These changes are listed below in Figure 10. Included in the suggested changes is a mapping of the Dietary cost center to Direct Care. We are making this recommendation because the quality of food offered at a facility has a significant influence on resident satisfaction and health.

¹² The Direct Care and Indirect Care components of the per diem compromise approximately 60 percent of total Medicaid nursing facility reimbursement under the new payment method.



Figure 10. Suggested changes in mapping of facility cost centers to per diem components.

Cost Category	Current Per Diem Component	Suggested New Per Diem Component
DPC = Direct Care of Resident Care Costs	Direct	Direct
PT = Physical Therapy	Split between Indirect and Operation	Direct
S/AT = Speech and Audiological Therapy	Split between Indirect and Operation	Direct
OT = Occupational Therapy	Split between Indirect and Operation	Direct
PEN = Parenteral/Enteral (PEN) Therapy	Split between Indirect and Operation	Direct
I/RT = Inhalation/Respiratory Therapy	Split between Indirect and Operation	Direct
IV = IV Therapy	Split between Indirect and Operation	Direct
DIET = Dietary	Indirect	Direct
IPC = Indirect Care of Resident Care Costs (Nursing Services, employee related expenses)	Indirect	Indirect
ACT = Activities Services	Indirect	Indirect
SOC = Social Services	Indirect	Indirect
COM = Complex Medical Equipment	Split between Indirect and Operation	Indirect
MEDS = Medical Supplies Charges to Residents	Split between Indirect and Operation	Indirect
AA = Other Allowable Ancillary Cost Centers	Split between Indirect and Operation	Indirect
CENT = Central Supply Room Services	Indirect	Indirect
MEDR = Medical Records	Indirect	Operation
PO = Plant Operation	Operation	Operation
HSK = Housekeeping	Operation	Operation
ADM = Administration	Operation	Operation
L&L = Laundry and Linen	Operation	Operation

7.8 Property Per Diem Component

7.8.1 Fair Rental Value System Method

7.8.1.1 Discussion

Common in nursing facility payment systems is a component calculated to reimburse providers for their facility-related property or capital costs. This component reimburses approximately \$175 million annually under the current payment method, which comprises approximately five percent (5%) of total Medicaid nursing facility reimbursement. Many Medicaid agencies calculate the property rates using a method referred as a "Fair Rental Value System," which estimates the fair rental rate as a proxy for the value of the facility, independent of type of ownership or rental arrangements.



The FRVS method can be contrasted to another very common approach, which relies on the reasonable and necessary cost of property expenses, and places a greater reliance on accounting values for those expenses. A property cost-based approach is generally considered a less equitable approach than an FRVS model because the property-related expenses reimbursed under a cost-based approach oftentimes bear no relationship to the actual cost of doing business. As an example, depreciation expense, which is a significant element of cost-based property reimbursement, is an accounting amortization of historical book value of property that could have been purchased many years ago, where there is no actual cash outlay today. Also, such depreciation does not include any expense related to the land upon which a building sits (since the value of land is not expected to diminish over time). Further, the book value of a building is based on the historical cost – an amount that may have been established many years ago, depending on the provider, and may no longer reflect today's value. Finally, financing costs (mortgage interest expense, closing costs, etc.) can vary significantly by provider depending on financing decisions made many years ago, when the capital markets were significantly different than they are today.

The primary advantage of the FRVS approach is that it recognizes the value of a nursing facility property in today's dollars using a standardized approach that takes into account the age and size of the facility. It then establishes a reasonable rate of return for the operator based on that value.

Calculation of the fair property value for this per diem component can be performed in a variety of ways including,

- Appraised property values
- Value of capitalized tangible assets
- Estimate of construction costs.

Calculation of appraised property values allows for detailed facility specific information. It also may be more accurate than reliance on self-reported information as long as the appraisals are completed by a single or small number of independent vendors. However, use of appraised property values is more time consuming and costly in comparison to other options.

Valuing capitalized tangible assets is a very complex method and is open for significant interpretation of allowable assets and asset value. This method is the primary method used by AHCA currently.

Estimate of construction costs utilizes easily accessible and annually updated values for cost per square foot. These values are adjusted slightly based on region of the State and are multiplied by total facility square feet to determine facility value. This method also requires inclusion of the value of land and the value of equipment.

All of these methods also require recognition of depreciation and require a determination of the amount of total value to be reimbursed annually, which is referred to as the "Fair Rental Rate."

7.8.1.2 Recommendation

We recommend using an FRVS method that utilizes an estimate of construction costs for building value and uses standardized parameters for other elements, such as land and equipment values. The standardized parameters are less accurate than determination of



individual provider values. However, the standardized parameters define values for which Medicaid is willing to reimburse, avoids the need to apply limits or ceilings, and is administratively simple to determine. This administrative simplicity is attractive and appropriate given the fact that reimbursement coming from land value and equipment encompasses less than one percent (1%) of total reimbursement.

An example of our recommended calculation of fair rental value is included in Figure 11 below. The calculation includes determination of building and equipment values adjusted for depreciation and land value. These values are then summed and multiplied by the Fair Rental Rate to determine the allowable annual compensation.

Figure 11. Example calculation property component of per diem using recommended FRVS.

RS Means Parameter	2016 Cost per Square Foot - RS Means	\$ 200.72	
Facility Information	Square Feet Per Bed	230	
	Occupancy	90.4%	
	Facility Age in Years	20	
	Number of Beds	100	
Policy Parameters	Land Percentage	10%	
	Equipment Cost per Bed	\$8,000	
	Depreciation Factor	1.5%	
	Fair Rental Rate	8.0%	
	Minimum Occupancy	90%	
	Building Value	\$ 46,166	(RS Means Value) * (Sq. Ft. Per Bed)
	Land Value	\$ 4,617	(Building Value) * (Land Percentage)
Calculation of Rate Per Bed Day	Equipment Value	\$ 8,000	(Equipment Cost per Bed)
	Depreciation	\$ 16,250	[(Building Value) + (Equipment Value)] * (Facility Age) * (Depreciation Factor)
	Fair Rental Value	\$ 42,533	(Building) + (Land) + (Equipment) - (Depreciation)
	FRV Reimbursement	\$ 3,403	(Fair Rental Value) * (Fair Rental Rate)
	Applicable Occupancy	90.4%	Larger of (Facility Occupancy) and (Minimum Occupancy)
	Occupancy Per Year Per Bed	330.2	(Applicable Occupancy) * (365.25)
	FRV Rate	\$ 10.31	(Fair Rental Reimbursement) / (Occupancy Per Year Per Bed)

7.8.2 Fair Rental Value System Parameters

7.8.2.1 Discussion

The construction cost per square foot is a value that can be obtained from one of several companies that calculate these values each year. Values are determined specifically for nursing facility construction. Also, the values vary slightly based on the region within the State and on the type of construction.



The construction cost per square foot is multiplied by the total square feet of facility space to determine the replacement value of the physical building (which is subsequently adjusted to take into consideration the age of the facility). Currently, patient care square footage is reported on AHCA's Medicaid cost report, but total facility square footage is not. A survey was recently distributed to nursing facilities by AHCA with the assistance of FHCA and LeadingAge in preparation for potential implementation of an FRVS. This survey provided the opportunity for facilities to report total square footage of building space. As of November 2016, just over 500 of the 659 facilities in Florida have responded to the survey. Information reported on these surveys has not been audited.

In addition to construction cost per square foot, our recommended FRVS solution includes several other payment parameters that must be set by Florida Medicaid. These are,

- Land Percentage
- Equipment Cost
- Depreciation Factor
- Fair Rental Rate
- Minimum Occupancy
- Maximum Facility Age
- Minimum Square Footage Per Bed
- Maximum Square Footage Per Bed

7.8.2.2 Recommendation

We are recommending the use of RSMeans construction cost per square foot values, which are produced by a company called Gordian. Values are provided for a variety of building sizes and six different types of construction and are updated annually. Because we are looking to use a single value for all facilities we selected the average value for all six constructions types and for a 25,000 square foot facility. The resulting value for SFY 2016 is \$200.72 per square foot.

The construction cost per square foot is multiplied by total facility square feet to determine value of the building(s) for each nursing facility. However, total facility square feet is not a value currently collected by AHCA. It is being collected in the FRVS survey mentioned in the previous section, but calculation of total square feet of facility space is open for some interpretation and the values in the survey are not audited. Some other state Medicaid agencies have dealt with similar challenges by simply assuming an average number of square feet per bed and used that value for all facilities. We are recommending a compromise in which we use patient care square feet, which is currently reported in all cost reports, times a value of 1.6 to determine total facility square feet. The value of 1.6 results in a split of 63 percent and 37 percent for patient care square feet and non-patient care square feet per facility respectively. This split is consistent with the average split found among the facilities that have responded to the FRVS survey.

We are also recommending that current value of the facility, determined by the RSMeans value and the square feet method described above, be reduced for depreciation at a value of 1.5 percent per year, for the age of the facility. We also recommend allowing the age of the facility

¹³ Based on analyses completed by Navigant, the approximate average size of nursing facilities in Florida is 25,000 square feet.



be reduced to take into consideration any significant renovations that have occurred since the original building was placed into service (discussed below).

Other FRVS payment parameters that must be set by Florida Medicaid are determined as fairly and reasonably as possible while ensuring budget neutrality within the property component. Total spend for the property component for SFY 2016 was estimated to be just under \$175 million, including home office property costs and excluding property taxes and property insurance. Given the facility renovation data available as of December 2016, the values in Figure 12 below provide budget neutrality when a budget neutrality factor of 0.93104 is applied (see section 7.12 for a detailed discussion of budget neutrality factors).

Figure 12. Recommended FRVS payment parameter values.

	Recommended
FRVS parameter	Value
Land Percentage	10%
Equipment Cost	\$8,000
Depreciation Factor	1.5%
Fair Rental Rate	8.0%
Minimum Occupancy	90%
Maximum Facility Age	40 years
Minimum Square Footage Per Bed	100
Maximum Square Footage Per Bed	500

The parameter values suggested above for Florida Medicaid's new FRVS calculation are similar to those used by other state Medicaid agencies as illustrated in Figure 13 below.

Figure 13. Example FRVS parameters used by other state Medicaid agencies.

	North Carolina	Georgia	California	Washington
Cost per Square Foot	Determined by RSMeans Construction Cost Index	Determined by RSMeans Construction Cost Index	Determined by RSMeans Construction Cost Index	Determined by RSMeans Construction Cost Index
Land	15%	15%	10%	10%
Equipment Cost per Bed	\$5,000	\$6,000	\$4,000	10% of Building Value
Max. Sq. Ft. per Bed	450	700	400	450
Depreciation Factor	2%	2%	1.8%	1.5%
Fair Rental Rate	7.5 – 9%	9%	7 – 10%	7.5%
Maximum Facility Age	32.5 years	25 years	34 years	35 years



7.8.3 Renovation Adjustments

7.8.3.1 Discussion

Within the FRVS per diem calculation, we identify benefit in providing incentive for investment in physical upgrades to facilities. We assume modernization of facilities has some impact on quality of life for residents. Modernization may also provide greater safety for residents from risk of fire and damage from hurricanes or other natural disasters.

7.8.3.2 Recommendation

We have modelled and are recommending a relatively standard approach to incenting physical facility updates. This method adjusts the age of the facility for use in the calculation of depreciation. In this approach, the cost of the renovation is compared to the annual depreciation amount to determine an adjusted age of the facility for renovations which do not add new beds. For renovations that do add beds, the adjusted age of the facility is calculated as a weighted average of the age of the old beds and the age of the new beds. Final adjusted age of the facility is calculated as the lowest adjusted facility age determined for each individual renovation.

For renovations that do not add beds, the calculation of adjusted age is:

For renovations that do add beds, the calculation of adjusted age is:

Information regarding nursing facility renovations is not something AHCA normally collects. However, the survey that was recently distributed to nursing facilities collected details regarding renovations in preparation for potential implementation of an FRVS. As of November 2016, slightly over 500 of the 659 facilities have responded to the survey. AHCA is planning to release the survey again in January of 2017 to give facilities an additional opportunity to respond and update their information if they have just recently completed any new renovations.



In future years, a standard process will need to be developed and implemented to allow nursing facilities to report renovation information to AHCA.

Because this process of adjusting facility age based on renovation data is relatively complex, we recommend putting a minimum size on renovations that will be accepted as input into this process. This way AHCA will not need to collect data and calculate an adjusted age for very small renovations such as application of new paint to interior walls. We recommend the minimum cost of a renovation be \$500 per facility bed to apply for this process.

A figure listing the renovation-adjusted age for each facility that responded to the recent FRVS survey is included in Appendix E – Adjusted Facility Age.

7.9 Pass Through Payments

7.9.1 Discussion

Pass through payments are facility-specific payments that reimburse specific facility-related costs. The current payment method includes pass through payments for property tax, property insurance, and home office property costs. Per diem values for these costs are determined based upon actual historic cost and patient days as shown in the latest applicable cost report. For SFY 2016, reimbursement for property tax and property insurance totaled just under \$47 million. Reimbursement for home office costs totaled \$9.6 million.

7.9.2 Recommendation

We recommend maintaining pass through payments for property taxes and property insurance. Property tax, in particular, and property insurance to a lesser degree, are oftentimes outside of nursing facility operators' control and may vary based on region within the state. Thus, allowing these costs to be reimbursed as pass through payments promotes equity.

In theory the existence of a home office is to provide centralized administrative functions that improve efficiency for a group of facilities. Therefore, home offices should help to reduce costs, not increase them. In addition, home office costs are incurred at the discretion of nursing home provider organizations, and are not a State requirement for licensing or operations. For these reasons, we do not recommend continuing pass through payments for home office costs, under the assumption that the method we have recommended for establishing facility square footage under the FRVS reasonably accounts for the administrative property requirements for each facility. Instead, we included the \$9.6 million estimated spend for home office property costs for SFY 2016 in the total budget for the FRVS calculations and determined FRVS parameters that maintain budget neutrality.

7.10 Provider Quality Assessment

7.10.1 Discussion

The current payment method includes an allocation of funds collected through the nursing facility quality assessment program.



7.10.2 Recommendation

We recommend maintaining the current allocation method for these funds.

7.11 Specific Service Add-On Payments

7.11.1 <u>Discussion</u>

Some nursing facility residents require particularly costly care. Examples include residents who require ventilators to support respiration and residents who exhibit behaviors that make them dangerous to themselves or others. One option to promote access to care for these types of residents is to include an increase in per diem for facilities who admit patients who demonstrate these care needs. A per diem add-on is a reasonable option given the fact that we are not recommending an acuity-based adjustment to the standardized rates at this time (understanding that such acuity-based systems would likely account for such differences).

However, in a budget neutral model, any increases in per diems for specific services will result in reductions in the standardized per diem amounts for all other services. For this reason, some industry stakeholders have requested that service-specific per diem add-ons be applied only if new money is made available to fund these changes, so as not to unnecessarily shift existing direct care funds away from providers who are unable or opt not to provide these services today.

For the two aforementioned examples, our expense projections for per diem add-ons for ventilator care and for care of residents with high-incidence disruptive behavior are \$8.2 million and \$4.0 million, respectively. These calculations were made with a \$200 per day add-on for ventilator care and a \$20 per day add-on for care of residents with disruptive behavior. However, these values could increase over time through increased utilization of or demand for these services.

A potential for funding of a per diem add-on for ventilator care would be a shift of some funds from the hospital inpatient budget to the nursing home budget. Looking at hospital inpatient data, we estimated the average cost per day to Medicaid is about \$1,200 for DRG outlier payments for residents on ventilators that are in an acute care hospital (including long term acute care) for more than 30 days. We found over 2,400 adult patients in acute care hospitals meeting this criteria in a sample 12 month period. If we can assume that an increase of \$200 per day in payment to nursing facilities would increase access to ventilator care in nursing facilities thus reducing the number of patients receiving ventilator care in acute hospitals, then this increase in payment to nursing facilities might result in an overall reduction in cost to the Medicaid program.

7.11.2 Recommendation

We recommend including a \$200 per day increase in nursing facility per diem for care of residents on ventilators. Given that our charge was to make recommendations that would be budget neutral, we do not recommend adding funds to cover these rate adjustments. As such, the funds to cover the costs of these add-on amounts must come from the pool of funding for all nursing facility services. In the event that additional funding were made available, either in new dollars, or in recognition of potential decreases in payments in more costly service settings, the \$8.2 million amount estimated above could be put back into non-ventilator-related nursing facility service rates, resulting in slightly higher per diems. In any event, we believe that adding



\$200 per day for ventilator care would ultimately be more cost effective for the Medicaid program as a whole. Note also that, were it not for the budget neutrality requirement, we would have recommended additional funding for these ventilator services so that these services may be provided in a more cost effective nursing facility setting.

7.12 Budget Neutrality Factors

7.12.1 Discussion

As mentioned in section 7.4, we chose to maintain budget neutrality separately for property and non-property portions of current reimbursement. Thus, payment parameters for the FRVS calculations and for the Direct, Indirect, Operations and Quality portions of the overall per diem were selected to ensure budget neutrality in addition to supporting equity, access, quality, and efficiency. By adjusting the parameters used in determination of the various per diem components we were able to model reimbursement that was close, but not exactly the same as current reimbursement levels.

7.12.2 Recommendation

To align projected spend within our models as closely as possible to current reimbursement levels, we incorporated two budget neutrality multipliers into our calculations. One budget neutrality multiplier was applied to ensure neutrality for the property component and another multiplier was applied to ensure neutrality for the non-property components. The property multiplier is applied to the FRVS per diem component and the non-property multiplier is applied to the Direct, Indirect and Operations components of the overall per diem. In our final model, the property budget neutrality multiplier came out to 0.93104 and the non-property multiplier came out to 0.99850. We recommend applying these multipliers to ensure that the proposed rates are budget neutral.

7.13 Statutory Unit Cost Per Diem Cap

7.13.1 Discussion

Beginning with the appropriations for SFY 2011/12, a statutory limit on the nursing home per diem has been in place. This limit is \$160.83 and was implemented at the same time as the nursing facility provider quality assessment. This limit is applied to the per diem determined before application of Medicaid Trend Adjustment (MTA) buybacks, nursing facility quality assessment per diem, and Operation component add-on. In other words, the limit is applied to the portion of the per diem that is funded by state general revenue and excludes portions of the per diem funded by the nursing facility quality assessment. To determine if per diem rates for a state fiscal year are above this limit a weighted average per diem is calculated across all facilities using the applicable portion of the per diem. If the weighted average per diem under the new rates is greater than \$160.83, then each per diem is reduced proportionately until the weighted average is brought down to \$160.83.

7.13.2 Recommendation

This statutory average unit cost per diem limit was presumably put in place by the Florida Legislature to control Medicaid nursing facility expenditures. Given the fact that legacy per diems were calculated based on facility-specific costs, a limit was needed to ensure



predictability of expenditures. However, under the proposed new NPPS, parameters exist (percent of median costs, floors, budget neutrality multipliers) which enable rates to be set in a budget neutral manner, including application of inflationary increases, if approved by the Legislature. As a result, we do not see a need for a statutory unit cost per diem limit to be in place once the NPPS is implemented.

Further discussion on the topic of annual rate updates is included in section 9.2.

Whether or not this statutory limit is removed, we have confirmed that the per diems included in the pricing model included in this report are within the current limit of \$160.83.



8 Quality Incentive Program

8.1 Introduction

One significant opportunity while designing a new payment system for statewide nursing facility reimbursement is the ability to introduce a quality incentive program as an element of the overall reimbursement model. The current cost-based system does not account for delivery of high quality services, which is a missed opportunity for the Agency as a significant payer of long-term nursing facility care. While the current system pays for costs, it does not significantly define expectations around quality of services rendered, and expectations for how that quality translates into resident experience and health outcomes. In short, the agency is challenged to identify a return on investment for nursing home services paid for using Medicaid funds.

The Agency expressed its intent to incorporate a quality incentive program to stakeholders early in the design process, and received wide support for a strong quality incentive within the prospective payment system, so long as the incentive was constructed in a manner that:

- 1. Included evidence-based quality indicators that demonstrably impact care outcomes and quality of life for nursing home residents,
- 2. Did not significantly drive administrative burden for nursing facilities by adding new measures that would require additional tracking and reporting above and beyond current reporting required by the Centers for Medicare and Medicaid Services (CMS),
- 3. Rewarded top-performing providers, while allowing some opportunity for providers with significant improvement to benefit from a quality incentive payment as well.

When considering what measures to include in a quality incentive program, Navigant deliberately chose quality standards that we believe drive quality of care and quality of life for residents. Our model incorporates measures that "hinge" the quality standards expected of nursing homes to quality measures for the statewide managed long-term care programs. We believe coordinating quality standards across the long-term care continuum will drive increased coordination and continuity of care as long-term care consumers transition across the continuum of care. Our recommended quality measures drew from pre-existing measures that nursing facilities are already tracking and reporting on in some form or fashion to CMS, thereby reducing any additional administrative burden.

8.2 Discussion

The quality incentive payment represents a dramatic change in the way in which AHCA has funded long term care. Historically, payments were made using facility-specific rates based upon cost, and generally relied on this approach to lead to the provision of appropriate quality of care. Our recommended quality incentive program within the NPPS is intended to maximize the value of public expenditures by explicitly measuring and rewarding better nursing home performance.

8.2.1 Size of the Quality Incentive Program

Throughout the NPPS design process, we received feedback from various stakeholder groups, and virtually all supported the implementation of a quality incentive payment component, however, feedback regarding the size of the program varied. Some stakeholders recommended



that the quality incentive component be no more than two percent of total payments under the new system, while others argued for a minimum of ten percent, with that amount increasing over time. Others suggested phasing in the quality component over time, beginning at two percent in the first year and increasing it in future years to a maximum of five percent.

8.2.2 Process Followed to Develop the Quality Model

Developing a quality incentive program requires balancing a number of trade-offs and competing priorities. The quality incentive payment has the potential to significantly impact the quality of care and life of residents, as well as the quality of nursing facility staff and program administrators.

Figure 14. Application of guiding principles to establish quality incentive payments.



The Agency conducted an inclusive process, soliciting input from a wide array of stakeholders to help determine the quality incentive measures. Potential measures were presented to stakeholders and their comments were solicited during and after several public hearings, and during other meetings with individual stakeholder organizations. Some stakeholder feedback became the impetus for changes to the model while other suggestions were considered less consistent with the guiding principles set forth for this project, and were not included in the model.

8.2.3 Framework

There are several quality initiatives underway in Florida, and nationally, that are specifically designed to improve the quality of care in nursing homes. These include: the federal CMS Five Star rating system, the National Partnership to Improve Dementia Care in Nursing Homes and the Advancing Excellence in America's Nursing Homes Campaign, all targeting specific domains of care within long-term care. Within Florida, the Nursing Home Gold Seal Award and the Florida Nursing Home Guide, as well as the state survey, all serve as additional layers of quality monitoring and reporting. Several of these are discussed in more detail later in the report.

When structuring the Florida NPPS quality incentive program, the Donabedian Model (DM) for evaluating quality health care was used as the conceptual framework. While there are several other quality of care frameworks in use, the DM remains one of the most heavily used and well researched models for measuring quality of care in a variety of healthcare settings. In the DM model, there are three primary areas in which information on quality of care can be collected.



These areas have been translated to represent measures for the purpose of building the Florida NPPS quality incentive program: Structural Measures, Process Measures and Outcome Measures.

The **Structural** measures are organizational characteristics associated with the provision of care. These include measures related to facility size, age, staffing, sources of payment, occupancy, etc. **Process** measures represent all actions that directly impact the resident. These measures may include timeliness and accuracy of diagnosis, treatment, and preventive care as well as referrals to other healthcare services (i.e. therapy, acute care, etc.) or care delivery. The **Outcome** measures represent the effects of care to patients including changes in health status, functional ability, and preventable illness and other healthcare conditions.

8.2.4 Data Sources

Based upon the guiding principles and the need for budget neutrality, as well as a desire for a quality model to be easily understood, it was decided that measures should be publicly accessible and should come from sources which already exist, to the extent possible. There was consensus among all stakeholders that enough information is already collected, and to add more measures or reporting would represent an administrative burden requiring further time and resources. To that end, nearly all of the data utilized in the development of the quality incentive model is based on information currently reported by nursing facilities. In addition, most of the information is currently publicly accessible through the web from either the CMS, Joint Commission, Association for Health Care Administration or the Florida Agency for Health Care Administration. Only the staffing data retrieved from the Nursing Home Cost Reports and the CMS 671 Reports are not currently posted to the web, but are available by request to the Agency.

8.3 Recommendation

8.3.1 Size of the Quality Incentive Payment Program

After significant discussion with the Agency and consideration of stakeholder input, we recommend setting aside for the quality incentive component a smaller amount in the first year of implementation and gradually increasing the size of the program in subsequent years. We are suggesting the first year of the Quality Incentive Program be funded with an amount totaling seven percent (7%) of current non-property related payments. This total using SFY 2016/17 rates is \$216,884,906. In addition, we recommend gradually increasing this percentage by setting it to eight percent (8%) in year two of the NPPS, nine percent (9%) in year three, and settling at ten percent (10%) in year four and beyond. It is important that the quality incentive component be established in a way that creates sufficient incentive for providers to change how they provide care. Making the incentive too small would provide little such incentive. At the same time, too large of an incentive payment would overly reward quality of care, and could ieopardize those facilities who are poorer performing by creating such a low per diem rate that it would be difficult to make the changes necessary to improve quality of care. We believe seven percent is significant enough to drive commitment to quality, by providing substantive payment increase to those facilities that demonstrate high quality, while also recognizing those facilities who demonstrate significant improvement and movement toward high performance. As the largest payer for statewide long-term care, we believe the criteria established represents a strong composite of how we measure value in the delivery of the nursing home care and services that Medicaid funds.



8.3.2 NPPS Quality Incentive Model

Measurement of quality in a nursing facility setting is not a perfect science and will continue to evolve. Our NPPS quality incentive model utilizes a combination of measures in order to most accurately identify and reward nursing facilities providing the highest levels of care. The methodology provided promotes quality and aligns with federal quality measures, while considering state-specific measures that incentivize clinical performance and recognize commitment to quality. All of the clinical measures indicated are evidence based and have been found to indicate high quality of care or high quality of life for people residing in nursing homes.

The quality measures included in our model represent a clear summary of what the State expects from Medicaid-funded nursing home care, and provides a framework that the nursing home industry can use as a focal point when identifying areas of opportunity for improvement or sustaining high performance. The quality measures selected for inclusion in the proposed quality incentive include:

- Process Measures Flu Vaccine, Antipsychotic, Restraint
- Outcome Measures UTI's, Pressure Ulcers, Falls, Incontinence, Decline in ADLs
- Structural Measures Staffing, CMS 5 Star, Florida Gold Seal, Joint Commission Accreditation, AHCA National Quality Award

Scoring for each of these measures is provided in Figure 15 below.

Throughout the NPPS design process, it was recognized that several new quality measures will be available online at a later date, through Nursing Home Compare. A number of these future measures are expected to be strongly correlated with high quality of care and would thus make appropriate replacement measures or additions to those used in the current model. Future measures to consider include: staff turnover and retention, types of staffing (activity staff, social work, nursing, dietary, administration, etc.), ability to ambulate independently and use of antianxiety or hypnotic medications. Our proposed model is designed to accommodate more appropriate measures as they become available, either as new measures, or as replacement for existing measures. Indications are that CMS recognizes the value of resident and family satisfaction surveys as reliable indicators of quality of care. Additionally, available research on quality of life and quality of care for residents in long term care facilities suggests that resident or family satisfaction surveys, if conducted appropriately, should provide useful insight into the quality of life for residents. As such, Navigant recommends that that Florida consider developing a resident or family satisfaction survey for consideration as a future measure of quality included the quality incentive model.



Figure 15. NPPS quality incentive model.

Process Measures	0.5 Points	1 Point	2 Points	3 Points	Max Points Per Facility
Flu Vaccine	20% year-over-year improvement.	Above 50 th	Above 75 th	Above 90 th	3
	In first year, improvement is	Percentile	Percentile	Percentile	
Antipsychotic	calculated as the change from the	Below 50 th Percentile	Below 25 th Percentile	Below 10 th Percentile	3
Restrained	year preceding the base year to the base year measurement.	Below 50 th	Below 25 th	Below 10 th	3
	·	Percentile	Percentile	Percentile	
Outcome Measures	0.5 Points	1 Point	2 Points	3 Points	Max Points Per Facility
Urinary Tract	ĺ	Below 50 th	Below 25 th	Below 10 th	3
Infections		Percentile	Percentile	Percentile	
Pressure Ulcers	20% year-over-year improvement.	Below 50 th	Below 25 th	Below 10 th	3
Tressure Glocis	In first year, improvement is	Percentile	Percentile	Percentile	
Falls	calculated as the change from the	Below 50 th	Below 25 th	Below 10 th	3
	year preceding the base year to	Percentile	Percentile	Percentile	
Incontinence	the base year measurement.	Below 50 th	Below 25 th	Below 10 th	3
Activities of Daily		Percentile Below 50 th	Percentile Below 25 th	Percentile Below 10 th	3
Activities of Daily Living		Percentile	Percentile	Percentile	3
Structure Measures	No Points Awarded To Those Under Median	1 Points	2 Points	3 Points	Max Points Per Facility
Combined Direct Care Staffing (RN, LPN, CNA)	N/A	Above 50 th Percentile	Above 75 th Percentile	Above 90 th Percentile	3
Social Work and Activity Staff	N/A	Above 50 th Percentile	Above 75 th Percentile	Above 90 th Percentile	3
Credentials ¹⁴		1 Point	3 Points	5 Points	Max Points Per Facility
CMS 5 Star Rating	N/A	3 Stars	4 Stars	5 Stars	5
Florida Gold Seal		N/A	N/A	Awarded	
Joint Commission Accreditation	Must Have at least 1 of these 3 Certifications/Accreditations	N/A	N/A	Awarded	5
AHCA National Quality Award	(maximum of 5 points)	N/A	N/A	Silver or Gold Award	
Total Quality Points Possible					40

-

¹⁴ Under the Donabedian Model, credentials would traditionally be classified as a structural measure



8.3.3 Calculation of Quality Scores

In our recommended model, each facility is able to receive a maximum of 40 points. Points are calculated for each of the domains separately (Process, Outcomes and Structure) on an annual basis and then added together to receive an overall score.

For each individual Process and Outcomes measure, each provider will be ranked based on the percentage of residents who have (or do not have) a particular condition. Providers who are in the top 90th percent of high performers for a particular measure will be awarded 3 points, those scoring between the 75th and the 89th percentiles will be awarded 2 points and those scoring between the 50th and 74th percentiles will receive 1 point. A maximum of 9 points can be achieved for the Process measures and 15 points for the Outcome measures. Providers who score below the 50th percentile still have an opportunity to receive 0.5 points by achieving a 20 percent improvement year over year. For years 2 and 3, the year 1 percentile values will continue to be used, however, individual provider percent improvements will still be measured year over year. (Please see section 9.2.2.4 for further discussion of timing of updates to quality scores.)

The percentile values included in our model for Process and Outcomes measures are shown in Figure 16.

	50th	25th/75th	90th/10th
Measure	Percentile	Percentile	Percentile
Flu Vaccine	95.98%	98.95%	100.00%
Antipsychotic	15.52%	10.88%	6.86%
Restrained	0.00%	0.00%	0.00%
UTI	3.47%	1.32%	0.00%
Pressure Ulcers	5.44%	3.29%	1.52%
Falls	2.47%	1.23%	0.00%
Incontinence	51.85%	41.18%	31.82%
ADL	13.00%	8.44%	5.56%
	Flu Vaccine Antipsychotic Restrained UTI Pressure Ulcers Falls Incontinence	Measure Percentile Flu Vaccine 95.98% Antipsychotic 15.52% Restrained 0.00% UTI 3.47% Pressure Ulcers 5.44% Falls 2.47% Incontinence 51.85%	Measure Percentile Percentile Flu Vaccine 95.98% 98.95% Antipsychotic 15.52% 10.88% Restrained 0.00% 0.00% UTI 3.47% 1.32% Pressure Ulcers 5.44% 3.29% Falls 2.47% 1.23% Incontinence 51.85% 41.18%

Note(s):

• Several measures identified early as potential indicators of quality were excluded due to the lack of variability in scores. Even though the restraint measure fits this criteria, it was kept in the model as both Navigant and the Governance committee felt it was such an important factor for quality of life for residents.

For Structural measures, each provider will be ranked annually based upon how they performed in each of the staffing related measures. Providers who are in the top 90th percentile for each of the staffing measures will be awarded 3 points, those scoring between the 75th and the 89th percentiles will be awarded 2 points and those scoring between the 50th and 74th percentiles will receive 1 point. A maximum of 6 points can be achieved for the Combined Direct Care Staffing and Social Work/Activity Staff measures.¹⁵ Also, Navigant recommends that the Structural

[•] The number of restraints reported was so few that the 50th, 25th, and 10th percentiles all came out to 0%. Even so, we chose to keep this measurement in the model because we believe it is important to incent extremely limited use of restraints.

¹⁵ It is our understanding that CMS will be reporting new Staffing and Retention measures in the near future. Navigant strongly recommends consideration of these new Staffing and Retention measures once they become available for addition to or replacement of measures within the Structural domain.



measures be updated and re-benchmarked annually as staffing levels can be more quickly adjusted than some of the other quality measures in our model.

The percentile values included in our model for Structural measures are shown in Figure 17.

Figure 17. Structural measures percentiles.

Туре	Measure	50th Percentile	25th/75th Percentile	90th/10th Percentile
Structure	Combined Direct Care Staffing (RN, LPN, CNA)	3.949	4.240	4.575
Structure	Social worker and Activity Staffing	2.00	2.2125	3.00

The last category, Credentials, allows for a maximum of 10 points. The first Credentialing measure is the CMS 5-Star program. Facilities assigned a rating 3, 4 or 5 stars in this program will receive 1, 3 or 5 points, respectively. The second Credentialing measure enables facilities to gain an additional 5 points by obtaining either a Florida Gold Seal, Joint Commission Accreditation or the American Health Care Association National Quality Award Silver or Gold level.

Using these criteria, quality scores for each individual facility are provided in Appendix F – Quality Scores by Facility.

8.3.4 Calculation of Quality Incentive Program Payments

As mentioned in section 8.3.1, we recommend setting aside an amount totaling seven percent (7%) of current non-property related payments for the quality incentive component. Given SFY 2016 rates, this came out to a total of \$216,884,906 available for the quality incentive program. Also in our recommended model, only facilities scoring above the 30th percentile in total quality points are eligible for the quality incentive payments. Once the 70 percent of the facilities that will receive quality incentive payments is identified, a calculation is made to determine the per diem amount per quality point. The first step in this process involves calculating a total dayweighted score using the following formulas:

```
Facility Weighted Score = (Facility Quality Score)

* (Facility Annualized Medicaid Days)
Total Weighted Score = Sum of Facility Weighted Scores
```

The quality incentive payment per point is then calculated as:

In our modelling, the Quality Payment Per Point came out to \$1.31917. Finally the quality incentive per diem add-on amount for each facility is calculated as:

Using these calculations, the quality incentive program per diem add-on amounts for each individual facility are provided in Appendix G – Quality Per Diem Add-On Calculation.



8.3.5 Data Sources

The data for the calculations for each of the 12 measures can be retrieved from the sources listed in Figure 18:

Figure 18. Quality metric data sources.

Measure	Data Source
Flu Vaccine, Antipsychotic,	
Restrained, UTI, Pressure, Ulcers, Falls, Incontinence, ADL	https://data.medicare.gov/data/nursing-home-compare
Direct Care Staff	Florida 2016 Staffing Data found in Medicaid cost reports
Activity and Social Worker Staffing	Florida CMS 671 Reports
CMS 5 Star	https://data.medicare.gov/Nursing-Home-Compare/Star-Ratings/ax9d-vq6k
Florida Gold Seal	http://www.floridahealthfinder.gov/facilitylocator/ListFacilities.aspx
Joint Commission	https://www.jointcommission.org/accreditation/nursing_care_centers.aspx
American Health Care Association	https://www.ahcancal.org/quality_improvement/quality_award/Pages/default.aspx

8.4 Rationale for Inclusion of Individual Measures

When considering each measure, we used the following traits as guiding rationale for selection:

- 1. The measure must be collected, updated, or recertified on a regular basis, and be publicly available.
- 2. The measure must be evidence based, as it relates to quality of care or quality of life for residents of long term care facilities, with a preference for evidence via peer-reviewed literature, or be in use in another established and validated quality rating system.
- The measure fits one of the three aforementioned classifications.

The following subsections list the specific measures selected for use in the model and provide a brief description of the data source or program from which the measure is derived:

8.4.1 Process Measures

8.4.1.1 <u>Flu Vaccine – Percent of Residents Assessed and Appropriately Given the Seasonal</u> Influenza Vaccine

Spread of influenza can occur between and among residents, staff, health care providers, and facility visitors. Residents of long-term care facilities can experience severe and even fatal illness during an influenza outbreak. The flu vaccine has been shown to be effective in flu prevention and the reduction of associated hospitalizations. In the event of a flu outbreak, not only is there a decrease in quality of life for the ill resident, standard precautions/procedures may significantly impede residents' quality of life including extended bed-rest, quarantine, and closure of the facility to visitors, thereby restricting access of residents to engage with family, friends and informal care networks.

8.4.1.2 Antipsychotic – Percent of Residents Who Received an Antipsychotic Medication

Antipsychotic drugs are an important treatment for patients with certain mental health conditions. However, they should be used with caution, especially among older adults, as they



are associated with an increased risk of death when used in elderly patients with dementia 16. There is also sufficient evidence that antipsychotics are often used as chemical restraints, which increases the likelihood of falls, with or without significant injury, and can alter a resident's ability to socially engage beyond what is required to maintain health, safety and quality of life. Finally, there are ample interventions available that have proven effective for behavior management that do not require drug intervention. Higher staffing ratios, frequent and varied engagement via activities and consistent staff assignment have all been shown to be successful in reducing utilization of antipsychotics in long term care.

8.4.1.3 Restrained – Percentage of long-stay residents who were physically restrained

Restraints are typically used to prevent someone from falling out of a bed or a chair, or limit walking. Although restraints can prevent some falls and accidents, they carry significant safety risks and directly impact the quality of life experienced by the resident. There is a lengthy history of long-term care residents who have been seriously injured while trying to escape restraints or through the use of improperly applied restraints. Residents can also become entrapped, introducing life-threatening risks, up to and including choking and suffocation. Restraints should serve as a last resort, used only when absolutely necessary as part of a medical treatment plan, and not to provide a convenience or behavior management tool for staff. A resident who is restrained can experience a host of negative health consequences, decreased independence and reduction in social contact, often leading to withdrawal, depression, anxiety and agitation¹⁷. The use of restraints additionally impedes a resident's ability to have dignity and control over basic functions. A nursing home has many options to help improve resident safety without resorting to restraints including responding guickly to resident needs (thirst, hunger, toileting), providing person-centered care, providing safe areas in which to walk or pace freely, therapy services, and adaptive equipment to ensure comfort and safety.

8.4.2 Outcome Measures

8.4.2.1 UTI - Percentage of long-stay residents with a urinary tract infection

Urinary tract infections (UTI) are one of the most common infections in the long-term care setting¹⁸. Determining causation and prompt treatment of a UTI can prevent more serious complications and prevent further illness. Complications from a UTI can range and lead to hospitalization, delirium, and even render individuals comatose. Additionally, incorrect diagnosis of a UTI can lead to inappropriate antibiotic use, causing adverse effects and exacerbation of public health concerns about the increase in antibiotic resistance across care settings and recipients. Facilities can initiate interventions to help identify risk and mitigate/eliminate risk factors for UTIs. Implementing proper catheter care, toileting plans and monitoring for dehydration all are associated with decreased UTIs in long term care. This measure also promotes consistent staffing, as UTIs are often detected when the color or scent of urine changes, and/or sudden, sometimes subtle behavior and cognition changes occur, which can be more easily detected when direct care staff have high familiarity to those residents for whom they provide care.

¹⁶ Knol W, van Marum RJ, Jansen PA, Souverein PC, Schobben AF, Egberts AC. (2009) Antipsychotic drug use and risk of pneumonia in elderly people. Journal of the American Geriatric Society, 56, 661–666.

Tengberg, J, Castle, N & McCaffrey, D. (2007). Physical Restraint Initiation in Nursing Homes and Subsequent Resident Health.

The Gerontologist, 48(4):442-452.

¹⁸ Breitenbucher, R (1990). UTI: Managing the Most Common Nursing Home Infection. Geriatrics, 45(5):68-70.



8.4.2.2 <u>Pressure Ulcers – Percentage of high risk long-stay residents with pressure ulcers</u>

Skin and soft tissue changes associated with aging, illness, small blood vessel disease, and malnutrition increase vulnerability, and can have serious consequences for the elderly, including significant pain, infection, sepsis, and mortality. Pressure ulcers are also costly and time consuming to treat, requiring enhanced provision of skilled care ¹⁹. Facilities can initiate interventions to help identify risk and mitigate/eliminate risk factors, monitor the impact of interventions, and modify the interventions as appropriate based on the individualized needs of the resident. Improvement in resident/patient quality of care ²⁰ and quality of life can be expected by following appropriate pressure ulcer prevention and treatment guidelines. Pressure ulcers can also be prevented by ensuring residents are not left chair bound or bedbound for extended periods, and are sufficiently transferred, turned and ambulated as necessary.

8.4.2.3 <u>Falls – Percentage of long-stay residents experiencing one or more falls with major injury</u>

Numerous studies have identified risk factors for falls within the nursing home population, including a history of falls, impaired cognitive function, postural hypotension, psychotropic and cardiovascular medications, use of restraints, balance problems during transfer and ambulation, and insomnia²¹. The identification of these risk factors presents a number of clinical focus areas that nursing facilities can improve or maintain to prevent and reduce incidence of falls among residents. Each year, one in every three adults age 65 and older falls. One third of falls among nursing home residents results in an injury. These injuries often lead to extended acute and sub-acute care episodes that are traumatic and costly for residents and Medicaid, and can result in long-term functional impairments or deficits. With so many factors driving the rate of facility-based falls, this measure offers a comprehensive scan of quality of care, and can drive performance in several ways.

8.4.2.4 <u>Incontinence – Percentage of low risk long-stay residents who lose control of their bowels or bladder</u>

Loss of bowel or bladder control is not a normal sign of aging and can often be successfully treated. Incontinence can be caused by physical and medical conditions, reactions to medication, diet or fluid intake, resident access to toilet facilities, difficulty disrobing and other factors. Many falsely view incontinence as an inevitable condition of aging, however a variety of interventions are possible if the cause of incontinence is properly identified and then managed. Individualized programs should focus on evaluation of residents to identify causes, early intervention, care planning, and early education. Increasing continence can help the well-being of the resident by restoring dignity and social interaction, reducing skin breakdown in the genital area, and improving the environmental conditions of a facility including odors²².

_

¹⁹ Brem, H, Maggi, J, Nierman, D, Rolnitzkyy, et. Al. (2010). High Cost of State IV Pressure Ulcers. American Journal of Surgery, _{200(4): 473-477}.

²⁰ Castle, C & Engberg, J (2005). Staff Turnover and Quality of Care in Nursing Homes. Medical Care, 43(6):616-626.

²¹ Telenius, E, Engedal, K, and Bergland, A (2013). Physical Performance and Quality of Life of Nursing-Home Residents with Mild and Moderate Dementia. International Journal of Environmental Research and Public Health 10(20):6672-6686.

²² DuBeauE., Simon, E., & Morris, N. (2006). The effect of urinary incontinence on quality of life in older nursing home residents. Journal of the American Geriatrics Society, 54(9), 1325-1333.



8.4.2.5 <u>ADLs – Percentage of long-stay residents whose need for help with daily activities has</u> increased

It is not uncommon for a nursing home resident to gradually lose some degree of ability to self-perform activities of daily living (ADLs) over a long-term stay. However, some late-stage ADLs can be maintained even with chronic conditions, acute illness, cognitive impairment and age related decline and frailty. These "late loss" ADLs include eating, bed mobility, transferring and toileting.²³ This measure tracks sudden losses in these late loss ADLs, which are not expected and would be indicative of sub-standard care, and/or an under-engagement of residents in their own ADL care, which is preferred to preserve functionality, but often ignored to facilitate ease of care or staff efficiency. This measure was also selected because the ability to perform ADLs is often a large determinant in whether a resident is able to return to a community-based setting, one of the trends the Agency has incentivized through the managed long term care plan quality standards.

8.4.3 **Structural Measures**

8.4.3.1 <u>Direct Care Staffing (Combined) – Hours of Licensed Nursing and CNA Staffing combined</u>

The relationship between direct care staff and quality of life/quality of care is well established in the research and practice literature²⁴. High RN/CNA staffing is consistently associated with better quality in nursing home care, and promotes improvement in several of the MDS long stay measures for residents²⁵.

8.4.3.2 <u>Social Work and Activity Staff (Combined) – FTEs of Social Work or Activities Staff as</u> defined in CMS 671 Report

Several peer reviewed papers identified strong links between FTEs for Social Workers and Activities/Recreation Staff and quality of life²⁶. Outcomes associated with higher staffing for Social Work and Activity include increases in personal attention received, social engagement, positive mood and overall improvement in quality of life. Recent research suggests that activity staff in particular are associated with quality of life across all domains, suggesting that social activities are as significant as physical health status.

8.4.3.3 <u>Composite and Credentialing Measures</u>

Also included in this model as structural measures, are one composite measure and three credentialing measures. As each of these measures comprise several different facets, each will be described separately along with a rationale for inclusion in the Florida NPPS Quality Incentive Program.

Systems/Research/HealthCareFinancingReview/Downloads/CMS1191328dl.pdf

49

²³ https://www.cms.gov/Research-Statistics-Data-and-

²⁴ Spilsbury, K., Hewitt, C., Stirk, L., & Bowman, C. (2011). The relationship between nurse staffing and quality of care in nursing homes: a systematic review. International journal of nursing studies, 48(6), 732-750.

²⁵ Hung, P, Casey, M and Moscovice, I (2015). Nurse Staffing Levels and Quality of Care in Rural Nursing Homes. Univ of Minnesota Rural Health Research Center. Policy Brief, January 2015.

²⁶ Degenholtz, H. B., Kane, R. A., Kane, R. L., Bershadsky, B., & Kling, K. C. (2006). Predicting nursing facility residents' quality of life using external indicators. Health services research, 41(2), 335-356.



8.4.3.4 CMS 5 Star Rating

The CMS 5 Star is the federal quality rating system created by CMS to help consumers select and compare skilled nursing facilities. Every facility that receives Medicare/Medicaid reimbursement receives a rating.

There are three components to the Five Star Rating system, resulting in three separate ratings compiled into one overall one to five-star score:

- **Health Inspections**: Each facility's previous three years of State Health Inspection scores are averaged with increased weight on the most recent year's score.
- **Staffing**: The staffing hours amongst RNs and the total nursing staff are case mix adjusted to determine an average ratio of staffing hours to resident days.
- **Quality Measures (QM):** There are 16 measures split between short term and long-term stays, including:

Short Term Stay:

- 1. Percentage of residents who self-report moderate to severe pain
- 2. Percentage of residents with pressure ulcers that are new or worsened
- 3. Percentage of residents who are newly administered antipsychotic medications
- 4. Percentage of residents who have had an outpatient Emergency Room visit
- Percentage of residents who were successfully discharged to the community, and did not die or were readmitted to a hospital or skilled nursing facility within 30 days of discharge
- 6. Percentage of residents who were re-hospitalized after SNF admission, including observation stays
- 7. Percentage of residents who made improvement in physical function and locomotion

Long Term Stay:

- 8. Percentage of residents whose need for help with activities of daily living has increased
- 9. Percentage of high risk residents with pressure ulcers
- 10. Percentage of residents who have/had a catheter inserted and left in their bladder
- 11. Percentage of residents who were physically restrained
- 12. Percentage of residents with a urinary tract infection
- 13. Percentage of residents who self-report moderate to severe pain
- 14. Percentage of residents experiencing one or more falls with major injury
- 15. Percentage of residents who received an antipsychotic medication
- 16. Percentage of residents whose ability to move independently worsened

Quality Measure data for the MDS-based QMs and the nursing home QM ratings are updated on a quarterly basis. The updates occur mid-month in January, April, July, and October. The claims-based QM data will update every six months (in April and October). Changes in the quality measures may change the star rating (CMS August 2016).



There is no cost to participate in the CMS 5 Star Rating Program.

8.4.3.5 Florida Governor's Gold Seal

The Gold Seal Program recognizes nursing facilities that demonstrate excellence in long-term care. The award is made by the Governor's Panel on Excellence in Long Term Care.

The Gold Seal Award program is not mandatory for providers. Recipients are identified publicly on the Florida Health Finder data base for nursing homes. The Gold Seal Award includes several required components in order to be awarded a Gold Seal, as determined by the selection panel:

- 1. Regulatory history the facility must be operational for at least 30 months prior to award, with no class I or II deficiencies in the previous 30 months
- 2. Financial Soundness and Stability, established by AHCA rule
- 3. Evidence of Consumer Satisfaction
- 4. Evidence of Community/Family Involvement
- 5. Workforce Stability/Turnover
- 6. Demonstration of targeted in-services around quality improvement, identified internally or externally.

To be considered for a Gold Seal Award, the facility's quality of care rank must be in the top 15 percent of facilities in the applicant's region or top 10 percent of facilities statewide. The facility must also be ranked in the Nursing Home Guide as a five-star facility. Onsite visits are not required to be eligible for the award.

Data is compiled from multiple sources including unannounced State Inspections conducted by objective professional multidisciplinary teams with oversight by state and federal agencies using state and national standards and protocols. Information is also provided for financial soundness, turnover rates and evidence of community/family involvement.

The Gold Seal Award must be renewed every 3 years. There are numerous provisions for termination of Gold Seal status.

There is no cost to participate in the Florida Gold Seal Award.

8.4.3.6 Joint Commission Accreditation

The Joint Commission's accreditation process seeks to help organizations identify and resolve problems, and to inspire them to improve the safety and quality of care, treatment, and services.

Joint Commission Accreditation for Nursing Home Care standards focus on care and organizational functions that are essential to providing safe, high quality care. Standards are developed in consultation with long term care experts, providers, measurement experts, patients, and their families. Among the standards for long term care are those listed in the following figure:



Figure 19. Long term care standards reviewed as part of the Joint Commission accreditation.

Record of Care	Rights and Responsibilities of the Individual
Emergency Management	Environment of Care
Human Resources	Treatment and Services
Infection Prevention and Control	Performance Improvement
Leadership	Provision of Care
Life Safety	
Medication Management	
National Patient Safety Goals	

Accreditation requires an onsite survey, performed by the Joint Commission every three years. Surveys are conducted by experienced long term care professionals who have at least five years of leadership experience in a long term care facility and a strong educational background. Surveyors are required to complete and pass a surveyor certification examination, to ensure consistency across The Joint Commission's survey process.

Joint Commission surveys are generally unannounced. A survey is designed to be individualized to each organization, to be consistent, and to support the organization's efforts to improve performance. During the on-site survey, Joint Commission surveyors evaluate an organization's performance of functions and processes aimed at continuously improving patient outcomes.

While onsite, surveyors track the care delivered to residents, reviewing information and documentation provided by the facility while observing and interviewing staff and residents.

Although an on-site survey is required every 3 years, facilities must also participate in an "Intracycle Monitoring Process" (ICM) in order to maintain accreditation. The ICM helps organizations with their continuous standards compliance effort. The Joint Commission requires all accredited organizations to acknowledge annual standards through self-assessment activities during the intervening years between on-site full survey events (at 12 and 24 months of the triennial general accreditation cycle).

The onsite survey fee for a nursing home choosing accreditation with an average census of 100-119 residents is \$3,215, and the annual fee is \$2,170. A nursing home of the same size electing the Medicare/Medicaid accreditation option would pay a similar total amount, but some would be paid to Medicare and some would be paid to the Joint Commission.

8.4.3.7 AHCA National Quality Award

The American Health Care Association (AHCA) / National Association for Assisted Living (NCAL) National Quality Award is based on the Baldrige National Quality Program, a performance improvement program initially created to help improve competiveness of American companies. Affiliated programs use the Baldrige Excellence Framework to advance organizational excellence.



The AHCA/NCAL National Quality Award Program provides a framework for providers of long term care services to follow for performance improvement. The Baldrige framework emphasizes a fact-based, knowledge-driven system for improving performance and competitiveness, utilizing comparative data from other similar organizations (local, regional, or national) to continuously drive quality improvement and competitiveness. The Baldrige framework approaches quality management through seven different, but interconnected categories:

- 1. Leadership Creating & Sustaining an Environment for Excellence
- 2. Strategic Planning Developing Strategic Objectives and Action Plans for Competitive Advantage
- 3. Customer Focus Understanding Your Customers
- 4. Measurement, analysis and knowledge management Managing by Fact to Drive Performance Improvement
- 5. Workforce Developing and Realizing the Full Potential of Your Workforce
- 6. Operations Designing Work Systems to Deliver Customer Value
- 7. Results Tracking and Using Key Results

The AHCA NQA has 3 levels of award: Bronze, Silver and Gold, with Gold being the highest level. The AHCA NQA is recognized as a Baldrige "top tier" award program and Gold recipients can go on to apply for the Baldrige award.

Applicants pursuing the Bronze must show a level of commitment to quality. The facility is assessed by their ability to describe the links between their mission, key customers and strategic position and to show evidence of successful performance improvement. The goal of this award level is to provide applicants with the tools and resources they need to achieve performance improvement.

Silver level applicants provide an extensive self-assessment based on the 7 key categories of the Baldrige Framework. Applicants describe their approaches to and deployment of quality improvement. Applicants must provide a complete organizational profile and provide at least two performance measures for each of the five Criteria for Performance Excellence. Measures must be responsive to the category, show at least 3 historical data points trending in a favorable direction, show that performance is at or better than comparable organizations/industries, and be segmented in such a way that allows for meaningful analysis of the organization's performance.

Silver and Gold applications are reviewed by volunteer Senior Examiners and Master Examiners, respectively. Evaluation teams use a formal process established by AHCA/NCAL; Gold applicants may be considered for a site visit. Master Examiners may also be asked to conduct a Site Visit at a Gold applicant organization to verify and clarify strengths and opportunities found within the application.

Silver awardees must apply for the Gold award within 3 years and not get the application disqualified in order to retain award level. Gold recipients will be considered a recipient in the year they received the award. After 5 years, Gold recipients must reapply for certification and may reapply at the Bronze, Silver or Gold level. However, once they choose an award level, they are subject to the policies of that level.



The cost to providers for achieving these awards can range from \$950 to \$2,800, depending on the level of the award, and the method used to apply for the award. Applicants must be members of AHCA in order to apply. Non-members may choose to apply for the Florida Sterling Award or the Baldrige National Quality Program and pay the associated fees. The national program does not have the Bronze or Silver levels of the award.



9 Additional Implementation Items

9.1 Transition Period Discussion

9.1.1 Discussion

During our conversations with Florida nursing facility operators and associations, there has been unanimous support for implementation of a transition period to limit payment increases and decreases for some period of time. A transition period would give nursing facilities time to adjust to the changes in Medicaid rates, which in some instances will be significant. Further increasing the need for a transition is the extent to which nursing home providers in Florida are dependent upon Medicaid funding for their operations. The average Medicaid utilization in Florida nursing facilities is 59 percent with the highest values exceeding 90 percent. As such, asking providers to absorb a sudden and significant change in reimbursement may in the long run adversely affect access to care.

If a transition period is implemented, decisions must be made regarding how long it will last and how it will be executed. A variety of options exist for execution of a transition period as discussed below.

9.1.1.1 Additional Temporary Funding

Additional funds could be allocated for one or more years to cover some or all of the losses for individual facilities. This method was selected by the Florida Legislature in SFY 2013/14 when hospital inpatient pricing was converted from facility-specific cost-based per diems to standardized DRG-based rates. For this payment method conversion, a total of \$143 million in Medicaid reimbursement reductions was projected for the hospitals in Florida (offset by \$143 million in gains at other hospitals). The Legislature allocated new funds for one year, which combined with federal matching funds totaled \$65 million. These funds were distributed across hospitals with projected losses greater than \$300,000 using a tiered approach. The tiered approach provided transitional payments equal to 100 percent of projected losses to rural hospitals, transitional payments equal to 51 percent of projected losses to hospitals projected to lose more than 10 percent of their Medicaid reimbursement, and transitional payments equal to 31 percent of projected losses to hospitals projected to lose less than 10 percent of their Medicaid reimbursement. Thus, in most cases, the transitional funds helped offset projected losses, but did not fully compensate for losses.

Total losses at individual facilities in our final NPPS model are \$109 million (with offsetting gains of \$109 million at other facilities).

9.1.1.2 Blended Rate

A blended rate approach calculates a facility specific per diem under the old and new payment methods and then blends these two values to get the actual per diem paid to facilities. For example, a three year implementation of a blended rate transition period would calculate per diems as follows:

Year 1: (33.3% of new per diem) + (66.7% of old per diem) Year 2: (66.7% of new per diem) + (33.3% of old per diem)

Year 3: 100% of new per diem



These percentages can be adjusted based on the number of years of the transition period.

The blended rate method has been used by Medicare in the past and has the advantage of being a method that can be implemented in a budget neutral manner.

9.1.1.3 Limiting Projected Payment Increases and Decreases

This method limits increases or decreases in nursing facility per diems by a pre-determined percentage. For example, if the percentage was set to five percent (5%), then a facility whose per diem is increasing would be given a per diem in the first year of implementation equal to the lesser of the new standardized rate and 105 percent of their current rate. Similarly, if a facility's per diem decreased under the new payment method, then the facility's rate in the first year of implementation would be set to the greater of the standardized rate and 95 percent of their current per diem. Specific examples with a five percent limit on payment increases and decreases are shown in Figure 20.

Figure 20. Example application of a five percent (5%) limit on increase or decrease in per diem.

Legacy Rate	Standardized Rate	Projected Percent Change	Threshold Rate	Rate Applied
Rate Increasing				
\$208.49	\$230.74	11%	\$218.91	\$218.91
\$215.69	\$225.26	4%	\$226.47	\$225.26
Rate Decreasing]			
\$231.21	\$226.84	-2%	\$219.65	\$226.84
\$272.76	\$224.69	-18%	\$259.12	\$259.12

This type of transition period, which limits gains and losses, could be applied for a predetermined number of years (such as 1, 2, or 3), or could be applied indefinitely until the annual rate calculations include no facility with year-over-year per diem changes greater than five percent.

Also, like the blended rate methodology, the cap on gains and losses could be implemented in a budget neutral manner. However, to ensure budget neutrality, the calculations would need to cap losses at the pre-determined percentage and then cap gains at whatever percentage is needed to ensure budget neutrality. Generally, the cap on gains can be expected to also be very close to the percentage cap applied to losses.

9.1.1.4 Implementation Concerns

If a transition period is implemented for more than one year, and if that method uses a blended rate or a cap on gains and losses, then the rates may need to be determined for all years of the transition prior to initial implementation of the new payment method. This would improve simplicity and predictability which would be particularly beneficial as AHCA re-procures the contract for the Medicaid managed long term care plans with new contracts beginning during the 2018/19 state fiscal year.



Note, however, that these approaches should be applied in a way that would allow providers to receive increases to their quality incentive payments over time. In section 9.2.2.4, below, we recommend that quality incentive payments not be restricted by budget neutrality limitations after the first year, thereby allowing providers to make quality improvements, and be paid for those improvements with new funding. As such, incremental increases in quality incentive payments should be allowed beyond the transitional payment amounts determined under these options.

9.1.2 Recommendation

Given our direction to maintain budget neutrality, we are recommending a one year transition period utilizing a five percent (5%) cap on gains and losses in the first year of implementation of the NPPS. This recommendation will help to mitigate some of the more significant reimbursement changes displayed in our model. Thus, facilities will have one year to adjust to the new payment method. In addition, the one year time frame allows for a reasonable amount of administrative simplicity and predictability as AHCA moves through the process of procuring the next round of managed long term care contracts.

9.2 Rate Setting Timing and Frequency

9.2.1 Discussion

The recommended Medicaid prospective payment system generally employs a modified pricing system which combines aspects of a price based system with the principles of a cost-based system. The direct, indirect and operation components utilize portions of both systems by setting the respective rate components for all facilities at a value that is based on a percentage of the median cost per day values of all providers and with a predetermined floor for the direct and indirect components (described earlier). The total per diem is calculated as the sum of the direct care, indirect care, operations/administration, nursing facility provider assessment, pass through property taxes and insurance, fair rental value and quality incentive. AHCA has several options for rebasing each of these components. Navigant recommends several of these components be rebased annually, while others should be rebased every three years.

9.2.2 Recommendation

9.2.2.1 Direct, Indirect and Operation Costs

Under the new reimbursement methodology, the direct care, indirect care and operation per diem values are calculated based upon the cost reports submitted to AHCA prior to the 2016 rate year. Navigant recommends these components be rebased at the end of the 3rd fiscal year using newer cost and patient utilization information as reported in the latest applicable cost report. Specific dates for rebasing will be determined once the system implementation date is determined. Pursuant to budget availability, and at AHCA's discretion, Navigant recommends that these component rates for intervening years receive an inflation factor to adjust for cost changes in healthcare delivery.

9.2.2.2 Cost Reports

In collaboration with AHCA, we are recommending that nursing facilities continue to submit Medicaid cost reports annually and that audited cost reports be used in the rate rebasing process performed once every three years. Using audited cost reports will ensure accuracy of



the data used to determine the median costs for each per diem component and will ensure that the adjustment in individual facility rates based on per diem floors is applied accurately. To enable use of audited cost reports in rebasing once every three years, AHCA would need to audit every nursing facilities' cost reports at least once every three years (currently AHCA audits cost reports at least once every five years). In addition, the amount of inflation applied to facility cost would have to vary by facility depending on the timing of the most recently audited cost report.

With cost reports being submitted annually, cost reports could also be modified to be used as the vehicle for communicating facility renovation information in the future. In addition, the cost report audit process should be expanded to review renovation information and facility square footage (used in the FRVS calculations).

9.2.2.3 Fair Rental Value System

A fair rental value system is used to reimburse property costs. This system reduces the wide disparity in costs for property payments, paying a fair rate of return on the value of the property, thus making the payments more equitable for all providers. The FRVS is used in lieu of actual allowable costs associated with the land, building, equipment, etc. applied for resident care. Navigant recommends that the FRVS be rebased annually to reflect and capture adjustments to the RSMeans values per square foot and any adjustments to the age of the facility (for depreciation purposes) attributable to major renovations (discussed earlier). For renovations that meet the criteria of a "major renovation" (at least \$500 per facility bed), the reduction to the building age will be calculated with the FRVS for the following fiscal year.

Pass through payments for property-related taxes and insurance are reimbursed based on facility-specific reported costs. Navigant recommends reimbursing the costs for property-related taxes and insurance annually using actual historic cost and patient days as shown in the latest applicable cost report.

9.2.2.4 Quality Incentive Model

In addition to the rate components described above, a quality incentive enhancement will be added to the rates for high performing facilities. High performing facilities are defined as those exceeding the 30th percentile for the quality score.

Navigant recommends recalculating all elements of the Quality Incentive score for each facility annually. At the same time, we recommend freezing the benchmarks for the Process and Outcome measures in the interim years between rebasing periods. Freezing the benchmarks for a period of time allows lower performing facilities to see finite benchmarks they can strive to attain as opposed to benchmarks that are recalculated annually, thus making them moving targets. When rebasing does occur, possibly once every three years, the benchmarks should be updated based on the MDS Quality Measures accessible from data.medicare.gov.

Quality improvement percentages are calculated based on the percent change from the previous fiscal year to the appropriate quarter of the current year. Thus, points for quality improvement should be recalculated annually.²⁷

²⁷ Percentile scores are calculated using the 4th quarter scores and segmenting to appropriate percentile.



Navigant further recommends updating the benchmarks for the Direct Care Staffing (RN, LPN, CNA) and Social Work/Activity Staff hours annually. These measures are currently calculated from data reported in nursing facility cost reports and the CMS 671 reports, respectively. The CMS Five Star rating should be updated annually using the most recent overall rating from data.medicare.gov. Similarly, the Florida Gold Seal, AHCA/NCAL National Quality Award and Joint Commission Accreditations should be updated annually and are accessible through the respective websites.

We also recommend keeping the reimbursement amount per quality point constant for each year included between rebasing periods. In our current models, this amount is slightly less than \$1.32 per quality point per resident day. This will avoid diluting the value of quality points as facilities continue to improve quality and raise their quality scores. However to allow the reimbursement per quality point to remain constant, the total sum of funds distributed through the Quality Incentive Program would increase slightly each year. This could be afforded via a variety of methods including,

- Applying annual inflation, if legislatively appropriated, to the Quality Incentive Program first, before applying it to other components of the per diem
- Building an increase in the Quality Incentive Program funds into annual budget estimations
- Shift slightly more funds from other per diem components into the Quality component each year

9.2.2.5 New Facilities

A provisional rate will be paid to a provider who constructs a new facility. For the Direct Care, Indirect Care and Operations portions of the per diem, the provisional rate will be the standard per diem for facilities in the same peer group. No per diem floor will be applied. This will be true until an initial cost report is received by AHCA. The FRVS, property taxes and insurance pass through payments will be determined from information reported in the facility's budgeted cost report. Quality Incentive payments will be applied at a value equal to the 50th percentile quality score calculated for all facilities in Florida. Ventilator care add-on payments will be based on the number of ventilator beds and the minimum occupancy estimation.

The initial cost report will affect rates for the facility until rates can be updated with results of an audited cost report.

For the first year of operation, we recommend the minimum occupancy value to be used in the FRVS calculation be 75 percent, and then increase to the standard value in all subsequent years. This is consistent with current AHCA policy related to the property per diem component, which states,

"... for providers with newly constructed facilities, the provider's per diem calculated for that facility's first year of operation shall be the result of the principal and interest or interest-only expense divided by 75 percent of the maximum possible annual bed days."²⁸

²⁸ Florida Medicaid State Plan, Attachment 4.19-D – Long Term Care Reimbursement, effective July 1, 2015.



9.2.2.6 Changes in Ownership

In cases of changes in ownership, we recommend giving the new owners the same rate as previous owners until an initial cost report is received by AHCA. The initial cost report will affect rates for the facility until rates can be updated with results of an audited cost report.

9.2.2.7 Pediatric Provider and Veterans' Nursing Home Carve Outs

As mentioned previously, we are recommending that care for children in nursing facilities and Veterans' nursing facilities be carved out of the NPPS payment methodology and instead be paid under a system similar to what is currently in use, however, with payments paid prospectively. To enable prospective payment, rates should be set based on audited cost reports inflated to apply to the rate year. For facilities that care for both adult and pediatric residents, separate cost reports should be developed for the adult and pediatric portions of their business. Only the pediatric portion will continue to be reimbursed on facility-specific cost-based rates. Rates for these carved-out services and providers can be updated annually.

In addition, in collaboration with AHCA, we recommend that the Property portion of the per diem for all of the facilities carved out of the full NPPS shift to be calculated using the new FRVS method included as a component of the new NPPS. The new FRVS calculation for the Property per diem component is significantly less complicated than the current FRVS calculation.

9.3 Hospice Provider Rates

9.3.1 <u>Discussion</u>

Hospice providers who care for residents within nursing homes are currently paid for room and board at a rate equal to 95 percent of the nursing home's per diem rate.²⁹ Most of the non-federal share of hospice rates are funded through State general funds; however, there is a small portion of the rates funded from the nursing facility quality assessment program.

9.3.2 Recommendation

We expect that the current processes, both rate calculation and funding through the nursing facility quality assessment, will continue in their current form when the new NPPS is implemented. This will mean that the individual facility hospice room and board rates will change as the individual nursing facility rates change.

_

²⁹ In addition to room and board, hospice providers are also paid "level of care rates" for other services provided to nursing facility residents.



10 Conclusion

This report, and the recommendations herein, fulfill requirements prescribed by the Florida legislature pursuant to the 2016/17 General Appropriations Act. That legislation specified that:

"...the Agency for Health Care Administration to contract with an independent consultant to develop a plan to convert Medicaid payments for nursing facility services from a cost-based reimbursement methodology to a prospective payment system. The study shall identify steps necessary for the transition to be completed in a budget neutral manner."

Our recommendations are consistent with establishing a payment methodology that is fully prospective. If implemented in accordance with our recommendations, the new prospective payment methodology will be budget neutral.

As described previously in this report, the process of developing our recommendations was quite challenging. Stakeholder opinion on almost all of the design features considered in this study varied significantly, beginning with stakeholder challenges to the requirement for the system to be budget neutral. Understanding at the outset that we would not be able to achieve consensus on a number of the design features, we established a set of guiding principles intended to serve as an anchor for our decision making process, in addition to the requirements established by the Legislature. These guiding principles are described in detail in Section 3 of this report, and focus on establishing rates for providers that are consistent with:

- Incenting high quality care
- Promoting access to services
- Enabling equity of payment among providers that provide similar services
- Making payments more predictable for the providers and for the State
- Providing simplicity and transparency
- Incenting efficiency and prudent purchasing practices

We placed additional emphasis on the guiding principles that are also mandated by CMS for states making Medicaid payments, which are also described in Section 3 of this report. The Federal requirements that apply to the methods states employ to pay for Medicaid services are documented in U.S.C. § 1396a (a)(30)(A), and focus specifically on the quality, access, equity and efficiency principles described above. We placed the most emphasis on these four guiding principles when making our recommendations. We made this emphasis very clear to the stakeholders participating in public process for this project.

We believe that our recommendations will result in payments that are consistent with incenting high quality care at efficiently run and well-maintained facilities. In fact, the new system projects to provide an additional \$10 million in reimbursement to four star, five star, and Gold Seal facilities in aggregate, even in the first year, which includes limits on individual facility increases and decreases in reimbursement. In particular, our recommendations include:

Standardization of payment for the cost of operations. Rates for direct nursing care, indirect care and operation components are tied to median values rather than each facility's individual costs. This will reward facilities that operate and provide care most efficiently, consistent with the Federal requirements described above. Note also that recommendations take into consideration the higher costs associated with providers operating in South Florida. We recognize South Florida as unique, and have



- recommended that the rates for providers in the South Florida regions be based on the median values of the providers operating in those regions.
- Establishing a quality incentive component intended to direct increased payments to high-performing facilities, and provide reasonable and achievable incentives for lower-performing facilities to improve quality. The quality incentive component is based not only on credentialing and process measures, but also quality outcomes-based measures. Further, our recommended quality incentive component relies on measures that are already publicly available and transparent. We recommend the new Quality Incentive Program be funded with seven percent (7%) of current non-property related payments in the first year of the NPPS, eight percent (8%) in year two, nine percent (9%) in year three, and ten percent (10%) in all subsequent years.
- Establishing payments for property-related investments based on a Fair Rental Value System (FRVS) model. The FRVS model pays providers a reasonable rate of return for their capital investments, and appropriately recognizes the value of facilities that are well-maintained and updated.

Additionally, since our recommendations are consistent with the budget neutrality requirements specified by the Florida legislature, there will be no reduction in aggregated funding for nursing facility services. Although payments will vary from legacy amounts on a provider-by-provider basis, all providers will have the opportunity to earn higher rates through the quality incentive component, and by increasing or sustaining efficient operations. Understanding that there will be some swings in expected payments at the provider level when comparing payment to what providers have been receiving under the current system, we have recommended a one-year transitional corridor, which will limit total increases or decreases in payments under the recommended methodology to five percent for the first year.

We believe the recommendations described in this report to be optimal considering the legislative directives and the guiding principles described above. At the same time, we recognize that others might assign priorities differently than we have as they evaluate the options described in this report, and understand that adjustments to our recommendations will be suggested by those who review this report. Ultimately, we hold fast to the framework established by the legislative directives and the guiding principles described herein, and strongly recommend that if adjustments to our proposed methodology are considered, that they be considered in context of that framework.

Finally, we would like to thank the many stakeholders that actively contributed to this process, through individual meetings, public meetings, and other types of communications. The dialogue was constructive and thoughtful, and carefully considered by our team. Ultimately, this report was significantly enhanced as a result of this stakeholder dialogue. In addition, we look forward to supporting future conversations as these recommendations are considered by the Florida Legislature.



11 Appendix A – Summary of Recommendations

Figure 21 below summarizes the recommendations for a new nursing facility prospective payment system for Florida Medicaid.

Figure 21. Summary of new NPPS design.

Decision	Option Selected
Types of providers	 All nursing facilities except veterans' nursing facilities Reimbursement for veterans' nursing facilities will continue to be determined on a cost basis
Types of recipients	 Adults only Care for children in nursing facilities will continue to be determined on a cost basis
Peer Groups	 North – SMMC Regions 1-9; South – SMMC Regions 10, 11
Percentage of median costs	 100% for Direct Care costs 92% for Indirect Care costs 86% for Operation costs Set to ensure budget neutrality
Mapping of costs to per diem components	Navigant proposal
Floors	 95% for Direct Care component 92.5% for Indirect Care component No floor included for the Operation component of the per diem
Pass through payments	Property taxes and property insurance
Budget for per diem components	Set to sum of current spend for non-property per diem components minus funds reserved for the quality incentive program
Nursing Home Quality Assessment	Maintain current policy for collection and Medicaid share return per diem calculation
Service specific add-ons to per diem	For ventilator care
Property Payment calculation method	Fair Rental Value System (FRVS)
Budget for Property	Set to current spend for property per diem component minus property taxes and property insurance costs
Facility renovations	Allow renovations to reduce age of the facility for purposes of determining depreciation
Construction cost per square foot	 Determined using RSMeans values generated annually by the Gordian Group Calculate as average of all listed construction methods for a 25,000 square foot facility



Decision	Option Selected
Use average percentage for non- patient care square footage	Calculate total facility square feet as patient care square feet times 1.6.
Quality incentive program payment pool	 7% of funds currently paid through the Direct Care, Indirect care and Operations components of the per diem in the first year; 8% in the second year; 9% in the third year; and 10% in all subsequent years Fund with Nursing Home Assessment excess funds first; fund remainder from Direct, Indirect and Operation components of legacy per diems
Quality measurement - Credentials	Florida Gold Seal, Joint Commission Accreditation, or AHCA National Quality Award
Percentile of quality score to qualify for quality payment	30th percentile

Figure 22 below summarizes the parameters recommended for calculation of the Property (Fair Rental Value System) component of per diems in the new nursing facility prospective payment system for Florida Medicaid.

Figure 22. Recommended FRVS payment parameter values.

	Recommended
FRVS parameter	Value
Land Percentage	10%
Equipment Cost	\$8,000
Depreciation Factor	1.5%
Fair Rental Rate	8.0%
Minimum Occupancy	90%
Maximum Facility Age	40 years
Minimum Square Footage Per Bed	100
Maximum Square Footage Per Bed	500
Budget Neutrality Multiplier	0.93104



12 Appendix B - Glossary of Acronyms

AHCA Florida Agency for Health Care Administration – the branch of Florida state

government that administers the Florida Medicaid program

AHCA American Health Care Association – national association for nursing facilities

CMI Case Mix Index – a measure of the level of complexity of healthcare needs for

one or more nursing facility residents

CMS Centers for Medicare and Medicaid Services – the federal agency that

oversees Medicare and Medicaid

CNA Certified Nursing Assistant

CON Certificate of Need

DRG Diagnosis Related Group – a method used to categorize hospital inpatient

admissions for a variety of reasons, including payment

FHCA Florida Health Care Association – largest association in Florida that supports

the nursing facility industry

FRVS Fair Rental Value System

FTE Full Time Equivalent

GAA General Appropriations Act – annual legislation in Florida that defines the

budget for Medicaid

LPN Licensed Practical Nurse

MAR Medicaid Adjustment Rate

MCO Managed Care Organization

MDS Minimum Data Set

MTA Medicaid Trend Adjustment

NPPS Nursing Facility Prospective Payment System

QM Quality Measure
RN Registered nurse
ROE Return on Equity

RUG Resource Utilization Groups – method for categorizing nursing facility residents

for the purpose of estimating the relative effort required for their care

SMMC Statewide Medicaid Managed Care program

SFY State Fiscal Year – Florida's fiscal year begins on July 1 and ends on June 30

SNF Skilled Nursing Facility
UTI Urinary Tract Infection



13 Appendix C - Data Used in Modelling

13.1 Facility Cost and Medicaid Reimbursement Data

Facility cost and per diem data were retrieved from an Access database AHCA uses for rate setting. The version used included facility costs and Medicaid rates for the rate year beginning on September 1, 2016. The facility costs originate from the most currently available Medicaid cost reports submitted by each facility. And legacy reimbursement amounts for each facility were calculated by multiplying the rate year 2016/17 per diems by the number of annualized Medicaid days reported in the cost reports.

13.2 MDS Data

MDS data was used to determine case mix (average patient acuity) by facility and to determine number of days of care for specific high cost services.

To calculate the provider average case mix, we first took all the MDS records provided by AHCA and grouped them using RUG IV logic. Of the records that grouped successfully, we used only those with assessment dates within each facility's cost report year. We then selected the latest assessment record by date and assessment ID to narrow the records down to one assessment per resident per facility. The average of each provider's assessments was used as their case mix.

To calculate days by provider for specific high cost services (such as ventilator care), we looked only at MDS records. We first calculated patient stays at facilities by provider ID, patient ID, entry dates and discharge or assessment dates. Then, if any assessment during a patient stay indicated that the patient was on a ventilator (O0100F2 = "1"), we counted that whole stay as a ventilator stay. All the days of the stay which occurred during the facility's cost report year were counted towards that facility's total ventilator days.



14 Appendix D – Listing of Meetings with Industry Stakeholders

Figure 23 below lists in chronological order the meetings held between AHCA, Navigant and industry stakeholders. In addition to the meetings included in this figure, a variety of informal communications occurred through email and phone calls.

Figure 23. List of meetings with industry stakeholders.

Date	Industry Stakeholder(s)
May 17, 2016	LeadingAge Florida
May 18, 2016	Consulate Health Care
May 18, 2016	Florida Association of Health Plans
May 18, 2016	Florida Health Care Association
May 19, 2016	Florida Hospice and Palliative Care Association
May 25, 2016	Florida Department of Elder Affairs
June 2, 2016	Gulf Coast Health Care
June 3, 2016	Clear Choice Health Care
June 27, 2016	Scott Hopes
June 29, 2016	University of South Florida
June 29, 2016	Florida Health Care Association
June 30, 2016	Children's Comprehensive Care Center
June 30, 2016	First public meeting
August 17, 2016	Florida Medicaid Managed Long Term Care Plans
August 18, 2016	LeadingAge Florida
August 18, 2016	Second public meeting
September 20, 2016	Scott Hopes
September 21, 2016	United Healthcare Workers East - 1199SEIU
September 21, 2016	Florida Health Care Association and the three pediatric nursing
	facilities in Florida
September 22, 2016	LeadingAge Florida
September 22, 2016	Third public meeting
October 7, 2016	Milliman
October 14, 2016	United Healthcare Workers East - 1199SEIU
October 19, 2016	Scott Hopes
October 20, 2016	LeadingAge Florida
October 21, 2016	Florida Health Care Association
October 26, 2016	Fourth public meeting
November 2, 2016	Health Care Navigator (Doug Burr)
November 3, 2016	Florida Health Care Association and Joe Lubarsky
November 16, 2016	LeadingAge Florida
November 17, 2016	Fifth public meeting
December 8, 2016	Sixth public meeting



15 Appendix E - Adjusted Facility Age

The following figure shows the adjusted facility age for each facility. This value is used in the calculation of depreciation as part of the FRVS determination of the Property per diem component. Only facilities who have responded to the AHCA FRVS survey by mid-November of 2016 are included in this figure. Also, ages in this figure were calculated assuming the rate year is SFY 2016/17.

Figure 24. Facility age adjusted for renovations.

		Facility Age Adjusted for Renovations		
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction
268755	Abbiejean Russell Care Center	Abbiejean Russell Care Center LLC	20	42
005826	Accentia Health & Rehab. Center of Tampa	Accentia Health & Rehab. Center of Tampa	27	48
324094	Advanced Rehabilitation & Health Center	Advanced Rehabilitation & Health Center	30	33
320439	Adventist Care Centers - Courtland, Inc.	Adventist Care Centers - Courtland, Inc.	5	16
202789	Alliance Community for Retirement Living	Center for Health Care of the Alliance Community	33	48
132045	Almovea Associates, LLC	North Dade Nursing and Rehabilitation Center	40	51
227251	Alpine Health and Rehabilitation Center	Alpine Health and Rehabilitation Center	36	55
324451	Anchor Care & Rehabilitation Center	Anchor Care & Rehabilitation Center	26	32
263478	Arbor Trail Nursing and Rehab	Arbor Trail Rehab and Skilled Nursing Center	23	29
325040	Arbor Village Nursing Center	Arbor Village Nursing Center	15	34
254291	Arch Plaza Nursing & Rehabilitation Center	Arch Plaza Nursing & Rehabilitation Center	40	54
263389	Atlantic Shores Nursing and Rehab	Atlantic Shores Nursing and Rehab Center	15	21
261629	Avalon Health Care Center	Avalon Healthcare Center	13	35
210676	Avante at Boca Raton	Avante at Boca Raton Inc.	6	31
203220	Avante at Inverness	Avante at Inverness	40	48
203238	Avante at Lake Worth	Avante at Lake Worth	39	46
203122	Avante at Leesburg, Inc.	Avante at Leesburg, Inc.	34	51
252018	Avante at Melbourne	Avante at Melbourne Inc	40	49
252042	Avante at Mt. Dora, Inc.	Avante at Mt Dora Inc	40	54
005701	Avante at Ocala	Avante at Ocala	3	49
223808	Avante at Orlando	Avante at Orlando Inc.	40	52



	Fac	ility Age Adjusted for Renovations		
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction
252034	Avante at Ormond Beach	Avante at Ormond Beach Inc	34	41
259870	Avante at St. Cloud, Inc.	Avante at St Cloud Inc	40	49
200913	Avante Villa at Jacksonville Beach, Inc.	Avante Villa at Jacksonville Beach Inc	20	42
284823	Aventura Plaza Rehabilitation and Nursing Center	Aventura Plaza Rehabilitation & Nursing Center	3	52
140648	Bartow Rehabilitation Center, LLC	Bartow Center	34	44
086990	Bartram Crossing	Bartram Crossing	4	4
017225	Bay Breeze Senior Living And Rehabilitation Center	Bay Breeze Senior Living and Rehabilitation Center	13	32
128848	Bay Center Rehabilitation, LLC	Bay Center	27	56
263834	Bay Pointe Nursing Pavilion	Bay Pointe Nursing Pavilion	32	32
253448	Bay Tree Center	Bay Tree Center	27	35
018777	Bay Village of Sarasota	Bay Village of Sarasota	23	41
092681	Baya Pointe Nursing and Rehabilitation Center	Baya Pointe Nursing and Rehabilitation Center	17	22
263575	Bayshore Pointe Nursing and Rehab	Bayshore Pointe Nursing and Rehab Center	23	45
017221	Bayside Manor	Bayside Health and Rehabilitation Center	15	43
324108	Bayside Rehabilitation & Health Center	Bayside Rehabilitation & Health Center	24	54
260444	Bayview Center, LLC	Bayview Center	34	39
264521	Belleair Health Care Center	Belleair Health Care Center	35	35
033717	Benderson Family Skilled Nursing & Rehab Center	Benderson Family Skilled Nursing & Rehab Center	2	5
043857	Beneva Lakes Healthcare and Rehabilitation Center	Beneva Lakes Healthcare and Rehabilitation Center	33	34
209511	Bishop's Glen Health Care Center	Bishops Glen Retirement Center	32	32
022987	Blountstown Health and Rehabilitation Center	Blountstown Health and Rehabilitation Center	6	21
267724	Boca Ciega Investors, LLC	Springs at Boca Ciega Bay	30	42
263842	Boca Raton Rehabilitation Center	Boca Raton Rehabilitation Center	40	45
263443	Bonifay Nursing and Rehab	Bonifay Nursing and Rehab Center	24	33
263613	Boulevard Rehabilitation Center	Boulevard Rehabilitation Center	23	52
263460	Boynton Beach Rehabilitation Center	Boynton Beach Rehabilitation Center	2	18
005814	Boynton Health Care Center	Boynton Health Care Center	1	17
073324	Braden River Rehabilitation Center, LLC	Braden River Rehabilitation Center, LLC	40	52



	Fac	cility Age Adjusted for Renovations		
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction
043859	Bradenton Health Care	Bradenton Health Care	16	17
043860	Brandon Health and Rehabilitation Center	Brandon Health and Rehabilitation Center	15	19
251399	Brandywyne Health Care Center	Brandywyne Health Care Center	21	33
260371	Bridgeview Center, LLC	Bridgeview Center	40	58
319376	Brookdale Atrium Way 2	Brookdale Atrium Way 2	15	20
156586	Brooksville SNF Investors, LLC	Northbrook Health and Rehabilitation Center	2	28
226335	Broward Nursing and Rehab Center	Broward Nursing & Rehabilitation Center	35	51
005381	Brynwood Center	Brynwood Health and Rehabilitation Center	22	30
263877	Carrollwood Care Center	Carrollwood Care Center	30	30
263885	Casa Mora Rehabilitation and Extended Care	Casa Mora Rehabilitation and Extended Care	30	38
226068	Cathedral Gerontology Center	Cathedral Gerontology Center Inc	2	32
122242	CCRC OpCo - Cypress Village, LLC	Cypress Village	6	25
122232	CCRC OpCo - Sun City Center, LLC	Plaza West	7	23
122236	CCRC OPCO Freedom Square, LLC	Seminole Pavilion Rehabilitation & Nursing Services	8	34
122250	CCRC OpCo-Bradenton, LLC	The Nursing Center at Freedom Village	18	30
122239	CCRC OPCO-Freedom Square, LLC	Freedom Square Rehabilitation & Nursing Services	27	28
122248	CCRC Regency Oaks, LLC	Sylvan Health Center	3	25
122229	CCRC South Port Square, LLC	Harbour Health Center	5	31
122243	CCRC-Lake Port Square, LLC	Lake Harris Health Center	1	26
043856	Central Park Healthcare and Rehabilitation Center	Central Park Healthcare and Rehabilitation Center	24	25
264563	Centre Point Health and Rehab Center	Centre Pointe Health and Rehab Center	27	28
220604	Century Care Center.	Century Health and Rehabilitation Center	15	22
324361	Chautauqua Rehabilitation & Nursing Center	Chautauqua Rehabilitation & Nursing Center	27	37
312789	Children's Comprehensive Care Center	Children's Comprehensive Care Center Inc.	1	24
257419	Citrus Health and Rehabilitation Center	Citrus Health and Rehabilitation Center	19	22
208507	Claridge House Nursing & Rehabilitation Center	Claridge House Nursing & Rehabilitation Center	21	31
140643	Clearwater Rehabilitation Center, LLC	Clearwater Center	34	46
221465	Clermont Health and Rehabilitation Center	Clermont Health and Rehabilitation Center	29	48



	Fa	icility Age Adjusted for Renovations		
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction
021261	Coastal Health and Rehabilitation Center	Coastal Health and Rehabilitation Center	18	29
043854	Colonial Lakes Health Care	Colonial Lakes Health Care	23	32
098972	Community Health and Rehabilitation Center	Community Health and Rehabilitation Center	27	27
251666	Concordia Manor	Concordia Manor	40	48
080431	Consulate Health Care at West Altamonte	Consulate Health Care at West Altamonte	20	23
080374	Consulate Health Care of Bayonet Point	Consulate Health Care of Bayonet Point	21	24
080377	Consulate Health Care of Brandon	Consulate Health Care of Brandon	13	31
080384	Consulate Health Care of Jacksonville	Consulate Health Care of Jacksonville	16	20
080387	Consulate Health Care of Kissimmee	Consulate Health Care of Kissimmee	17	17
080393	Consulate Health Care of Lake Parker	Consulate Health Care of Lake Parker	21	26
080391	Consulate Health Care of Lakeland	Consulate Health Care of Lakeland	30	32
080394	Consulate Health Care of Melbourne	Consulate Health Care of Melbourne	17	22
080397	Consulate Health Care Of New Port Richey	Consulate Health Care of New Port Richey	22	32
080400	Consulate Health Care of North Ft. Myers	Consulate Health Care of North Ft. Myers	31	31
080402	Consulate Health Care of Orange Park	Consulate Health Care of Orange Park	17	28
080405	Consulate Health Care of Pensacola	Consulate Health Care of Pensacola	18	20
080416	Consulate Health Care of Port Charlotte	Consulate Health Care of Port Charlotte	17	19
080406	Consulate Health Care of Safety Harbor	Consulate Health Care of Safety Harbor	25	30
080413	Consulate Health Care of Sarasota	Consulate Health Care of Sarasota	19	19
080409	Consulate Health Care of St. Petersburg	Consulate Health Care of St. Petersburg	20	22
080428	Consulate Health Care of Tallahassee	Consulate Health Care of Tallahassee	11	24
080430	Consulate Health Care of Vero Beach	Consulate Health Care of Vero Beach	18	33
080432	Consulate Health Care of West Palm Beach	Consulate Health Care of West Palm Beach	22	31
080434	Consulate Health Care of Winter Haven	Consulate Health Care of Winter Haven	15	18
264512	Conway Lakes Health & Rehabilitation Center	Conway Lakes Health & Rehabilitation Center	25	25
260649	Coquina Center, LLC	Coquina Center	25	29
043851	Coral Bay Healthcare and Rehabilitation	Coral Bay Healthcare and Rehabilitation	14	23
323772	Coral Gables Nursing and Rehabilitation	Coral Gables Nursing and Rehabilitation	23	58



	Fac	ility Age Adjusted for Renovations		
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction
043848	Coral Trace Health Care	Coral Trace Health Care	19	29
043872	Countryside Rehab and Healthcare Center	Countryside Rehab and Healthcare Center	27	29
209325	Courtenay Springs Village	Courtenay Springs Village	14	31
324175	Courtyards of Orlando	Courtyards of Orlando Rehabilitation and Health Center	31	33
044886	Crestview Rehabilitation Center	Crestview Rehabilitation Center	27	46
312274	Crestwood Nursing Center	Crestwood Nursing Center	40	58
312151	Cross City Rehabilitation & Health Care Center	Cross City Rehabilitation & Health Care Center	15	17
217263	Crystal River Health & Rehabilitation Center	Crystal River Health and Rehabilitation Center	14	41
317349	Darcy Hall of Life Care	Darcy Hall of Life Care	14	52
217743	Daytona Beach Health and Rehabilitation Center	Daytona Beach Health and Rehabilitation Center	14	40
158851	DBI Health, Inc	The Villages Rehabilitation and Nursing Center	3	3
263851	Deerfield Beach Health and Rehabilitation Center	Deerfield Beach Health and Rehabilitation Center	27	27
221589	Delaney Park Health and Rehabilitation Center	Delaney Park Health and Rehabilitation Center	4	24
043868	Deltona Health Care	Deltona Health Care	25	33
103177	Desoto Health and Rehab	Desoto Health and Rehab	10	36
061101	Destin Healthcare and Rehabilitation Center	Destin Healthcare and Rehabilitation Center	21	22
256269	Diamond Ridge Health & Rehabilitation Center	Diamond Ridge Health and Rehabilitation Center	15	27
072048	Dixie Highway SNF LLC	South Campus Rehabilitation & Nursing Center	32	36
264539	East Bay Rehabilitation Center	East Bay Rehabilitation Center	26	26
320421	East Orlando Health & Rehab Center, Inc.	East Orlando Health & Rehab Center, Inc.	1	24
254878	EdgeWood Nursing Center	EdgeWood Nursing Center	28	28
212032	Edward J Healey Rehabilitation and Nursing Center	Edward J Healey Rehabilitation and Nursing Center	4	4
133348	Egret Cove Rehabilitation Center, LLC	Egret Cove Center	40	47
133196	Emerald Coast Rehabilitation Center, LLC	Emerald Coast Center	40	43
261637	Emerald Healthcare Center	Emerald Health Care Center	9	29
060972	Emerald Shores Health and Rehabilitation	Emerald Shores Health and Rehabilitation	16	16
059855	Englewood Healthcare & Rehabilitation Center	Englewood Healthcare & Rehabilitation Center	20	33
059873	Evans Health Care	Evans Health Care	17	18



	Fac	ility Age Adjusted for Renovations		
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction
263893	Evergreen Woods Health and Rehabilitation Center	Evergreen Woods	19	28
147958	Excel Facility, Inc.	Excel Care Center	9	21
260690	Fairway Oaks Center, LLC	Fairway Oaks Center	31	36
227838	First Coast Health and Rehabilitation Center	First Coast Health & Rehabilitation Center	21	53
256757	Five Points Health Care, Ltd	Lakeside Nursing and Rehabilitation Center	11	19
043866	Fletcher Health and Rehabilitation Center	Fletcher Health and Rehabilitation Center	17	18
320463	Florida Living Nursing Center	Florida Living Nursing Center	2	47
212792	Florida Lutheran Retirement Center	Good Samaritan Society-Florida Lutheran	10	20
212971	Florida Presbyterian Homes, Inc.	Florida Presbyterian Homes Inc	11	19
146222	Floridian Facility Operations, LLC	The Floridean Nursing and Rehabilitation Center	23	46
163903	FM RNC, LLC	Fort Myers Rehabilitation and Nursing Center	33	35
132449	FMHR LLC	Fountain Manor Health & Rehabilitation Center	38	49
043861	Fort Pierce Health Care	Fort Pierce Health Care	27	32
044888	Fort Walton Rehabilitation Center	Fort Walton Rehabilitation Center	40	46
080436	Franco Nursing and Rehabilitation Center	Franco Nursing and Rehabilitation Center	19	21
229288	Gainesville Health Care Center	Gainesville Health Care Center	32	33
228320	Gardens Court, The	Gardens Court, The	16	20
203203	Glades Health Care Center	Glades Health Care Center	24	32
005849	Glen Oaks Health Care Center	Glen Oaks Health Care Center	40	55
005384	Glencove Nursing Pavilion	Glencove Health and Rehabilitation Center	15	24
019287	Golfcrest Healthcare Center	Golfcrest Healthcare Center	40	56
019085	Golfview Healthcare Center	Golfview Healthcare Center	40	56
043875	Governor's Creek Health and Rehabilitation	Governor's Creek Health and Rehabilitation	24	33
034504	Grace Healthcare of Lake Wales	Grace Healthcare of Lake Wales	10	33
017242	Grand Boulevard Health & Rehab. Center	Grand Boulevard Health & Rehab. Center	6	30
043864	Grand Oaks Health and Rehabilitation Center	Grand Oaks Health and Rehabilitation Center	18	19
201651	Guardian Care Nursing & Rehabilitation Center	Guardian Care Nursing & Rehabilitation Center	1	58
014169	Gulf Shore Rehab & Nursing	Gulf Shore Rehab & Nursing	10	18



	Faci	ility Age Adjusted for Renovations		
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction
043862	Habana Health Care Center	Habana Health Care Center	20	46
324027	Hampton Court Nursing Center	Hampton Court Nursing Center	6	25
043873	Harbor Beach Nursing and Rehabilitation Center	Harbor Beach Nursing and Rehabilitation Center	40	55
043865	Harts Harbor Health Care Center	Harts Harbor Health Care Center	34	39
043874	Health Center at Brentwood	Health Center at Brentwood	23	32
048441	Health Central Park	Health Central Park	20	50
135581	Health Services of Blue Water Bay, LLC	The Manor at Blue Water Bay	20	23
135647	Health Services of Ocoee, LLC	Lake Bennett Health and Rehabilitation	19	19
263931	Healthcare and Rehabilitation Center of Sanford	Healthcare and Rehab Of Sanford	37	48
207799	Healthcare Properties of St Augustine, Inc.	The Ponce Therapy Care Center	21	32
103475	Healthtique Westwood, LLC	Westwood Nursing & Rehabilitation Center	25	31
080079	Hearthstone Senior Communities, Inc.	Tarpon Bayou Center	40	52
325309	Heartland Health Care Center- Boynton Beach	Heartland Health Care Center- Boynton Beach	9	25
325333	Heartland Health Care Center- Lauderhill	Heartland Health Care Center- Lauderhill	6	27
325252	Heartland Health Care Center- Miami Lakes	Heartland Health Care Center- Miami Lakes	5	26
325287	Heartland Health Care Center of South Jacksonville	Heartland Health Care Center of South Jacksonville	3	36
325325	Heartland Health Care Center-Ft. Myers	Heartland Health Care Center-Ft. Myers	4	26
325236	Heartland Health Care Center-Jacksonville	Heartland Health Care Center-Jacksonville	9	27
325244	Heartland Health Care Center-Kendall	Heartland Health Care Center-Kendall	3	28
325490	Heartland Health Care Center-North Sarasota	Heartland Health Care Center-North Sarasota	8	48
325261	Heartland Health Care Center-Orange Park	Heartland Health Care Center-Orange Park	13	26
325341	Heartland Health Care Center-Prosperity Oaks	Heartland Health Care Center-Prosperity Oaks	11	25
011997	Heartland of Boca Raton FL, LLC	Heartland Health Care and Rehabilitation Center Of Boca Raton	8	22
010453	Heartland of Sarasota FL, LLC	Heartland Health Care & Rehabilitation Center	18	23
325350	Heartland of Tamarac	Heartland of Tamarac	8	27
325708	Heartland of Zephyrhills	Heartland of Zephyrhills	14	28
043835	Heritage Health Care Center	Bay Breeze Health and Rehabilitation Center	29	33
043838	Heritage Healthcare and Rehabilitation Center	Heritage Healthcare and Rehabilitation Center	34	49



	F	acility Age Adjusted for Renovations		
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction
043833	Heritage Healthcare Center	Heritage Healthcare Center at Tallahassee	25	33
005850	Heritage Park	Heritage Park	26	41
324345	Heritage Park Care and Rehabilitation Center	Heritage Park Care and Rehabilitation Center	23	31
061095	Heritage Park Rehabilitation and Healthcare	Heritage Park Rehabilitation and Healthcare	33	35
043832	Heron Pointe Health and Rehabilitation	Heron Pointe Health and Rehabilitation	31	36
265730	Hialeah Nursing and Rehabilitation Center	Hialeah Nursing and Rehabilitation Center	23	66
263907	Highland Pines Rehabilitation Center	Highland Pines Rehabilitation Center	40	50
260576	Highlands Lake Center, LLC	Highlands Lake Center	25	28
047795	Hillcrest Nursing and Rehabilitation Center	Hillcrest Health Care and Rehabilitation Center	26	30
313424	Hollywood Hills Rehabilitation Center, LLC	Hollywood Hills Rehabilitation Center LLC	29	52
046017	Homestead Manor A Palace Community	Homestead Manor A Palace Community	6	33
153181	HRC, LLC	Glades West Rehabilitation and Nursing Center	2	2
263605	Hunter's Creek Nursing and Rehab	Hunters Creek Nursing and Rehab Center	15	18
211281	Huntington Place Care & Rehabilitation Center	Huntington Place	39	46
260665	Indian River Center LLC	Indian River Center	20	27
258750	Indigo Manor	Indigo Manor	28	29
059866	Island Health and Rehabilitation Center	Island Health and Rehabilitation Center	33	35
260657	Island Lake Center, LLC	Island Lake Center	27	29
281743	Jacaranda Manor	Jacaranda Manor	37	45
253723	Jackson Plaza, Inc.	Jackson Plaza Nursing & Rehabilitation Center	40	52
263494	Jacksonville Nursing and Rehab	Jacksonville Nursing and Rehab Center	20	26
207381	Joseph L. Morse Geriatric Center, Inc	Joseph L. Morse Geriatric Center, Inc	1	33
054790	Kabirhu Associates, LLC	Golden Glades Nursing and Rehabilitation Center	21	33
324493	Kenilworth Care and Rehabilitation Center	Kenilworth Care and Rehabilitation Center	36	38
043839	Keystone Rehabilitation and Health Center	Keystone Rehabilitation and Health Center	9	10
205303	Kissimmee Good Samaritan	Good Samaritan Society-Kissimmee Village	2	37
264482	Lafayette Healthcare Center	Lafayette Health Care Center	18	19
005851	Lake Eustis Care Center	Lake Eustis Care Center	23	53



		Facility Age Adjusted for Renovations		
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction
043871	Lake Mary Health and Rehabilitation Center	Lake Mary Health and Rehabilitation Center	15	16
211923	Lake Park of Madison	Lake Park of Madison	19	22
006339	Lake Placid Health Care Center	Lake Placid Health and Rehabilitation Center	23	32
229610	Lake View Care Center at Delray	Lake View Care Center at Delray	16	32
103165	Lake Wales Health Care Operations Co, LLC	Astoria Health & Rehabilitation Center	6	6
080068	Lakeland Hills Center	Lakeland Hills Center	34	46
265560	Lakeland Investors, LLC	Valencia Hills Health and Rehabilitation Center	39	39
207683	Lakeside Health Center	Lakeside Health Center	14	49
061140	Lakeside Oaks Care Center	Lakeside Oaks Care Center	36	49
256846	Lakeside Pavilion	Lakeside Pavilion	37	48
259225	Lakeview Terrace Skilled Nursing Facility	Lakeview Terrace Skilled Nursing Facility	2	35
312142	Lakewood Nursing Center	Lakewood Nursing Center	40	48
141466	Lanier Terrace, LLC	Lanier Terrace	27	46
043876	Largo Rehab & Spa	Largo Health and Rehabilitation Center	17	17
134463	Lauderdale Nursing Center, LLC	Ft Lauderdale Health and Rehabilitation Center	21	52
259080	Life Care Center at Inverrary	Life Care Center at Inverrary	13	13
213161	Life Care Center at Wells Crossing	Life Care Center at Wells Crossing	18	19
210137	Life Care Center of Altamonte Springs	Life Care Center of Altamonte Springs	23	44
211532	Life Care Center of Citrus County	Life Care Center of Citrus County	17	22
265381	Life Care Center of Estero	Life Care Center of Estero	7	13
214060	Life Care Center of Hilliard	Life Care Center of Hilliard	19	26
283193	Life Care Center of Jacksonville	Life Care Center of Jacksonville	10	12
228338	Life Care Center of Melbourne	Life Care Center of Melbourne	5	33
259357	Life Care Center of New Port Richey	Life Care Center of New Port Richey	5	13
266108	Life Care Center of Ocala	Life Care Center of Ocala	11	18
284289	Life Care Center of Orange Park	Life Care Center of Orange Park	19	20
213403	Life Care Center Of Orlando	Life Care Center Of Orlando	9	19
268186	Life Care Center of Palm Bay	Life Care Center of Palm Bay	11	12



	Fa	acility Age Adjusted for Renovations		
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction
315664	Life Care Center of Pensacola	Life Care Center of Pensacola	8	10
217824	Life Care Center of Port St. Lucie	Life Care Center of Port St. Lucie	12	17
311685	Life Care Center of Punta Gorda	Life Care Center of Punta Gorda	11	11
223786	Life Care Center of Sarasota	Life Care Center of Sarasota	9	16
219380	Life Care Center of Winter Haven	Life Care Center of Winter Haven	11	17
203980	Lisenby on Lake Caroline	Lisenby on Lake Caroline	16	76
324469	LP PINELLAS PARK, LLC	Signature Healthcare of Pinellas Park	27	33
099366	LP St. Petersburg Pasadena, LLC	Gulfport Rehabilitation Center	19	27
103425	LTCSP-Plant City, LLC	Community Convalescent Center	40	53
263516	MacClenny Nursing and Rehab	MacClenny Nursing and Rehab Center	16	27
213462	Madison Health and Rehabilitation Center	Madison Health and Rehabilitation Center	17	31
324124	Madison Pointe Rehabilitation & Health Center	Madison Pointe Rehabilitation & Health Center	10	39
043877	Magnolia Health and Rehabilitation Center	Magnolia Health and Rehabilitation Center	20	22
269000	Majestic Oaks Continuing Care Complex	Majestic Oaks	9	13
203599	Manor at Carpenter's	The Manor at Carpenter's	17	27
325422	Manor Care @ Lely Palms	Manor Care @ Lely Palms	5	32
325473	Manor Care Health Services	Manor Care Health Services	15	19
325449	Manor Care Nursing and Rehabilitation Center	Manor Care Nursing and Rehabilitation Center	2	29
256935	Manor Oaks Nursing & Rehab Center	Manor Oaks Nursing & Rehabilitation Center	29	42
254177	Manor Pines Convalescent Center, LLC	Manor Pines Convalescent Center	6	48
325384	ManorCare Health Services	ManorCare Health Services	10	16
325368	ManorCare Health Services (Boca Raton)	ManorCare Health Services (Boca Raton)	4	32
325520	ManorCare Health Services (Delray Beach)	ManorCare Health Services (Delray Beach)	5	17
325457	ManorCare Health Services (Plantation)	ManorCare Health Services (Plantation)	4	30
325376	ManorCare Health Services-Boynton Beach	ManorCare Health Services-Boynton Beach	6	32
325678	ManorCare Health Services-Carrollwood	ManorCare Health Services-Carrollwood	1	26
325686	Manor-Care Health Services-Dunedin	Manor-Care Health Services-Dunedin	4	33
325694	ManorCare Health Services-Palm Harbor	ManorCare Health Services-Palm Harbor	5	26



	Fac	ility Age Adjusted for Renovations		
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction
325465	ManorCare Health Services-Sarasota	ManorCare Health Services-Sarasota	4	33
325481	ManorCare Health Services-West Palm Beach	ManorCare Health Services-West Palm Beach	9	20
325279	ManorCare Nursing and Rehabilitation Center	ManorCare Nursing and Rehabilitation Center	21	39
017222	Margate Health Care Center	Margate Health and Rehabilitation Center	11	32
203475	Marianna Health & Rehabilitation	Marianna Health & Rehabilitation	36	46
043878	Marshall Health and Rehabilitation Center	Marshall Health and Rehabilitation Center	29	39
263524	Medicana Nursing and Rehab	Medicana Nursing and Rehab Center	23	48
264547	Melbourne Terrace Restorative Care Center	Melbourne Terrace Rehabilitation Center	3	3
229628	Menorah House	Menorah House	18	27
263541	Metrowest Nursing and Rehab	Metro West Nursing and Rehab Center	19	22
005372	MF DEBARY, LLC	Debary Health and Rehabilitation Center	37	51
005374	MF FLAGLER, LLC	Flagler Health and Rehabilitation Center	19	31
005379	MF LONGWOOD, LLC	Longwood Health and Rehabilitation Center	26	36
200506	Miami Jewish Health Systems	Miami Jewish Health Systems	23	53
202941	MIRACLE HILL NURSING AND REHABILITATION CENTERS, INC	Miracle Hill Nursing and Rehabilitation Centers, Inc.	34	48
225274	MK of Fernandina Beach LLC	Quality Health Of Fernandina Beach	27	32
224341	MK of Haines City LLC	Haines City Health Care	30	33
225053	MK of North Port LLC	Quality Health Of North Port	28	31
225410	MK of Winter Garden LLC	Quality Health Of Orange County	30	31
263559	Moultrie Creek Nursing and Rehab	Moultrie Creek Nursing and Rehab Center	22	29
048807	New Riviera Nursing and Rehabilitation Center	Riviera Health Resort	8	8
005543	NF MANOR, LLC	Seaside Health and Rehabilitation Center	40	55
100509	NF Pensacola Manor LLC	Arcadia Health & Rehabilitation Center	21	32
103858	North Campus Rehabilitation and Nursing Center	North Campus Rehabilitation and Nursing Center	19	28
043880	North Florida Rehabilitation and Specialty Care	North Florida Rehabilitation and Specialty Care	29	32
325163	North Lake Rehabilitation and Health Center	North Lake Rehabilitation and Health Center	25	45
005383	Nursing Pavilion at Chipola Retirement Center	Chipola Health and Rehabilitation Center	22	43
043841	Oakbridge Healthcare Center	Oakbridge Healthcare Center	9	25



	F	acility Age Adjusted for Renovations		
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction
006767	Oakbrook Health and Rehabilitation Center	Oakbrook Health and Rehabilitation Center	8	30
251721	Oakhurst Care & Rehabilitation Center	Oakhurst Center	22	32
263966	Oaks at Avon Park	Oaks at Avon	20	24
005549	Oaks Of Kissimmee	Oaks of Kissimmee	27	44
043843	Oaktree Healthcare	Oaktree Healthcare	40	52
005547	Oakwood Garden of Deland	Parkside Health and Rehabilitation Center	31	49
266124	Oasis Health and Rehabilitation Center	Oasis Health and Rehabilitation Center	25	30
217395	Ocala Health & Rehabilitation Center	Ocala Health and Rehabilitation Center	3	40
048611	Ocala Oaks Rehabilitation Center	Ocala Oaks Rehabilitation Center	12	25
226351	Ocean View Nursing and Rehabilitation Center	Ocean View Nursing & Rehabilitation Center LLC	8	49
103852	Ocoee Health Care Center	Ocoee Health Care Center	25	26
023067	Okeechobee Healthcare Facility	Okeechobee Healthcare Facility	14	32
204391	Olds Hall Good Samaritan	Good Samaritan Society-Daytona	7	44
263567	Orange City Nursing and Rehab	Orange City Nursing and Rehab Center	24	26
130817	Orange Park MGT, LLC	Oak View Rehabilitation Center	24	29
252689	Orchard Ridge Care & Rehabilitation Center	Orchard Ridge	20	33
223654	Orlando Health and Rehabilitation Center	Orlando Health and Rehabilitation Center	40	54
005219	Osceola Health Care Center	Osceola Health Care Center	20	25
092678	Osprey Point Nursing Center	Osprey Point Nursing Center	17	17
213900	Page Rehabilitation and Healthcare Center	Page Rehabilitation and Healthcare Center	15	23
005811	Palatka Health Care Center	Palatka Health Care Center	24	27
263621	Palm City Nursing and Rehab	Palm City Nursing & Rehab Center	14	23
098577	Palm Garden of Aventura	Palm Garden of Aventura	10	28
098580	Palm Garden of Clearwater	Palm Garden of Clearwater	2	29
098581	Palm Garden of Gainesville	Palm Garden of Gainesville	3	29
098582	Palm Garden of Jacksonville	Palm Garden of Jacksonville	10	26
098583	Palm Garden of Largo	Palm Garden of Largo	13	29
098584	Palm Garden of Ocala	Palm Garden of Ocala	14	29



Facility Age Adjusted for Renovations											
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction							
098586	Palm Garden of Orlando	Palm Garden of Orlando	14	29							
098587	Palm Garden of Pinellas	Palm Garden of Pinellas	8	25							
098588	Palm Garden of Port Saint Lucie	Palm Garden of Port Saint Lucie	9	28							
098589	Palm Garden of Sun City	Palm Garden of Sun City	11	25							
098590	Palm Garden of Tampa	Palm Garden of Tampa	11	29							
098591	Palm Garden of Vero Beach	Palm Garden of Vero Beach	11	29							
098592	Palm Garden of West Palm Beach	Palm Garden of West Palm Beach	16	28							
098593	Palm Garden of Winter Haven	Palm Garden of Winter Haven	1	29							
319244	Palmer Ranch Healthcare and Rehabilitation	Brookdale Palmer Ranch SNF	12	17							
324167	Palmetto Rehabilitation and Health Center	Palmetto Rehabilitation and Health Center	15	29							
212806	Palmetto Subacute Care Center	Palmetto Sub Acute Care Center Inc	5	19							
252671	Palms of Sebring	The Palms of Sebring	9	45							
005385	Panama City Nursing Center	Panama City Health and Rehabilitation Center	24	48							
317578	Parklands Rehabilitation and Nursing Center	Parklands Rehabilitation and Nursing Center	27	39							
324507	Peninsula Care and Rehabilitation Center	Peninsula Care and Rehabilitation Center	31	32							
129312	Penney Retirement Community, Inc	The Pavilion for Health Care	6	19							
252662	Pinebrook Care & Rehabilitation Center	Pinebrook Center	30	32							
225754	Pinecrest Convalescent Center	Pinecrest Rehabilitation Center	36	50							
263486	Pinellas Point Nursing and Rehab	Pinellas Point Nursing and Rehab Center	27	56							
155062	Pines Nursing Home 2015, LLC	Pines Nursing Home	40	54							
043853	Plantation Bay Rehabilitation Center	Plantation Bay Rehabilitation Center	18	21							
226017	Plantation Nursing & Rehab Center	Plantation Nursing & Rehabilitation Center	8	48							
263923	Pompano Health and Rehabilitation Center	Pompano Health and Rehabilitation Center	40	45							
308251	Ponce Plaza Nursing & Rehab Center	Ponce Plaza Nursing & Rehabilitation Center	3	48							
319325	Port Charlotte Rehabilitation Center	Port Charlotte Rehabilitation Center	1	32							
263508	Port Orange Nursing and Rehab	Port Orange Nursing and Rehab Center	18	24							
223239	Regents Park at Aventura	Regents Park at Aventura	11	28							
204170	Regents Park Of Boca Raton	Regents Park Nursing & Rehabilitation Center	7	32							



Facility Age Adjusted for Renovations											
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction							
269727	Regents Park of Jacksonville	Regents Park of Jacksonville	23	30							
269697	Regents Park of Sunrise	Regents Park of Sunrise	22	27							
269719	Regents Park of Winter Park	Regents Park of Winter Park	19	28							
263869	Rehabilitation and Healthcare Center of Cape Coral	Rehab & Healthcare Center Of Cape Coral	28	37							
263940	Rehabilitation and Healthcare Center of Tampa	Rehabilitation and Healthcare Center of Tampa	40	47							
072054	Rehabilitation Center of St. Pete	Rehabilitation Center of St. Pete	34	63							
263915	Rehabilitation Center of The Palm Beaches	The Rehabilitation Center Of the Palm Beaches	17	17							
047787	Renaissance Health and Rehabilitation	Renaissance Health and Rehabilitation	28	31							
043846	Rio Pinar Health Care	Rio Pinar Health Care	24	29							
200859	River Garden Hebrew Home	River Garden Hebrew Home For the Aged	1	27							
044889	River Valley Rehabilitation Center	River Valley Rehabilitation Center	29	42							
005386	Riverchase Care Center	Riverchase Health and Rehabilitation Center	28	31							
046758	Riverside Care Center	Riverside Care Center	22	30							
260673	Riverwood Center, LLC	Riverwood Center	40	52							
263451	Riviera Palms Rehabilitation Center	Riviera Palms Rehabilitation Center	26	30							
059869	Rosewood Health and Rehabilitation Center	Rosewood Health and Rehabilitation Center	27	32							
017223	Rosewood Manor	Rosewood Healthcare and Rehabilitation Center	32	53							
324213	Royal Care of Avon Park	Royal Care of Avon Park	7	48							
263583	Royal Oaks Nursing and Rehab	Royal Oaks Nursing and Rehab Center	17	23							
006489	Royal Palm Beach Health And Rehabilitation Center	Royal Palm Beach Health and Rehabilitation Center	21	32							
260452	Ruleme Center, LLC	Ruleme Center	40	49							
210951	Sabal Palms Health Care Center	Sabal Palms Health Care Center	13	26							
006483	Salerno Bay Manor	Salerno Bay Health and Rehabilitation Center	26	31							
202606	Samantha R. Wilson at Bay View	Samantha Wilson Care Center	18	18							
061102	San Jose Health and Rehabilitation Center	San Jose Health and Rehabilitation Center	24	31							
312045	SandalWood Nursing Center	SandalWood Nursing Center	40	54							
220621	Sandy Ridge Care Center	Sandy Ridge Health and Rehabilitation	19	29							
220612	Santa Rosa Health & Rehabilitation Center	Santa Rosa Health & Rehabilitation Center	11	46							

81



Facility Age Adjusted for Renovations											
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction							
085643	Sarasota Bay Rehabilitation Center, LLC	Sarasota Point Rehabilitation Center	38	39							
263982	Sarasota Health and Rehabilitation Center	Sarasota Health and Rehabilitation Center	39	49							
312550	Savannah Cove of Maitland	Savannah Cove	14	21							
312312	Savannah Cove of the Palm Beaches	Savannah Cove	18	21							
059874	Sea Breeze Health Care	Sea Breeze Health Care	34	37							
061107	SeaView Nursing and Rehabilitation Center	SeaView Nursing and Rehabilitation Center	29	33							
033175	Seven Hills Health & Rehab Center	Seven Hills Health & Rehab Center	29	37							
005519	SF Carnegie, LLC	Wave Crest Health and Rehabilitation Center	18	47							
229202	Shell Point Pavilion	Shell Point Nursing Pavilion	5	44							
059852	Shoal Creek Rehabilitation Center	Shoal Creek Rehabilitation Center	15	16							
324132	Shore Acres Rehabilitation & Health Center	Shore Acres Rehabilitation & Health Center	32	50							
324426	Signature Healthcare at the Courtyard	Signature Healthcare at the Courtyard	18	19							
324400	Signature HealthCARE Center of Waterford	Signature HealthCARE Center of Waterford	28	30							
324418	Signature Healthcare of Brookwood Gardens	Signature Healthcare of Brookwood Gardens	21	30							
324370	Signature HealthCARE of College Park	Signature HealthCARE of College Park	40	59							
324388	Signature HealthCARE of Gainesville	Signature HealthCARE of Gainesville	40	59							
019284	Signature HealthCARE of Jacksonville	Signature HealthCARE of Jacksonville	40	59							
324396	Signature Healthcare of North Florida	Signature Healthcare of North Florida	33	38							
324434	Signature Healthcare of Orange Park	Signature HealthCARE of Orange Park	23	32							
324442	Signature Healthcare of Ormond	Signature HealthCARE of Ormond	29	36							
001136	Signature HealthCARE of Palm Beach	Signature HealthCARE of Palm Beach	19	32							
324477	Signature Healthcare of Port Charlotte	Signature HealthCARE of Port Charlotte	14	38							
017230	Silvercrest Manor	Silvercrest Health and Rehabilitation Center	12	28							
260771	Sinai Plaza Nursing and Rehab	Sinai Plaza Nursing & Rehab Center	4	26							
162218	Solaris Healthcare Bayonet Point, LLC	Solaris Healthcare Bayonet Point	30	35							
162219	Solaris Healthcare Charlotte Harbor, LLC	Solaris Healthcare Charlotte Harbor	22	22							
162220	Solaris Healthcare Coconut Creek, LLC	Solaris Healthcare Coconut Creek	19	19							
162221	Solaris Healthcare Daytona, LLC	Solaris Healthcare Daytona	19	20							



Facility Age Adjusted for Renovations											
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction							
162222	Solaris Healthcare Imperial, LLC	Solaris Healthcare Imperial	20	25							
162224	Solaris Healthcare Lake City, LLC	Solaris Healthcare Lake City	23	24							
162225	Solaris Healthcare Merritt Island, LLC	Solaris Healthcare Merritt Island	23	26							
162226	Solaris Healthcare North Naples, LLC	Solaris Senior Living North Naples	26	26							
162228	Solaris Healthcare Parkway, LLC	Solaris Healthcare Parkway	22	27							
162230	Solaris Healthcare Pensacola, LLC	Solaris Healthcare Pensacola	26	29							
162231	Solaris Healthcare Plant City, LLC	Solaris Healthcare Plant City	27	31							
162232	Solaris Healthcare Windermere, LLC	Solaris Healthcare Windermere	19	19							
226360	South Heritage Health and Rehabilitation Center	South Heritage Health & Rehabilitation Center	40	50							
311308	South Pointe Plaza	South Pointe Plaza Rehabilitation and Nursing Center	28	46							
224910	South Tampa Health and Rehabilitation Center	South Tampa Health and Rehabilitation Center	17	38							
324566	Southern Oaks Rehabilitation and Nursing Center	Southern Oaks Rehabilitation and Nursing Center	33	38							
019282	Southern Pines Healthcare Center	Southern Pines Healthcare Center	40	40							
017236	Specialty Center of Pensacola	Specialty Health and Rehabilitation Center	15	25							
059877	Spring Hill Health and Rehabilitation Center	Spring Hill Health and Rehabilitation Center	18	19							
264571	Spring Lake Rehabilitation Center	Spring Lake Rehabilitation Center	23	25							
225631	Springtree Rehab & Health Center, LLC	Springtree Rehabilitation & Health Care Center	7	27							
253014	Springwood Care & Rehabilitation Center	Springwood Center	29	34							
323799	St. Andrew's Bay Skilled Nursing and Rehabilitation	St. Andrew's Bay Skilled Nursing and Rehabilitation	28	31							
217735	St. Augustine Health & Rehabilitation Center	St Augustine Health and Rehabilitation Center	3	41							
015613	St. James Health And Rehabilitation Center	St. James Health and Rehabilitation Center	7	7							
059783	Summer Brook Health Care Center	Summer Brook Health Care Center	31	49							
209856	Sun Terrace Health Care Center	Sun Terrace Health Care Center	31	39							
320412	Sunbelt Health & Rehab Center - Apopka, Inc.	Sunbelt Health & Rehab Center - Apopka, Inc.	2	24							
212709	Suncoast Manor	Westminster Suncoast	3	36							
011998	SUNLAND VERO BEACH, LLC	Grace Rehabilitation Center Of Vero Beach	3	52							
202711	SUNNYSIDE NURSING HOME	Sunnyside Nursing Home	20	48							
253430	Sunset Point Care & Rehabilitation Center	Sunset Point	28	33							



Facility Age Adjusted for Renovations											
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction							
001135	Surrey Place Care Center	Surrey Place Care Center	21	29							
256277	Surrey Place of Bradenton, LLC	Surrey Place Healthcare and Rehabilitation	15	27							
268062	Susanna Wesley Health Center	Susanna Wesley Health Center	2	31							
005387	Suwannee Health Care Center	Suwannee Health and Rehabilitation Center	9	34							
054789	Takifhu Associates, LLC	South Dade Nursing and Rehabilitation Center	27	31							
213098	Tamarac Rehabilitation and Health Center	Tamarac Rehabilitation and Health Center	24	38							
323781	Tarpon Point Nursing and Rehabilitation Center	Tarpon Point Nursing and Rehabilitation Center	13	31							
261611	Terra Vista Rehabilitation and Health Center	Terra Vista Rehab and Health Center	28	44							
108507	Terrace of Jacksonville, LLC	The Terrace of Jacksonville	22	34							
325031	Terraces of Lake Worth Rehab and Health Center	Terraces of Lake Worth Rehab and Health Center	8	64							
263958	The Abbey Rehabilitation and Nursing Center	Abbey Rehabilitation and Nursing Center	38	48							
324485	The Bridge at Bay St. Joe	The Bridge at Bay St. Joe	16	33							
210684	The Edgewater at Waterman Village	Edgewater at Waterman Village	4	23							
201588	The Gardens at DePugh Nursing Center	Mary Lee Depugh Nursing Home Association Inc	1	60							
080062	The Groves Center	The Groves Center	27	43							
043863	The Health and Rehabilitation Centre at Dolphins View	The Health and Rehabilitation Centre at Dolphins View	26	27							
101391	The Oaks of Clearwater	The Oaks of Clearwater	25	27							
203327	The Palace at Kendall Nursing and Rehab Center	The Palace at Kendall Nursing and Rehab Center	2	25							
043847	The Palms Rehabilitation and Healthcare Center	The Palms Rehabilitation and Healthcare Center	18	18							
321532	The Palms Rehabilitation and Nursing Center	The Palms Rehabilitation and Nursing Center	7	37							
043850	The Parks Healthcare and Rehabilitation Center	The Parks Healthcare and Rehabilitation Center	13	32							
005380	The Rehabilitation Center of Winter Park	The Rehabilitation Center of Winter Park	21	33							
202533	The Rohr Home	The Rohr Home	20	56							
268780	The Springs at Lake Pointe Woods	Springs at Lake Pointe Woods	19	30							
100487	The Terrace of Kissimmee	The Terrace of Kissimmee	19	23							
102419	The Terrace of St. Cloud	The Terrace of St. Cloud	17	30							
260568	Tierra Pines Center, LLC	Tierra Pines Center	25	36							
263532	Tiffany Hall Nursing and Rehab	Tiffany Hall Nursing and Rehab Center	20	23							



	Fac	ility Age Adjusted for Renovations		
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction
203335	TimberRidge Nursing & Rehab Center	TimberRidge Nursing & Rehab Center	16	28
263974	Titusville Rehabilitation and Nursing Center	Titusville Rehabilitation and Nursing Center	40	48
226602	Treasure Isle Care Center	Treasure Isle Care Center	40	65
263591	Tuskawilla Nursing and Rehab	Tuskawilla Nursing and Rehab Center	15	22
259331	UniHealth Post-Acute Care- Santa Rosa	Pruitthealth - Santa Rosa	6	13
041686	University Center East	University Center East	40	46
041685	University Center West	University Center West	40	44
060993	University Hills Health and Rehabilitation	University Hills Health and Rehabilitation	21	32
082204	University Plaza Rehabilitation & Nursing Center	University Plaza Rehabilitation & Nursing Center	3	3
046128	Victoria Nursing and Rehabilitation Center, Inc.	Victoria Nursing and Rehabilitation Center, Inc.	10	13
061109	Vista Manor	Vista Manor	29	31
211052	W FRANK WELLS NURSING FACILITY	W Frank Wells Nursing Home	11	48
324353	Washington Rehabilitation & Nursing Center	Washington Rehabilitation & Nursing Center	27	35
089220	Watercrest Acquisition I LLC	Krystal Bay Nursing and Rehabilitation	12	53
043867	Wedgewood Healthcare Center	Wedgewood Healthcare Center	17	17
253464	West Bay Care & Rehabilitation Center	West Bay Of Tampa	25	34
026536	West Broward Rehabilitation and Healthcare	West Broward Rehabilitation and Healthcare	1	53
282359	West Gables Health Care Center	West Gables Health Care Center	20	31
217727	West Melbourne Health & Rehabilitation Center	West Melbourne Health & Rehabilitation Center	3	37
202011	Westchester Gardens Rehabilitation & Care Center	Westchester Gardens Rehabilitation & Care Center	9	28
209422	Westminster Asbury Manor	Westminster Communities Of Bradenton Westminster Manor	16	54
203815	Westminster Asbury Towers	Westminster Towers and Shores Of Bradenton	24	49
200409	Westminster Oaks	Westminster Oaks	19	33
208540	Westminster Towers	Westminster Towers	19	35
212083	Westminster Woods on Julington Creek	Westminster Woods on Julington Creek	1	46
266612	Whispering Oaks	Whispering Oaks	37	43
317586	Williston Rehabilitation and Nursing Center	Williston Rehabilitation and Nursing Center	31	39
006340	Windsor Manor	Windsor Health and Rehabilitation Center	19	26



	Facility Age Adjusted for Renovations												
Facility Medicaid ID	Facility Name	Facility DBA Name	Facility Age Adjusted for Renovations	Age at Initial Construction									
263991	Windsor Woods Rehab and Healthcare Center	Windsor Woods Rehab and Healthcare Center	26	30									
264008	Winkler Court	Winkler Court	11	21									
228702	Winter Haven Health and Rehab Center	Winter Haven Health and Rehabilitation Center	40	52									
324515	Winter Park Care and Rehabilitation Center	Winter Park Care and Rehabilitation Center	33	38									
209848	Winter Park Towers	Winter Park Towers	19	50									
047788	Wood Lake Nursing and Rehabilitation Center	Wood Lake Nursing and Rehabilitation Center	20	28									
324141	Woodbridge Rehabilitation & Health Center	Woodbridge Rehabilitation & Health Center	30	34									
008793	Woods of Manatee Springs	Woods of Manatee Springs	31	31									
212164	Ybor City Healthcare and Rehabilitation Center	Ybor City Healthcare and Rehabilitation Center	25	47									
320391	Zephyr Haven Health & Rehab Center, Inc.	Zephyr Haven Health & Rehab Center, Inc.	2	51									
320404	Zephyrhills Health & Rehab Center, Inc.	Zephyrhills Health & Rehab Center, Inc.	11	19									



16 Appendix F – Quality Scores by Facility

The following figure shows the individual quality scores for each facility.

Figure 25. Quality score calculation by facility.

	Quality Score Calculation by Facility														
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
205745	Abbey Delray	105335	1	0	3	0	2	0	0	0	3	1	5	0	15.0
206865	Abbey Delray South	105411	3	0	3	0	2	0	1	2	3	1	3	0	18.0
263958	Abbey Rehabilitation And Nursing Center	105749	0	0	3	1	0	1	3	0	0	1	0	0	9.0
268755	Abbiejean Russell Care Center LLC	105804	1	0	3	0.5	1	0	1	0	2	3	0	0	11.5
005826	Accentia Health & Rehab. Center of Tampa	105140	0	0	0	0	0	0	0	0	0	2	3	5	10.0
324094	Advanced Rehabilitation & Health Center	105478	1	0	3	0	0	0	3	1	0	3	3	0	14.0
320439	Adventist Care Centers - Courtland, Inc.	106024	1	1	3	0	1	2	0	0	1	0	3	0	12.0
261254	Alhambra Health And Rehabilitation Center	105712	3	3	3	3	0	0	2	0	1	1	1	0	17.0
227251	Alpine Health and Rehabilitation Center	105713	0.5	1	3	1	1	3	0	0	0	0	3	5	17.5
324451	Anchor Care & Rehabilitation Center	105464	0	0	3	0	0	3	0	1	0	0	3	0	10.0
227633	Apollo Health And Rehabilitation Center	105202	0.5	2	0	1	1	3	2	0.5	1	0	1	0	12.0
263478	Arbor Trail Rehab And Skilled Nursing Center	105703	1	0	3	1	1	1	0	1	1	1	3	0	13.0
325040	Arbor Village Nursing Center	105649	0	2	3	1	0	0	2	0	0	1	0	0	9.0
100509	Arcadia Health & Rehabilitation Center	105532	0	2	3	2	1	0	0	0	0	3	5	5	21.0
254291	Arch Plaza Nursing & Rehabilitation Center	105008	1	2	3	0	2	0	0	2	1	3	3	0	17.0
103165	Astoria Health & Rehabilitation Center	106086	0	1	3	1	1	0	0	1	1	1	5	0	14.0
310581	Atlantic Healthcare Center	105399	1	2	3	1	0	0	0	3	0	1	0	0	11.0
263389	Atlantic Shores Nursing And Rehab Center	105904	1	1	0.5	0.5	0	0	0	1	2	1	1	0	8.0
261629	Avalon Healthcare Center	105346	1	0	0	0.5	0	0	0	1	0	1	0	0	3.5
210676	Avante At Boca Raton Inc.	105521	1	2	3	1	0	3	0	2	3	1	0	0	16.0
203220	Avante at Inverness	105308	0	0.5	3	1	2	0	0	0	1	0	1	0	8.5
203238	Avante at Lake Worth	105372	3	2	3	3	0.5	1	2	0	1	0	0	0	15.5
203122	Avante at Leesburg, Inc.	105304	1	0	3	3	0	0	1	0	0	1	1	0	10.0
252018	Avante At Melbourne Inc	105671	0	0	0	1	0	0	1	1	1	0	0	0	4.0
252042	Avante At Mt Dora Inc	105333	0	1	3	1	1	0.5	0	1	1	2	3	0	13.5
005701	Avante at Ocala	106084	3	0	3	3	0.5	1	1	1	2	1	1	0	16.5
223808	Avante At Orlando Inc.	106027	1	1	0	1	0	0	3	1	1	0	0	0	8.0
252034	Avante At Ormond Beach Inc	105310	0	0	3	2	0	1	2	1	1	1	0	0	11.0
259870	Avante At St Cloud Inc	105670	1	2	3	1	1	0	2	0	2	1	3	0	16.0
200913	Avante Villa At Jacksonville Beach Inc	105617	0	1	3	1	1	0	3	1	1	1	0	0	12.0
284823	Aventura Plaza Rehabilitation & Nursing Center	105331	1	0	3	0.5	0	1	1	3	2	0	1	0	12.5
227871	Ayers Health And Rehabilitation Center	105401	1	3	3	2	2	0.5	2	0	0	1	5	0	19.5
140648	Bartow Center	105286	3	0	0.5	0	1	1	0	0	0	1	1	0	7.5



Quality Score Calculation by Facility															
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
086990	Bartram Crossing	105645	0	1	3	3	0	0.5	1	1	3	0	5	0	17.5
043835	Bay Breeze Health And Rehabilitation Center	105443	1	0	3	0.5	1	0.5	0	0	0	1	0	0	7.0
017225	Bay Breeze Senior Living And Rehabilitation Center	105487	1	1	0.5	0	1	0	2	1	1	0	5	5	17.5
128848	Bay Center	105285	3	0.5	3	3	0	0.5	1	0	0	1	1	0	13.0
263834	Bay Pointe Nursing Pavilion	105477	0	2	0	1	2	1	1	0	0	1	0	0	8.0
253448	Bay Tree Center	105394	0	0	0	0	0	2	0	1	0	0	0	0	3.0
018777	Bay Village of Sarasota	106085	3	0	3	0	2	1	0	2	3	1	3	0	18.0
147672	Bay Vue Nursing and Rehabilitation Center	105551	1	1	3	0	1	0	3	0	3	1	3	0	16.0
092681	Baya Pointe Nursing and Rehabilitation Center	105846	0	1	3	0.5	1	0	1	0.5	0	2	1	0	10.0
263575	Bayshore Pointe Nursing And Rehab Center	105650	3	0	3	0.5	3	0	0	0	2	0	3	5	19.5
017221	Bayside Health And Rehabilitation Center	105267	1	0	0	3	2	3	0	2	0	1	5	0	17.0
324108	Bayside Rehabilitation & Health Center	105071	0.5	0	3	0	0	0	0	0	0	1	1	0	5.5
260444	Bayview Center	105324	2	1	0.5	1	1	1	0	0	0	2	0	5	13.5
316652	Baywood Nursing Center	105890	0	1	0	3	0	0.5	0	0.5	1	0	0	0	6.0
228567	Bear Creek Nursing Center	105393	3	2	3	0	1	0.5	0	2	0	0	3	5	19.5
264521	Belleair Health Care Center	105636	0	0	0	3	0	0	2	1	1	1	3	0	11.0
033717	Benderson Family Skilled Nursing & Rehab Center	106090	0	1	3	0	3	0.5	1	3	0	0	1	0	12.5
043857	Beneva Lakes Healthcare and Rehabilitation Center	105416	0	2	3	0	1	3	3	0.5	0	1	0	0	13.5
208442	Bernard L Samson Nursing Center	105504	2	1	3	0	0	0	0	0	2	3	3	0	14.0
209511	Bishops Glen Retirement Center	105526	3	0	3	3	2	1	1	1	1	0	5	0	20.0
022987	Blountstown Health and Rehabilitation Center	105924	3	0	0.5	1	3	0.5	1	0	0	2	5	0	16.0
143762	Boca Ciega Center	105271	1	0	3	0	0	0	0	0	0	1	0	0	5.0
263842	Boca Raton Rehabilitation Center	105219	1	0	3	1	0	0	0	2	0	0	0	0	7.0
200107	Bon Secours Maria Manor Nursing Care Center	105688	0	1	3	0	3	0	0	1	0	3	3	5	19.0
263443	Bonifay Nursing And Rehab Center	105624	3	1	0	1	0	0	1	1	1	1	1	0	10.0
263613	Boulevard Rehabilitation Center	105067	1	3	3	1	0	0	0	1	2	1	0	0	12.0
263460	Boynton Beach Rehabilitation Center	105837	2	0	3	1	0	0	0	0	2	1	1	0	10.0
005814	Boynton Health Care Center	105146	3	1	3	1	2	1	1	0	1	0	5	5	23.0
073324	Braden River Rehabilitation Center, LLC	105045	2	0.5	3	1	0	3	0	0	2	1	3	0	15.5
043859	Bradenton Health Care	106017	0	0	3	1	1	1	0	0.5	0	1	3	5	15.5
043860	Brandon Health and Rehabilitation Center	105951	0	3	3	3	0	3	1	1	0	1	0	0	15.0
251399	Brandywyne Health Care Center	105428	3	0	0.5	2	2	0	0	0.5	0	0	0	0	8.0
260371	Bridgeview Center	105402	1	0	3	1	0	0	1	0	0	2	1	5	14.0
284793	Brighton Gardens of Tampa	106015	1	1	3	1	1	1	1	1	1	0	5	0	16.0
319376	Brookdale Atrium Way 2	105927	0	1	3	0	0	0	0	1	1	2	0	0	8.0
319244	Brookdale Palmer Ranch SNF	106022	0	0	3	1	0	0	1	3	2	1	0	0	11.0
228958	Brooksville Healthcare Center	105297	0	1	3	0	1	1	0	1	0	3	5	5	20.0
226335	Broward Nursing & Rehabilitation Center	105083	0	0	0.5	0	0	0	3	1	2	1	3	0	10.5
005381	Brynwood Health And Rehabilitation Center	106045	1	3	3	0	0	1	3	0.5	0	0	5	5	21.5
059369	Calusa Harbour	105384	0	0	3	0	3	0	1	0.5	2	0	5	0	14.5



Quality Score Calculation by Facility															
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
022138	Carlton Shores Health and Rehab Center	105580	3	3	3	3	2	3	3	1	2	0	0	0	23.0
101959	Carrington Place of St. Pete	105616	0	0	3	0	3	2	1	2	0	1	1	0	13.0
263877	Carrollwood Care Center	105553	0	1	0	0	2	0	0	2	0	0	3	0	8.0
263885	Casa Mora Rehabilitation and Extended Care	105327	0	0	3	3	2	0	0	0	0	3	3	0	14.0
226068	Cathedral Gerontology Center Inc	105834	3	2	0	0	2	3	1	0	2	0	1	0	14.0
202789	Center for Health Care of The Alliance Community	105349	1	0	3	0	1	0	0	0	1	1	1	0	8.0
043856	Central Park Healthcare and Rehabilitation Center	105718	0	3	3	3	0	2	0	1	0	1	0	0	13.0
264563	Centre Pointe Health and Rehab Center	105563	3	0.5	0.5	0.5	0	0	1	2	1	0	5	5	18.5
220604	Century Health And Rehabilitation Center	105860	3	1	0	0	1	0.5	1	0	0	2	1	0	9.5
324361	Chautauqua Rehabilitation & Nursing Center	105626	1	2	0.5	0	1	2	1	3	0	0	3	0	13.5
005383	Chipola Health And Rehabilitation Center	105729	3	0	3	0	1	3	0	0	1	0	5	5	21.0
257419	Citrus Health and Rehabilitation Center	105858	0	1	0	0.5	0	1	1	0	2	1	3	0	9.5
122340	Citrus Hills Health & Rehabilitation Center	106036	0	0.5	3	3	0	0.5	1	1	0	0	0	0	9.0
208507	Claridge House Nursing & Rehabilitation Center	105513	1	2	0	2	0	1	0	2	2	1	3	0	14.0
140643	Clearwater Center	105274	1	0	3	1	0	1	0	0	0	1	1	0	8.0
221465	Clermont Health and Rehabilitation Center	105512	0	0	3	0	1	0.5	0	0	0	2	0	0	6.5
021261	Coastal Health and Rehabilitation Center	105565	0	0	0	0	0	2	3	0	0	0	3	5	13.0
043854	Colonial Lakes Health Care	105440	0	1	3	2	1	0	2	3	0	0	0	0	12.0
205796	Commons At Orlando Lutheran Towers	105731	2	0	0.5	3	3	1	0	1	1	2	3	5	21.5
103425	Community Convalescent Center	105029	1	0	3	3	0	0	0	1	0	1	1	0	10.0
098972	Community Health and Rehabilitation Center	105975	0	0	3	1	2	2	0	0	0	1	5	0	14.0
200956	Comprehensive Healthcare of Clearwater	105453	0	0	0	1	0	0	1	2	1	1	0	0	6.0
251666	Concordia Manor	105714	0	3	3	3	1	0.5	1	0	0	0	3	5	19.5
080431	Consulate Health Care at West Altamonte	105843	0	1	0	0	1	1	1	0	0	1	1	0	6.0
080374	Consulate Health Care of Bayonet Point	105786	0	0	0	0	1	0	0	0	0	1	0	5	7.0
080377	Consulate Health Care of Brandon	105520	0	1	3	3	1	2	1	1	0	0	0	0	12.0
080384	Consulate Health Care of Jacksonville	105917	0	1	3	3	1	1	2	2	0	1	0	0	14.0
080387	Consulate Health Care of Kissimmee	106011	0	1	3	3	3	2	2	2	1	1	1	0	19.0
080393	Consulate Health Care of Lake Parker	105693	0	3	3	0	0	0	0	0	0	1	0	0	7.0
080391	Consulate Health Care of Lakeland	105482	1	3	3	2	0	2	1	1	0	2	0	0	15.0
080394	Consulate Health Care of Melbourne	105861	1	0	3	1	0	0	2	1	0	2	0	0	10.0
080397	Consulate Health Care of New Port Richey	105459	0	0	3	3	3	1	1	0	0	1	1	0	13.0
080400	Consulate Health Care of North Ft. Myers	105507	0	0.5	0	0	0	1	0	0.5	1	1	0	0	4.0
080402	Consulate Health Care of Orange Park	105653	2	0	3	1	0	3	3	0	0	0	1	0	13.0
080405	Consulate Health Care of Pensacola	105935	0	1	3	2	0	3	2	0	1	0	0	0	12.0
080416	Consulate Health Care of Port Charlotte	105982	2	0	3	1	2	1	0	2	0	0	0	0	11.0
080406	Consulate Health Care of Safety Harbor	105549	0	0	3	0	0	1	0	0.5	0	1	0	5	10.5
080413	Consulate Health Care of Sarasota	105983	1	3	3	1	0	0	1	3	0	1	5	0	18.0
080409	Consulate Health Care of St. Petersburg	105895	0	0	0.5	2	0	3	0	0	0	1	0	0	6.5
080428	Consulate Health Care of Tallahassee	105764	1	0	3	1	2	0	3	0	0	1	0	0	11.0



Quality Score Calculation by Facility															
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
080430	Consulate Health Care of Vero Beach	105474	1	0	0.5	3	1	0	1	0	1	0	0	0	7.5
080432	Consulate Health Care of West Palm Beach	105492	0	0	3	2	0	1	0	0	1	1	5	0	13.0
080434	Consulate Health Care of Winter Haven	105998	0	1	3	3	2	0	2	1	0	0	0	0	12.0
264512	Conway Lakes Health & Rehabilitation Center	105754	3	3	3	3	1	0	1	0	1	1	5	5	26.0
260649	Coquina Center	105589	2	1	0.5	0.5	0	0	0	2	0	3	0	5	14.0
043851	Coral Bay Healthcare and Rehabilitation	105795	0	0	3	3	0	1	2	3	0	0	0	0	12.0
323772	Coral Gables Nursing and Rehabilitation	105005	1	0	3	0	1	3	0	3	1	2	5	0	19.0
282529	Coral Reef Nursing & Rehabilitation Center	105910	3	0	0	0.5	0.5	3	0	0	1	1	0	0	9.0
043848	Coral Trace Health Care	105588	0	1	3	0	1	3	0	0	0	3	0	0	11.0
043872	Countryside Rehab and Healthcare Center	105587	0	2	0.5	1	0	1	2	2	0	1	1	0	10.5
209325	Courtenay Springs Village	105463	3	3	3	0	2	0	1	0	2	1	0	0	15.0
010082	Courtyard Gardens Rehabilitation Center	105555	3	0	3	1	2	0	1	2	0	3	1	0	16.0
324175	Courtyards of Orlando Rehabilitation and Health Center	105431	0	0	0.5	2	0	1	1	0	0	2	5	0	11.5
210188	Covenant Village Care Center	105604	3	0	3	0	3	3	1	3	2	0	0	0	18.0
044886	Crestview Rehabilitation Center	105190	0	2	0	0	0	0	1	0	2	0	1	0	6.0
312274	Crestwood Nursing Center	105805	1	0	0	0	1	1	3	0	3	0	3	0	12.0
200735	Cross Care Center	105721	0	0	0	0	1	0	1	0	1	1	3	0	7.0
312151	Cross City Rehabilitation & Health Care Center	106009	3	3	3	3	1	0.5	1	1	0	3	3	0	21.5
088049	Cross Gardens Care Center	105765	0	0	0	0	2	0	3	0	1	1	3	0	10.0
102832	Cross Landings Health and Rehabilitation Center	105802	3	1	3	1	0.5	0	0	1	3	1	3	0	16.5
102787	Cross Pointe Care Center	105296	0	0	0	0	3	0.5	1	2	1	0	5	0	12.5
102791	Cross Terrace Rehabilitation Center	105350	3	0	0	0	0.5	0	1	1	0	1	3	0	9.5
046233	Crossbreeze Care Center	105774	0	0	0	0	2	0	3	0	1	1	5	0	12.0
102833	Crosswinds Health and Rehabilitation Center	105824	3	1	0	0	1	3	1	1	3	1	5	0	19.0
217263	Crystal River Health And Rehabilitation Center	105317	0	0	0	0	0	0	2	1	0	1	1	0	5.0
228940	Cypress Cove Care Center	105437	3	1	3	0	0	2	1	1	0	1	0	5	17.0
122242	Cypress Village	105745	0	0.5	3	0	2	0	1	0	1	1	3	0	11.5
317349	Darcy Hall of Life Care	105516	0	0	3	0	0	1	0	1	1	1	1	5	13.0
217743	Daytona Beach Health and Rehabilitation Center	105311	0	0	3	1	0	1	3	0	2	1	0	0	11.0
005372	Debary Health and Rehabilitation Center	105514	0	1	0	1	0	0	1	1	1	1	5	5	16.0
263851	Deerfield Beach Health and Rehabilitation Center	105622	2	1	3	3	0	1	0	0	0	3	3	0	16.0
221589	Delaney Park Health and Rehabilitation Center	105791	3	3	3	1	0	3	1	0	0	1	5	5	25.0
043868	Deltona Health Care	105447	0	1	0.5	3	0	3	0	0.5	0	0	0	0	8.0
103177	Desoto Health and Rehab	106070	3	1	3	0	0	1	1	1	3	0	1	0	14.0
061101	Destin Healthcare and Rehabilitation Center	105862	2	1	0	3	2	0	2	0	0	0	3	0	13.0
256269	Diamond Ridge Health And Rehabilitation Center	105657	3	0	0.5	0	0	1	1	0	1	0	3	0	9.5
101963	Eagle Lake Rehab & Care Center	105292	1	0.5	3	3	0	1	1	2	0	0	5	0	16.5
264539	East Bay Rehabilitation Center	105697	1	1	3	1	1	0.5	0	1	1	0	1	0	10.5
320421	East Orlando Health & Rehab Center, Inc.	105783	0.5	0	0.5	0	0.5	1	1	2	2	1	5	0	13.5
228788	East Ridge Retirement Village Inc	105508	0	2	3	3	3	1	1	3	2	1	5	0	24.0



Quality Score Calculation by Facility															
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
253707	Eden Springs Nursing And Rehab Center	105282	1	0	3	0	1	0	2	1	2	0	0	0	10.0
210684	Edgewater At Waterman Village	105796	1	0	3	1	0	0.5	1	0	1	0	3	0	10.5
254878	EdgeWood Nursing Center	105826	0	0	0	3	0.5	1	1	0	0	1	1	0	7.5
212032	Edward J Healey Rehabilitation And Nursing Center	105838	1	0	3	1	1	0	0	2	3	3	5	0	19.0
133348	Egret Cove Center	105293	0	3	3	0	1	0	3	3	0	2	3	0	18.0
133196	Emerald Coast Center	105265	3	0	3	0	2	0	1	0	0	0	1	0	10.0
261637	Emerald Health Care Center	105579	1	2	3	1	0	1	0	2	1	2	3	0	16.0
060972	Emerald Shores Health and Rehabilitation	105148	0	0	3	3	3	1	2	0	0	1	5	0	18.0
059855	Englewood Healthcare & Rehabilitation Center	105452	3	0	3	0	0	0	1	0	0	3	0	0	10.0
059873	Evans Health Care	106000	0	1	3	0	0	2	2	0	0	0	5	0	13.0
263893	Evergreen Woods	105397	3	3	3	1	0	0	1	1	0	0	3	5	20.0
147958	Excel Care Center	105884	1	0	0	3	0.5	1	1	1	0	2	0	0	9.5
227226	Fair Havens Center	105356	0	0	0.5	0	0	1	0	1	0	1	0	0	3.5
260690	Fairway Oaks Center	105305	1	0	0	0.5	0	0	0	1	0	3	0	0	5.5
204536	Fannie E Taylor Home For The Aged Inc	105820	3	0	3	0	1	0	1	1	0	0	5	0	14.0
227838	First Coast Health & Rehabilitation Center	105429	1	0	3	2	0	1	0	1	0	0	5	5	18.0
005374	Flagler Health And Rehabilitation Center	105547	1	0	3	1	2	0	1	2	1	1	5	5	22.0
043866	Fletcher Health and Rehabilitation Center	105644	0	0.5	3	3	0	0	2	0.5	0	1	0	0	10.0
001416	Florida Baptist Retirement Center	106097	3	3	3	0	0.5	0	1	1	1	0	0	0	12.5
320463	Florida Living Nursing Center	105353	0	0	0	0	2	0.5	0	0	2	3	3	0	10.5
212971	Florida Presbyterian Homes Inc	105949	3	3	3	0	3	0	1	0	3	2	5	5	28.0
163903	Fort Myers Rehabilitation and Nursing Center	105427	0	0.5	3	0	0	2	0	1	0	1	5	0	12.5
043861	Fort Pierce Health Care	105257	0	1	3	3	1	3	1	0	0	1	0	0	13.0
044888	Fort Walton Rehabilitation Center	105295	1	0	0	0	0	0	0	3	2	1	5	0	12.0
253481	Forum at Deer Creek	105691	0	0	3	3	1	3	1	1	1	3	5	0	21.0
132449	Fountain Manor Health & Rehabilitation Center	105172	0	0	3	1	0	1	2	3	1	1	0	0	12.0
080436	Franco Nursing and Rehabilitation Center	105903	1	3	3	1	3	3	2	0.5	1	1	0	0	18.5
122239	Freedom Square Rehabilitation & Nursing Services	106042	3	1	3	2	2	0.5	0	1	3	1	5	5	26.5
134463	Ft Lauderdale Health and Rehabilitation Center	105298	3	0	3	0	0	1	0	1	0	2	5	0	15.0
229288	Gainesville Health Care Center	105434	0	1	0.5	1	1	0	2	0	1	0	0	0	6.5
059404	Gardens of Port St. Lucie	105832	1	1	3	1	1	1	1	1	3	1	3	0	17.0
203203	Glades Health Care Center	106018	0	0	3	0.5	0.5	3	3	1	2	1	0	0	14.0
153181	Glades West Rehabilitation and Nursing Center	106106	1	1	3	1	1	1	1	1	0	0	0	0	10.0
005849	Glen Oaks Health Care Center	105634	3	0.5	3	3	1	3	0	3	0	0	5	5	26.5
005384	Glencove Health And Rehabilitation Center	105775	0	1	3	2	1	1	1	0.5	1	0	5	5	20.5
054790	Golden Glades Nursing and Rehabilitation Center	105773	0	0.5	3	2	1	3	3	0.5	0	1	0	0	13.5
019287	Golfcrest Healthcare Center	105009	0	0.5	3	0	2	0	1	2	0	0	3	0	11.0
019287	Golfview Healthcare Center	105409	1	3	3	0	0	1	0	2	0	0	0	0	10.0
268763	Good Samaritan Center	105409	2	2	3	0.5	3	0	2	0.5	2	1	1	0	17.0
204391	Good Samaritan Society-Daytona	105651	0	0	0	3	2	0.5	0	0.5	2	0	0	0	8.0



				Quality S	Score Calcula	tion by	Facility								
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	υтι	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
212792	Good Samaritan Society-Florida Lutheran	105937	0.5	2	3	0	0	0	1	0	1	0	3	0	10.5
205303	Good Samaritan Society-Kissimmee Village	105559	1	0	3	0.5	0	0.5	0	0.5	1	3	0	0	9.5
043875	Governor's Creek Health and Rehabilitation	105663	0	1	3	0	0	0	2	0	0	1	0	0	7.0
034504	Grace Healthcare of Lake Wales	106069	3	0	3	3	1	0.5	0	0	1	0	1	0	12.5
011998	Grace Rehabilitation Center Of Vero Beach	106075	3	0	3	3	2	0	1	2	2	0	5	0	21.0
316644	Gracewood Rehabilitation And Nursing Care	105486	0	0.5	3	1	0	1	3	0	0	1	0	0	9.5
017242	Grand Boulevard Health & Rehab. Center	105601	0	2	3	0	3	1	1	0	0	1	5	0	16.0
043864	Grand Oaks Health and Rehabilitation Center	105952	0	0	0.5	1	0	0	2	0	0	1	0	0	4.5
227625	Greenbriar Rehabilitation And Nursing Center	105159	0	3	0	0.5	0	0	1	0	1	0	3	5	13.5
201651	Guardian Care Nursing & Rehabilitation Center	105797	0	2	3	0	0	0	0	0	1	3	5	5	19.0
201120	Gulf Coast Village	105672	0	0	3	0	0	1	1	0	2	0	3	0	10.0
014169	Gulf Shore Rehab & Nursing	105978	0	2	3	0	1	0	0	0	0	1	1	0	8.0
099366	Gulfport Rehabilitation Center	106103	0	3	3	0	0	0	0	0	1	0	3	0	10.0
043862	Habana Health Care Center	105417	0	2	0	2	2	1	1	0	0	0	1	0	9.0
224341	Haines City Health Care	105442	3	1	3	3	1	2	1	1	2	0	0	0	17.0
259586	Hamlin Place	105485	1	0	3	1	0	0.5	0	1	3	3	1	0	13.5
324027	Hampton Court Nursing Center	105715	1	1	0	0	1	3	1	3	3	3	3	0	19.0
043873	Harbor Beach Nursing and Rehabilitation Center	105578	3	3	3	3	0	3	0	0	0	0	3	0	18.0
268585	Harborchase of Naples	105995	1	1	3	1	1	1	1	1	3	1	0	0	14.0
213322	Harborchase of Venice	105955	1	1	3	1	1	1	1	1	0	1	0	0	11.0
122229	Harbour Health Center	105538	3	3	3	1	0	0	0	1	3	0	0	0	14.0
216399	Harbour's Edge	105598	3	1	3	0.5	1	0	1	1	3	1	5	0	19.5
316636	Harbourwood Health And Rehab Center	106041	3	0	0.5	3	2	0	0	1	0	2	1	0	12.5
211435	Hardee Manor Healthcare Center	105362	3	1	3	1	3	0	1	3	1	0	5	0	21.0
269107	Harmony Health Center	105227	0	0	3	0	0	3	1	0	0	1	0	0	8.0
043865	Harts Harbor Health Care Center	105632	0	0	3	2	0	0	3	1	0	1	3	0	13.0
258831	Haven of Our Lady of Peace	106052	0	3	3	1	1	0	0	1	2	2	5	0	18.0
261670	Hawthorne Health And Rehab Of Brandon	105881	3	1	3	1	1	0	2	1	1	1	5	0	19.0
253456	Hawthorne Health And Rehab Of Ocala	105602	0	0	0	0	3	2	1	1	1	1	1	0	10.0
094353	Hawthorne Health and Rehab of Sarasota	106098	0	0	3	0.5	0	0	0	0	3	1	3	0	10.5
043874	Health Center at Brentwood	105461	0	0	3	2	2	0	1	0.5	0	1	0	0	9.5
048441	Health Central Park	105479	0	1	3	1	2	0	0	0.5	1	3	3	5	19.5
263931	Healthcare And Rehab Of Sanford	105539	0	0	3	0.5	0	0	0	1	0	1	0	0	5.5
210587	Healthpark Care Center Inc.	105779	0	2	3	3	1	3	1	3	3	3	5	0	27.0
010453	Heartland Health Care & Rehabilitation Center	105842	0	0	3	1	2	3	1	2	2	2	5	0	21.0
011997	Heartland Health Care And Rehabilitation Center Of Boca Raton	105852	3	3	3	3	1	3	1	1	2	2	3	0	25.0
325309	Heartland Health Care Center- Boynton Beach	105755	1	0	3	2	3	0	1	2	1	0	0	0	13.0
325333	Heartland Health Care Center- Lauderhill	105680	0	0	0	2	1	0	1	0	0	1	0	0	5.0
325252	Heartland Health Care Center- Miami Lakes	105709	0	1	0.5	1	0	3	1	2	1	1	1	0	11.5



				Quality S	core Calcula	tion by	Facility								
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
325287	Heartland Health Care Center of South Jacksonville	105366	1	2	3	1	1	0	0	1	1	3	0	0	13.0
325325	Heartland Health Care Center-Ft. Myers	105723	0	1	3	1	0	1	0	1	1	0	5	0	13.0
325236	Heartland Health Care Center-Jacksonville	105684	1	3	3	3	0	3	0	2	1	1	0	0	17.0
325244	Heartland Health Care Center-Kendall	105641	0	2	3	3	0	3	1	0	2	2	0	0	16.0
325490	Heartland Health Care Center-North Sarasota	105389	1	3	3	3	0	0	0	1	0	0	3	0	14.0
325261	Heartland Health Care Center-Orange Park	105692	3	1	3	0.5	1	1	0	0	1	0	3	0	13.5
325341	Heartland Health Care Center-Prosperity Oaks	105762	0	1	3	1	0.5	0	0	2	1	1	1	0	10.5
325350	Heartland of Tamarac	105609	0	0	3	0	0	1	1	0	1	2	0	0	8.0
325708	Heartland of Zephyrhills	105599	0	1	3	1	0	1	0	2	0	2	3	0	13.0
228591	Heather Hill Healthcare Center	105343	1	0	0	0	1	0.5	1	1	0	1	1	0	6.5
043838	Heritage Healthcare and Rehabilitation Center	105178	1	1	3	2	1	0	2	1	0	3	5	0	19.0
043833	Heritage Healthcare Center At Tallahassee	105433	0	0	0	2	1	0	3	0	0	1	0	0	7.0
005850	Heritage Park	105320	2	0	0	0.5	0	2	1	0.5	0	1	3	5	15.0
324345	Heritage Park Care and Rehabilitation Center	105529	0	2	3	3	2	3	0	1	0	0	3	0	17.0
061095	Heritage Park Rehabilitation and Healthcare	105238	0	0	0	3	0	0	3	2	0	1	0	0	9.0
043832	Heron Pointe Health and Rehabilitation	105413	3	0.5	0.5	0	1	1	0	0	0	1	0	0	7.0
265730	Hialeah Nursing and Rehabilitation Center	105803	0	0	0.5	1	0	1	0	2	0	3	1	0	8.5
250988	HIALEAH SHORES NURSING AND REHAB CENTER	105511	1	3	3	0	0	2	1	0	2	1	5	0	18.0
263907	Highland Pines Rehabilitation Center	105690	0	1	3	3	0	0	1	3	0	0	0	0	11.0
260576	Highlands Lake Center	105620	3	0	0	1	2	0	0	0	0	3	3	5	17.0
047795	Hillcrest Health Care And Rehabilitation Center	105495	0	0	3	2	0	2	0	2	0	0	0	0	9.0
313424	Hollywood Hills Rehabilitation Center LLC	105021	0	0	3	0	0	1	1	1	2	1	0	0	9.0
046017	Homestead Manor A Palace Community	105541	3	0	0	0.5	0	3	1	3	2	0	1	0	13.5
263605	Hunters Creek Nursing And Rehab Center	105987	1	0	0	0.5	0.5	0	1	1	3	0	1	0	8.0
211281	Huntington Place	105250	0	1	3	0	1	1	1	0	0	0	0	0	7.0
260665	Indian River Center	105673	2	1	0.5	0	0	0	0	0	0	3	3	0	9.5
258750	Indigo Manor	105570	1	0.5	0.5	1	2	1	2	2	2	2	1	0	15.0
228621	Inn at Sarasota Bay Club	106035	0.5	1	3	3	1	3	1	1	3	0	3	0	19.5
059866	Island Health and Rehabilitation Center	105325	0	0	3	1	0	0	1	0	0	1	0	0	6.0
260657	Island Lake Center	105643	3	1	3	1	0	0	0	0	0	0	3	0	11.0
122343	Isle Health & Rehabilitation Center	106065	0	0	3	3	1	0	1	0.5	1	0	0	0	9.5
281743	Jacaranda Manor	105390	0	0	0	0	0	0.5	0	0	2	1	0	0	3.5
204161	Jackson Memorial Long Term Care Center	105392	0	0	0	0	0	2	2	3	0	3	0	0	10.0
203670	Jackson Memorial Perdue Medical Center	105252	2	1	3	0	0.5	1	3	2	0	1	0	0	13.5
253723	Jackson Plaza Nursing & Rehabilitation Center	106034	0	0	3	0	0	2	1	1	2	2	3	0	14.0
263494	Jacksonville Nursing And Rehab Center	105710	1	1	0	0	0	0	2	1	2	1	0	0	8.0
210285	John Knox Village Med Center	105351	1	2	3	1	1	1	0	0	0	3	3	0	15.0
203769	John Knox Village Of Pompano Beach	105255	0	0	3	0	2	1	0	1	2	3	5	0	17.0
207381	Joseph L Morse Geriatric Center Inc	105801	1	0	3	1	1	0	0	2	3	3	5	5	24.0
208485	Jupiter Medical Center Pavilion Inc.	105047	1	1	3	1	1	1	1	1	3	0	3	5	21.0



				Quality S	Score Calculat	tion by	Facility								
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
324493	Kenilworth Care and Rehabilitation Center	105352	0	0	3	0	0.5	1	0	2	0	0	1	0	7.5
024167	Key West Health & Rehabilitation	106089	1	3	3	0	1	1	2	0	2	0	1	0	14.0
043839	Keystone Rehabilitation and Health Center	106074	0	2	0.5	3	1	0	1	0	0	0	0	0	7.5
089220	Krystal Bay Nursing and Rehabilitation	105120	0	1	3	0	0	2	3	2	2	3	5	0	21.0
032486	Lady Lake Specialty Care Center	106003	0	2	0	0	0	1	1	0	2	1	3	0	10.0
264482	Lafayette Health Care Center	105963	3	0	0.5	0	1	0	1	0.5	0	1	3	0	10.0
135647	Lake Bennett Health and Rehabilitation	105967	0	2	3	0	1	3	1	0	1	1	5	0	17.0
005851	Lake Eustis Care Center	105001	3	2	3	3	2	0	1	1	0	2	3	5	25.0
122243	Lake Harris Health Center	105705	0	1	3	0	1	0	0	0.5	2	1	0	0	8.5
043871	Lake Mary Health and Rehabilitation Center	106029	1	0	3	1	1	1	1	2	0	0	3	0	13.0
211923	Lake Park of Madison	105892	0	0	3	0	0	2	2	0	0	0	1	0	8.0
006339	Lake Placid Health And Rehabilitation Center	105455	0	0	0	2	1	1	0	1	1	1	3	5	15.0
229610	Lake View Care Center at Delray	105475	1	1	3	0	1	0	0	3	2	3	0	0	14.0
080068	Lakeland Hills Center	105283	0	3	0.5	0	0	0	0	0	0	1	0	0	4.5
207683	Lakeside Health Center	105268	1	0.5	0.5	1	1	0	2	3	0	1	3	5	18.0
256757	Lakeside Nursing And Rehabilitation Center	105980	0	1	0	0.5	0.5	1	0	0	1	1	3	0	8.0
061140	Lakeside Oaks Care Center	105132	1	0	3	0	0	3	1	1	0	1	1	0	11.0
256846	Lakeside Pavilion	105439	1	0	3	0	2	2	1	0	0	0	1	0	10.0
259225	Lakeview Terrace Skilled Nursing Facility	106068	1	1	3	1	1	1	1	1	2	0	5	5	22.0
312142	Lakewood Nursing Center	105808	3	0	3	1	1	1	3	0	3	1	0	0	16.0
141466	Lanier Terrace	105666	0	0	0	1	0	1	1	1	0	1	0	0	5.0
043876	Largo Health And Rehabilitation Center	106010	0	0	3	2	2	0	1	0	0	3	0	0	11.0
211516	Laurel Pointe Health and Rehabilitation	105382	0	0	3	3	1	3	0	1	0	0	3	0	14.0
316628	Laurellwood Nursing Center	105228	0	0	0	0	0	1	1	3	1	1	0	0	7.0
320978	Lehigh Acres Health & Rehabilitation Center	105522	0	0	3	1	0	1	2	0	1	0	5	0	13.0
032553	Lexington Health & Rehabilitation Center	105072	0	3	0.5	1	0.5	2	1	0	1	0	0	0	9.0
259080	Life Care Center at Inverrary	106047	0.5	0	3	2	0	1	1	3	0	1	5	5	21.5
213161	Life Care Center at Wells Crossing	105962	3	3	3	0	1	1	1	1	1	0	3	5	22.0
210137	Life Care Center of Altamonte Springs	105365	2	0	3	0	0	0	0	1	0	0	3	5	14.0
211532	Life Care Center of Citrus County	105870	1	2	3	1	0.5	1	1	0	1	1	5	5	21.5
265381	Life Care Center of Estero	106057	2	2	3	1	0	1	0	0	1	1	5	5	21.0
214060	Life Care Center of Hilliard	105756	1	1	3	0	1	0	2	0	0	1	1	5	15.0
283193	Life Care Center of Jacksonville	106064	0	1	3	3	0	0	1	3	1	1	1	5	19.0
228338	Life Care Center of Melbourne	105291	1	2	3	1	0	1	1	0	1	0	5	5	20.0
259357	Life Care Center of New Port Richey	106049	0	0	0	0	3	3	1	0.5	1	1	3	5	17.5
266108	Life Care Center of Ocala	105999	0	2	3	3	3	3	0	3	1	0	3	5	26.0
284289	Life Care Center of Orange Park	105928	3	2	3	0	0	0	1	1	0	3	5	5	23.0
213403	Life Care Center of Orlando	105974	1	2	3	1	2	1	1	3	1	1	5	5	26.0
268186	Life Care Center of Palm Bay	106060	0	1	3	0	0	1	1	3	0	0	5	5	19.0
315664	Life Care Center of Pensacola	106073	0	2	3	0	0	0	0	2	1	2	5	5	20.0



				Quality S	Score Calculat	tion by	Facility								
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
217824	Life Care Center Of Port Saint Lucie	106012	0	1	3	0.5	0	0.5	1	3	1	1	0	5	16.0
311685	Life Care Center of Punta Gorda	105289	0	1	3	2	3	0	0	1	1	0	1	5	17.0
223786	Life Care Center of Sarasota	106025	1	3	3	0	3	3	0	0	1	1	5	5	25.0
219380	Life Care Center of Winter Haven	105792	0	0	3	0	0.5	1	0	1	1	2	3	5	16.5
203980	Lisenby On Lake Caroline	10A436	3	0.5	3	0	1	3	1	1	1	0	3	0	16.5
005379	Longwood Health And Rehabilitation Center	105377	0	2	0	0.5	0	1	2	1	0	1	3	0	10.5
205923	Lourdes-Noreen Mckeen Residence For Geriatric Care, Inc.	105420	0	0	3	0	0	3	0	2	2	3	0	0	13.0
313718	Lutheran Haven Nursing Home	106050	1	2	3	3	0.5	0.5	1	1	2	0	1	0	15.0
263516	MacClenny Nursing And Rehab Center	105737	3	0	0	0	0	0	0	1	2	1	3	5	15.0
213462	Madison Health and Rehabilitation Center	105807	3	2	3	0.5	2	0	1	0	1	0	5	0	17.5
324124	Madison Pointe Rehabilitation & Health Center	105166	0	1	3	0	1	0	1	2	0	0	0	0	8.0
043877	Magnolia Health and Rehabilitation Center	106032	0	2	3	0	1	1	3	3	0	1	0	0	14.0
269000	Majestic Oaks	105374	0	1	3	1	0	0	0	0	2	2	3	0	12.0
325422	Manor Care @ Lely Palms	105499	3	1	3	1	1	3	0	0	1	1	1	0	15.0
325473	Manor Care Health Services	105965	1	2	3	3	2	0	0	0	0	1	1	0	13.0
325449	Manor Care Nursing and Rehabilitation Center	105421	0.5	1	3	1	2	1	0	1	2	0	0	0	11.5
256935	Manor Oaks Nursing & Rehabilitation Center	105205	1	0.5	3	3	0	0	1	3	1	1	1	0	14.5
254177	Manor Pines Convalescent Center	105089	0	0	0.5	2	1	0	0	2	0	3	3	0	11.5
325384	ManorCare Health Services	106020	0	1	3	0.5	2	3	0	0	1	0	3	0	13.5
325368	ManorCare Health Services (Boca Raton)	105481	0	0	0	0.5	2	0	0	0	0	2	1	0	5.5
325520	ManorCare Health Services (Delray Beach)	106005	3	0	3	0	2	0	1	2	2	2	5	0	20.0
325457	ManorCare Health Services (Plantation)	105519	0	0	3	3	1	3	0	1	1	0	0	0	12.0
325376	ManorCare Health Services-Boynton Beach	105496	0	1	3	0	2	0	0	1	0	1	3	0	11.0
325678	ManorCare Health Services-Carrollwood	105700	0	0	3	0.5	0	3	1	0	0	1	1	0	9.5
325686	Manor-Care Health Services-Dunedin	105436	3	3	3	1	0	1	1	1	1	0	5	0	19.0
325694	ManorCare Health Services-Palm Harbor	105708	1	2	3	0	2	1	0	2	0	3	3	0	17.0
325465	ManorCare Health Services-Sarasota	105454	0	1	3	0.5	0	0.5	0	0	1	0	0	0	6.0
325481	ManorCare Health Services-West Palm Beach	105911	0	2	3	1	0	0	0	0	0	1	0	0	7.0
325279	ManorCare Nursing and Rehabilitation Center	105307	1	3	3	1	0	3	0	0	1	0	3	0	15.0
017222	Margate Health And Rehabilitation Center	105505	0	0	3	1	0	1	0	0	1	0	5	5	16.0
203475	Marianna Health & Rehabilitation	105637	1	0	3	0	2	0	3	1	1	0	3	0	14.0
043878	Marshall Health and Rehabilitation Center	105631	0	0	0	0	0	1	1	1	0	1	0	0	4.0
226033	Martin Nursing and Restorative Care Center	105972	1	2	3	0.5	3	0	0	1	3	3	5	0	21.5
201588	Mary Lee Depugh Nursing Home Association Inc	105785	3	1	3	3	2	3	1	1	0	1	5	0	23.0
204072	Mease Continuing Care	105732	1	2	3	0	3	0.5	0	0.5	2	0	3	0	15.0
263524	Medicana Nursing And Rehab Center	105259	3	3	3	0	0.5	1	0	0	2	0	5	0	17.5
264547	Melbourne Terrace Rehabilitation Center	105635	0	2	3	0.5	0	1	1	1	1	0	3	5	17.5
201006	Memorial Manor	105668	3	0	3	1	2	0	3	1	2	3	3	0	21.0
229628	Menorah House	105685	1	0	3	0	0	0	2	2	1	1	1	0	11.0
263541	Metro West Nursing And Rehab Center	105868	3	1	0	1	0	0.5	0	0	2	3	1	0	11.5



				Quality S	Score Calcula	tion by	Facility								
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
200506	Miami Jewish Health Systems	105030	0	1	3	1	0	1	0	0	3	3	0	0	12.0
214035	MIAMI SHORES NURSING AND REHAB CENTER	105449	1	3	3	2	1	3	2	3	3	3	5	5	34.0
202941	Miracle Hill Nursing And Rehabilitation Centers, Inc.	105810	0	2	0.5	0	1	3	3	0	1	0	0	0	10.5
326011	Moosehaven, Inc.	106077	3	1	3	0.5	1	0.5	1	1	2	0	3	0	16.0
206431	Morton Plant Rehabilitation Center	105128	3	1	3	1	1	1	1	1	0	0	3	5	20.0
263559	Moultrie Creek Nursing And Rehab Center	105548	3	0.5	0	3	0	1	0	2	2	2	3	0	16.5
228001	North Beach Rehabilitation Center	105217	0	3	3	3	0	1	1	0	1	1	3	0	16.0
103858	North Campus Rehabilitation and Nursing Center	105621	3	1	3	1	0	1	1	0	1	1	0	0	12.0
132045	North Dade Nursing and Rehabilitation Center	105502	0	0	3	1	0	3	1	0	0	1	1	5	15.0
043880	North Florida Rehabilitation and Specialty Care	105460	0	1	0	3	0	1	2	0	0	1	0	0	8.0
325163	North Lake Rehabilitation and Health Center	105640	1	0	3	0.5	0	1	2	2	1	1	0	0	11.5
227641	North Rehabilitation Center	105149	1	1	3	0	1	3	1	1	1	0	3	0	15.0
156586	Northbrook Health and Rehabilitation Center	105606	0	3	3	0	0	1	0	2	0	1	3	0	13.0
041324	NuVista Living at Hillsborough Lakes	106093	1	1	3	1	1	1	1	0	0	0	1	0	10.0
038640	NuVista Living at Wellington Green	106091	1	0	0	0	0	0	0	0	0	1	5	0	7.0
258342	Oak Manor Healthcare & Rehabilitation Center	105248	3	0	3	2	3	0	3	0.5	0	2	1	0	17.5
130817	Oak View Rehabilitation Center	105586	1	0.5	3	1	0.5	0	0	0	0	1	3	0	10.0
043841	Oakbridge Healthcare Center	105739	0	0	0.5	1	0	0.5	1	0.5	0	0	0	5	8.5
006767	Oakbrook Health And Rehabilitation Center	105683	3	2	0	0.5	1	0	2	3	0	1	5	5	22.5
251721	Oakhurst Center	105465	0.5	0	3	0	0	0	1	0	0	2	0	5	11.5
263966	Oaks At Avon	105780	1	0	0.5	0	0	3	0	3	0	1	1	0	9.5
005549	Oaks of Kissimmee	105379	1	3	3	3	2	1	0	3	0	0	5	5	26.0
043843	Oaktree Healthcare	105665	3	0.5	3	1	3	0	3	0	0	0	0	0	13.5
266124	Oasis Health and Rehabilitation Center	105659	1	0	3	3	3	0	1	1	1	1	1	0	15.0
217395	Ocala Health And Rehabilitation Center	105321	3	1	3	0.5	1	0	0	0	0	1	1	0	10.5
048611	Ocala Oaks Rehabilitation Center	105724	0	0	3	0	1	2	0	1	2	1	0	0	10.0
226351	Ocean View Nursing & Rehabilitation Center LLC	105038	1	0	0	0	2	1	1	0	1	2	0	0	8.0
212733	Oceanside Extended Care Center	105329	0	0	3	0	1	0	3	0	0	1	3	0	11.0
103852	Ocoee Health Care Center	105706	1	2	3	1	0	1	1	0	2	1	0	0	12.0
023067	Okeechobee Healthcare Facility	105484	3	0	3	1	3	1	1	0	3	0	5	0	20.0
263567	Orange City Nursing And Rehab Center	105735	3	2	3	1	0	3	0	2	2	0	5	0	21.0
207527	Orchard Park Health And Rehabilitation	105302	0	0	0	0	0	0	1	0	1	1	0	0	3.0
252689	Orchard Ridge	105438	0	1	3	0.5	3	3	1	0	0	2	1	0	14.5
223654	Orlando Health and Rehabilitation Center	105728	0	0	0	2	0	0	0	0	0	1	0	0	3.0
005219	Osceola Health Care Center	105734	0	1	0	2	0.5	2	1	2	0	0	0	0	8.5
092678	Osprey Point Nursing Center	106008	0	3	3	0	0	3	1	0	0	1	0	0	11.0
213900	Page Rehabilitation and Healthcare Center	105864	0	0.5	3	0	1	1	0	2	3	1	3	0	14.5
005811	Palatka Health Care Center	105652	0	0	0	0	0	0	1	0	1	1	0	0	3.0
263621	Palm City Nursing & Rehab Center	105831	0.5	1	3	0	2	0	0	1	3	1	0	0	11.5
098577	Palm Garden of Aventura	105610	1	0	3	0	0	1	1	0	0	1	0	0	7.0



				Quality S	Score Calcula	tion by	Facility								
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
098580	Palm Garden of Clearwater	105581	1	2	3	1	1	3	2	1	0	2	3	0	19.0
098581	Palm Garden of Gainesville	105571	0	1	3	0	3	0.5	0	0	3	1	1	5	17.5
098582	Palm Garden of Jacksonville	105682	0	1	3	0	1	0	0	0	0	1	0	0	6.0
098583	Palm Garden of Largo	105574	0	1	3	0	3	1	0	0	0	3	3	0	14.0
098584	Palm Garden of Ocala	105562	0	2	3	0	1	2	1	0	0	0	1	0	10.0
098586	Palm Garden of Orlando	105577	0	1	3	0	0	0.5	1	0.5	1	1	1	0	9.0
098587	Palm Garden of Pinellas	105733	0	1	3	2	0	1	3	0	0	2	0	0	12.0
098588	Palm Garden of Port Saint Lucie	105600	0	2	3	1	3	2	3	1	0	1	0	0	16.0
098589	Palm Garden of Sun City	105736	3	3	3	0	0	3	1	2	1	1	5	0	22.0
098590	Palm Garden of Tampa	105591	2	0.5	3	0	0.5	0	1	0	0	3	3	5	18.0
098591	Palm Garden of Vero Beach	105592	0	0.5	3	0	0	0	1	0	0	0	0	0	4.5
098592	Palm Garden of West Palm Beach	105607	1	1	3	0.5	0	1	3	1	1	1	0	0	12.5
098593	Palm Garden of Winter Haven	105566	0	1	3	2	0	1	0	2	1	1	0	0	11.0
282618	Palm Terrace of Clewiston	105462	1	0	3	0	2	0	1	0	0	1	1	0	9.0
282626	Palm Terrace of Lakeland	105354	1	1	3	3	1	0	0	1	1	3	5	0	19.0
282537	Palm Terrace Of St Petersburg	106033	1	0.5	3	1	0	3	2	2	0	2	3	0	17.5
324167	Palmetto Rehabilitation and Health Center	105575	1	0	3	3	0	3	1	3	1	1	3	0	19.0
212806	Palmetto Sub Acute Care Center Inc	105939	0	0	3	0.5	0	3	1	1	3	1	5	0	17.5
005385	Panama City Health And Rehabilitation Center	105152	1	1	3	1	3	0	1	3	0	1	5	0	19.0
227765	Park Meadows Health And Rehabilitation Center	105193	0.5	1	0.5	2	0	3	2	0	2	0	0	0	11.0
228401	Park Ridge Nursing Center	105813	0	0	3	0.5	0.5	3	1	1	0	1	1	0	11.0
317578	Parklands Rehabilitation and Nursing Center	105638	0	1	0	0	0	3	1	0	0	1	0	0	6.0
005547	Parkside Health And Rehabilitation Center	105145	0	0	3	0	1	1	2	0	0	2	5	5	19.0
324507	Peninsula Care and Rehabilitation Center	105451	0	0	3	2	0	2	1	1	0	1	1	0	11.0
252662	Pinebrook Center	105497	1	2	3	0	3	0	1	0	0	0	0	0	10.0
225754	Pinecrest Rehabilitation Center	105153	3	1	3	1	1	3	2	0	0	1	0	0	15.0
263486	Pinellas Point Nursing And Rehab Center	105878	1	3	3	0	0	1	1	3	1	1	1	0	15.0
155062	Pines Nursing Home	105057	0	0	0	0.5	0	3	1	1	0	1	0	0	6.5
202703	Pines of Sarasota	105147	0	0	0	0	0	0.5	0	0	1	3	0	5	9.5
043853	Plantation Bay Rehabilitation Center	105888	0	0	0	3	2	1	2	1	0	0	3	5	17.0
044975	Plantation Key Nursing Center	106092	1	0	0	3	0	0	0.5	1	0	0	0	0	5.5
226017	Plantation Nursing & Rehabilitation Center	105175	0	2	0	3	1	2	1	2	3	2	3	0	19.0
122232	Plaza West	105866	0	2	3	0	1	0.5	1	0	1	1	3	0	12.5
263923	Pompano Health and Rehabilitation Center	105572	2	0	3	3	0	2	3	0	0	0	1	0	14.0
308251	Ponce Plaza Nursing & Rehabilitation Center	106021	1	0	3	0	0	3	0	2	1	3	3	0	16.0
319325	Port Charlotte Rehabilitation Center	105524	0	0	0	0	2	0	1	0	1	1	1	0	6.0
263508	Port Orange Nursing And Rehab Center	105776	0	2	3	1	2	0	0	2	2	1	5	5	23.0
226009	Port St. Lucie Nursing And Restorative Care Center	105410	2	2	3	0.5	3	1	1	0	1	2	5	0	20.5
259331	Pruitthealth - Santa Rosa	106048	0	1	3	1	1	1	0	0	0	0	5	5	17.0
225274	Quality Health Of Fernandina Beach	105470	0	0	3	0	0	1	0	1	0	0	0	0	5.0



				Quality S	Score Calculat	tion by	Facility								
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
225053	Quality Health Of North Port	105523	0	2	3	0	1	0	2	0	2	1	3	0	14.0
225410	Quality Health Of Orange County	105518	1	0	3	0.5	1	0	0	1	2	0	5	0	13.5
223239	Regents Park at Aventura	105596	1	0	3	0	0	3	0	0	1	3	1	0	12.0
204170	Regents Park Nursing & Rehabilitation Center	105476	2	1	3	1	0	0	0	2	2	3	5	0	19.0
269727	Regents Park of Jacksonville	105533	1	1	3	3	0	2	0	1	0	0	1	0	12.0
269697	Regents Park of Sunrise	105679	0	0	3	0	0	1	0	1	0	1	1	0	7.0
269719	Regents Park of Winter Park	105618	1	0	3	0	0	0	0	0	0	1	1	0	6.0
263869	Rehab & Healthcare Center Of Cape Coral	105342	0	1	3	0	0	3	1	1	0	0	3	5	17.0
263940	Rehabilitation and Healthcare Center of Tampa	105234	0	0.5	0.5	0	0	1	0	0	0	3	0	0	5.0
104875	Rehabilitation Center at Park Place	105628	3	0	0.5	0.5	0.5	2	2	0	0	2	5	0	15.5
072054	Rehabilitation Center of St. Pete	105772	0	0.5	0	1	2	1	1	0	2	1	0	0	8.5
047787	Renaissance Health and Rehabilitation	105558	3	1	0.5	3	0	3	2	3	0	0	0	0	15.5
282464	Ridgecrest Nursing And Rehabilitation Center	106061	0	0	3	3	1	0	2	1	1	1	0	0	12.0
043846	Rio Pinar Health Care	105564	1	0	3	1	1	0	0	0	0	1	1	0	8.0
200859	River Garden Hebrew Home For The Aged	105016	3	2	3	1	2	1	2	0	2	3	5	5	29.0
044889	River Valley Rehabilitation Center	105473	3	0	0	0	1	0	0	0	1	1	1	0	7.0
005386	Riverchase Health And Rehabilitation Center	106043	3	3	3	0	0	2	1	0	0	0	5	5	22.0
046758	Riverside Care Center	105432	2	0.5	0	0	0	2	1	0	3	2	5	0	15.5
260673	Riverwood Center	105135	1	0	3	1	0	0	0	1	0	3	1	5	15.0
122344	Riverwood Health & Rehabilitation Center	105488	0	0.5	0.5	2	1	1	1	0	0	1	1	0	8.0
048807	Riviera Health Resort	106094	1	0	3	0.5	0	1	0	1	3	3	1	0	13.5
263451	Riviera Palms Rehabilitation Center	105603	3	3	3	3	1	3	0	1	2	0	1	0	20.0
227587	Rockledge Health And Rehabilitation Center	105251	0	0	0	3	1	3	1	0	1	3	5	0	17.0
059869	Rosewood Health and Rehabilitation Center	105480	0	0	3	3	0	0.5	2	0	0	1	0	0	9.5
017223	Rosewood Healthcare And Rehabilitation Center	105747	3	1	3	1	0.5	3	0	2	0	2	5	5	25.5
324213	Royal Care of Avon Park	105812	1	0.5	0.5	0	2	0	0	3	0	0	0	0	7.0
228575	Royal Oak Nursing Center	105385	1	2	3	3	3	0	1	1	0	0	1	0	15.0
263583	Royal Oaks Nursing And Rehab Center	105793	0	0	3	1	0	0	0	1	2	1	5	5	18.0
006489	Royal Palm Beach Health And Rehabilitation Center	105494	3	2	3	0	0	1	0	0	1	2	3	5	20.0
260452	Ruleme Center	105855	3	0	3	0	0	0	0	0	0	3	0	5	14.0
210951	Sabal Palms Health Care Center	105694	2	1	3	0.5	2	1	0	1	0	3	3	5	21.5
006483	Salerno Bay Health And Rehabilitation Center	105509	3	3	3	0	3	0	0	1	0	1	3	5	22.0
202606	Samantha Wilson Care Center	105816	0	0	3	0.5	0	0	1	2	2	3	1	0	12.5
061102	San Jose Health and Rehabilitation Center	105531	1	0	3	3	0.5	2	1	0	0	1	0	0	11.5
312045	SandalWood Nursing Center	105002	0	1	3	0	1	1	3	1	1	1	0	0	12.0
220621	Sandy Ridge Health And Rehabilitation	105552	0	1	0.5	0.5	3	0	0	0	0	0	5	0	10.0
220612	Santa Rosa Health & Rehabilitation Center	105328	1	1	3	0	2	0	3	1	1	1	3	0	16.0
263982	Sarasota Health and Rehabilitation Center	105155	0	2	0	2	3	2	0	0.5	0	0	0	0	9.5
260355	Sarasota Memorial Nursing And Rehabilitation Center	105584	1	0	3	0	2	3	0	3	3	2	5	5	27.0
085643	Sarasota Point Rehabilitation Center	106102	0	1	3	0	1	0	0	0	3	1	0	0	9.0



				Quality S	Score Calculat	ion by	Facility								
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
312550	Savannah Cove	105886	1	1	3	1	1	1	1	1	2	0	3	0	15.0
312312	Savannah Cove	105875	1	1	3	1	1	1	1	1	1	0	0	0	11.0
059874	Sea Breeze Health Care	105391	1	1	3	0	0	0	2	1	0	0	1	0	9.0
005543	Seaside Health And Rehabilitation Center	105052	2	0	0	1	0	0	2	1	0	2	1	5	14.0
061107	SeaView Nursing and Rehabilitation Center	105258	1	0	3	3	1	1	3	0	0	1	3	0	16.0
122236	Seminole Pavilion Rehabilitation & Nursing Services	105412	0	2	3	0	0	1	1	0	2	3	3	0	15.0
033175	Seven Hills Health & Rehab Center	105364	3	1	0.5	1	0	2	1	0	2	2	3	0	15.5
229202	Shell Point Nursing Pavilion	105966	1	0	3	0.5	1	0	0	1	1	3	3	0	13.5
059852	Shoal Creek Rehabilitation Center	106028	0	0	3	1	0	0	3	0	0	0	3	5	15.0
324132	Shore Acres Rehabilitation & Health Center	105050	0	2	0	0	3	1	1	0	0	3	1	0	11.0
324426	Signature Healthcare at The Courtyard	105970	2	0.5	0.5	1	2	0	0	0.5	0	1	5	0	12.5
324400	Signature HealthCARE Center of Waterford	105554	0	0	3	2	1	3	0	3	0	3	1	0	16.0
324418	Signature Healthcare of Brookwood Gardens	105550	0	0	3	1	3	1	0.5	0	0	1	0	0	9.5
324370	Signature HealthCARE of College Park	105387	0	1	3	1	0	0	0	0	0	0	0	0	5.0
324388	Signature HealthCARE of Gainesville	105664	0	2	3	1	0.5	0.5	0	0	0	2	0	0	9.0
019284	Signature HealthCARE of Jacksonville	105287	0.5	1	3	1	1	2	0	0	0	2	0	0	10.5
324396	Signature Healthcare of North Florida	105662	0	1	0	1	1	0.5	0	0	0	0	5	5	13.5
324434	Signature HealthCARE of Orange Park	105381	0	1	3	0	2	0	1	0.5	0	1	0	0	8.5
324442	Signature HealthCARE of Ormond	105458	0	2	3	1	0	3	1	3	0	1	1	0	15.0
001136	Signature HealthCARE of Palm Beach	105466	0	1	3	3	1	0.5	0	1	0	0	3	0	12.5
324469	Signature Healthcare of Pinellas Park	105422	0	0	3	1	2	0	1	0	0	1	1	0	9.0
324477	Signature HealthCARE of Port Charlotte	105363	0	1	3	1	0	0	0	1	0	1	0	0	7.0
017230	Silvercrest Health And Rehabilitation Center	105612	0	1	3	0	2	0	0	3	0	1	5	5	20.0
260771	Sinai Plaza Nursing & Rehab Center	105711	1	0.5	3	0.5	0	0	3	3	2	0	0	0	13.0
162218	Solaris Healthcare Bayonet Point	105544	1	1	0	0	1	0	2	2	0	2	5	0	14.0
162219	Solaris Healthcare Charlotte Harbor	105859	2	0	0	0.5	1	1	1	1	0	3	3	0	12.5
162220	Solaris Healthcare Coconut Creek	105979	3	3	3	0	1	0	0	0	0	3	5	0	18.0
162221	Solaris Healthcare Daytona	105915	0	0	3	3	1	0	1	0	0	0	1	0	9.0
162222	Solaris Healthcare Imperial	105738	1	0	3	0.5	1	0	3	0	0	0	3	0	11.5
162224	Solaris Healthcare Lake City	105769	3	0	3	0	3	0	0	1	0	0	1	0	11.0
162225	Solaris Healthcare Merritt Island	105701	1	2	0	0	3	0	3	0	0	2	5	0	16.0
162228	Solaris Healthcare Parkway	105687	1	0	3	1	2	0	1	3	0	3	0	0	14.0
162230	Solaris Healthcare Pensacola	105561	0.5	0	3	2	0	3	2	0	0	1	1	0	12.5
162231	Solaris Healthcare Plant City	105515	0.0	1	3	1	1	0	0	2	0	3	5	0	16.0
162232	Solaris Healthcare Windermere	105960	0	1	3	0	2	1	1	1	0	2	5	0	16.0
162226	Solaris Senior Living North Naples	105790	0	0	3	0	3	0	1	0.5	0	0	0	0	7.5
072048	South Campus Rehabilitation & Nursing Center	105770	0	2	0	0	0.5	0	1	2	0	2	0	0	7.5
054789	South Dade Nursing and Rehabilitation Center	105500	0	0	3	0	0.5	0	3	1	0	1	1	0	9.0
226360	South Heritage Health & Rehabilitation Center	105500	0.5	0	3	3	1	3	2	3	0	0	5	0	20.5
311308	South Pointe Plaza Rehabilitation And Nursing Center	105117	0.5	0	3	0	0	1	0	2	1	3	5	0	15.0



				Quality S	core Calcula	tion by	Facility								
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
224910	South Tampa Health and Rehabilitation Center	105491	1	0	0	0	0	0	2	0	0	3	3	0	9.0
324566	Southern Oaks Rehabilitation and Nursing Center	106051	0	0	0	0	1	2	1	0	0	3	3	0	10.0
019282	Southern Pines Healthcare Center	105275	0	0	3	3	1	3	0	0	0	3	5	0	18.0
017236	Specialty Health And Rehabilitation Center	105751	2	1	3	1	0	1	0	2	1	1	5	5	22.0
059877	Spring Hill Health and Rehabilitation Center	105996	0	3	0.5	3	2	3	1	0	0	3	0	0	15.5
264571	Spring Lake Rehabilitation Center	105730	3	1	3	0	0	1	1	1	3	0	0	0	13.0
267724	Springs At Boca Ciega Bay	105537	1	1	3	3	1	0	1	1	1	0	5	0	17.0
268780	Springs At Lake Pointe Woods	105567	3	0	3	0.5	1	0	0	2	1	1	0	0	11.5
225631	Springtree Rehabilitation & Health Care Center	105686	0	0	3	1	2	1	0	0	0	1	1	0	9.0
253014	Springwood Center	105407	0	1	0	1	0	0	2	0	0	0	1	0	5.0
217735	St Augustine Health And Rehabilitation Center	105315	0	0	0.5	0	0	2	0	0	0	0	0	0	2.5
310841	St Mark Village	105378	3	2	3	3	3	3	1	0	3	0	5	0	26.0
323799	St. Andrew's Bay Skilled Nursing and Rehabilitation	105543	1	2	3	3	0	1	0	1	1	2	1	0	15.0
209473	St. Anne's Nursing Center	105560	1	1	0.5	0	0	2	0	2	1	3	1	5	16.5
111543	St. Catherine Laboure Manor, Inc.	105358	1	0	0	1	1	0	0	0	0	3	3	5	14.0
015613	St. James Health And Rehabilitation Center	106081	1	0	3	1	2	1	3	2	0	1	5	0	19.0
205800	St. John's Nursing Center	105371	1	1	3	0	1	1	0	2	1	3	1	5	19.0
211010	Stratford Court Of Boca Raton	105851	0	3	3	0	3	0	1	1	1	1	1	0	14.0
059400	Stratford Court of Palm Harbor	105758	0	0	3	0	0	0	1	0	0	1	3	5	13.0
225991	Stuart Nursing & Restorative Care Center	105277	3	2	3	0	3	1	0	1	3	3	1	0	20.0
059783	Summer Brook Health Care Center	105138	2	3	0	3	0.5	3	2	3	0	1	1	0	18.5
209856	Sun Terrace Health Care Center	105319	0	1	0	3	0	0	2	1	1	1	5	0	14.0
320412	Sunbelt Health & Rehab Center - Apopka, Inc.	105782	0	1	3	0	0	0	0	2	2	1	3	0	12.0
202711	Sunnyside Nursing Home	106053	1	2	3	0	3	0	0	1	3	1	5	5	24.0
207497	Sunrise Health And Rehabilitation Center	105441	0	0	3	0	0	0	2	0	0	2	5	5	17.0
032551	Sunset Lake Health and Rehab Center	105761	1	1	0.5	0	0.5	0.5	0	1	1	1	5	0	11.5
253430	Sunset Point	105373	0	1	3	0	0	0	2	0	0	0	1	0	7.0
001135	Surrey Place Care Center	105597	0	3	3	0	2	3	0	0	0	0	0	0	11.0
256277	Surrey Place Healthcare and Rehabilitation	105629	3	1	3	0.5	0	3	1	3	3	0	5	0	22.5
268062	Susanna Wesley Health Center	105498	3	2	3	0	2	0	1	0	3	1	5	0	20.0
005387	Suwannee Health And Rehabilitation Center	105613	0	1	3	1	3	0	0	1	1	0	0	0	10.0
206300	Suwannee Valley Nursing Center	105825	3	1	3	0	1	1	2	2	2	0	3	0	18.0
122248	Sylvan Health Center	105744	3	0	0	0	3	0	1	2	3	1	5	0	18.0
213098	Tamarac Rehabilitation and Health Center	105360	3	1	3	1	0.5	1	1	1	1	1	3	0	16.5
080079	Tarpon Bayou Center	105280	0	0	3	2	0	0	0	1	0	1	1	0	8.0
323781	Tarpon Point Nursing and Rehabilitation Center	105702	1	0	0.5	3	0	1	2	0	0	1	0	0	8.5
207446	Taylor Care Center	105821	1	0	3	0	1	2	1	1	2	1	1	0	13.0
261611	Terra Vista Rehab And Health Center	105546	1	0	3	1	0	2	0	0	0	3	0	0	10.0
122346	Terrace Health & Rehabilitation Center	106046	1	1	3	1	0.5	3	0	3	0	1	3	0	16.5
325031	Terraces of Lake Worth Rehab and Health Center	105125	1	0	3	0.5	0.0	1	1	3	0	1	1	0	11.5



Medicaid ID															
	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
	The Allegro At College Harbor	105959	0	0	0	3	1	3	1	1	3	1	0	0	13.0
	The Bridge at Bay St. Joe	105435	2	0	0	0	0	0	0	0	0	0	5	0	7.0
	The Club Health and Rehab Center at the Villages	106095	1	1	3	1	1	1	1	0	3	1	5	0	18.0
318795 T	The Court At Palm Aire	105627	0	2	3	0.5	0	0	1	1	0	1	3	5	16.5
	The Crossings	105835	3	1	0	0	2	0	1	1	2	1	5	0	16.0
	The Crossroads	105777	0	0	3	3	0	3	1	3	2	1	5	0	21.0
146222 T	The Floridean Nursing and Rehabilitation Center	106007	1	1	3	0.5	1	3	1	3	3	0	0	0	16.5
212393 T	The Fountains Nursing Home Inc	105101	0	3	3	3	1	0	1	1	0	1	3	5	21.0
228320 T	The Gardens Court	105921	0	1	3	3	2	0	0	0	1	1	5	5	21.0
122342 T	The Gardens Health & Rehabilitation Center	105822	0	0	0	0	0.5	0	1	0.5	3	1	0	0	6.0
080062 T	The Groves Center	105269	2	0	0.5	0	1	3	0	3	0	0	0	0	9.5
043863 T	The Health and Rehabilitation Centre at Dolphins View	105012	0.5	1	3	3	1	0	1	3	0	0	0	0	12.5
022994 T	The Home Association, Inc.	105725	1	2	3	1	1	1	1	2	1	0	5	0	18.0
227773 T	The Lodge Health and Rehabilitation Center	105196	0.5	2	3	3	0	3	3	0	1	1	5	0	21.5
135581 T	The Manor at Blue Water Bay	105784	0	0	0	0	2	0.5	0	3	2	3	5	0	15.5
	The Manor at Carpenter's	105660	0	0	3	0.5	1	0	1	0	3	0	3	5	16.5
	The Nursing Center at Freedom Village	105655	3	1	3	1	0	0	0	2	1	0	0	0	11.0
267902 T	The Nursing Center at Mercy	105873	3	0	3	0	2	1	3	1	1	1	0	0	15.0
259462 T	The Nursing Center at University Village	105677	0.5	0	3	0	0	2	1	0	0	0	0	0	6.5
	The Oaks of Clearwater	105323	0	2	3	0	1	0	1	0	0	1	0	0	8.0
203327 T	The Palace at Kendall Nursing and Rehab Center	105719	1	0	3	0.5	3	0	1	3	2	3	5	0	21.5
	The Palms of Sebring	105037	1	0	0	1	0	3	2	0	2	3	0	0	12.0
	The Palms Rehabilitation and Healthcare Center	105985	1	2	3	1	3	0.5	1	0	0	1	3	0	15.5
	The Palms Rehabilitation and Nursing Center	105336	1	0.5	3	1	0	0	0	1	0	1	1	0	8.5
	The Park Summit at Coral Springs	105503	1	1	3	1	1	1	1	1	0	1	3	0	14.0
	The Parks Healthcare and Rehabilitation Center	105471	0	2	0	1	1	0	3	0	0	3	0	0	10.0
	The Pavilion for Health Care	106096	3	0.5	3	0	0	0	1	1	0	0	3	5	16.5
	The Ponce Therapy Care Center	105468	3	2	3	0	0	0	1	1	0	0	0	0	10.0
	The Rehabilitation Center Of The Palm Beaches	105039	0	0	3	1	0	1	1	3	0	1	3	5	18.0
	The Rehabilitation Center of Winter Park	105430	0	0	3	0.5	0.5	1	1	2	1	3	1	0	13.0
	The Rohr Home	105823	3	2	3	0.5	1	3	1	2	1	1	3	0	20.5
	The Terrace at Hobe Sound	105300	0	0	3	0	1	2	0	0	2	1	1	0	10.0
	The Terrace of Jacksonville	105423	3	0	0	2	2	1	0	1	0	1	5	0	15.0
	The Terrace of Kissimmee	105423	3	0	0	1	0	1	0	1	1	0	0	0	7.0
	The Terrace of St. Cloud	105528	0	0	0	0	1	0	1	3	1	1	3	0	10.0
	The Village On High Ridge	105320	0	1	3	3	0	3	1	0	0	0	0	0	11.0
	The Villages Rehabilitation and Nursing Center	106099	1	3	3	1	0.5	0	1	0	0	0	1	0	10.5
	The Waterford	105404	3	0	3	0	0.5	0	1	2	3	1	5	0	18.0
	Tierra Pines Center	105404	0	0	3	0	0	0.5	0	0	0	3	0	5	11.5
	Tiffany Hall Nursing And Rehab Center	105396	1	3	3	3	0	3	0	0	2	ე 1	3	0	19.0



				Quality S	Score Calculat	ion by	Facility								
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
203335	TimberRidge Nursing & Rehab Center	105717	0	0	0	0	2	1	0	2	0	3	1	0	9.0
263974	Titusville Rehabilitation and Nursing Center	105448	0.5	0	3	2	0	1	0	0	0	0	0	0	6.5
213934	TMH Skilled Nursing Facility	105158	1	1	3	1	1	1	1	1	3	0	5	0	18.0
226602	Treasure Isle Care Center	105408	1	3	3	2	1	0	1	1	0	3	3	0	18.0
204625	Tri-County Nursing Home	105770	0	2	3	1	0	0	2	1	0	1	0	0	10.0
101961	Trinity Regional Rehab Center	106079	0	3	3	0.5	3	3	1	3	0	0	5	0	21.5
263591	Tuskawilla Nursing And Rehab Center	105872	0.5	2	3	0	3	3	1	0	3	1	5	5	26.5
032482	Unity Health and Rehab Center	105510	0	0	0	3	1	1	3	2	1	3	3	0	17.0
041686	University Center East	105262	0	0.5	3	3	0	1	0	0	0	0	0	0	7.5
041685	University Center West	105261	0	0.5	0	1	2	0	0	0	0	0	3	0	6.5
060993	University Hills Health and Rehabilitation	105445	0	0	3	2	0.5	1	2	0	0	2	1	0	11.5
082204	University Plaza Rehabilitation & Nursing Center	106100	1	0	3	0.5	0.5	1	0	2	3	3	3	0	17.0
265560	Valencia Hills Health and Rehabilitation Center	105301	0	3	0	1	2	0.5	0	0	1	1	3	5	16.5
213837	Vi at Lakeside Village	105968	3	0	0	0.5	0	0	1	3	3	0	5	0	15.5
046128	Victoria Nursing and Rehabilitation Center, Inc.	106031	0	0	3	2	0.5	2	1	1	3	2	3	0	17.5
110482	Viera Health & Rehabilitation Center	105885	0	3	3	3	3	3	3	3	2	1	3	0	27.0
122347	Villa Health & Rehabilitation Center	105930	0	1	3	0.5	1	2	0	0.5	0	0	0	0	8.0
203165	Villa Maria Nursing Center	105232	3	0	3	2	1	2	0	0	1	3	3	5	23.0
210463	Village on the Isle	105472	3	2	3	0	3	1	1	2	2	3	5	0	25.0
002400	Village Place Health and Rehab Center	106072	0	2	0	1	0	0	0	0	2	1	1	0	7.0
061109	Vista Manor	105530	2	0.5	3	2	0	2	0	0	0	1	3	0	13.5
211052	W Frank Wells Nursing Home	105210	3	1	3	0	1	0	0	0	3	0	1	0	12.0
324353	Washington Rehabilitation & Nursing Center	105727	0	2	0	1	2	0	2	0	0	0	3	5	15.0
213152	Waters Edge Extended Care	105828	0	1	3	1	1	1	1	1	3	0	3	0	15.0
005519	Wave Crest Health and Rehabilitation Center	105207	0	0	3	2	0	1	0	0	1	0	3	0	10.0
043867	Wedgewood Healthcare Center	106002	0	3	0	0	0	0	2	0	0	0	0	5	10.0
253464	West Bay Of Tampa	105419	3	1	0.5	0	1	2	0	0	0	2	0	0	9.5
026536	West Broward Rehabilitation and Healthcare	105237	1	0	3	0.5	1	2	2	2	3	1	5	0	20.5
282359	West Gables Health Care Center	105623	3	0.5	3	0	0	0.5	1	2	2	3	3	0	18.0
218171	West Jacksonville Health and Rehabilitation Center	105707	0.5	1	3	0.5	0.5	1	0	2	0	1	0	0	9.5
217727	West Melbourne Health & Rehabilitation Center	105376	0	0.5	3	2	1	2	1	0	1	1	0	0	11.5
202011	Westchester Gardens Rehabilitation & Care Center	105654	0	3	3	1	3	1	0	2	1	1	5	0	20.0
209422	Westminster Communities Of Bradenton Westminster Manor	105919	3	0	3	0.5	2	0	0	0	0	0	5	0	13.5
200409	Westminster Oaks	105854	1	0	3	0	1	0	0	0	0	2	5	0	12.0
212709	Westminster Suncoast	105926	3	1	3	0.5	0	0	0	1	0	0	1	0	9.5
208540	Westminster Towers	105757	0	2	3	0.5	0.5	2	0	0.5	0	3	0	0	11.5
203815	Westminster Towers And Shores Of Bradenton	106030	3	0	3	0.5	1	1	0	0	0	3	5	0	16.5
212083	Westminster Woods on Julington Creek	105901	1	1	3	1	3	0	1	1	0	1	3	0	15.0
103475	Westwood Nursing & Rehabilitation Center	105395	3	2	3	0	0	3	1	1	2	1	3	0	19.0



				Quality S	Score Calcula	tion by	Facility								
Medicaid ID	Facility Name	Federal Provider Number	Flu Vaccine	Anti - psychotic	Restrained	UTI	Pressure Ulcers	Falls	Incontinence	ADL	Direct Care Staffing	ACT SW Staffing	CMS 5 Star	Certification / Accreditation	Total Quality Score
266612	Whispering Oaks	105299	0	3	3	0	1	1	1	0	0	3	3	0	15.0
088601	Whitehall Boca Raton	105506	0.5	0	3	0	3	0	0	3	2	3	0	0	14.5
317586	Williston Rehabilitation and Nursing Center	105467	0	0	0.5	0	0	0	0	0	0	0	0	0	0.5
096150	Willowbrooke Court at Azalea Trace	105444	3	1	0	0	0	0	1	1	1	0	5	0	12.0
206521	Willowbrooke Court At St Andrews Estates	105355	0	2	0	0	2	0	1	0	1	0	3	0	9.0
227579	Wilton Manors Health & Rehabilitation Center	105119	0	1	3	1	0	2	2	0.5	2	3	0	0	14.5
006340	Windsor Health And Rehabilitation Center	105696	3	2	3	1	1	2	1	1	0	0	3	5	22.0
263991	Windsor Woods Rehab And Healthcare Center	105568	1	0	0.5	3	0.5	0	0	1	0	0	1	0	7.0
264008	Winkler Court	105882	0	0	3	2	3	1	0	2	0	1	5	0	17.0
228702	Winter Haven Health And Rehabilitation Center	105176	1	0	0	0	1	0.5	0	0.5	0	3	0	0	6.0
324515	Winter Park Care and Rehabilitation Center	105332	1	0	3	0	3	0	0	0	0	0	1	0	8.0
209848	Winter Park Towers	105879	0	0	3	2	1	0	1	0	0	0	5	0	12.0
047788	Wood Lake Nursing and Rehabilitation Center	105611	1	0	3	0	0	3	2	0	0	1	5	0	15.0
324141	Woodbridge Rehabilitation & Health Center	105426	1	2	0.5	0	2	0	0	0	0	1	0	0	6.5
122341	Woodland Grove Health & Rehabilitation Center	106058	1	0.5	3	1	0	1	1	0	0	1	0	0	8.5
008793	Woods of Manatee Springs	105525	0	1	3	3	2	1	3	0	2	1	1	0	17.0
254762	Wrights Healthcare And Rehabilitation Center	105849	3	0	0.5	3	1	0.5	1	0	0	0	1	0	10.0
212164	Ybor City Healthcare and Rehabilitation Center	105891	3	3	3	3	0	3	1	2	1	0	3	5	27.0
320391	Zephyr Haven Health & Rehab Center, Inc.	105658	0	1	0.5	0	0	0	2	1	1	2	5	0	12.5
320404	Zephyrhills Health & Rehab Center, Inc.	105986	0.5	1	0.5	1	2	3	0	1	3	1	3	0	16.0



17 Appendix G – Quality Per Diem Add-On Calculation

Figure 26 shows the modeled new NPPS Quality Incentive Program per diem add-on amount for each facility.

Figure 26. Quality Incentive Program per diem add-on payment by facility.

		Quality Per Diem	Add-On Calc	culation				
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem
205745	Abbey Delray	105335	15	15	8,910	133,650	\$1.31917	\$19.79
206865	Abbey Delray South	105411	18	18	6,476	116,568	\$1.31917	\$23.74
263958	Abbey Rehabilitation And Nursing Center	105749	9	0	31,957	-	\$1.31917	\$0.00
268755	Abbiejean Russell Care Center LLC	105804	11.5	11.5	18,511	212,877	\$1.31917	\$15.17
005826	Accentia Health & Rehab. Center of Tampa	105140	10	0	62,129	-	\$1.31917	\$0.00
324094	Advanced Rehabilitation & Health Center	105478	14	14	29,299	410,186	\$1.31917	\$18.47
320439	Adventist Care Centers - Courtland, Inc.	106024	12	12	22,761	273,132	\$1.31917	\$15.83
261254	Alhambra Health And Rehabilitation Center	105712	17	17	11,338	192,746	\$1.31917	\$22.43
227251	Alpine Health and Rehabilitation Center	105713	17.5	17.5	15,907	278,373	\$1.31917	\$23.09
324451	Anchor Care & Rehabilitation Center	105464	10	0	25,063	-	\$1.31917	\$0.00
227633	Apollo Health And Rehabilitation Center	105202	12	12	17,999	215,988	\$1.31917	\$15.83
263478	Arbor Trail Rehab And Skilled Nursing Center	105703	13	13	18,297	237,861	\$1.31917	\$17.15
325040	Arbor Village Nursing Center	105649	9	0	41,882	-	\$1.31917	\$0.00
100509	Arcadia Health & Rehabilitation Center	105532	21	21	34,467	723,807	\$1.31917	\$27.70
254291	Arch Plaza Nursing & Rehabilitation Center	105008	17	17	26,090	443,530	\$1.31917	\$22.43
103165	Astoria Health & Rehabilitation Center	106086	14	14	17,986	251,804	\$1.31917	\$18.47
310581	Atlantic Healthcare Center	105399	11	11	21,202	233,222	\$1.31917	\$14.51
263389	Atlantic Shores Nursing And Rehab Center	105904	8	0	22,385		\$1.31917	\$0.00
261629	Avalon Healthcare Center	105346	3.5	0	22,925	-	\$1.31917	\$0.00
210676	Avante At Boca Raton Inc.	105521	16	16	24,426	390,816	\$1.31917	\$21.11
203220	Avante at Inverness	105308	8.5	0	20,814	-	\$1.31917	\$0.00
203238	Avante at Lake Worth	105372	15.5	15.5	27,245	422,298	\$1.31917	\$20.45
203122	Avante at Leesburg, Inc.	105304	10	0	26,022	-	\$1.31917	\$0.00
252018	Avante At Melbourne Inc	105671	4	0	22,062	-	\$1.31917	\$0.00



	Quality Per Diem Add-On Calculation										
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem			
252042	Avante At Mt Dora Inc	105333	13.5	13.5	22,917	309,380	\$1.31917	\$17.81			
005701	Avante at Ocala	106084	16.5	16.5	21,830	360,195	\$1.31917	\$21.77			
223808	Avante At Orlando Inc.	106027	8	0	27,657	-	\$1.31917	\$0.00			
252034	Avante At Ormond Beach Inc	105310	11	11	24,980	274,780	\$1.31917	\$14.51			
259870	Avante At St Cloud Inc	105670	16	16	29,639	474,224	\$1.31917	\$21.11			
200913	Avante Villa At Jacksonville Beach Inc	105617	12	12	32,441	389,292	\$1.31917	\$15.83			
284823	Aventura Plaza Rehabilitation & Nursing Center	105331	12.5	12.5	22,557	281,963	\$1.31917	\$16.49			
227871	Ayers Health And Rehabilitation Center	105401	19.5	19.5	26,578	518,271	\$1.31917	\$25.72			
140648	Bartow Center	105286	7.5	0	29,759	-	\$1.31917	\$0.00			
086990	Bartram Crossing	105645	17.5	17.5	5,715	100,013	\$1.31917	\$23.09			
043835	Bay Breeze Health And Rehabilitation Center	105443	7	0	30,150	-	\$1.31917	\$0.00			
017225	Bay Breeze Senior Living And Rehabilitation Center	105487	17.5	17.5	25,510	446,425	\$1.31917	\$23.09			
128848	Bay Center	105285	13	13	36,445	473,785	\$1.31917	\$17.15			
263834	Bay Pointe Nursing Pavilion	105477	8	0	32,459	-	\$1.31917	\$0.00			
253448	Bay Tree Center	105394	3	0	23,828	-	\$1.31917	\$0.00			
018777	Bay Village of Sarasota	106085	18	18	4,071	73,278	\$1.31917	\$23.74			
147672	Bay Vue Nursing and Rehabilitation Center	105551	16	16	23,206	371,296	\$1.31917	\$21.11			
092681	Baya Pointe Nursing and Rehabilitation Center	105846	10	0	15,239	-	\$1.31917	\$0.00			
263575	Bayshore Pointe Nursing And Rehab Center	105650	19.5	19.5	18,723	365,099	\$1.31917	\$25.72			
017221	Bayside Health And Rehabilitation Center	105267	17	17	29,799	506,583	\$1.31917	\$22.43			
324108	Bayside Rehabilitation & Health Center	105071	5.5	0	24,859	-	\$1.31917	\$0.00			
260444	Bayview Center	105324	13.5	13.5	32,476	438,426	\$1.31917	\$17.81			
316652	Baywood Nursing Center	105890	6	0	17,750	-	\$1.31917	\$0.00			
228567	Bear Creek Nursing Center	105393	19.5	19.5	20,017	390,332	\$1.31917	\$25.72			
264521	Belleair Health Care Center	105636	11	11	21,024	231,264	\$1.31917	\$14.51			
033717	Benderson Family Skilled Nursing & Rehab Center	106090	12.5	12.5	4,555	56,938	\$1.31917	\$16.49			
043857	Beneva Lakes Healthcare and Rehabilitation Center	105416	13.5	13.5	32,985	445,298	\$1.31917	\$17.81			
208442	Bernard L Samson Nursing Center	105504	14	14	38,997	545,958	\$1.31917	\$18.47			
209511	Bishops Glen Retirement Center	105526	20	20	8,455	169,100	\$1.31917	\$26.38			
022987	Blountstown Health and Rehabilitation Center	105924	16	16	21,709	347,344	\$1.31917	\$21.11			



		Quality Per Diem	Add-On Calc	ulation				
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem
143762	Boca Ciega Center	105271	5	0	29,584		\$1.31917	\$0.00
263842	Boca Raton Rehabilitation Center	105219	7	0	24,891		\$1.31917	\$0.00
200107	Bon Secours Maria Manor Nursing Care Center	105688	19	19	65,116	1,237,204	\$1.31917	\$25.06
263443	Bonifay Nursing And Rehab Center	105624	10	0	43,574	-	\$1.31917	\$0.00
263613	Boulevard Rehabilitation Center	105067	12	12	30,005	360,060	\$1.31917	\$15.83
263460	Boynton Beach Rehabilitation Center	105837	10	0	31,393	-	\$1.31917	\$0.00
005814	Boynton Health Care Center	105146	23	23	10,490	241,270	\$1.31917	\$30.34
073324	Braden River Rehabilitation Center, LLC	105045	15.5	15.5	41,063	636,477	\$1.31917	\$20.45
043859	Bradenton Health Care	106017	15.5	15.5	22,299	345,635	\$1.31917	\$20.45
043860	Brandon Health and Rehabilitation Center	105951	15	15	16,484	247,260	\$1.31917	\$19.79
251399	Brandywyne Health Care Center	105428	8	0	33,022	-	\$1.31917	\$0.00
260371	Bridgeview Center	105402	14	14	29,915	418,810	\$1.31917	\$18.47
284793	Brighton Gardens of Tampa	106015	16	16	2,341	37,456	\$1.31917	\$21.11
319376	Brookdale Atrium Way 2	105927	8	0	8,571	-	\$1.31917	\$0.00
319244	Brookdale Palmer Ranch SNF	106022	11	11	8,166	89,826	\$1.31917	\$14.51
228958	Brooksville Healthcare Center	105297	20	20	39,900	798,000	\$1.31917	\$26.38
226335	Broward Nursing & Rehabilitation Center	105083	10.5	10.5	40,483	425,072	\$1.31917	\$13.85
005381	Brynwood Health And Rehabilitation Center	106045	21.5	21.5	23,792	511,528	\$1.31917	\$28.36
059369	Calusa Harbour	105384	14.5	14.5	5,880	85,260	\$1.31917	\$19.13
022138	Carlton Shores Health and Rehab Center	105580	23	23	16,012	368,276	\$1.31917	\$30.34
101959	Carrington Place of St. Pete	105616	13	13	27,995	363,935	\$1.31917	\$17.15
263877	Carrollwood Care Center	105553	8	0	25,906	-	\$1.31917	\$0.00
263885	Casa Mora Rehabilitation and Extended Care	105327	14	14	60,007	840,098	\$1.31917	\$18.47
226068	Cathedral Gerontology Center Inc	105834	14	14	28,437	398,118	\$1.31917	\$18.47
202789	Center for Health Care of The Alliance Community	105349	8	0	27,353	-	\$1.31917	\$0.00
043856	Central Park Healthcare and Rehabilitation Center	105718	13	13	25,568	332,384	\$1.31917	\$17.15
264563	Centre Pointe Health and Rehab Center	105563	18.5	18.5	14,891	275,484	\$1.31917	\$24.40
220604	Century Health And Rehabilitation Center	105860	9.5	0	24,413	-	\$1.31917	\$0.00
324361	Chautauqua Rehabilitation & Nursing Center	105626	13.5	13.5	29,934	404,109	\$1.31917	\$17.81
005383	Chipola Health And Rehabilitation Center	105729	21	21	12,674	266,154	\$1.31917	\$27.70



	C	uality Per Diem	Add-On Cald	ulation				
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem
257419	Citrus Health and Rehabilitation Center	105858	9.5	0	23,404	-	\$1.31917	\$0.00
122340	Citrus Hills Health & Rehabilitation Center	106036	9	0	20,277	-	\$1.31917	\$0.00
208507	Claridge House Nursing & Rehabilitation Center	105513	14	14	65,834	921,676	\$1.31917	\$18.47
140643	Clearwater Center	105274	8	0	32,495	-	\$1.31917	\$0.00
221465	Clermont Health and Rehabilitation Center	105512	6.5	0	49,212	-	\$1.31917	\$0.00
021261	Coastal Health and Rehabilitation Center	105565	13	13	34,167	444,171	\$1.31917	\$17.15
043854	Colonial Lakes Health Care	105440	12	12	49,719	596,628	\$1.31917	\$15.83
205796	Commons At Orlando Lutheran Towers	105731	21.5	21.5	24,968	536,812	\$1.31917	\$28.36
103425	Community Convalescent Center	105029	10	0	30,249	-	\$1.31917	\$0.00
098972	Community Health and Rehabilitation Center	105975	14	14	20,115	281,610	\$1.31917	\$18.47
200956	Comprehensive Healthcare of Clearwater	105453	6	0	32,570	-	\$1.31917	\$0.00
251666	Concordia Manor	105714	19.5	19.5	10,974	213,993	\$1.31917	\$25.72
080431	Consulate Health Care at West Altamonte	105843	6	0	27,834	-	\$1.31917	\$0.00
080374	Consulate Health Care of Bayonet Point	105786	7	0	22,763	-	\$1.31917	\$0.00
080377	Consulate Health Care of Brandon	105520	12	12	24,499	293,988	\$1.31917	\$15.83
080384	Consulate Health Care of Jacksonville	105917	14	14	24,459	342,426	\$1.31917	\$18.47
080387	Consulate Health Care of Kissimmee	106011	19	19	27,789	527,991	\$1.31917	\$25.06
080393	Consulate Health Care of Lake Parker	105693	7	0	26,668	-	\$1.31917	\$0.00
080391	Consulate Health Care of Lakeland	105482	15	15	30,748	461,220	\$1.31917	\$19.79
080394	Consulate Health Care of Melbourne	105861	10	0	29,679	-	\$1.31917	\$0.00
080397	Consulate Health Care of New Port Richey	105459	13	13	29,222	379,886	\$1.31917	\$17.15
080400	Consulate Health Care of North Ft. Myers	105507	4	0	26,942	-	\$1.31917	\$0.00
080402	Consulate Health Care of Orange Park	105653	13	13	27,023	351,299	\$1.31917	\$17.15
080405	Consulate Health Care of Pensacola	105935	12	12	23,271	279,252	\$1.31917	\$15.83
080416	Consulate Health Care of Port Charlotte	105982	11	11	26,490	291,390	\$1.31917	\$14.51
080406	Consulate Health Care of Safety Harbor	105549	10.5	10.5	32,876	345,198	\$1.31917	\$13.85
080413	Consulate Health Care of Sarasota	105983	18	18	19,704	354,672	\$1.31917	\$23.74
080409	Consulate Health Care of St. Petersburg	105895	6.5	0	28,911	-	\$1.31917	\$0.00
080428	Consulate Health Care of Tallahassee	105764	11	11	21,912	241,032	\$1.31917	\$14.51
080430	Consulate Health Care of Vero Beach	105474	7.5	0	39,822	-	\$1.31917	\$0.00



		Quality Per Diem	Add-On Calc	culation				
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem
080432	Consulate Health Care of West Palm Beach	105492	13	13	25,198	327,574	\$1.31917	\$17.15
080434	Consulate Health Care of Winter Haven	105998	12	12	22,680	272,160	\$1.31917	\$15.83
264512	Conway Lakes Health & Rehabilitation Center	105754	26	26	13,002	338,052	\$1.31917	\$34.30
260649	Coquina Center	105589	14	14	21,310	298,340	\$1.31917	\$18.47
043851	Coral Bay Healthcare and Rehabilitation	105795	12	12	23,979	287,748	\$1.31917	\$15.83
323772	Coral Gables Nursing and Rehabilitation	105005	19	19	20,534	390,146	\$1.31917	\$25.06
282529	Coral Reef Nursing & Rehabilitation Center	105910	9	0	31,135	-	\$1.31917	\$0.00
043848	Coral Trace Health Care	105588	11	11	23,450	257,950	\$1.31917	\$14.51
043872	Countryside Rehab and Healthcare Center	105587	10.5	10.5	27,143	285,002	\$1.31917	\$13.85
209325	Courtenay Springs Village	105463	15	15	13,048	195,720	\$1.31917	\$19.79
010082	Courtyard Gardens Rehabilitation Center	105555	16	16	24,268	388,288	\$1.31917	\$21.11
324175	Courtyards of Orlando Rehabilitation and Health Center	105431	11.5	11.5	34,048	391,552	\$1.31917	\$15.17
210188	Covenant Village Care Center	105604	18	18	6,475	116,550	\$1.31917	\$23.74
044886	Crestview Rehabilitation Center	105190	6	0	33,020	-	\$1.31917	\$0.00
312274	Crestwood Nursing Center	105805	12	12	12,511	150,132	\$1.31917	\$15.83
200735	Cross Care Center	105721	7	0	26,559	-	\$1.31917	\$0.00
312151	Cross City Rehabilitation & Health Care Center	106009	21.5	21.5	11,757	252,776	\$1.31917	\$28.36
088049	Cross Gardens Care Center	105765	10	0	30,210	-	\$1.31917	\$0.00
102832	Cross Landings Health and Rehabilitation Center	105802	16.5	16.5	13,684	225,786	\$1.31917	\$21.77
102787	Cross Pointe Care Center	105296	12.5	12.5	26,386	329,825	\$1.31917	\$16.49
102791	Cross Terrace Rehabilitation Center	105350	9.5	0	19,817	-	\$1.31917	\$0.00
046233	Crossbreeze Care Center	105774	12	12	23,764	285,168	\$1.31917	\$15.83
102833	Crosswinds Health and Rehabilitation Center	105824	19	19	15,420	292,980	\$1.31917	\$25.06
217263	Crystal River Health And Rehabilitation Center	105317	5	0	25,814	-	\$1.31917	\$0.00
228940	Cypress Cove Care Center	105437	17	17	20,021	340,357	\$1.31917	\$22.43
122242	Cypress Village	105745	11.5	11.5	11,464	131,836	\$1.31917	\$15.17
317349	Darcy Hall of Life Care	105516	13	13	38,224	496,912	\$1.31917	\$17.15
217743	Daytona Beach Health and Rehabilitation Center	105311	11	11	36,591	402,501	\$1.31917	\$14.51
005372	Debary Health and Rehabilitation Center	105514	16	16	27,107	433,712	\$1.31917	\$21.11
263851	Deerfield Beach Health and Rehabilitation Center	105622	16	16	39,627	634,032	\$1.31917	\$21.11



		Quality Per Diem	Add-On Calc	culation				
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem
221589	Delaney Park Health and Rehabilitation Center	105791	25	25	12,705	317,625	\$1.31917	\$32.98
043868	Deltona Health Care	105447	8	0	26,251	-	\$1.31917	\$0.00
103177	Desoto Health and Rehab	106070	14	14	7,053	98,742	\$1.31917	\$18.47
061101	Destin Healthcare and Rehabilitation Center	105862	13	13	24,587	319,631	\$1.31917	\$17.15
256269	Diamond Ridge Health And Rehabilitation Center	105657	9.5	0	17,920	-	\$1.31917	\$0.00
101963	Eagle Lake Rehab & Care Center	105292	16.5	16.5	14,975	247,088	\$1.31917	\$21.77
264539	East Bay Rehabilitation Center	105697	10.5	10.5	21,128	221,844	\$1.31917	\$13.85
320421	East Orlando Health & Rehab Center, Inc.	105783	13.5	13.5	23,995	323,933	\$1.31917	\$17.81
228788	East Ridge Retirement Village Inc	105508	24	24	3,216	77,184	\$1.31917	\$31.66
253707	Eden Springs Nursing And Rehab Center	105282	10	0	27,151	-	\$1.31917	\$0.00
210684	Edgewater At Waterman Village	105796	10.5	10.5	16,050	168,525	\$1.31917	\$13.85
254878	EdgeWood Nursing Center	105826	7.5	0	16,385	-	\$1.31917	\$0.00
212032	Edward J Healey Rehabilitation And Nursing Center	105838	19	19	29,699	564,281	\$1.31917	\$25.06
133348	Egret Cove Center	105293	18	18	32,027	576,486	\$1.31917	\$23.74
133196	Emerald Coast Center	105265	10	0	27,817	-	\$1.31917	\$0.00
261637	Emerald Health Care Center	105579	16	16	19,748	315,968	\$1.31917	\$21.11
060972	Emerald Shores Health and Rehabilitation	105148	18	18	15,152	272,736	\$1.31917	\$23.74
059855	Englewood Healthcare & Rehabilitation Center	105452	10	0	23,272	-	\$1.31917	\$0.00
059873	Evans Health Care	106000	13	13	29,863	388,219	\$1.31917	\$17.15
263893	Evergreen Woods	105397	20	20	23,180	463,600	\$1.31917	\$26.38
147958	Excel Care Center	105884	9.5	0	24,856	-	\$1.31917	\$0.00
227226	Fair Havens Center	105356	3.5	0	59,288	-	\$1.31917	\$0.00
260690	Fairway Oaks Center	105305	5.5	0	32,501	-	\$1.31917	\$0.00
204536	Fannie E Taylor Home For The Aged Inc	105820	14	14	5,781	80,934	\$1.31917	\$18.47
227838	First Coast Health & Rehabilitation Center	105429	18	18	25,822	464,796	\$1.31917	\$23.74
005374	Flagler Health And Rehabilitation Center	105547	22	22	21,440	471,680	\$1.31917	\$29.02
043866	Fletcher Health and Rehabilitation Center	105644	10	0	25,128	-	\$1.31917	\$0.00
001416	Florida Baptist Retirement Center	106097	12.5	12.5	3,957	49,463	\$1.31917	\$16.49
320463	Florida Living Nursing Center	105353	10.5	10.5	45,970	482,685	\$1.31917	\$13.85
212971	Florida Presbyterian Homes Inc	105949	28	28	3,601	100,828	\$1.31917	\$36.94



		Quality Per Diem	Add-On Calc	ulation				
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem
163903	Fort Myers Rehabilitation and Nursing Center	105427	12.5	12.5	31,930	399,125	\$1.31917	\$16.49
043861	Fort Pierce Health Care	105257	13	13	47,950	623,350	\$1.31917	\$17.15
044888	Fort Walton Rehabilitation Center	105295	12	12	17,663	211,956	\$1.31917	\$15.83
253481	Forum at Deer Creek	105691	21	21	6,832	143,472	\$1.31917	\$27.70
132449	Fountain Manor Health & Rehabilitation Center	105172	12	12	41,700	500,400	\$1.31917	\$15.83
080436	Franco Nursing and Rehabilitation Center	105903	18.5	18.5	28,876	534,206	\$1.31917	\$24.40
122239	Freedom Square Rehabilitation & Nursing Services	106042	26.5	26.5	17,903	474,430	\$1.31917	\$34.96
134463	Ft Lauderdale Health and Rehabilitation Center	105298	15	15	26,678	400,170	\$1.31917	\$19.79
229288	Gainesville Health Care Center	105434	6.5	0	43,443	-	\$1.31917	\$0.00
059404	Gardens of Port St. Lucie	105832	17	17	4,013	68,221	\$1.31917	\$22.43
203203	Glades Health Care Center	106018	14	14	26,226	367,164	\$1.31917	\$18.47
153181	Glades West Rehabilitation and Nursing Center	106106	10	0	12,898	-	\$1.31917	\$0.00
005849	Glen Oaks Health Care Center	105634	26.5	26.5	22,372	592,858	\$1.31917	\$34.96
005384	Glencove Health And Rehabilitation Center	105775	20.5	20.5	23,804	487,982	\$1.31917	\$27.04
054790	Golden Glades Nursing and Rehabilitation Center	105469	13.5	13.5	47,023	634,811	\$1.31917	\$17.81
019287	Golfcrest Healthcare Center	105009	11	11	12,952	142,472	\$1.31917	\$14.51
019085	Golfview Healthcare Center	105409	10	0	9,778	-	\$1.31917	\$0.00
268763	Good Samaritan Center	105809	17	17	43,140	733,380	\$1.31917	\$22.43
204391	Good Samaritan Society-Daytona	105651	8	0	22,220	-	\$1.31917	\$0.00
212792	Good Samaritan Society-Florida Lutheran	105937	10.5	10.5	10,130	106,365	\$1.31917	\$13.85
205303	Good Samaritan Society-Kissimmee Village	105559	9.5	0	37,408	-	\$1.31917	\$0.00
043875	Governor's Creek Health and Rehabilitation	105663	7	0	32,729	-	\$1.31917	\$0.00
034504	Grace Healthcare of Lake Wales	106069	12.5	12.5	18,907	236,338	\$1.31917	\$16.49
011998	Grace Rehabilitation Center Of Vero Beach	106075	21	21	7,989	167,769	\$1.31917	\$27.70
316644	Gracewood Rehabilitation And Nursing Care	105486	9.5	0	30,726	-	\$1.31917	\$0.00
017242	Grand Boulevard Health & Rehab. Center	105601	16	16	14,731	235,696	\$1.31917	\$21.11
043864	Grand Oaks Health and Rehabilitation Center	105952	4.5	0	17,507		\$1.31917	\$0.00
227625	Greenbriar Rehabilitation And Nursing Center	105159	13.5	13.5	10,169	137,282	\$1.31917	\$17.81
201651	Guardian Care Nursing & Rehabilitation Center	105797	19	19	35,558	675,602	\$1.31917	\$25.06
201120	Gulf Coast Village	105672	10	0	8,870	-	\$1.31917	\$0.00



	Qı	uality Per Diem	Add-On Calc	ulation				
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem
014169	Gulf Shore Rehab & Nursing	105978	8	0	21,796	-	\$1.31917	\$0.00
099366	Gulfport Rehabilitation Center	106103	10	0	9,387	-	\$1.31917	\$0.00
043862	Habana Health Care Center	105417	9	0	39,468	-	\$1.31917	\$0.00
224341	Haines City Health Care	105442	17	17	26,012	442,204	\$1.31917	\$22.43
259586	Hamlin Place	105485	13.5	13.5	20,257	273,470	\$1.31917	\$17.81
324027	Hampton Court Nursing Center	105715	19	19	22,897	435,043	\$1.31917	\$25.06
043873	Harbor Beach Nursing and Rehabilitation Center	105578	18	18	14,577	262,386	\$1.31917	\$23.74
268585	Harborchase of Naples	105995	14	14	2,981	41,734	\$1.31917	\$18.47
213322	Harborchase of Venice	105955	11	11	3,302	36,322	\$1.31917	\$14.51
122229	Harbour Health Center	105538	14	14	15,059	210,826	\$1.31917	\$18.47
216399	Harbour's Edge	105598	19.5	19.5	3,265	63,668	\$1.31917	\$25.72
316636	Harbourwood Health And Rehab Center	106041	12.5	12.5	32,557	406,963	\$1.31917	\$16.49
211435	Hardee Manor Healthcare Center	105362	21	21	17,309	363,489	\$1.31917	\$27.70
269107	Harmony Health Center	105227	8	0	42,599	-	\$1.31917	\$0.00
043865	Harts Harbor Health Care Center	105632	13	13	52,341	680,433	\$1.31917	\$17.15
258831	Haven of Our Lady of Peace	106052	18	18	14,398	259,164	\$1.31917	\$23.74
261670	Hawthorne Health And Rehab Of Brandon	105881	19	19	16,426	312,094	\$1.31917	\$25.06
253456	Hawthorne Health And Rehab Of Ocala	105602	10	0	19,903	-	\$1.31917	\$0.00
094353	Hawthorne Health and Rehab of Sarasota	106098	10.5	10.5	1,541	16,181	\$1.31917	\$13.85
043874	Health Center at Brentwood	105461	9.5	0	22,636	-	\$1.31917	\$0.00
048441	Health Central Park	105479	19.5	19.5	54,314	1,059,123	\$1.31917	\$25.72
263931	Healthcare And Rehab Of Sanford	105539	5.5	0	28,160	-	\$1.31917	\$0.00
210587	Healthpark Care Center Inc.	105779	27	27	13,300	359,100	\$1.31917	\$35.62
010453	Heartland Health Care & Rehabilitation Center	105842	21	21	7,676	161,196	\$1.31917	\$27.70
011997	Heartland Health Care And Rehabilitation Center Of Boca Raton	105852	25	25	4,353	108,825	\$1.31917	\$32.98
325309	Heartland Health Care Center- Boynton Beach	105755	13	13	25,544	332,072	\$1.31917	\$17.15
325333	Heartland Health Care Center- Lauderhill	105680	5	0	26,031	-	\$1.31917	\$0.00
325252	Heartland Health Care Center- Miami Lakes	105709	11.5	11.5	8,235	94,703	\$1.31917	\$15.17
325287	Heartland Health Care Center of South Jacksonville	105366	13	13	15,032	195,416	\$1.31917	\$17.15
325325	Heartland Health Care Center-Ft. Myers	105723	13	13	14,563	189,319	\$1.31917	\$17.15



		Quality Per Diem	Add-On Calc	culation				
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem
325236	Heartland Health Care Center-Jacksonville	105684	17	17	15,472	263,024	\$1.31917	\$22.43
325244	Heartland Health Care Center-Kendall	105641	16	16	9,160	146,560	\$1.31917	\$21.11
325490	Heartland Health Care Center-North Sarasota	105389	14	14	18,784	262,976	\$1.31917	\$18.47
325261	Heartland Health Care Center-Orange Park	105692	13.5	13.5	16,629	224,492	\$1.31917	\$17.81
325341	Heartland Health Care Center-Prosperity Oaks	105762	10.5	10.5	18,817	197,579	\$1.31917	\$13.85
325350	Heartland of Tamarac	105609	8	0	24,747	-	\$1.31917	\$0.00
325708	Heartland of Zephyrhills	105599	13	13	21,610	280,930	\$1.31917	\$17.15
228591	Heather Hill Healthcare Center	105343	6.5	0	25,827	-	\$1.31917	\$0.00
043838	Heritage Healthcare and Rehabilitation Center	105178	19	19	24,467	464,873	\$1.31917	\$25.06
043833	Heritage Healthcare Center At Tallahassee	105433	7	0	45,554	-	\$1.31917	\$0.00
005850	Heritage Park	105320	15	15	30,890	463,350	\$1.31917	\$19.79
324345	Heritage Park Care and Rehabilitation Center	105529	17	17	15,987	271,779	\$1.31917	\$22.43
061095	Heritage Park Rehabilitation and Healthcare	105238	9	0	33,331	-	\$1.31917	\$0.00
043832	Heron Pointe Health and Rehabilitation	105413	7	0	30,895	-	\$1.31917	\$0.00
265730	Hialeah Nursing and Rehabilitation Center	105803	8.5	0	74,473	-	\$1.31917	\$0.00
250988	HIALEAH SHORES NURSING AND REHAB CENTER	105511	18	18	23,209	417,762	\$1.31917	\$23.74
263907	Highland Pines Rehabilitation Center	105690	11	11	30,233	332,563	\$1.31917	\$14.51
260576	Highlands Lake Center	105620	17	17	36,193	615,281	\$1.31917	\$22.43
047795	Hillcrest Health Care And Rehabilitation Center	105495	9	0	54,120	-	\$1.31917	\$0.00
313424	Hollywood Hills Rehabilitation Center LLC	105021	9	0	28,239	-	\$1.31917	\$0.00
046017	Homestead Manor A Palace Community	105541	13.5	13.5	17,552	236,952	\$1.31917	\$17.81
263605	Hunters Creek Nursing And Rehab Center	105987	8	0	21,499	-	\$1.31917	\$0.00
211281	Huntington Place	105250	7	0	21,210	-	\$1.31917	\$0.00
260665	Indian River Center	105673	9.5	0	47,824	-	\$1.31917	\$0.00
258750	Indigo Manor	105570	15	15	32,169	482,535	\$1.31917	\$19.79
228621	Inn at Sarasota Bay Club	106035	19.5	19.5	2,708	52,806	\$1.31917	\$25.72
059866	Island Health and Rehabilitation Center	105325	6	0	29,919	-	\$1.31917	\$0.00
260657	Island Lake Center	105643	11	11	30,463	335,093	\$1.31917	\$14.51
122343	Isle Health & Rehabilitation Center	106065	9.5	0	18,599	-	\$1.31917	\$0.00
281743	Jacaranda Manor	105390	3.5	0	92,242	-	\$1.31917	\$0.00



		Quality Per Diem	Add-On Calc	culation				
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem
204161	Jackson Memorial Long Term Care Center	105392	10	0	41,348	-	\$1.31917	\$0.00
203670	Jackson Memorial Perdue Medical Center	105252	13.5	13.5	33,982	458,757	\$1.31917	\$17.81
253723	Jackson Plaza Nursing & Rehabilitation Center	106034	14	14	30,514	427,196	\$1.31917	\$18.47
263494	Jacksonville Nursing And Rehab Center	105710	8	0	40,802	-	\$1.31917	\$0.00
210285	John Knox Village Med Center	105351	15	15	18,353	275,295	\$1.31917	\$19.79
203769	John Knox Village Of Pompano Beach	105255	17	17	8,523	144,891	\$1.31917	\$22.43
207381	Joseph L Morse Geriatric Center Inc	105801	24	24	47,048	1,129,152	\$1.31917	\$31.66
208485	Jupiter Medical Center Pavilion Inc.	105047	21	21	3,004	63,084	\$1.31917	\$27.70
324493	Kenilworth Care and Rehabilitation Center	105352	7.5	0	17,044	-	\$1.31917	\$0.00
024167	Key West Health & Rehabilitation	106089	14	14	23,257	325,598	\$1.31917	\$18.47
043839	Keystone Rehabilitation and Health Center	106074	7.5	0	26,562	-	\$1.31917	\$0.00
089220	Krystal Bay Nursing and Rehabilitation	105120	21	21	24,904	522,984	\$1.31917	\$27.70
032486	Lady Lake Specialty Care Center	106003	10	0	18,753	-	\$1.31917	\$0.00
264482	Lafayette Health Care Center	105963	10	0	14,316	-	\$1.31917	\$0.00
135647	Lake Bennett Health and Rehabilitation	105967	17	17	19,807	336,719	\$1.31917	\$22.43
005851	Lake Eustis Care Center	105001	25	25	17,058	426,450	\$1.31917	\$32.98
122243	Lake Harris Health Center	105705	8.5	0	13,387	-	\$1.31917	\$0.00
043871	Lake Mary Health and Rehabilitation Center	106029	13	13	17,378	225,914	\$1.31917	\$17.15
211923	Lake Park of Madison	105892	8	0	28,129	-	\$1.31917	\$0.00
006339	Lake Placid Health And Rehabilitation Center	105455	15	15	40,636	609,540	\$1.31917	\$19.79
229610	Lake View Care Center at Delray	105475	14	14	15,212	212,968	\$1.31917	\$18.47
080068	Lakeland Hills Center	105283	4.5	0	32,231	-	\$1.31917	\$0.00
207683	Lakeside Health Center	105268	18	18	28,888	519,984	\$1.31917	\$23.74
256757	Lakeside Nursing And Rehabilitation Center	105980	8	0	20,812	-	\$1.31917	\$0.00
061140	Lakeside Oaks Care Center	105132	11	11	23,055	253,605	\$1.31917	\$14.51
256846	Lakeside Pavilion	105439	10	0	28,288	-	\$1.31917	\$0.00
259225	Lakeview Terrace Skilled Nursing Facility	106068	22	22	1,058	23,276	\$1.31917	\$29.02
312142	Lakewood Nursing Center	105808	16	16	22,797	364,752	\$1.31917	\$21.11
141466	Lanier Terrace	105666	5	0	30,881	-	\$1.31917	\$0.00
043876	Largo Health And Rehabilitation Center	106010	11	11	35,887	394,757	\$1.31917	\$14.51



		Quality Per Diem	Add-On Calc	ulation				
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem
211516	Laurel Pointe Health and Rehabilitation	105382	14	14	21,526	301,364	\$1.31917	\$18.47
316628	Laurellwood Nursing Center	105228	7	0	15,613		\$1.31917	\$0.00
320978	Lehigh Acres Health & Rehabilitation Center	105522	13	13	18,791	244,283	\$1.31917	\$17.15
032553	Lexington Health & Rehabilitation Center	105072	9	0	30,508	-	\$1.31917	\$0.00
259080	Life Care Center at Inverrary	106047	21.5	21.5	19,865	427,098	\$1.31917	\$28.36
213161	Life Care Center at Wells Crossing	105962	22	22	16,025	352,550	\$1.31917	\$29.02
210137	Life Care Center of Altamonte Springs	105365	14	14	45,183	632,562	\$1.31917	\$18.47
211532	Life Care Center of Citrus County	105870	21.5	21.5	14,052	302,118	\$1.31917	\$28.36
265381	Life Care Center of Estero	106057	21	21	24,646	517,566	\$1.31917	\$27.70
214060	Life Care Center of Hilliard	105756	15	15	26,023	390,345	\$1.31917	\$19.79
283193	Life Care Center of Jacksonville	106064	19	19	6,627	125,913	\$1.31917	\$25.06
228338	Life Care Center of Melbourne	105291	20	20	13,078	261,560	\$1.31917	\$26.38
259357	Life Care Center of New Port Richey	106049	17.5	17.5	10,594	185,395	\$1.31917	\$23.09
266108	Life Care Center of Ocala	105999	26	26	14,448	375,648	\$1.31917	\$34.30
284289	Life Care Center of Orange Park	105928	23	23	29,738	683,974	\$1.31917	\$30.34
213403	Life Care Center of Orlando	105974	26	26	9,286	241,436	\$1.31917	\$34.30
268186	Life Care Center of Palm Bay	106060	19	19	22,327	424,213	\$1.31917	\$25.06
315664	Life Care Center of Pensacola	106073	20	20	14,155	283,100	\$1.31917	\$26.38
217824	Life Care Center Of Port Saint Lucie	106012	16	16	10,140	162,240	\$1.31917	\$21.11
311685	Life Care Center of Punta Gorda	105289	17	17	28,647	486,999	\$1.31917	\$22.43
223786	Life Care Center of Sarasota	106025	25	25	11,256	281,400	\$1.31917	\$32.98
219380	Life Care Center of Winter Haven	105792	16.5	16.5	28,142	464,343	\$1.31917	\$21.77
203980	Lisenby On Lake Caroline	10A436	16.5	16.5	6,034	99,561	\$1.31917	\$21.77
005379	Longwood Health And Rehabilitation Center	105377	10.5	10.5	29,579	310,580	\$1.31917	\$13.85
205923	Lourdes-Noreen Mckeen Residence For Geriatric Care, Inc.	105420	13	13	27,246	354,198	\$1.31917	\$17.15
313718	Lutheran Haven Nursing Home	106050	15	15	7,105	106,575	\$1.31917	\$19.79
263516	MacClenny Nursing And Rehab Center	105737	15	15	28,650	429,750	\$1.31917	\$19.79
213462	Madison Health and Rehabilitation Center	105807	17.5	17.5	16,007	280,123	\$1.31917	\$23.09
324124	Madison Pointe Rehabilitation & Health Center	105166	8	0	21,923	-	\$1.31917	\$0.00
043877	Magnolia Health and Rehabilitation Center	106032	14	14	29,098	407,372	\$1.31917	\$18.47



	Quality Per Diem Add-On Calculation										
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem			
269000	Majestic Oaks	105374	12	12	19,663	235,956	\$1.31917	\$15.83			
325422	Manor Care @ Lely Palms	105499	15	15	16,607	249,105	\$1.31917	\$19.79			
325473	Manor Care Health Services	105965	13	13	18,953	246,389	\$1.31917	\$17.15			
325449	Manor Care Nursing and Rehabilitation Center	105421	11.5	11.5	21,158	243,317	\$1.31917	\$15.17			
256935	Manor Oaks Nursing & Rehabilitation Center	105205	14.5	14.5	14,126	204,827	\$1.31917	\$19.13			
254177	Manor Pines Convalescent Center	105089	11.5	11.5	19,567	225,021	\$1.31917	\$15.17			
325384	ManorCare Health Services	106020	13.5	13.5	12,659	170,897	\$1.31917	\$17.81			
325368	ManorCare Health Services (Boca Raton)	105481	5.5	0	40,720	-	\$1.31917	\$0.00			
325520	ManorCare Health Services (Delray Beach)	106005	20	20	14,742	294,840	\$1.31917	\$26.38			
325457	ManorCare Health Services (Plantation)	105519	12	12	19,688	236,256	\$1.31917	\$15.83			
325376	ManorCare Health Services-Boynton Beach	105496	11	11	30,084	330,924	\$1.31917	\$14.51			
325678	ManorCare Health Services-Carrollwood	105700	9.5	0	13,561	-	\$1.31917	\$0.00			
325686	Manor-Care Health Services-Dunedin	105436	19	19	20,829	395,751	\$1.31917	\$25.06			
325694	ManorCare Health Services-Palm Harbor	105708	17	17	26,594	452,098	\$1.31917	\$22.43			
325465	ManorCare Health Services-Sarasota	105454	6	0	32,259	-	\$1.31917	\$0.00			
325481	ManorCare Health Services-West Palm Beach	105911	7	0	19,546	-	\$1.31917	\$0.00			
325279	ManorCare Nursing and Rehabilitation Center	105307	15	15	16,544	248,160	\$1.31917	\$19.79			
017222	Margate Health And Rehabilitation Center	105505	16	16	34,302	548,832	\$1.31917	\$21.11			
203475	Marianna Health & Rehabilitation	105637	14	14	43,729	612,206	\$1.31917	\$18.47			
043878	Marshall Health and Rehabilitation Center	105631	4	0	32,123	-	\$1.31917	\$0.00			
226033	Martin Nursing and Restorative Care Center	105972	21.5	21.5	22,320	479,880	\$1.31917	\$28.36			
201588	Mary Lee Depugh Nursing Home Association Inc	105785	23	23	9,376	215,648	\$1.31917	\$30.34			
204072	Mease Continuing Care	105732	15	15	13,042	195,630	\$1.31917	\$19.79			
263524	Medicana Nursing And Rehab Center	105259	17.5	17.5	21,754	380,695	\$1.31917	\$23.09			
264547	Melbourne Terrace Rehabilitation Center	105635	17.5	17.5	12,724	222,670	\$1.31917	\$23.09			
201006	Memorial Manor	105668	21	21	16,075	337,575	\$1.31917	\$27.70			
229628	Menorah House	105685	11	11	25,426	279,686	\$1.31917	\$14.51			
263541	Metro West Nursing And Rehab Center	105868	11.5	11.5	28,344	325,956	\$1.31917	\$15.17			
200506	Miami Jewish Health Systems	105030	12	12	99,002	1,188,024	\$1.31917	\$15.83			
214035	MIAMI SHORES NURSING AND REHAB CENTER	105449	34	34	23,722	806,548	\$1.31917	\$44.85			



		Quality Per Diem	Add-On Calc	ulation				
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem
202941	Miracle Hill Nursing And Rehabilitation Centers, Inc.	105810	10.5	10.5	33,669	353,525	\$1.31917	\$13.85
326011	Moosehaven, Inc.	106077	16	16	5,582	89,312	\$1.31917	\$21.11
206431	Morton Plant Rehabilitation Center	105128	20	20	9,319	186,380	\$1.31917	\$26.38
263559	Moultrie Creek Nursing And Rehab Center	105548	16.5	16.5	17,724	292,446	\$1.31917	\$21.77
228001	North Beach Rehabilitation Center	105217	16	16	17,700	283,200	\$1.31917	\$21.11
103858	North Campus Rehabilitation and Nursing Center	105621	12	12	12,977	155,724	\$1.31917	\$15.83
132045	North Dade Nursing and Rehabilitation Center	105502	15	15	38,163	572,445	\$1.31917	\$19.79
043880	North Florida Rehabilitation and Specialty Care	105460	8	0	20,871	-	\$1.31917	\$0.00
325163	North Lake Rehabilitation and Health Center	105640	11.5	11.5	24,715	284,223	\$1.31917	\$15.17
227641	North Rehabilitation Center	105149	15	15	5,367	80,505	\$1.31917	\$19.79
156586	Northbrook Health and Rehabilitation Center	105606	13	13	24,400	317,200	\$1.31917	\$17.15
041324	NuVista Living at Hillsborough Lakes	106093	10	0	15,571	-	\$1.31917	\$0.00
038640	NuVista Living at Wellington Green	106091	7	0	7,428	-	\$1.31917	\$0.00
258342	Oak Manor Healthcare & Rehabilitation Center	105248	17.5	17.5	35,547	622,073	\$1.31917	\$23.09
130817	Oak View Rehabilitation Center	105586	10	0	29,363	-	\$1.31917	\$0.00
043841	Oakbridge Healthcare Center	105739	8.5	0	21,217	-	\$1.31917	\$0.00
006767	Oakbrook Health And Rehabilitation Center	105683	22.5	22.5	19,843	446,468	\$1.31917	\$29.68
251721	Oakhurst Center	105465	11.5	11.5	38,652	444,498	\$1.31917	\$15.17
263966	Oaks At Avon	105780	9.5	0	19,216	-	\$1.31917	\$0.00
005549	Oaks of Kissimmee	105379	26	26	11,458	297,908	\$1.31917	\$34.30
043843	Oaktree Healthcare	105665	13.5	13.5	18,937	255,650	\$1.31917	\$17.81
266124	Oasis Health and Rehabilitation Center	105659	15	15	30,917	463,755	\$1.31917	\$19.79
217395	Ocala Health And Rehabilitation Center	105321	10.5	10.5	42,880	450,240	\$1.31917	\$13.85
048611	Ocala Oaks Rehabilitation Center	105724	10	0	28,169	-	\$1.31917	\$0.00
226351	Ocean View Nursing & Rehabilitation Center LLC	105038	8	0	35,531	-	\$1.31917	\$0.00
212733	Oceanside Extended Care Center	105329	11	11	54,279	597,069	\$1.31917	\$14.51
103852	Ocoee Health Care Center	105706	12	12	26,235	314,820	\$1.31917	\$15.83
023067	Okeechobee Healthcare Facility	105484	20	20	48,956	979,120	\$1.31917	\$26.38
263567	Orange City Nursing And Rehab Center	105735	21	21	20,012	420,252	\$1.31917	\$27.70
207527	Orchard Park Health And Rehabilitation	105302	3	0	24,007	-	\$1.31917	\$0.00



	Quality Per Diem Add-On Calculation												
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem					
252689	Orchard Ridge	105438	14.5	14.5	27,611	400,360	\$1.31917	\$19.13					
223654	Orlando Health and Rehabilitation Center	105728	3	0	103,384		\$1.31917	\$0.00					
005219	Osceola Health Care Center	105734	8.5	0	24,590		\$1.31917	\$0.00					
092678	Osprey Point Nursing Center	106008	11	11	10,902	119,922	\$1.31917	\$14.51					
213900	Page Rehabilitation and Healthcare Center	105864	14.5	14.5	36,927	535,442	\$1.31917	\$19.13					
005811	Palatka Health Care Center	105652	3	0	42,983	-	\$1.31917	\$0.00					
263621	Palm City Nursing & Rehab Center	105831	11.5	11.5	20,798	239,177	\$1.31917	\$15.17					
098577	Palm Garden of Aventura	105610	7	0	22,009	-	\$1.31917	\$0.00					
098580	Palm Garden of Clearwater	105581	19	19	22,291	423,529	\$1.31917	\$25.06					
098581	Palm Garden of Gainesville	105571	17.5	17.5	18,477	323,348	\$1.31917	\$23.09					
098582	Palm Garden of Jacksonville	105682	6	0	28,946	-	\$1.31917	\$0.00					
098583	Palm Garden of Largo	105574	14	14	28,119	393,666	\$1.31917	\$18.47					
098584	Palm Garden of Ocala	105562	10	0	38,889	-	\$1.31917	\$0.00					
098586	Palm Garden of Orlando	105577	9	0	27,456	-	\$1.31917	\$0.00					
098587	Palm Garden of Pinellas	105733	12	12	26,916	322,992	\$1.31917	\$15.83					
098588	Palm Garden of Port Saint Lucie	105600	16	16	26,565	425,040	\$1.31917	\$21.11					
098589	Palm Garden of Sun City	105736	22	22	22,089	485,958	\$1.31917	\$29.02					
098590	Palm Garden of Tampa	105591	18	18	26,737	481,266	\$1.31917	\$23.74					
098591	Palm Garden of Vero Beach	105592	4.5	0	40,052	-	\$1.31917	\$0.00					
098592	Palm Garden of West Palm Beach	105607	12.5	12.5	39,047	488,088	\$1.31917	\$16.49					
098593	Palm Garden of Winter Haven	105566	11	11	25,950	285,450	\$1.31917	\$14.51					
282618	Palm Terrace of Clewiston	105462	9	0	34,909	-	\$1.31917	\$0.00					
282626	Palm Terrace of Lakeland	105354	19	19	37,874	719,606	\$1.31917	\$25.06					
282537	Palm Terrace Of St Petersburg	106033	17.5	17.5	25,312	442,960	\$1.31917	\$23.09					
324167	Palmetto Rehabilitation and Health Center	105575	19	19	15,720	298,680	\$1.31917	\$25.06					
212806	Palmetto Sub Acute Care Center Inc	105939	17.5	17.5	12,219	213,833	\$1.31917	\$23.09					
005385	Panama City Health And Rehabilitation Center	105152	19	19	32,108	610,052	\$1.31917	\$25.06					
227765	Park Meadows Health And Rehabilitation Center	105193	11	11	31,634	347,974	\$1.31917	\$14.51					
228401	Park Ridge Nursing Center	105813	11	11	25,584	281,424	\$1.31917	\$14.51					
317578	Parklands Rehabilitation and Nursing Center	105638	6	0	28,461	-	\$1.31917	\$0.00					



Quality Per Diem Add-On Calculation												
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem				
005547	Parkside Health And Rehabilitation Center	105145	19	19	33,124	629,356	\$1.31917	\$25.06				
324507	Peninsula Care and Rehabilitation Center	105451	11	11	27,930	307,230	\$1.31917	\$14.51				
252662	Pinebrook Center	105497	10	0	21,487	-	\$1.31917	\$0.00				
225754	Pinecrest Rehabilitation Center	105153	15	15	21,222	318,330	\$1.31917	\$19.79				
263486	Pinellas Point Nursing And Rehab Center	105878	15	15	14,650	219,750	\$1.31917	\$19.79				
155062	Pines Nursing Home	105057	6.5	0	12,789	-	\$1.31917	\$0.00				
202703	Pines of Sarasota	105147	9.5	0	43,496	-	\$1.31917	\$0.00				
043853	Plantation Bay Rehabilitation Center	105888	17	17	28,994	492,898	\$1.31917	\$22.43				
044975	Plantation Key Nursing Center	106092	5.5	0	11,154	-	\$1.31917	\$0.00				
226017	Plantation Nursing & Rehabilitation Center	105175	19	19	9,696	184,224	\$1.31917	\$25.06				
122232	Plaza West	105866	12.5	12.5	5,720	71,500	\$1.31917	\$16.49				
263923	Pompano Health and Rehabilitation Center	105572	14	14	31,630	442,820	\$1.31917	\$18.47				
308251	Ponce Plaza Nursing & Rehabilitation Center	106021	16	16	37,787	604,592	\$1.31917	\$21.11				
319325	Port Charlotte Rehabilitation Center	105524	6	0	18,872	-	\$1.31917	\$0.00				
263508	Port Orange Nursing And Rehab Center	105776	23	23	15,764	362,572	\$1.31917	\$30.34				
226009	Port St. Lucie Nursing And Restorative Care Center	105410	20.5	20.5	28,501	584,271	\$1.31917	\$27.04				
259331	Pruitthealth - Santa Rosa	106048	17	17	27,297	464,049	\$1.31917	\$22.43				
225274	Quality Health Of Fernandina Beach	105470	5	0	24,808	-	\$1.31917	\$0.00				
225053	Quality Health Of North Port	105523	14	14	24,846	347,844	\$1.31917	\$18.47				
225410	Quality Health Of Orange County	105518	13.5	13.5	21,701	292,964	\$1.31917	\$17.81				
223239	Regents Park at Aventura	105596	12	12	36,897	442,764	\$1.31917	\$15.83				
204170	Regents Park Nursing & Rehabilitation Center	105476	19	19	25,307	480,833	\$1.31917	\$25.06				
269727	Regents Park of Jacksonville	105533	12	12	26,618	319,416	\$1.31917	\$15.83				
269697	Regents Park of Sunrise	105679	7	0	28,167	-	\$1.31917	\$0.00				
269719	Regents Park of Winter Park	105618	6	0	22,164	-	\$1.31917	\$0.00				
263869	Rehab & Healthcare Center Of Cape Coral	105342	17	17	25,388	431,596	\$1.31917	\$22.43				
263940	Rehabilitation and Healthcare Center of Tampa	105234	5	0	37,856	-	\$1.31917	\$0.00				
104875	Rehabilitation Center at Park Place	105628	15.5	15.5	32,694	506,757	\$1.31917	\$20.45				
072054	Rehabilitation Center of St. Pete	105772	8.5	0	34,106	-	\$1.31917	\$0.00				
047787	Renaissance Health and Rehabilitation	105558	15.5	15.5	34,628	536,734	\$1.31917	\$20.45				



		Quality Per Diem	Add-On Cald	ulation				
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem
282464	Ridgecrest Nursing And Rehabilitation Center	106061	12	12	23,145	277,740	\$1.31917	\$15.83
043846	Rio Pinar Health Care	105564	8	0	44,703		\$1.31917	\$0.00
200859	River Garden Hebrew Home For The Aged	105016	29	29	36,315	1,053,135	\$1.31917	\$38.26
044889	River Valley Rehabilitation Center	105473	7	0	40,352	-	\$1.31917	\$0.00
005386	Riverchase Health And Rehabilitation Center	106043	22	22	34,056	749,232	\$1.31917	\$29.02
046758	Riverside Care Center	105432	15.5	15.5	37,119	575,345	\$1.31917	\$20.45
260673	Riverwood Center	105135	15	15	69,342	1,040,130	\$1.31917	\$19.79
122344	Riverwood Health & Rehabilitation Center	105488	8	0	27,601	-	\$1.31917	\$0.00
048807	Riviera Health Resort	106094	13.5	13.5	35,372	477,522	\$1.31917	\$17.81
263451	Riviera Palms Rehabilitation Center	105603	20	20	23,025	460,500	\$1.31917	\$26.38
227587	Rockledge Health And Rehabilitation Center	105251	17	17	15,324	260,508	\$1.31917	\$22.43
059869	Rosewood Health and Rehabilitation Center	105480	9.5	0	31,056	-	\$1.31917	\$0.00
017223	Rosewood Healthcare And Rehabilitation Center	105747	25.5	25.5	42,114	1,073,907	\$1.31917	\$33.64
324213	Royal Care of Avon Park	105812	7	0	17,072	-	\$1.31917	\$0.00
228575	Royal Oak Nursing Center	105385	15	15	27,226	408,390	\$1.31917	\$19.79
263583	Royal Oaks Nursing And Rehab Center	105793	18	18	16,419	295,542	\$1.31917	\$23.74
006489	Royal Palm Beach Health And Rehabilitation Center	105494	20	20	28,045	560,900	\$1.31917	\$26.38
260452	Ruleme Center	105855	14	14	29,898	418,572	\$1.31917	\$18.47
210951	Sabal Palms Health Care Center	105694	21.5	21.5	42,218	907,687	\$1.31917	\$28.36
006483	Salerno Bay Health And Rehabilitation Center	105509	22	22	26,222	576,884	\$1.31917	\$29.02
202606	Samantha Wilson Care Center	105816	12.5	12.5	16,698	208,725	\$1.31917	\$16.49
061102	San Jose Health and Rehabilitation Center	105531	11.5	11.5	30,904	355,396	\$1.31917	\$15.17
312045	SandalWood Nursing Center	105002	12	12	17,217	206,604	\$1.31917	\$15.83
220621	Sandy Ridge Health And Rehabilitation	105552	10	0	15,937	-	\$1.31917	\$0.00
220612	Santa Rosa Health & Rehabilitation Center	105328	16	16	27,867	445,872	\$1.31917	\$21.11
263982	Sarasota Health and Rehabilitation Center	105155	9.5	0	38,384	-	\$1.31917	\$0.00
260355	Sarasota Memorial Nursing And Rehabilitation Center	105584	27	27	13,624	367,848	\$1.31917	\$35.62
085643	Sarasota Point Rehabilitation Center	106102	9	0	7,260		\$1.31917	\$0.00
312550	Savannah Cove	105886	15	15	2,111	31,665	\$1.31917	\$19.79
312312	Savannah Cove	105875	11	11	3,556	39,116	\$1.31917	\$14.51



	Quality Per Diem Add-On Calculation												
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem					
059874	Sea Breeze Health Care	105391	9	0	28,800		\$1.31917	\$0.00					
005543	Seaside Health And Rehabilitation Center	105052	14	14	42,038	588,532	\$1.31917	\$18.47					
061107	SeaView Nursing and Rehabilitation Center	105258	16	16	23,971	383,536	\$1.31917	\$21.11					
122236	Seminole Pavilion Rehabilitation & Nursing Services	105412	15	15	14,594	218,910	\$1.31917	\$19.79					
033175	Seven Hills Health & Rehab Center	105364	15.5	15.5	37,878	587,109	\$1.31917	\$20.45					
229202	Shell Point Nursing Pavilion	105966	13.5	13.5	6,719	90,707	\$1.31917	\$17.81					
059852	Shoal Creek Rehabilitation Center	106028	15	15	28,433	426,495	\$1.31917	\$19.79					
324132	Shore Acres Rehabilitation & Health Center	105050	11	11	29,115	320,265	\$1.31917	\$14.51					
324426	Signature Healthcare at The Courtyard	105970	12.5	12.5	30,419	380,238	\$1.31917	\$16.49					
324400	Signature HealthCARE Center of Waterford	105554	16	16	50,954	815,264	\$1.31917	\$21.11					
324418	Signature Healthcare of Brookwood Gardens	105550	9.5	0	30,764	-	\$1.31917	\$0.00					
324370	Signature HealthCARE of College Park	105387	5	0	20,506	-	\$1.31917	\$0.00					
324388	Signature HealthCARE of Gainesville	105664	9	0	22,998	-	\$1.31917	\$0.00					
019284	Signature HealthCARE of Jacksonville	105287	10.5	10.5	39,825	418,163	\$1.31917	\$13.85					
324396	Signature Healthcare of North Florida	105662	13.5	13.5	40,807	550,895	\$1.31917	\$17.81					
324434	Signature HealthCARE of Orange Park	105381	8.5	0	21,620	-	\$1.31917	\$0.00					
324442	Signature HealthCARE of Ormond	105458	15	15	7,557	113,355	\$1.31917	\$19.79					
001136	Signature HealthCARE of Palm Beach	105466	12.5	12.5	18,602	232,525	\$1.31917	\$16.49					
324469	Signature Healthcare of Pinellas Park	105422	9	0	28,075	-	\$1.31917	\$0.00					
324477	Signature HealthCARE of Port Charlotte	105363	7	0	36,797	-	\$1.31917	\$0.00					
017230	Silvercrest Health And Rehabilitation Center	105612	20	20	14,892	297,840	\$1.31917	\$26.38					
260771	Sinai Plaza Nursing & Rehab Center	105711	13	13	34,385	447,005	\$1.31917	\$17.15					
162218	Solaris Healthcare Bayonet Point	105544	14	14	32,721	458,094	\$1.31917	\$18.47					
162219	Solaris Healthcare Charlotte Harbor	105859	12.5	12.5	30,842	385,525	\$1.31917	\$16.49					
162220	Solaris Healthcare Coconut Creek	105979	18	18	18,818	338,724	\$1.31917	\$23.74					
162221	Solaris Healthcare Daytona	105915	9	0	7,910	-	\$1.31917	\$0.00					
162222	Solaris Healthcare Imperial	105738	11.5	11.5	16,563	190,475	\$1.31917	\$15.17					
162224	Solaris Healthcare Lake City	105769	11	11	21,438	235,818	\$1.31917	\$14.51					
162225	Solaris Healthcare Merritt Island	105701	16	16	28,247	451,952	\$1.31917	\$21.11					
162228	Solaris Healthcare Parkway	105687	14	14	29,833	417,662	\$1.31917	\$18.47					



	Quality Per Diem Add-On Calculation Fodoral Total Quality Weighted Payment											
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem				
162230	Solaris Healthcare Pensacola	105561	12.5	12.5	31,617	395,213	\$1.31917	\$16.49				
162231	Solaris Healthcare Plant City	105515	16	16	40,571	649,136	\$1.31917	\$21.11				
162232	Solaris Healthcare Windermere	105960	16	16	15,570	249,120	\$1.31917	\$21.11				
162226	Solaris Senior Living North Naples	105790	7.5	0	7,494	-	\$1.31917	\$0.00				
072048	South Campus Rehabilitation & Nursing Center	105375	7.5	0	26,431	-	\$1.31917	\$0.00				
054789	South Dade Nursing and Rehabilitation Center	105500	9	0	46,646	-	\$1.31917	\$0.00				
226360	South Heritage Health & Rehabilitation Center	105117	20.5	20.5	16,163	331,342	\$1.31917	\$27.04				
311308	South Pointe Plaza Rehabilitation And Nursing Center	105229	15	15	55,016	825,240	\$1.31917	\$19.79				
224910	South Tampa Health and Rehabilitation Center	105491	9	0	40,494	-	\$1.31917	\$0.00				
324566	Southern Oaks Rehabilitation and Nursing Center	106051	10	0	58,916	-	\$1.31917	\$0.00				
019282	Southern Pines Healthcare Center	105275	18	18	22,338	402,084	\$1.31917	\$23.74				
017236	Specialty Health And Rehabilitation Center	105751	22	22	25,675	564,850	\$1.31917	\$29.02				
059877	Spring Hill Health and Rehabilitation Center	105996	15.5	15.5	18,252	282,906	\$1.31917	\$20.45				
264571	Spring Lake Rehabilitation Center	105730	13	13	11,174	145,262	\$1.31917	\$17.15				
267724	Springs At Boca Ciega Bay	105537	17	17	16,252	276,284	\$1.31917	\$22.43				
268780	Springs At Lake Pointe Woods	105567	11.5	11.5	22,749	261,614	\$1.31917	\$15.17				
225631	Springtree Rehabilitation & Health Care Center	105686	9	0	15,618	-	\$1.31917	\$0.00				
253014	Springwood Center	105407	5	0	32,102	-	\$1.31917	\$0.00				
217735	St Augustine Health And Rehabilitation Center	105315	2.5	0	27,285	-	\$1.31917	\$0.00				
310841	St Mark Village	105378	26	26	12,927	336,102	\$1.31917	\$34.30				
323799	St. Andrew's Bay Skilled Nursing and Rehabilitation	105543	15	15	22,991	344,865	\$1.31917	\$19.79				
209473	St. Anne's Nursing Center	105560	16.5	16.5	48,703	803,600	\$1.31917	\$21.77				
111543	St. Catherine Laboure Manor, Inc.	105358	14	14	49,302	690,228	\$1.31917	\$18.47				
015613	St. James Health And Rehabilitation Center	106081	19	19	22,212	422,028	\$1.31917	\$25.06				
205800	St. John's Nursing Center	105371	19	19	44,870	852,530	\$1.31917	\$25.06				
211010	Stratford Court Of Boca Raton	105851	14	14	5,592	78,288	\$1.31917	\$18.47				
059400	Stratford Court of Palm Harbor	105758	13	13	5,191	67,483	\$1.31917	\$17.15				
225991	Stuart Nursing & Restorative Care Center	105277	20	20	16,438	328,760	\$1.31917	\$26.38				
059783	Summer Brook Health Care Center	105138	18.5	18.5	35,714	660,709	\$1.31917	\$24.40				
209856	Sun Terrace Health Care Center	105319	14	14	8,316	116,424	\$1.31917	\$18.47				



Quality Per Diem Add-On Calculation												
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem				
320412	Sunbelt Health & Rehab Center - Apopka, Inc.	105782	12	12	21,864	262,368	\$1.31917	\$15.83				
202711	Sunnyside Nursing Home	106053	24	24	9,204	220,896	\$1.31917	\$31.66				
207497	Sunrise Health And Rehabilitation Center	105441	17	17	39,020	663,340	\$1.31917	\$22.43				
032551	Sunset Lake Health and Rehab Center	105761	11.5	11.5	17,259	198,479	\$1.31917	\$15.17				
253430	Sunset Point	105373	7	0	24,692	-	\$1.31917	\$0.00				
001135	Surrey Place Care Center	105597	11	11	11,144	122,584	\$1.31917	\$14.51				
256277	Surrey Place Healthcare and Rehabilitation	105629	22.5	22.5	6,767	152,258	\$1.31917	\$29.68				
268062	Susanna Wesley Health Center	105498	20	20	25,316	506,320	\$1.31917	\$26.38				
005387	Suwannee Health And Rehabilitation Center	105613	10	0	46,960	-	\$1.31917	\$0.00				
206300	Suwannee Valley Nursing Center	105825	18	18	18,848	339,264	\$1.31917	\$23.74				
122248	Sylvan Health Center	105744	18	18	4,086	73,548	\$1.31917	\$23.74				
213098	Tamarac Rehabilitation and Health Center	105360	16.5	16.5	19,107	315,266	\$1.31917	\$21.77				
080079	Tarpon Bayou Center	105280	8	0	31,854	-	\$1.31917	\$0.00				
323781	Tarpon Point Nursing and Rehabilitation Center	105702	8.5	0	26,959	-	\$1.31917	\$0.00				
207446	Taylor Care Center	105821	13	13	21,731	282,503	\$1.31917	\$17.15				
261611	Terra Vista Rehab And Health Center	105546	10	0	28,527	-	\$1.31917	\$0.00				
122346	Terrace Health & Rehabilitation Center	106046	16.5	16.5	20,361	335,957	\$1.31917	\$21.77				
325031	Terraces of Lake Worth Rehab and Health Center	105125	11.5	11.5	27,580	317,170	\$1.31917	\$15.17				
309800	The Allegro At College Harbor	105959	13	13	5,340	69,420	\$1.31917	\$17.15				
324485	The Bridge at Bay St. Joe	105435	7	0	27,918	-	\$1.31917	\$0.00				
072320	The Club Health and Rehab Center at the Villages	106095	18	18	1	18	\$1.31917	\$23.74				
318795	The Court At Palm Aire	105627	16.5	16.5	7,264	119,856	\$1.31917	\$21.77				
102592	The Crossings	105835	16	16	14,660	234,560	\$1.31917	\$21.11				
102586	The Crossroads	105777	21	21	10,539	221,319	\$1.31917	\$27.70				
146222	The Floridean Nursing and Rehabilitation Center	106007	16.5	16.5	11,870	195,855	\$1.31917	\$21.77				
212393	The Fountains Nursing Home Inc	105101	21	21	6,485	136,185	\$1.31917	\$27.70				
228320	The Gardens Court	105921	21	21	14,558	305,718	\$1.31917	\$27.70				
122342	The Gardens Health & Rehabilitation Center	105822	6	0	19,672	-	\$1.31917	\$0.00				
080062	The Groves Center	105269	9.5	0	28,778	-	\$1.31917	\$0.00				
043863	The Health and Rehabilitation Centre at Dolphins View	105012	12.5	12.5	9,774	122,175	\$1.31917	\$16.49				



Quality Per Diem Add-On Calculation												
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem				
022994	The Home Association, Inc.	105725	18	18	22,072	397,296	\$1.31917	\$23.74				
227773	The Lodge Health and Rehabilitation Center	105196	21.5	21.5	17,404	374,186	\$1.31917	\$28.36				
135581	The Manor at Blue Water Bay	105784	15.5	15.5	16,768	259,904	\$1.31917	\$20.45				
203599	The Manor at Carpenter's	105660	16.5	16.5	4,224	69,696	\$1.31917	\$21.77				
122250	The Nursing Center at Freedom Village	105655	11	11	12,462	137,082	\$1.31917	\$14.51				
267902	The Nursing Center at Mercy	105873	15	15	5,532	82,980	\$1.31917	\$19.79				
259462	The Nursing Center at University Village	105677	6.5	0	19,241	-	\$1.31917	\$0.00				
101391	The Oaks of Clearwater	105323	8	0	13,248	-	\$1.31917	\$0.00				
203327	The Palace at Kendall Nursing and Rehab Center	105719	21.5	21.5	31,086	668,349	\$1.31917	\$28.36				
252671	The Palms of Sebring	105037	12	12	17,970	215,640	\$1.31917	\$15.83				
043847	The Palms Rehabilitation and Healthcare Center	105985	15.5	15.5	27,664	428,792	\$1.31917	\$20.45				
321532	The Palms Rehabilitation and Nursing Center	105336	8.5	0	29,232	-	\$1.31917	\$0.00				
018066	The Park Summit at Coral Springs	105503	14	14	4,075	57,050	\$1.31917	\$18.47				
043850	The Parks Healthcare and Rehabilitation Center	105471	10	0	29,371	-	\$1.31917	\$0.00				
129312	The Pavilion for Health Care	106096	16.5	16.5	1,594	26,301	\$1.31917	\$21.77				
207799	The Ponce Therapy Care Center	105468	10	0	27,256	-	\$1.31917	\$0.00				
263915	The Rehabilitation Center Of The Palm Beaches	105039	18	18	23,944	430,992	\$1.31917	\$23.74				
005380	The Rehabilitation Center of Winter Park	105430	13	13	34,639	450,307	\$1.31917	\$17.15				
202533	The Rohr Home	105823	20.5	20.5	15,944	326,852	\$1.31917	\$27.04				
148040	The Terrace at Hobe Sound	105300	10	0	25,010	-	\$1.31917	\$0.00				
108507	The Terrace of Jacksonville	105423	15	15	33,811	507,165	\$1.31917	\$19.79				
100487	The Terrace of Kissimmee	105839	7	0	26,612	-	\$1.31917	\$0.00				
102419	The Terrace of St. Cloud	105528	10	0	28,469	-	\$1.31917	\$0.00				
205460	The Village On High Ridge	105827	11	11	7,526	82,786	\$1.31917	\$14.51				
158851	The Villages Rehabilitation and Nursing Center	106099	10.5	10.5	10,268	107,814	\$1.31917	\$13.85				
206610	The Waterford	105404	18	18	1,827	32,886	\$1.31917	\$23.74				
260568	Tierra Pines Center	105398	11.5	11.5	33,844	389,206	\$1.31917	\$15.17				
263532	Tiffany Hall Nursing And Rehab Center	105819	19	19	21,021	399,399	\$1.31917	\$25.06				
203335	TimberRidge Nursing & Rehab Center	105717	9	0	27,852	-	\$1.31917	\$0.00				
263974	Titusville Rehabilitation and Nursing Center	105448	6.5	0	38,347	-	\$1.31917	\$0.00				



Quality Per Diem Add-On Calculation												
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem				
213934	TMH Skilled Nursing Facility	105158	18	18	448	8,064	\$1.31917	\$23.74				
226602	Treasure Isle Care Center	105408	18	18	50,098	901,764	\$1.31917	\$23.74				
204625	Tri-County Nursing Home	105770	10	0	18,366	-	\$1.31917	\$0.00				
101961	Trinity Regional Rehab Center	106079	21.5	21.5	21,281	457,542	\$1.31917	\$28.36				
263591	Tuskawilla Nursing And Rehab Center	105872	26.5	26.5	10,286	272,579	\$1.31917	\$34.96				
032482	Unity Health and Rehab Center	105510	17	17	85,415	1,452,055	\$1.31917	\$22.43				
041686	University Center East	105262	7.5	0	14,757	-	\$1.31917	\$0.00				
041685	University Center West	105261	6.5	0	16,812	-	\$1.31917	\$0.00				
060993	University Hills Health and Rehabilitation	105445	11.5	11.5	32,742	376,533	\$1.31917	\$15.17				
082204	University Plaza Rehabilitation & Nursing Center	106100	17	17	21,188	360,196	\$1.31917	\$22.43				
265560	Valencia Hills Health and Rehabilitation Center	105301	16.5	16.5	60,663	1,000,940	\$1.31917	\$21.77				
213837	Vi at Lakeside Village	105968	15.5	15.5	761	11,796	\$1.31917	\$20.45				
046128	Victoria Nursing and Rehabilitation Center, Inc.	106031	17.5	17.5	58,683	1,026,953	\$1.31917	\$23.09				
110482	Viera Health & Rehabilitation Center	105885	27	27	12,194	329,238	\$1.31917	\$35.62				
122347	Villa Health & Rehabilitation Center	105930	8	0	24,439	-	\$1.31917	\$0.00				
203165	Villa Maria Nursing Center	105232	23	23	51,614	1,187,122	\$1.31917	\$30.34				
210463	Village on the Isle	105472	25	25	5,394	134,850	\$1.31917	\$32.98				
002400	Village Place Health and Rehab Center	106072	7	0	17,440	-	\$1.31917	\$0.00				
061109	Vista Manor	105530	13.5	13.5	25,443	343,481	\$1.31917	\$17.81				
211052	W Frank Wells Nursing Home	105210	12	12	16,553	198,636	\$1.31917	\$15.83				
324353	Washington Rehabilitation & Nursing Center	105727	15	15	47,395	710,925	\$1.31917	\$19.79				
213152	Waters Edge Extended Care	105828	15	15	2,107	31,605	\$1.31917	\$19.79				
005519	Wave Crest Health and Rehabilitation Center	105207	10	0	31,301	-	\$1.31917	\$0.00				
043867	Wedgewood Healthcare Center	106002	10	0	18,291	-	\$1.31917	\$0.00				
253464	West Bay Of Tampa	105419	9.5	0	26,974	-	\$1.31917	\$0.00				
026536	West Broward Rehabilitation and Healthcare	105237	20.5	20.5	25,842	529,761	\$1.31917	\$27.04				
282359	West Gables Health Care Center	105623	18	18	11,573	208,314	\$1.31917	\$23.74				
218171	West Jacksonville Health and Rehabilitation Center	105707	9.5	0	25,155	-	\$1.31917	\$0.00				
217727	West Melbourne Health & Rehabilitation Center	105376	11.5	11.5	35,696	410,504	\$1.31917	\$15.17				
202011	Westchester Gardens Rehabilitation & Care Center	105654	20	20	18,571	371,420	\$1.31917	\$26.38				



	C	uality Per Diem	Add-On Calc	ulation				
Medicaid ID	Provider Name	Federal Provider Number	Total Quality Score	Quality Score with Lower Limit	Annualized Medicaid Days	Weighted Facility Score	Payment Per Quality Point	Quality Add- on Per Diem
209422	Westminster Communities Of Bradenton Westminster Manor	105919	13.5	13.5	10,821	146,084	\$1.31917	\$17.81
200409	Westminster Oaks	105854	12	12	14,735	176,820	\$1.31917	\$15.83
212709	Westminster Suncoast	105926	9.5	0	21,668		\$1.31917	\$0.00
208540	Westminster Towers	105757	11.5	11.5	20,926	240,649	\$1.31917	\$15.17
203815	Westminster Towers And Shores Of Bradenton	106030	16.5	16.5	17,896	295,284	\$1.31917	\$21.77
212083	Westminster Woods on Julington Creek	105901	15	15	3,408	51,120	\$1.31917	\$19.79
103475	Westwood Nursing & Rehabilitation Center	105395	19	19	7,349	139,631	\$1.31917	\$25.06
266612	Whispering Oaks	105299	15	15	70,645	1,059,675	\$1.31917	\$19.79
088601	Whitehall Boca Raton	105506	14.5	14.5	8,116	117,682	\$1.31917	\$19.13
317586	Williston Rehabilitation and Nursing Center	105467	0.5	0	30,643	-	\$1.31917	\$0.00
096150	Willowbrooke Court at Azalea Trace	105444	12	12	3,715	44,580	\$1.31917	\$15.83
206521	Willowbrooke Court At St Andrews Estates	105355	9	0	4,620	-	\$1.31917	\$0.00
227579	Wilton Manors Health & Rehabilitation Center	105119	14.5	14.5	24,384	353,568	\$1.31917	\$19.13
006340	Windsor Health And Rehabilitation Center	105696	22	22	26,459	582,098	\$1.31917	\$29.02
263991	Windsor Woods Rehab And Healthcare Center	105568	7	0	20,030	-	\$1.31917	\$0.00
264008	Winkler Court	105882	17	17	31,125	529,125	\$1.31917	\$22.43
228702	Winter Haven Health And Rehabilitation Center	105176	6	0	36,684	-	\$1.31917	\$0.00
324515	Winter Park Care and Rehabilitation Center	105332	8	0	20,812	-	\$1.31917	\$0.00
209848	Winter Park Towers	105879	12	12	13,071	156,852	\$1.31917	\$15.83
047788	Wood Lake Nursing and Rehabilitation Center	105611	15	15	31,267	469,005	\$1.31917	\$19.79
324141	Woodbridge Rehabilitation & Health Center	105426	6.5	0	30,456	-	\$1.31917	\$0.00
122341	Woodland Grove Health & Rehabilitation Center	106058	8.5	0	24,586	-	\$1.31917	\$0.00
008793	Woods of Manatee Springs	105525	17	17	27,809	472,753	\$1.31917	\$22.43
254762	Wrights Healthcare And Rehabilitation Center	105849	10	0	9,096	-	\$1.31917	\$0.00
212164	Ybor City Healthcare and Rehabilitation Center	105891	27	27	20,007	540,189	\$1.31917	\$35.62
320391	Zephyr Haven Health & Rehab Center, Inc.	105658	12.5	12.5	31,509	393,863	\$1.31917	\$16.49
320404	Zephyrhills Health & Rehab Center, Inc.	105986	16	16	17,794	284,704	\$1.31917	\$21.11



18 Appendix H – Final Pricing Model – Results by Facility

Figure 27 shows the modelled new NPPS per diem component values for each facility.

Figure 27 . Proposed new per diem components by facility.

Proposed New Per Diem Components by Facility												
Facility Medicaid ID	Facility Name	Region Grouping	Quality Score	Direct Care Rate	Indirect Care Rate	Operation Rate	FRVS Rate	Quality Incentive Add-On Per Diem	Ventilator Care Add- On Per Diem	Provider Assessment Per Diem	Pass Through Per Diem (Taxes and Insurance)	Final Per Diem
205745	Abbey Delray	North	15	\$106.94	\$31.41	\$44.43	\$10.79	\$19.79	\$0.00	\$0.00	\$3.84	\$217.18
206865	Abbey Delray South	North	18	\$106.94	\$31.41	\$44.43	\$7.64	\$23.74	\$0.00	\$0.00	\$2.74	\$216.90
263958	Abbey Rehabilitation and Nursing Center	North	9	\$106.94	\$31.41	\$44.43	\$5.23	\$0.00	\$0.00	\$20.41	\$4.66	\$213.06
268755	Abbiejean Russell Care Center LLC	North	11.5	\$106.94	\$31.41	\$44.43	\$16.91	\$15.17	\$0.00	\$20.39	\$7.63	\$242.87
005826	Accentia Health & Rehab. Center of Tampa	North	10	\$106.94	\$31.41	\$44.43	\$7.51	\$0.00	\$0.00	\$3.77	\$1.91	\$195.96
324094	Advanced Rehabilitation & Health Center	North	14	\$106.94	\$31.41	\$44.43	\$7.71	\$18.47	\$0.00	\$20.16	\$4.13	\$233.24
320439	Adventist Care Centers - Courtland, Inc.	North	12	\$106.94	\$31.41	\$44.43	\$17.48	\$15.83	\$0.00	\$16.74	\$0.21	\$233.03
261254	Alhambra Health and Rehabilitation Center	North	17	\$106.94	\$31.41	\$44.43	\$6.91	\$22.43	\$0.00	\$14.77	\$2.71	\$229.59
227251	Alpine Health and Rehabilitation Center	North	17.5	\$106.94	\$31.41	\$44.43	\$6.85	\$23.09	\$0.00	\$21.44	\$4.59	\$238.73
324451	Anchor Care & Rehabilitation Center	North	10	\$97.22	\$28.23	\$44.43	\$8.86	\$0.00	\$0.00	\$19.67	\$1.64	\$200.05
227633	Apollo Health and Rehabilitation Center	North	12	\$106.94	\$31.41	\$44.43	\$6.86	\$15.83	\$0.00	\$15.19	\$2.62	\$223.27
263478	Arbor Trail Rehab and Skilled Nursing Center	North	13	\$101.08	\$27.31	\$44.43	\$9.88	\$17.15	\$0.00	\$16.92	\$3.51	\$220.27
325040	Arbor Village Nursing Center	North	9	\$106.94	\$31.41	\$44.43	\$13.57	\$0.00	\$0.00	\$17.52	\$3.64	\$217.50
100509	Arcadia Health & Rehabilitation Center	North	21	\$106.94	\$31.41	\$44.43	\$9.79	\$27.70	\$0.00	\$17.06	\$1.73	\$239.05
254291	Arch Plaza Nursing & Rehabilitation Center	South	17	\$115.09	\$34.44	\$50.36	\$7.54	\$22.43	\$0.00	\$20.51	\$2.46	\$252.82
103165	Astoria Health & Rehabilitation Center	North	14	\$106.94	\$31.41	\$44.43	\$21.15	\$18.47	\$0.00	\$13.85	\$2.62	\$238.86
310581	Atlantic Healthcare Center	North	11	\$101.30	\$31.41	\$44.43	\$6.66	\$14.51	\$0.00	\$17.16	\$2.93	\$218.39
263389	Atlantic Shores Nursing and Rehab Center	North	8	\$106.94	\$30.54	\$44.43	\$13.43	\$0.00	\$0.00	\$17.32	\$2.59	\$215.25
261629	Avalon Healthcare Center	North	3.5	\$99.90	\$31.41	\$44.43	\$10.06	\$0.00	\$0.00	\$20.57	\$2.94	\$209.30
210676	Avante at Boca Raton Inc.	North	16	\$106.94	\$31.41	\$44.43	\$16.22	\$21.11	\$24.52	\$17.75	\$4.63	\$266.98
203220	Avante at Inverness	North	8.5	\$106.94	\$31.41	\$44.43	\$6.98	\$0.00	\$0.00	\$19.59	\$2.72	\$212.05
203238	Avante at Lake Worth	North	15.5	\$106.94	\$31.41	\$44.43	\$7.97	\$20.45	\$10.39	\$18.61	\$4.43	\$244.62
203122	Avante at Leesburg, Inc.	North	10	\$106.94	\$31.41	\$44.43	\$8.18	\$0.00	\$0.00	\$20.12	\$1.63	\$212.70
252018	Avante at Melbourne Inc	North	4	\$106.94	\$31.41	\$44.43	\$6.73	\$0.00	\$5.33	\$18.00	\$2.14	\$214.96
252042	Avante at Mt Dora Inc	North	13.5	\$106.94	\$31.41	\$44.43	\$6.56	\$17.81	\$0.00	\$14.02	\$1.62	\$222.78
005701	Avante at Ocala	North	16.5	\$106.94	\$31.41	\$44.43	\$14.89	\$21.77	\$18.44	\$15.99	\$2.44	\$256.29
223808	Avante at Orlando Inc.	North	8	\$106.94	\$31.41	\$44.43	\$6.37	\$0.00	\$9.56	\$19.87	\$2.00	\$220.57
252034	Avante at Ormond Beach Inc	North	11	\$106.94	\$31.41	\$44.43	\$6.95	\$14.51	\$13.73	\$18.01	\$1.67	\$237.65
259870	Avante at St Cloud Inc	North	16	\$106.94	\$31.41	\$44.43	\$6.41	\$21.11	\$0.00	\$20.26	\$2.32	\$232.86
200913	Avante Villa at Jacksonville Beach Inc	North	12	\$106.94	\$31.41	\$44.43	\$11.36	\$15.83	\$8.94	\$18.74	\$3.35	\$240.99
284823	Aventura Plaza Rehabilitation & Nursing Center	South	12.5	\$115.09	\$34.44	\$50.36	\$12.96	\$16.49	\$0.00	\$21.75	\$1.21	\$252.30
227871	Ayers Health and Rehabilitation Center	North	19.5	\$101.65	\$25.21	\$44.43	\$7.57	\$25.72	\$0.00	\$17.96	\$3.22	\$225.76
140648	Bartow Center	North	7.5	\$101.20	\$31.41	\$44.43	\$6.95	\$0.00	\$0.00	\$19.70	\$2.26	\$205.95
086990	Bartram Crossing	North	17.5	\$106.94	\$31.41	\$44.43	\$21.81	\$23.09	\$0.00	\$8.88	\$1.06	\$237.60
043835	Bay Breeze Health and Rehabilitation Center	North	7	\$103.71	\$26.08	\$44.43	\$9.44	\$0.00	\$0.00	\$21.95	\$2.77	\$208.38



	Proposed New Per Diem Components by Facility												
Facility Medicaid ID	Facility Name	Region Grouping	Quality Score	Direct Care Rate	Indirect Care Rate	Operation Rate	FRVS Rate	Quality Incentive Add-On Per Diem	Ventilator Care Add- On Per Diem	Provider Assessment Per Diem	Pass Through Per Diem (Taxes and Insurance)	Final Per Diem	
017225	Bay Breeze Senior Living and Rehabilitation Center	North	17.5	\$106.94	\$31.41	\$44.43	\$9.96	\$23.09	\$0.00	\$18.86	\$1.36	\$236.03	
128848	Bay Center	North	13	\$105.27	\$31.41	\$44.43	\$6.34	\$17.15	\$0.00	\$21.44	\$2.37	\$228.40	
263834	Bay Pointe Nursing Pavilion	North	8	\$99.65	\$31.41	\$44.43	\$8.83	\$0.00	\$0.00	\$20.60	\$3.76	\$208.67	
253448	Bay Tree Center	North	3	\$106.94	\$28.86	\$44.43	\$14.14	\$0.00	\$0.00	\$20.84	\$1.40	\$216.61	
018777	Bay Village of Sarasota	North	18	\$106.94	\$31.41	\$44.43	\$16.47	\$23.74	\$0.00	\$0.00	\$1.08	\$224.06	
147672	Bay Vue Nursing and Rehabilitation Center	North	16	\$106.94	\$31.41	\$44.43	\$8.97	\$21.11	\$0.00	\$20.03	\$4.19	\$237.06	
092681	Baya Pointe Nursing and Rehabilitation Center	North	10	\$101.36	\$31.41	\$44.43	\$13.92	\$0.00	\$0.00	\$16.09	\$4.29	\$211.50	
263575	Bayshore Pointe Nursing and Rehab Center	North	19.5	\$106.94	\$31.41	\$44.43	\$14.87	\$25.72	\$0.00	\$14.95	\$3.68	\$241.98	
017221	Bayside Health and Rehabilitation Center	North	17	\$106.94	\$31.41	\$44.43	\$10.98	\$22.43	\$0.00	\$19.86	\$1.85	\$237.88	
324108	Bayside Rehabilitation & Health Center	North	5.5	\$106.94	\$31.41	\$44.43	\$10.91	\$0.00	\$0.77	\$19.95	\$5.36	\$219.77	
260444	Bayview Center	North	13.5	\$106.94	\$31.41	\$44.43	\$6.91	\$17.81	\$0.00	\$22.05	\$2.84	\$232.37	
316652	Baywood Nursing Center	North	6	\$106.94	\$26.95	\$44.43	\$5.36	\$0.00	\$0.00	\$23.11	\$0.78	\$207.55	
228567	Bear Creek Nursing Center	North	19.5	\$102.75	\$29.69	\$44.43	\$8.00	\$25.72	\$0.00	\$14.88	\$2.34	\$227.81	
264521	Belleair Health Care Center	North	11	\$106.94	\$31.41	\$44.43	\$9.33	\$14.51	\$0.00	\$14.48	\$3.51	\$224.60	
033717	Benderson Family Skilled Nursing & Rehab Center	North	12.5	\$106.94	\$31.41	\$44.43	\$23.41	\$16.49	\$0.00	\$0.00	\$2.46	\$225.14	
043857	Beneva Lakes Healthcare and Rehabilitation Center	North	13.5	\$106.94	\$26.92	\$44.43	\$8.67	\$17.81	\$0.00	\$20.95	\$2.44	\$228.15	
208442	Bernard L Samson Nursing Center	North	14	\$106.94	\$31.41	\$44.43	\$12.40	\$18.47	\$0.00	\$19.18	\$1.23	\$234.04	
209511	Bishops Glen Retirement Center	North	20	\$106.94	\$31.41	\$44.43	\$10.78	\$26.38	\$0.00	\$20.80	\$5.98	\$246.72	
022987	Blountstown Health and Rehabilitation Center	North	16	\$100.33	\$31.41	\$44.43	\$15.61	\$21.11	\$0.00	\$21.23	\$2.54	\$236.65	
143762	Boca Ciega Center	North	5	\$106.94	\$31.41	\$44.43	\$4.64	\$0.00	\$0.00	\$21.66	\$2.52	\$211.58	
263842	Boca Raton Rehabilitation Center	North	7	\$103.55	\$31.41	\$44.43	\$4.70	\$0.00	\$0.00	\$15.56	\$4.81	\$204.45	
200107	Bon Secours Maria Manor Nursing Care Center	North	19	\$106.94	\$31.41	\$44.43	\$8.30	\$25.06	\$0.00	\$4.04	\$0.48	\$220.65	
263443	Bonifay Nursing and Rehab Center	North	10	\$95.77	\$22.37	\$44.43	\$9.93	\$0.00	\$0.00	\$21.13	\$2.01	\$195.64	
263613	Boulevard Rehabilitation Center	North	12	\$106.94	\$28.41	\$44.43	\$11.50	\$15.83	\$0.00	\$16.21	\$3.57	\$226.89	
263460	Boynton Beach Rehabilitation Center	North	10	\$106.94	\$26.44	\$44.43	\$19.70	\$0.00	\$0.00	\$19.30	\$4.41	\$221.20	
005814	Boynton Health Care Center	North	23	\$106.94	\$31.41	\$44.43	\$18.03	\$30.34	\$0.00	\$14.25	\$3.93	\$249.31	
073324	Braden River Rehabilitation Center, LLC	North	15.5	\$106.94	\$27.99	\$44.43	\$7.00	\$20.45	\$0.00	\$19.30	\$2.64	\$228.73	
043859	Bradenton Health Care	North	15.5	\$99.19	\$31.41	\$44.43	\$12.69	\$20.45	\$0.44	\$15.64	\$3.48	\$227.73	
043860	Brandon Health and Rehabilitation Center	North	15	\$93.37	\$31.41	\$44.43	\$12.40	\$19.79	\$0.00	\$10.93	\$3.43	\$215.75	
251399	Brandywyne Health Care Center	North	8	\$99.62	\$27.63	\$44.43	\$14.08	\$0.00	\$0.00	\$23.33	\$1.96	\$211.04	
260371	Bridgeview Center	North	14	\$106.94	\$31.41	\$44.43	\$5.86	\$18.47	\$0.00	\$22.87	\$2.74	\$232.70	
284793	Brighton Gardens of Tampa	North	16	\$106.94	\$31.41	\$44.43	\$13.13	\$21.11	\$0.00	\$0.00	\$3.64	\$220.65	
319376	Brookdale Atrium Way 2	North	8	\$106.94	\$29.57	\$44.43	\$8.82	\$0.00	\$0.00	\$13.91	\$2.85	\$206.51	
319244	Brookdale Palmer Ranch SNF	North	11	\$106.94	\$31.41	\$44.43	\$18.86	\$14.51	\$0.00	\$16.83	\$2.90	\$235.87	
228958	Brooksville Healthcare Center	North	20	\$99.49	\$27.35	\$44.43	\$5.78	\$26.38	\$1.67	\$18.20	\$2.24	\$225.54	
226335	Broward Nursing & Rehabilitation Center	South	10.5	\$115.09	\$33.03	\$50.36	\$7.22	\$13.85	\$0.00	\$20.11	\$3.94	\$243.60	
005381	Brynwood Health and Rehabilitation Center	North	21.5	\$106.94	\$31.41	\$44.43	\$9.16	\$28.36	\$0.00	\$22.47	\$1.84	\$244.60	
059369	Calusa Harbour	North	14.5	\$106.94	\$31.41	\$44.43	\$9.21	\$19.13	\$0.00	\$11.50	\$1.50	\$224.11	
022138	Carlton Shores Health and Rehab Center	North	23	\$106.94	\$31.41	\$44.43	\$10.38	\$30.34	\$0.00	\$13.74	\$3.65	\$240.88	
101959	Carrington Place of St. Pete	North	13	\$104.23	\$31.41	\$44.43	\$8.34	\$17.15	\$0.00	\$20.56	\$4.19	\$230.29	
263877	Carrollwood Care Center	North	8	\$101.00	\$31.41	\$44.43	\$9.42	\$0.00	\$2.39	\$18.56	\$2.98	\$210.17	
263885	Casa Mora Rehabilitation and Extended Care	North	14	\$106.05	\$31.41	\$44.43	\$8.95	\$18.47	\$0.00	\$4.02	\$4.05	\$217.37	
226068	Cathedral Gerontology Center Inc	North	14	\$106.94	\$27.28	\$44.43	\$20.97	\$18.47	\$0.00	\$20.71	\$1.32	\$240.11	
202789	Center for Health Care of the Alliance Community	North	8	\$106.94	\$31.41	\$44.43	\$10.90	\$0.00	\$0.00	\$0.00	\$1.88	\$195.55	
043856	Central Park Healthcare and Rehabilitation Center	North	13	\$106.94	\$31.41	\$44.43	\$10.17	\$17.15	\$7.72	\$17.02	\$2.13	\$236.96	



			Prop	osed New Pe	er Diem Com	ponents by Fa	cility					
Facility Medicaid ID	Facility Name	Region Grouping	Quality Score	Direct Care Rate	Indirect Care Rate	Operation Rate	FRVS Rate	Quality Incentive Add-On Per Diem	Ventilator Care Add- On Per Diem	Provider Assessment Per Diem	Pass Through Per Diem (Taxes and Insurance)	Final Per Diem
264563	Centre Pointe Health and Rehab Center	North	18.5	\$106.94	\$31.41	\$44.43	\$8.27	\$24.40	\$0.00	\$11.73	\$3.26	\$230.43
220604	Century Health and Rehabilitation Center	North	9.5	\$106.94	\$31.41	\$44.43	\$14.10	\$0.00	\$0.00	\$21.32	\$2.18	\$220.36
324361	Chautauqua Rehabilitation & Nursing Center	North	13.5	\$94.89	\$31.41	\$44.43	\$8.40	\$17.81	\$0.00	\$18.84	\$1.26	\$217.04
005383	Chipola Health and Rehabilitation Center	North	21	\$105.01	\$31.41	\$44.43	\$10.33	\$27.70	\$0.00	\$19.13	\$1.07	\$239.08
257419	Citrus Health and Rehabilitation Center	North	9.5	\$106.94	\$31.41	\$44.43	\$12.16	\$0.00	\$2.02	\$18.34	\$1.54	\$216.82
122340	Citrus Hills Health & Rehabilitation Center	North	9	\$106.94	\$31.41	\$44.43	\$16.33	\$0.00	\$0.00	\$19.51	\$4.63	\$223.24
208507	Claridge House Nursing & Rehabilitation Center	South	14	\$115.09	\$33.15	\$50.36	\$7.75	\$18.47	\$1.67	\$4.15	\$5.13	\$235.75
140643	Clearwater Center	North	8	\$106.94	\$31.41	\$44.43	\$5.49	\$0.00	\$0.00	\$22.51	\$3.23	\$214.00
221465	Clermont Health and Rehabilitation Center	North	6.5	\$101.45	\$31.41	\$44.43	\$6.11	\$0.00	\$0.00	\$20.77	\$1.63	\$205.79
021261	Coastal Health and Rehabilitation Center	North	13	\$101.38	\$31.41	\$44.43	\$11.58	\$17.15	\$0.00	\$22.10	\$1.84	\$229.88
043854	Colonial Lakes Health Care	North	12	\$86.19	\$22.96	\$44.43	\$9.09	\$15.83	\$0.00	\$20.98	\$1.86	\$201.33
205796	Commons at Orlando Lutheran Towers	North	21.5	\$106.94	\$31.41	\$44.43	\$8.42	\$28.36	\$0.00	\$0.00	\$1.86	\$221.41
103425	Community Convalescent Center	North	10	\$100.45	\$31.41	\$44.43	\$4.46	\$0.00	\$0.00	\$19.49	\$2.74	\$202.97
098972	Community Health and Rehabilitation Center	North	14	\$106.94	\$31.41	\$44.43	\$9.71	\$18.47	\$0.00	\$18.76	\$2.20	\$231.91
200956	Comprehensive Healthcare of Clearwater	North	6	\$106.94	\$31.41	\$44.43	\$7.91	\$0.00	\$16.08	\$18.49	\$3.23	\$228.48
251666	Concordia Manor	North	19.5	\$100.45	\$31.41	\$44.43	\$5.03	\$25.72	\$0.00	\$0.00	\$4.67	\$211.71
080431	Consulate Health Care at West Altamonte	North	6	\$89.04	\$30.30	\$44.43	\$13.81	\$0.00	\$0.00	\$17.05	\$2.98	\$197.61
080374	Consulate Health Care of Bayonet Point	North	7	\$89.33	\$31.41	\$44.43	\$13.68	\$0.00	\$0.00	\$16.14	\$2.84	\$197.82
080377	Consulate Health Care of Brandon	North	12	\$87.90	\$29.16	\$44.43	\$15.57	\$15.83	\$2.03	\$16.30	\$3.27	\$214.48
080384	Consulate Health Care of Jacksonville	North	14	\$97.18	\$31.41	\$44.43	\$16.13	\$18.47	\$0.00	\$17.86	\$3.47	\$228.94
080387	Consulate Health Care of Kissimmee	North	19	\$94.03	\$27.26	\$44.43	\$15.06	\$25.06	\$0.00	\$17.40	\$2.94	\$226.17
080393	Consulate Health Care of Lake Parker	North	7	\$88.37	\$28.29	\$44.43	\$12.41	\$0.00	\$0.00	\$18.98	\$2.26	\$194.74
080391	Consulate Health Care of Lakeland	North	15	\$85.57	\$28.11	\$44.43	\$11.66	\$19.79	\$1.07	\$20.50	\$2.92	\$214.03
080394	Consulate Health Care of Melbourne	North	10	\$89.74	\$31.41	\$44.43	\$16.55	\$0.00	\$2.85	\$17.79	\$2.79	\$205.55
080397	Consulate Health Care of New Port Richey	North	13	\$87.41	\$25.08	\$44.43	\$13.56	\$17.15	\$0.00	\$20.50	\$2.80	\$210.92
080400	Consulate Health Care of North Ft. Myers	North	4	\$89.22	\$24.36	\$44.43	\$10.83	\$0.00	\$0.00	\$18.44	\$3.61	\$190.89
080402	Consulate Health Care of Orange Park	North	13	\$89.76	\$31.41	\$44.43	\$13.03	\$17.15	\$0.00	\$19.25	\$2.07	\$217.10
080405	Consulate Health Care of Pensacola	North	12	\$92.88	\$31.41	\$44.43	\$14.42	\$15.83	\$0.00	\$19.07	\$2.12	\$220.15
080416	Consulate Health Care of Port Charlotte	North	11	\$92.20	\$28.10	\$44.43	\$17.75	\$14.51	\$0.00	\$19.78	\$3.52	\$220.28
080406	Consulate Health Care of Safety Harbor	North	10.5	\$91.31	\$23.84	\$44.43	\$11.66	\$13.85	\$0.00	\$20.30	\$2.06	\$207.43
080413	Consulate Health Care of Sarasota	North	18	\$100.30	\$31.41	\$44.43	\$17.32	\$23.74	\$0.00	\$18.98	\$3.46	\$239.65
080409	Consulate Health Care of St. Petersburg	North	6.5	\$93.28	\$28.08	\$44.43	\$15.10	\$0.00	\$0.00	\$18.62	\$3.09	\$202.59
080428	Consulate Health Care of Tallahassee	North	11	\$92.87	\$31.41	\$44.43	\$14.51	\$14.51	\$0.00	\$16.06	\$2.27	\$216.06
080430	Consulate Health Care of Vero Beach	North	7.5	\$91.45	\$28.06	\$44.43	\$15.25	\$0.00	\$0.00	\$19.53	\$2.84	\$201.56
080432	Consulate Health Care of West Palm Beach	North	13	\$99.81	\$31.41	\$44.43	\$13.12	\$17.15	\$0.00	\$18.21	\$3.82	\$227.94
080434	Consulate Health Care of Winter Haven	North	12	\$87.60	\$31.41	\$44.43	\$17.25	\$15.83	\$0.13	\$16.42	\$3.03	\$216.08
264512	Conway Lakes Health & Rehabilitation Center	North	26	\$106.94	\$31.41	\$44.43	\$11.02	\$34.30	\$0.00	\$12.39	\$3.86	\$244.35
260649	Coguina Center	North	14	\$106.94	\$31.41	\$44.43	\$11.78	\$18.47	\$0.00	\$18.56	\$3.39	\$234.97
043851	Coral Bay Healthcare and Rehabilitation	North	12	\$96.43	\$31.41	\$44.43	\$12.80	\$15.83	\$0.00	\$19.46	\$3.29	\$223.64
323772	Coral Gables Nursing and Rehabilitation	South	19	\$102.45	\$34.44	\$50.36	\$7.64	\$25.06	\$0.00	\$21.40	\$3.99	\$245.35
282529	Coral Reef Nursing & Rehabilitation Center	South	9	\$115.09	\$34.32	\$50.36	\$11.69	\$0.00	\$0.00	\$19.62	\$4.05	\$235.12
043848	Coral Trace Health Care	North	11	\$90.77	\$31.41	\$44.43	\$9.96	\$14.51	\$0.00	\$17.36	\$3.13	\$211.57
043872	Countryside Rehab and Healthcare Center	North	10.5	\$93.51	\$25.65	\$44.43	\$9.02	\$13.85	\$0.10	\$19.07	\$2.73	\$208.35
209325	Courtenay Springs Village	North	15	\$106.94	\$31.41	\$44.43	\$19.85	\$19.79	\$0.00	\$18.75	\$5.63	\$246.79
010082	Courtyard Gardens Rehabilitation Center	North	16	\$106.94	\$30.70	\$44.43	\$6.77	\$21.11	\$0.00	\$19.24	\$4.13	\$233.31



			Prop	osed New Pe	r Diem Com	ponents by Fa	cility					
Facility Medicaid ID	Facility Name	Region Grouping	Quality Score	Direct Care Rate	Indirect Care Rate	Operation Rate	FRVS Rate	Quality Incentive Add-On Per Diem	Ventilator Care Add- On Per Diem	Provider Assessment Per Diem	Pass Through Per Diem (Taxes and Insurance)	Final Per Diem
324175	Courtyards of Orlando Rehabilitation and Health Center	North	11.5	\$106.94	\$31.41	\$44.43	\$7.03	\$15.17	\$0.00	\$20.30	\$6.91	\$232.18
210188	Covenant Village Care Center	South	18	\$115.09	\$34.44	\$50.36	\$11.47	\$23.74	\$0.00	\$0.00	\$0.44	\$235.54
044886	Crestview Rehabilitation Center	North	6	\$100.05	\$24.20	\$44.43	\$7.71	\$0.00	\$0.00	\$19.62	\$1.40	\$197.40
312274	Crestwood Nursing Center	North	12	\$106.47	\$20.47	\$44.43	\$9.56	\$15.83	\$0.00	\$18.23	\$2.55	\$217.54
200735	Cross Care Center	North	7	\$106.94	\$30.20	\$44.43	\$9.60	\$0.00	\$0.00	\$19.43	\$0.60	\$211.19
312151	Cross City Rehabilitation & Health Care Center	North	21.5	\$90.18	\$31.41	\$44.43	\$16.92	\$28.36	\$0.00	\$16.82	\$3.82	\$231.93
088049	Cross Gardens Care Center	South	10	\$113.86	\$25.65	\$50.36	\$15.53	\$0.00	\$0.00	\$21.71	\$2.23	\$229.34
102832	Cross Landings Health and Rehabilitation Center	North	16.5	\$106.94	\$27.21	\$44.43	\$8.72	\$21.77	\$0.00	\$21.60	\$2.08	\$232.74
102787	Cross Pointe Care Center	South	12.5	\$115.09	\$34.44	\$50.36	\$7.15	\$16.49	\$0.00	\$21.59	\$2.27	\$247.39
102791	Cross Terrace Rehabilitation Center	North	9.5	\$106.94	\$26.62	\$44.43	\$7.74	\$0.00	\$0.00	\$20.61	\$3.15	\$209.49
046233	Crossbreeze Care Center	North	12	\$106.94	\$16.02	\$44.43	\$10.69	\$15.83	\$0.00	\$20.85	\$3.15	\$217.90
102833	Crosswinds Health and Rehabilitation Center	North	19	\$106.94	\$18.51	\$44.43	\$6.35	\$25.06	\$0.00	\$22.17	\$1.91	\$225.37
217263	Crystal River Health and Rehabilitation Center	North	5	\$106.94	\$27.68	\$44.43	\$11.30	\$0.00	\$0.00	\$20.32	\$2.63	\$213.29
228940	Cypress Cove Care Center	North	17	\$102.69	\$31.38	\$44.43	\$7.89	\$22.43	\$0.00	\$19.72	\$2.42	\$230.95
122242	Cypress Village	North	11.5	\$106.94	\$31.41	\$44.43	\$20.08	\$15.17	\$0.00	\$0.00	\$3.71	\$221.73
317349	Darcy Hall of Life Care	North	13	\$106.94	\$31.41	\$44.43	\$9.32	\$17.15	\$0.00	\$21.31	\$3.07	\$233.62
217743	Daytona Beach Health and Rehabilitation Center	North	11	\$106.94	\$31.41	\$44.43	\$12.01	\$14.51	\$0.00	\$22.98	\$3.02	\$235.30
005372	Debary Health and Rehabilitation Center	North	16	\$106.94	\$31.41	\$44.43	\$6.55	\$21.11	\$1.82	\$18.06	\$1.81	\$232.11
263851	Deerfield Beach Health and Rehabilitation Center	South	16	\$96.88	\$34.44	\$50.36	\$9.62	\$21.11	\$0.73	\$15.99	\$5.58	\$234.71
221589	Delaney Park Health and Rehabilitation Center	North	25	\$96.43	\$31.41	\$44.43	\$15.41	\$32.98	\$0.00	\$18.08	\$2.46	\$241.18
043868	Deltona Health Care	North	8	\$98.91	\$30.36	\$44.43	\$9.47	\$0.00	\$0.00	\$18.16	\$2.52	\$203.84
103177	Desoto Health and Rehab	North	14	\$106.94	\$31.41	\$44.43	\$20.77	\$18.47	\$0.00	\$0.00	\$8.55	\$230.56
061101	Destin Healthcare and Rehabilitation Center	North	13	\$98.19	\$28.82	\$44.43	\$12.78	\$17.15	\$0.00	\$20.47	\$1.99	\$223.83
256269	Diamond Ridge Health and Rehabilitation Center	North	9.5	\$106.94	\$31.41	\$44.43	\$18.14	\$0.00	\$0.00	\$13.40	\$3.88	\$218.19
101963	Eagle Lake Rehab & Care Center	North	16.5	\$98.60	\$31.41	\$44.43	\$7.14	\$21.77	\$0.00	\$22.50	\$5.60	\$231.43
264539	East Bay Rehabilitation Center	North	10.5	\$106.94	\$31.41	\$44.43	\$10.39	\$13.85	\$0.10	\$15.33	\$3.43	\$225.87
320421	East Orlando Health & Rehab Center, Inc.	North	13.5	\$106.94	\$31.41	\$44.43	\$15.59	\$17.81	\$7.80	\$16.05	\$0.24	\$240.26
228788	East Ridge Retirement Village Inc	South	24	\$115.09	\$34.44	\$50.36	\$10.73	\$31.66	\$0.00	\$0.00	\$0.61	\$242.89
253707	Eden Springs Nursing and Rehab Center	North	10	\$106.94	\$30.08	\$44.43	\$6.70	\$0.00	\$0.00	\$20.91	\$1.87	\$210.92
210684	Edgewater at Waterman Village	North	10.5	\$106.94	\$31.41	\$44.43	\$13.53	\$13.85	\$0.00	\$13.70	\$2.85	\$226.70
254878	EdgeWood Nursing Center	North	7.5	\$98.59	\$30.86	\$44.43	\$9.61	\$0.00	\$0.00	\$21.26	\$2.61	\$207.36
212032	Edward J Healey Rehabilitation and Nursing Center	North	19	\$106.94	\$31.41	\$44.43	\$21.28	\$25.06	\$2.57	\$0.00	\$1.30	\$232.98
133348	Egret Cove Center	North	18	\$106.94	\$31.41	\$44.43	\$5.75	\$23.74	\$0.00	\$22.26	\$2.67	\$237.20
133196	Emerald Coast Center	North	10	\$94.62	\$31.41	\$44.43	\$4.23	\$0.00	\$0.00	\$21.97	\$2.55	\$199.21
261637	Emerald Health Care Center	North	16	\$106.94	\$31.41	\$44.43	\$12.38	\$21.11	\$0.00	\$14.68	\$5.12	\$236.05
060972	Emerald Shores Health and Rehabilitation	North	18	\$89.67	\$28.46	\$44.43	\$12.30	\$23.74	\$0.00	\$15.94	\$2.08	\$216.61
059855	Englewood Healthcare & Rehabilitation Center	North	10	\$100.09	\$26.11	\$44.43	\$10.59	\$0.00	\$0.00	\$17.46	\$2.76	\$201.44
059873	Evans Health Care	North	13	\$100.95	\$28.01	\$44.43	\$10.12	\$17.15	\$0.00	\$18.99	\$3.15	\$222.79
263893	Evergreen Woods	North	20	\$102.84	\$31.41	\$44.43	\$10.62	\$26.38	\$0.00	\$13.02	\$4.33	\$233.02
147958	Excel Care Center	North	9.5	\$106.94	\$31.41	\$44.43	\$15.90	\$0.00	\$2.65	\$15.19	\$7.12	\$223.62
227226	Fair Havens Center	South	3.5	\$89.00	\$32.50	\$50.36	\$7.93	\$0.00	\$0.00	\$3.47	\$2.79	\$186.04
260690	Fairway Oaks Center	North	5.5	\$106.81	\$31.41	\$44.43	\$6.59	\$0.00	\$0.00	\$22.74	\$3.25	\$215.21
204536	Fannie E Taylor Home for the Aged Inc	North	14	\$106.94	\$30.84	\$44.43	\$7.92	\$18.47	\$0.00	\$0.00	\$0.13	\$208.72
227838	First Coast Health & Rehabilitation Center	North	18	\$101.25	\$31.41	\$44.43	\$8.69	\$23.74	\$0.00	\$22.38	\$4.92	\$236.81



			Prop	osed New Pe	er Diem Com	ponents by Fa	cility					
Facility Medicaid ID	Facility Name	Region Grouping	Quality Score	Direct Care Rate	Indirect Care Rate	Operation Rate	FRVS Rate	Quality Incentive Add-On Per Diem	Ventilator Care Add- On Per Diem	Provider Assessment Per Diem	Pass Through Per Diem (Taxes and Insurance)	Final Per Diem
005374	Flagler Health and Rehabilitation Center	North	22	\$106.94	\$31.41	\$44.43	\$9.08	\$29.02	\$0.00	\$16.51	\$1.66	\$239.05
043866	Fletcher Health and Rehabilitation Center	North	10	\$94.03	\$29.89	\$44.43	\$11.37	\$0.00	\$0.00	\$17.37	\$2.38	\$199.46
001416	Florida Baptist Retirement Center	North	12.5	\$106.94	\$31.41	\$44.43	\$10.45	\$16.49	\$0.00	\$0.00	\$1.95	\$211.66
320463	Florida Living Nursing Center	North	10.5	\$106.94	\$31.41	\$44.43	\$16.07	\$13.85	\$13.85	\$19.63	\$0.22	\$246.39
212971	Florida Presbyterian Homes Inc	North	28	\$106.94	\$31.41	\$44.43	\$20.65	\$36.94	\$0.00	\$0.00	\$2.85	\$243.21
163903	Fort Myers Rehabilitation and Nursing Center	North	12.5	\$106.94	\$31.41	\$44.43	\$9.50	\$16.49	\$0.00	\$20.19	\$2.72	\$231.67
043861	Fort Pierce Health Care	North	13	\$97.31	\$25.76	\$44.43	\$8.14	\$17.15	\$0.00	\$21.52	\$2.13	\$216.45
044888	Fort Walton Rehabilitation Center	North	12	\$106.94	\$27.52	\$44.43	\$7.43	\$15.83	\$0.00	\$18.38	\$1.67	\$222.19
253481	Forum at Deer Creek	South	21	\$115.09	\$34.44	\$50.36	\$13.46	\$27.70	\$0.00	\$14.25	\$4.52	\$259.83
132449	Fountain Manor Health & Rehabilitation Center	South	12	\$115.09	\$34.44	\$50.36	\$7.29	\$15.83	\$0.00	\$20.49	\$1.37	\$244.86
080436	Franco Nursing and Rehabilitation Center	South	18.5	\$95.69	\$34.44	\$50.36	\$16.38	\$24.40	\$17.01	\$18.02	\$2.64	\$258.94
122239	Freedom Square Rehabilitation & Nursing Services	North	26.5	\$106.94	\$31.41	\$44.43	\$14.43	\$34.96	\$0.00	\$0.00	\$6.14	\$238.30
134463	Ft Lauderdale Health and Rehabilitation Center	South	15	\$115.09	\$34.44	\$50.36	\$9.48	\$19.79	\$0.00	\$17.58	\$4.28	\$251.01
229288	Gainesville Health Care Center	North	6.5	\$105.51	\$31.19	\$44.43	\$8.25	\$0.00	\$0.00	\$21.51	\$1.01	\$211.89
059404	Gardens of Port St. Lucie	North	17	\$106.94	\$31.41	\$44.43	\$15.68	\$22.43	\$0.00	\$0.00	\$4.10	\$224.97
203203	Glades Health Care Center	North	14	\$106.94	\$31.41	\$44.43	\$10.51	\$18.47	\$0.00	\$21.83	\$2.27	\$235.85
153181	Glades West Rehabilitation and Nursing Center	South	10	\$115.09	\$34.44	\$50.36	\$17.75	\$0.00	\$0.00	\$5.84	\$17.24	\$240.72
005849	Glen Oaks Health Care Center	North	26.5	\$106.94	\$31.41	\$44.43	\$5.81	\$34.96	\$0.00	\$23.00	\$1.81	\$248.35
005384	Glencove Health and Rehabilitation Center	North	20.5	\$106.94	\$31.41	\$44.43	\$11.45	\$27.04	\$0.00	\$17.03	\$2.74	\$241.03
054790	Golden Glades Nursing and Rehabilitation Center	South	13.5	\$97.40	\$29.86	\$50.36	\$11.36	\$17.81	\$0.00	\$19.26	\$4.78	\$230.82
019287	Golfcrest Healthcare Center	South	11	\$94.73	\$32.12	\$50.36	\$5.80	\$14.51	\$0.00	\$16.72	\$2.96	\$217.19
019085	Golfview Healthcare Center	North	10	\$95.19	\$31.41	\$44.43	\$6.67	\$0.00	\$0.00	\$18.95	\$1.85	\$198.49
268763	Good Samaritan Center	North	17	\$106.94	\$27.50	\$44.43	\$10.16	\$22.43	\$0.00	\$22.92	\$0.62	\$234.99
204391	Good Samaritan Society-Daytona	North	8	\$106.94	\$31.41	\$44.43	\$14.09	\$0.00	\$0.00	\$22.01	\$0.89	\$219.75
212792	Good Samaritan Society-Florida Lutheran	North	10.5	\$106.94	\$30.63	\$44.43	\$17.40	\$13.85	\$0.00	\$0.00	\$0.91	\$214.15
205303	Good Samaritan Society-Kissimmee Village	North	9.5	\$106.94	\$31.41	\$44.43	\$12.48	\$0.00	\$0.00	\$21.19	\$0.60	\$217.04
043875	Governor's Creek Health and Rehabilitation	North	7	\$90.91	\$27.09	\$44.43	\$9.00	\$0.00	\$0.04	\$21.09	\$1.78	\$194.33
034504	Grace Healthcare of Lake Wales	North	12.5	\$105.45	\$31.41	\$44.43	\$12.37	\$16.49	\$0.00	\$18.47	\$1.49	\$230.10
011998	Grace Rehabilitation Center of Vero Beach	North	21	\$106.94	\$31.41	\$44.43	\$17.92	\$27.70	\$0.00	\$15.14	\$2.42	\$245.95
316644	Gracewood Rehabilitation and Nursing Care	North	9.5	\$100.25	\$20.41	\$44.43	\$8.00	\$0.00	\$0.00	\$22.29	\$2.13	\$197.50
017242	Grand Boulevard Health & Rehab. Center	North	16	\$106.94	\$31.41	\$44.43	\$12.73	\$21.11	\$0.00	\$18.64	\$1.88	\$237.13
043864	Grand Oaks Health and Rehabilitation Center	North	4.5	\$96.17	\$31.41	\$44.43	\$12.21	\$0.00	\$0.00	\$12.69	\$2.95	\$199.86
227625	Greenbriar Rehabilitation and Nursing Center	North	13.5	\$106.94	\$31.41	\$44.43	\$5.25	\$17.81	\$0.00	\$13.46	\$3.15	\$222.44
201651	Guardian Care Nursing & Rehabilitation Center	North	19	\$106.94	\$31.41	\$44.43	\$17.65	\$25.06	\$0.03	\$21.39	\$2.00	\$248.90
201120	Gulf Coast Village	North	10	\$106.94	\$31.41	\$44.43	\$13.77	\$0.00	\$0.00	\$0.00	\$3.60	\$200.14
014169	Gulf Shore Rehab & Nursing	North	8	\$106.94	\$31.41	\$44.43	\$10.24	\$0.00	\$0.00	\$14.84	\$6.74	\$214.59
099366	Gulfport Rehabilitation Center	North	10	\$102.73	\$31.41	\$44.43	\$10.38	\$0.00	\$0.00	\$17.62	\$2.65	\$209.20
043862	Habana Health Care Center	North	9	\$98.37	\$29.49	\$44.43	\$9.42	\$0.00	\$0.00	\$21.29	\$1.74	\$204.74
224341	Haines City Health Care	North	17	\$106.94	\$31.41	\$44.43	\$14.11	\$22.43	\$0.00	\$21.75	\$1.72	\$242.78
259586	Hamlin Place	North	13.5	\$106.94	\$31.41	\$44.43	\$10.26	\$17.81	\$0.00	\$18.52	\$5.14	\$234.50
324027	Hampton Court Nursing Center	South	19	\$115.09	\$34.44	\$50.36	\$15.55	\$25.06	\$14.04	\$17.14	\$2.65	\$274.32
043873	Harbor Beach Nursing and Rehabilitation Center	South	18	\$94.20	\$30.46	\$50.36	\$6.14	\$23.74	\$0.00	\$20.33	\$3.77	\$229.00
268585	Harborchase of Naples	North	14	\$106.94	\$31.41	\$44.43	\$15.04	\$18.47	\$0.00	\$0.00	\$3.07	\$219.35
213322	Harborchase of Venice	North	11	\$106.94	\$31.41	\$44.43	\$12.44	\$14.51	\$0.00	\$0.00	\$2.84	\$212.55
122229	Harbour Health Center	North	14	\$106.94	\$31.41	\$44.43	\$16.82	\$18.47	\$0.00	\$0.00	\$5.51	\$223.57



			Prop	osed New Pe	r Diem Com	ponents by Fa	cility					
Facility Medicaid ID	Facility Name	Region Grouping	Quality Score	Direct Care Rate	Indirect Care Rate	Operation Rate	FRVS Rate	Quality Incentive Add-On Per Diem	Ventilator Care Add- On Per Diem	Provider Assessment Per Diem	Pass Through Per Diem (Taxes and Insurance)	Final Per Diem
216399	Harbour's Edge	North	19.5	\$106.94	\$31.41	\$44.43	\$13.67	\$25.72	\$0.00	\$0.00	\$4.94	\$227.10
316636	Harbourwood Health and Rehab Center	North	12.5	\$103.51	\$24.63	\$44.43	\$12.32	\$16.49	\$0.00	\$22.72	\$2.80	\$226.89
211435	Hardee Manor Healthcare Center	North	21	\$92.65	\$24.52	\$44.43	\$8.19	\$27.70	\$0.00	\$23.69	\$1.88	\$223.06
269107	Harmony Health Center	South	8	\$95.76	\$34.44	\$50.36	\$5.60	\$0.00	\$0.00	\$17.29	\$3.38	\$206.83
043865	Harts Harbor Health Care Center	North	13	\$90.87	\$21.53	\$44.43	\$7.11	\$17.15	\$0.28	\$21.51	\$1.71	\$204.58
258831	Haven of Our Lady of Peace	North	18	\$106.94	\$31.41	\$44.43	\$17.42	\$23.74	\$0.00	\$16.37	\$0.31	\$240.61
261670	Hawthorne Health and Rehab of Brandon	North	19	\$106.94	\$31.41	\$44.43	\$12.42	\$25.06	\$0.00	\$16.47	\$2.05	\$238.77
253456	Hawthorne Health and Rehab of Ocala	North	10	\$106.94	\$31.41	\$44.43	\$10.96	\$0.00	\$0.00	\$16.69	\$1.93	\$212.34
094353	Hawthorne Health and Rehab of Sarasota	North	10.5	\$106.94	\$31.41	\$44.43	\$23.08	\$13.85	\$0.00	\$12.35	\$14.76	\$246.81
043874	Health Center at Brentwood	North	9.5	\$89.21	\$25.93	\$44.43	\$11.14	\$0.00	\$0.00	\$17.33	\$2.49	\$190.53
048441	Health Central Park	North	19.5	\$106.94	\$25.95	\$44.43	\$16.90	\$25.72	\$0.00	\$4.06	\$0.70	\$224.70
263931	Healthcare and Rehab of Sanford	North	5.5	\$102.20	\$31.41	\$44.43	\$5.33	\$0.00	\$0.00	\$21.04	\$3.54	\$207.94
210587	Healthpark Care Center Inc.	North	27	\$106.94	\$31.41	\$44.43	\$14.62	\$35.62	\$0.00	\$11.37	\$0.59	\$244.97
010453	Heartland Health Care & Rehabilitation Center	North	21	\$106.94	\$31.41	\$44.43	\$11.72	\$27.70	\$0.00	\$9.51	\$4.19	\$235.89
011997	Heartland Health Care and Rehabilitation Center of Boca Raton	North	25	\$106.94	\$31.41	\$44.43	\$12.60	\$32.98	\$0.00	\$9.92	\$5.50	\$243.77
325309	Heartland Health Care Center- Boynton Beach	North	13	\$93.60	\$23.31	\$44.43	\$12.10	\$17.15	\$0.00	\$20.72	\$3.46	\$214.77
325333	Heartland Health Care Center- Lauderhill	South	5	\$92.22	\$21.76	\$50.36	\$10.39	\$0.00	\$0.00	\$20.33	\$3.66	\$198.72
325252	Heartland Health Care Center- Miami Lakes	South	11.5	\$114.14	\$34.44	\$50.36	\$10.63	\$15.17	\$0.00	\$7.33	\$2.46	\$234.52
325287	Heartland Health Care Center of South Jacksonville	North	13	\$106.94	\$31.41	\$44.43	\$11.12	\$17.15	\$0.00	\$14.21	\$2.40	\$227.64
325325	Heartland Health Care Center-Ft. Myers	North	13	\$106.94	\$27.46	\$44.43	\$12.89	\$17.15	\$0.00	\$13.07	\$3.58	\$225.52
325236	Heartland Health Care Center-Jacksonville	North	17	\$106.94	\$31.41	\$44.43	\$10.93	\$22.43	\$0.11	\$14.35	\$2.39	\$232.97
325244	Heartland Health Care Center-Kendall	South	16	\$111.58	\$32.00	\$50.36	\$15.44	\$21.11	\$0.00	\$7.14	\$3.77	\$241.40
325490	Heartland Health Care Center-North Sarasota	North	14	\$106.94	\$31.41	\$44.43	\$12.85	\$18.47	\$0.00	\$19.74	\$2.46	\$236.29
325261	Heartland Health Care Center-Orange Park	North	13.5	\$101.29	\$31.41	\$44.43	\$11.03	\$17.81	\$0.00	\$15.72	\$2.38	\$224.06
325341	Heartland Health Care Center-Prosperity Oaks	North	10.5	\$106.94	\$31.41	\$44.43	\$12.98	\$13.85	\$0.00	\$14.87	\$3.76	\$228.23
325350	Heartland of Tamarac	South	8	\$115.09	\$33.33	\$50.36	\$15.42	\$0.00	\$0.00	\$16.79	\$4.60	\$235.58
325708	Heartland of Zephyrhills	North	13	\$98.34	\$31.41	\$44.43	\$10.80	\$17.15	\$0.00	\$16.61	\$1.92	\$220.66
228591	Heather Hill Healthcare Center	North	6.5	\$99.48	\$30.16	\$44.43	\$7.80	\$0.00	\$0.00	\$19.99	\$2.75	\$204.61
043838	Heritage Healthcare and Rehabilitation Center	North	19	\$97.74	\$29.10	\$44.43	\$8.54	\$25.06	\$0.00	\$19.17	\$2.29	\$226.32
043833	Heritage Healthcare Center at Tallahassee	North	7	\$90.85	\$23.10	\$44.43	\$8.46	\$0.00	\$0.00	\$20.94	\$2.20	\$189.99
005850	Heritage Park	North	15	\$106.94	\$31.41	\$44.43	\$13.78	\$19.79	\$0.00	\$19.11	\$2.03	\$237.48
324345	Heritage Park Care and Rehabilitation Center	North	17	\$99.17	\$31.41	\$44.43	\$12.24	\$22.43	\$0.00	\$14.04	\$2.99	\$226.70
061095	Heritage Park Rehabilitation and Healthcare	North	9	\$93.30	\$22.20	\$44.43	\$7.38	\$0.00	\$0.00	\$19.74	\$2.13	\$189.17
043832	Heron Pointe Health and Rehabilitation	North	7	\$89.26	\$23.43	\$44.43	\$7.87	\$0.00	\$0.00	\$21.45	\$2.01	\$188.45
265730	Hialeah Nursing and Rehabilitation Center	South	8.5	\$115.09	\$34.44	\$50.36	\$5.18	\$0.00	\$0.00	\$3.86	\$2.25	\$211.18
250988	HIALEAH SHORES NURSING and REHAB CENTER	South	18	\$115.09	\$34.44	\$50.36	\$8.73	\$23.74	\$0.00	\$18.37	\$2.54	\$253.28
263907	Highland Pines Rehabilitation Center	North	11	\$106.94	\$30.49	\$44.43	\$5.65	\$14.51	\$0.00	\$21.19	\$4.33	\$227.54
260576	Highlands Lake Center	North	17	\$106.94	\$31.41	\$44.43	\$10.06	\$22.43	\$0.00	\$16.71	\$2.92	\$234.89
047795	Hillcrest Health Care and Rehabilitation Center	South	9	\$100.34	\$32.64	\$50.36	\$7.97	\$0.00	\$1.19	\$3.49	\$3.13	\$199.12
313424	Hollywood Hills Rehabilitation Center LLC	South	9	\$115.09	\$28.75	\$50.36	\$12.25	\$0.00	\$0.00	\$17.66	\$3.38	\$227.47
046017	Homestead Manor A Palace Community	South	13.5	\$115.09	\$34.44	\$50.36	\$14.09	\$17.81	\$0.00	\$23.37	\$2.95	\$258.11
263605	Hunters Creek Nursing and Rehab Center	North	8	\$106.94	\$31.41	\$44.43	\$14.97	\$0.00	\$5.06	\$15.96	\$5.05	\$223.80
211281	Huntington Place	North	7	\$100.03	\$31.41	\$44.43	\$10.54	\$0.00	\$0.00	\$19.51	\$1.54	\$207.45
260665	Indian River Center	North	9.5	\$106.94	\$31.41	\$44.43	\$11.61	\$0.00	\$0.00	\$23.24	\$2.48	\$220.11



			Prop	osed New Pe	r Diem Com	ponents by Fa	cility					
Facility Medicaid ID	Facility Name	Region Grouping	Quality Score	Direct Care Rate	Indirect Care Rate	Operation Rate	FRVS Rate	Quality Incentive Add-On Per Diem	Ventilator Care Add- On Per Diem	Provider Assessment Per Diem	Pass Through Per Diem (Taxes and Insurance)	Final Per Diem
258750	Indigo Manor	North	15	\$106.94	\$31.41	\$44.43	\$13.40	\$19.79	\$0.00	\$19.76	\$1.62	\$237.33
228621	Inn at Sarasota Bay Club	North	19.5	\$106.94	\$31.41	\$44.43	\$19.11	\$25.72	\$0.00	\$11.48	\$10.85	\$249.94
059866	Island Health and Rehabilitation Center	North	6	\$96.51	\$29.82	\$44.43	\$6.97	\$0.00	\$0.00	\$19.41	\$1.49	\$198.63
260657	Island Lake Center	North	11	\$106.94	\$31.41	\$44.43	\$9.22	\$14.51	\$0.00	\$21.58	\$3.17	\$231.25
122343	Isle Health & Rehabilitation Center	North	9.5	\$106.94	\$31.41	\$44.43	\$19.20	\$0.00	\$0.00	\$17.62	\$5.20	\$224.80
281743	Jacaranda Manor	North	3.5	\$103.72	\$23.08	\$44.43	\$6.85	\$0.00	\$0.00	\$4.14	\$0.80	\$183.02
204161	Jackson Memorial Long Term Care Center	South	10	\$115.09	\$34.44	\$50.36	\$10.19	\$0.00	\$14.45	\$0.00	\$0.00	\$224.52
203670	Jackson Memorial Perdue Medical Center	South	13.5	\$115.09	\$34.44	\$50.36	\$9.54	\$17.81	\$0.00	\$24.15	\$0.00	\$251.39
253723	Jackson Plaza Nursing & Rehabilitation Center	South	14	\$115.09	\$34.44	\$50.36	\$7.18	\$18.47	\$0.00	\$20.84	\$3.68	\$250.05
263494	Jacksonville Nursing and Rehab Center	North	8	\$106.94	\$26.17	\$44.43	\$10.48	\$0.00	\$0.00	\$19.57	\$1.73	\$209.31
210285	John Knox Village Med Center	North	15	\$106.94	\$31.41	\$44.43	\$9.91	\$19.79	\$0.00	\$0.00	\$0.47	\$212.93
203769	John Knox Village of Pompano Beach	South	17	\$115.09	\$34.44	\$50.36	\$10.73	\$22.43	\$0.00	\$0.00	\$4.57	\$237.62
207381	Joseph L Morse Geriatric Center Inc	North	24	\$106.94	\$31.41	\$44.43	\$23.00	\$31.66	\$0.00	\$3.27	\$1.77	\$242.47
208485	Jupiter Medical Center Pavilion Inc.	North	21	\$106.94	\$31.41	\$44.43	\$6.71	\$27.70	\$3.81	\$9.05	\$3.17	\$233.22
324493	Kenilworth Care and Rehabilitation Center	North	7.5	\$93.26	\$31.41	\$44.43	\$5.96	\$0.00	\$0.00	\$17.76	\$2.91	\$195.72
024167	Key West Health & Rehabilitation	South	14	\$115.09	\$26.85	\$50.36	\$9.95	\$18.47	\$0.00	\$19.57	\$1.45	\$241.73
043839	Keystone Rehabilitation and Health Center	North	7.5	\$84.91	\$25.26	\$44.43	\$11.72	\$0.00	\$0.00	\$17.71	\$2.73	\$186.76
089220	Krystal Bay Nursing and Rehabilitation	South	21	\$115.09	\$30.11	\$50.36	\$10.00	\$27.70	\$0.00	\$22.02	\$4.06	\$259.33
032486	Lady Lake Specialty Care Center	North	10	\$106.94	\$31.41	\$44.43	\$15.42	\$0.00	\$0.00	\$16.42	\$3.30	\$217.91
264482	Lafayette Health Care Center	North	10	\$85.31	\$26.98	\$44.43	\$9.23	\$0.00	\$0.00	\$20.65	\$2.66	\$189.25
135647	Lake Bennett Health and Rehabilitation	North	17	\$106.94	\$31.41	\$44.43	\$12.66	\$22.43	\$0.00	\$16.17	\$3.67	\$237.69
005851	Lake Eustis Care Center	North	25	\$106.94	\$31.41	\$44.43	\$9.87	\$32.98	\$0.00	\$18.24	\$1.82	\$245.68
122243	Lake Harris Health Center	North	8.5	\$106.94	\$31.41	\$44.43	\$16.80	\$0.00	\$0.00	\$0.00	\$1.82	\$201.39
043871	Lake Mary Health and Rehabilitation Center	North	13	\$102.49	\$31.41	\$44.43	\$11.54	\$17.15	\$0.00	\$12.47	\$2.91	\$222.39
211923	Lake Park of Madison	North	8	\$88.76	\$31.41	\$44.43	\$10.29	\$0.00	\$0.00	\$21.17	\$1.90	\$197.96
006339	Lake Placid Health and Rehabilitation Center	North	15	\$106.94	\$31.41	\$44.43	\$10.43	\$19.79	\$0.00	\$17.63	\$2.28	\$232.89
229610	Lake View Care Center at Delray	North	14	\$106.94	\$31.41	\$44.43	\$14.50	\$18.47	\$0.00	\$12.72	\$4.63	\$233.08
080068	Lakeland Hills Center	North	4.5	\$100.09	\$31.41	\$44.43	\$5.68	\$0.00	\$0.00	\$20.45	\$2.57	\$204.62
207683	Lakeside Health Center	North	18	\$106.94	\$31.21	\$44.43	\$9.00	\$23.74	\$0.00	\$20.70	\$3.09	\$239.12
256757	Lakeside Nursing and Rehabilitation Center	North	8	\$106.48	\$31.41	\$44.43	\$13.43	\$0.00	\$0.00	\$17.72	\$3.89	\$217.35
061140	Lakeside Oaks Care Center	North	11	\$91.13	\$28.44	\$44.43	\$6.82	\$14.51	\$0.00	\$20.18	\$2.06	\$207.56
256846	Lakeside Pavilion	North	10	\$106.94	\$28.58	\$44.43	\$8.68	\$0.00	\$0.00	\$20.56	\$0.59	\$209.78
259225	Lakeview Terrace Skilled Nursing Facility	North	22	\$106.94	\$22.81	\$44.43	\$21.96	\$29.02	\$0.00	\$0.00	\$1.10	\$226.25
312142	Lakewood Nursing Center	North	16	\$106.94	\$24.06	\$44.43	\$8.20	\$21.11	\$2.83	\$21.12	\$1.01	\$229.69
141466	Lanier Terrace	North	5	\$106.94	\$31.41	\$44.43	\$10.77	\$0.00	\$0.00	\$20.50	\$2.98	\$217.03
043876	Largo Health and Rehabilitation Center	North	11	\$94.18	\$24.39	\$44.43	\$14.83	\$14.51	\$0.00	\$19.55	\$3.47	\$215.36
211516	Laurel Pointe Health and Rehabilitation	North	14	\$97.80	\$30.83	\$44.43	\$7.00	\$18.47	\$0.00	\$16.66	\$3.72	\$218.90
316628	Laurellwood Nursing Center	North	7	\$105.21	\$25.50	\$44.43	\$5.96	\$0.00	\$0.00	\$22.77	\$0.92	\$204.78
320978	Lehigh Acres Health & Rehabilitation Center	North	13	\$106.94	\$31.41	\$44.43	\$9.71	\$17.15	\$0.00	\$14.77	\$3.58	\$227.98
032553	Lexington Health & Rehabilitation Center	North	9	\$106.94	\$31.41	\$44.43	\$7.44	\$0.00	\$0.00	\$15.96	\$3.39	\$209.56
259080	Life Care Center at Inverrary	South	21.5	\$115.09	\$34.44	\$50.36	\$14.38	\$28.36	\$0.00	\$14.95	\$7.86	\$265.44
213161	Life Care Center at Wells Crossing	North	22	\$106.94	\$31.41	\$44.43	\$11.56	\$29.02	\$0.00	\$13.16	\$2.49	\$239.00
210137	Life Care Center of Altamonte Springs	North	14	\$106.94	\$31.41	\$44.43	\$9.85	\$18.47	\$0.00	\$18.41	\$1.90	\$231.39
211532	Life Care Center of Citrus County	North	21.5	\$106.94	\$31.41	\$44.43	\$11.31	\$28.36	\$0.00	\$14.33	\$3.42	\$240.19
265381	Life Care Center of Estero	North	21	\$106.94	\$31.41	\$44.43	\$18.58	\$27.70	\$0.00	\$16.86	\$3.97	\$249.88



			Prop	osed New Pe	er Diem Com	ponents by Fa	cility					
Facility Medicaid ID	Facility Name	Region Grouping	Quality Score	Direct Care Rate	Indirect Care Rate	Operation Rate	FRVS Rate	Quality Incentive Add-On Per Diem	Ventilator Care Add- On Per Diem	Provider Assessment Per Diem	Pass Through Per Diem (Taxes and Insurance)	Final Per Diem
214060	Life Care Center of Hilliard	North	15	\$104.21	\$29.92	\$44.43	\$11.32	\$19.79	\$0.00	\$19.80	\$1.50	\$230.97
283193	Life Care Center of Jacksonville	North	19	\$106.94	\$31.41	\$44.43	\$18.05	\$25.06	\$0.00	\$9.91	\$3.61	\$239.40
228338	Life Care Center of Melbourne	North	20	\$106.94	\$31.41	\$44.43	\$12.85	\$26.38	\$0.00	\$10.50	\$2.35	\$234.85
259357	Life Care Center of New Port Richey	North	17.5	\$106.94	\$31.41	\$44.43	\$19.60	\$23.09	\$0.00	\$9.19	\$3.75	\$238.39
266108	Life Care Center of Ocala	North	26	\$106.94	\$31.41	\$44.43	\$13.75	\$34.30	\$0.00	\$11.50	\$2.95	\$245.26
284289	Life Care Center of Orange Park	North	23	\$103.63	\$31.41	\$44.43	\$10.03	\$30.34	\$0.00	\$15.44	\$2.73	\$238.01
213403	Life Care Center of Orlando	North	26	\$106.94	\$31.41	\$44.43	\$20.66	\$34.30	\$0.00	\$11.23	\$3.73	\$252.68
268186	Life Care Center of Palm Bay	North	19	\$106.94	\$31.41	\$44.43	\$18.00	\$25.06	\$0.00	\$13.46	\$2.50	\$241.80
315664	Life Care Center of Pensacola	North	20	\$106.94	\$31.41	\$44.43	\$13.29	\$26.38	\$0.00	\$10.26	\$2.90	\$235.60
217824	Life Care Center of Port Saint Lucie	North	16	\$106.94	\$31.41	\$44.43	\$16.10	\$21.11	\$0.00	\$10.62	\$3.54	\$234.14
311685	Life Care Center of Punta Gorda	North	17	\$106.94	\$31.41	\$44.43	\$13.76	\$22.43	\$0.00	\$17.46	\$3.15	\$239.56
223786	Life Care Center of Sarasota	North	25	\$106.94	\$31.41	\$44.43	\$15.37	\$32.98	\$0.00	\$11.35	\$4.87	\$247.35
219380	Life Care Center of Winter Haven	North	16.5	\$106.94	\$31.41	\$44.43	\$15.73	\$21.77	\$0.00	\$14.66	\$2.95	\$237.87
203980	Lisenby on Lake Caroline	North	16.5	\$102.14	\$21.73	\$44.43	\$7.76	\$21.77	\$0.00	\$0.00	\$0.33	\$198.16
005379	Longwood Health and Rehabilitation Center	North	10.5	\$106.94	\$31.41	\$44.43	\$7.44	\$13.85	\$0.00	\$20.47	\$1.90	\$226.43
205923	Lourdes-Noreen Mckeen Residence for Geriatric Care, Inc.	North	13	\$106.94	\$31.41	\$44.43	\$11.05	\$17.15	\$0.00	\$20.34	\$8.11	\$239.42
313718	Lutheran Haven Nursing Home	North	15	\$106.94	\$31.41	\$44.43	\$18.87	\$19.79	\$0.00	\$0.00	\$1.40	\$222.82
263516	MacClenny Nursing and Rehab Center	North	15	\$99.54	\$27.20	\$44.43	\$12.83	\$19.79	\$0.00	\$18.87	\$2.40	\$225.05
213462	Madison Health and Rehabilitation Center	North	17.5	\$106.94	\$31.41	\$44.43	\$10.28	\$23.09	\$0.00	\$22.79	\$2.35	\$241.28
324124	Madison Pointe Rehabilitation & Health Center	North	8	\$106.94	\$31.41	\$44.43	\$12.01	\$0.00	\$0.00	\$17.17	\$5.79	\$217.74
043877	Magnolia Health and Rehabilitation Center	North	14	\$96.52	\$25.05	\$44.43	\$15.52	\$18.47	\$0.00	\$20.39	\$4.29	\$224.67
269000	Majestic Oaks	North	12	\$106.94	\$31.41	\$44.43	\$19.77	\$15.83	\$0.00	\$0.00	\$3.00	\$221.37
325422	Manor Care @ Lely Palms	North	15	\$106.94	\$31.41	\$44.43	\$13.06	\$19.79	\$0.00	\$11.70	\$1.66	\$228.97
325473	Manor Care Health Services	North	13	\$106.94	\$31.41	\$44.43	\$14.56	\$17.15	\$0.00	\$15.68	\$3.34	\$233.50
325449	Manor Care Nursing and Rehabilitation Center	North	11.5	\$106.94	\$31.41	\$44.43	\$12.85	\$15.17	\$0.00	\$16.71	\$1.38	\$228.89
256935	Manor Oaks Nursing & Rehabilitation Center	South	14.5	\$115.09	\$31.34	\$50.36	\$14.18	\$19.13	\$0.00	\$16.71	\$6.65	\$253.45
254177	Manor Pines Convalescent Center	South	11.5	\$115.09	\$33.98	\$50.36	\$21.63	\$15.17	\$0.00	\$15.11	\$6.34	\$257.69
325384	ManorCare Health Services	North	13.5	\$106.94	\$28.13	\$44.43	\$14.15	\$17.81	\$0.00	\$12.11	\$3.46	\$227.03
325368	ManorCare Health Services (Boca Raton)	North	5.5	\$100.20	\$30.65	\$44.43	\$13.63	\$0.00	\$0.00	\$19.77	\$3.52	\$212.19
325520	ManorCare Health Services (Delray Beach)	North	20	\$96.38	\$29.99	\$44.43	\$14.84	\$26.38	\$0.00	\$12.20	\$4.09	\$228.31
325457	ManorCare Health Services (Plantation)	South	12	\$109.54	\$29.38	\$50.36	\$15.12	\$15.83	\$0.00	\$15.12	\$2.61	\$237.96
325376	ManorCare Health Services-Boynton Beach	North	11	\$105.81	\$29.74	\$44.43	\$13.15	\$14.51	\$0.00	\$16.23	\$4.29	\$228.16
325678	ManorCare Health Services-Carrollwood	North	9.5	\$104.44	\$31.41	\$44.43	\$16.72	\$0.00	\$0.00	\$11.66	\$2.78	\$211.42
325686	Manor-Care Health Services-Dunedin	North	19	\$106.94	\$29.75	\$44.43	\$15.92	\$25.06	\$0.00	\$15.67	\$2.44	\$240.21
325694	ManorCare Health Services-Palm Harbor	North	17	\$100.54	\$25.39	\$44.43	\$12.46	\$22.43	\$0.00	\$15.87	\$2.56	\$223.66
325465	ManorCare Health Services-Sarasota	North	6	\$106.94	\$24.09	\$44.43	\$14.95	\$0.00	\$0.00	\$18.47	\$1.74	\$210.61
325481	ManorCare Health Services-West Palm Beach	North	7	\$102.76	\$31.41	\$44.43	\$14.37	\$0.00	\$0.00	\$15.05	\$4.46	\$212.48
325279	ManorCare Nursing and Rehabilitation Center	North	15	\$105.78	\$30.79	\$44.43	\$7.49	\$19.79	\$0.00	\$16.66	\$2.07	\$227.00
017222	Margate Health and Rehabilitation Center	South	16	\$115.09	\$34.44	\$50.36	\$14.97	\$21.11	\$0.00	\$17.29	\$5.49	\$258.74
203475	Marianna Health & Rehabilitation	North	14	\$106.94	\$21.05	\$44.43	\$8.09	\$18.47	\$0.00	\$21.76	\$0.40	\$221.13
043878	Marshall Health and Rehabilitation Center	North	4	\$90.19	\$25.75	\$44.43	\$8.42	\$0.00	\$0.00	\$21.64	\$1.88	\$192.31
226033	Martin Nursing and Restorative Care Center	North	21.5	\$106.94	\$31.22	\$44.43	\$12.05	\$28.36	\$0.00	\$18.31	\$3.86	\$245.16
201588	Mary Lee Depugh Nursing Home Association Inc	North	23	\$106.94	\$31.41	\$44.43	\$22.26	\$30.34	\$0.00	\$0.00	\$4.30	\$239.67
204072	Mease Continuing Care	North	15	\$106.94	\$31.41	\$44.43	\$10.34	\$19.79	\$0.00	\$0.00	\$1.50	\$214.39



			Prop	osed New Pe	er Diem Com	ponents by Fa	cility					
Facility Medicaid ID	Facility Name	Region Grouping	Quality Score	Direct Care Rate	Indirect Care Rate	Operation Rate	FRVS Rate	Quality Incentive Add-On Per Diem	Ventilator Care Add- On Per Diem	Provider Assessment Per Diem	Pass Through Per Diem (Taxes and Insurance)	Final Per Diem
263524	Medicana Nursing and Rehab Center	North	17.5	\$106.94	\$27.04	\$44.43	\$8.03	\$23.09	\$0.00	\$18.38	\$2.80	\$230.70
264547	Melbourne Terrace Rehabilitation Center	North	17.5	\$106.94	\$31.41	\$44.43	\$20.68	\$23.09	\$0.00	\$8.92	\$4.51	\$239.96
201006	Memorial Manor	South	21	\$115.09	\$34.44	\$50.36	\$9.90	\$27.70	\$2.22	\$0.00	\$2.52	\$242.23
229628	Menorah House	North	11	\$106.94	\$31.41	\$44.43	\$14.06	\$14.51	\$0.00	\$19.31	\$4.71	\$235.36
263541	Metro West Nursing and Rehab Center	North	11.5	\$106.94	\$29.18	\$44.43	\$12.95	\$15.17	\$0.00	\$20.60	\$3.04	\$232.30
200506	Miami Jewish Health Systems	South	12	\$115.09	\$34.44	\$50.36	\$16.30	\$15.83	\$0.00	\$3.96	\$0.10	\$236.07
214035	Miami Shores Nursing and Rehab Center	South	34	\$115.09	\$34.44	\$50.36	\$8.77	\$44.85	\$0.00	\$19.37	\$2.10	\$274.99
202941	Miracle Hill Nursing and Rehabilitation Centers, Inc.	North	10.5	\$106.94	\$26.47	\$44.43	\$10.91	\$13.85	\$0.00	\$21.81	\$0.32	\$224.72
326011	Moosehaven, Inc.	North	16	\$106.94	\$31.41	\$44.43	\$10.39	\$21.11	\$0.00	\$0.00	\$2.57	\$216.84
206431	Morton Plant Rehabilitation Center	North	20	\$106.94	\$31.41	\$44.43	\$10.72	\$26.38	\$0.00	\$5.43	\$0.00	\$225.31
263559	Moultrie Creek Nursing and Rehab Center	North	16.5	\$106.94	\$31.41	\$44.43	\$10.85	\$21.77	\$0.00	\$16.14	\$2.08	\$233.60
228001	North Beach Rehabilitation Center	South	16	\$115.09	\$34.44	\$50.36	\$5.97	\$21.11	\$0.00	\$18.46	\$2.95	\$248.37
103858	North Campus Rehabilitation and Nursing Center	North	12	\$106.94	\$31.41	\$44.43	\$16.53	\$15.83	\$0.00	\$12.09	\$3.51	\$230.73
132045	North Dade Nursing and Rehabilitation Center	South	15	\$115.09	\$34.44	\$50.36	\$4.39	\$19.79	\$0.00	\$3.84	\$2.23	\$230.12
043880	North Florida Rehabilitation and Specialty Care	North	8	\$93.96	\$31.41	\$44.43	\$9.50	\$0.00	\$0.00	\$16.64	\$2.99	\$198.91
325163	North Lake Rehabilitation and Health Center	North	11.5	\$106.94	\$31.41	\$44.43	\$8.40	\$15.17	\$0.00	\$22.76	\$5.40	\$234.49
227641	North Rehabilitation Center	North	15	\$106.94	\$31.41	\$44.43	\$7.29	\$19.79	\$0.00	\$0.00	\$3.33	\$213.18
156586	Northbrook Health and Rehabilitation Center	North	13	\$106.94	\$31.41	\$44.43	\$18.30	\$17.15	\$0.00	\$19.65	\$3.98	\$241.84
041324	NuVista Living at Hillsborough Lakes	North	10	\$106.94	\$31.41	\$44.43	\$17.52	\$0.00	\$0.00	\$0.38	\$20.73	\$221.40
038640	NuVista Living at Wellington Green	North	7	\$106.94	\$31.41	\$44.43	\$16.65	\$0.00	\$0.00	\$0.00	\$14.74	\$214.16
258342	Oak Manor Healthcare & Rehabilitation Center	North	17.5	\$106.94	\$30.30	\$44.43	\$9.35	\$23.09	\$0.00	\$18.98	\$4.83	\$237.91
130817	Oak View Rehabilitation Center	North	10	\$106.94	\$31.41	\$44.43	\$10.20	\$0.00	\$0.00	\$23.39	\$2.58	\$218.95
043841	Oakbridge Healthcare Center	North	8.5	\$95.84	\$31.41	\$44.43	\$14.10	\$0.00	\$1.04	\$13.51	\$2.59	\$202.91
006767	Oakbrook Health and Rehabilitation Center	North	22.5	\$106.94	\$31.41	\$44.43	\$12.17	\$29.68	\$0.00	\$19.70	\$2.22	\$246.54
251721	Oakhurst Center	North	11.5	\$103.00	\$31.41	\$44.43	\$16.03	\$15.17	\$0.00	\$18.43	\$1.61	\$230.06
263966	Oaks at Avon	North	9.5	\$96.31	\$31.41	\$44.43	\$12.03	\$0.00	\$0.00	\$16.38	\$4.03	\$204.57
005549	Oaks of Kissimmee	North	26	\$106.94	\$31.41	\$44.43	\$7.22	\$34.30	\$0.00	\$20.69	\$1.84	\$246.81
043843	Oaktree Healthcare	North	13.5	\$89.58	\$28.11	\$44.43	\$4.78	\$17.81	\$0.00	\$22.77	\$1.31	\$208.79
266124	Oasis Health and Rehabilitation Center	North	15	\$106.94	\$31.41	\$44.43	\$10.52	\$19.79	\$0.00	\$22.43	\$4.67	\$240.18
217395	Ocala Health and Rehabilitation Center	North	10.5	\$106.94	\$24.79	\$44.43	\$13.00	\$13.85	\$0.00	\$19.99	\$1.84	\$224.83
048611	Ocala Oaks Rehabilitation Center	North	10	\$106.02	\$26.62	\$44.43	\$12.01	\$0.00	\$0.00	\$19.76	\$2.71	\$211.55
226351	Ocean View Nursing & Rehabilitation Center LLC	North	8	\$106.94	\$31.41	\$44.43	\$16.70	\$0.00	\$0.00	\$19.62	\$1.55	\$220.63
212733	Oceanside Extended Care Center	South	11	\$91.20	\$25.36	\$50.36	\$2.92	\$14.51	\$0.00	\$18.24	\$3.66	\$206.26
103852	Ocoee Health Care Center	North	12	\$106.94	\$30.45	\$44.43	\$6.97	\$15.83	\$0.00	\$18.51	\$2.94	\$226.06
023067	Okeechobee Healthcare Facility	North	20	\$106.94	\$31.41	\$44.43	\$11.36	\$26.38	\$0.00	\$20.22	\$3.64	\$244.37
263567	Orange City Nursing and Rehab Center	North	21	\$106.94	\$29.40	\$44.43	\$11.18	\$27.70	\$0.00	\$13.86	\$2.55	\$236.05
207527	Orchard Park Health and Rehabilitation	North	3	\$105.51	\$31.41	\$44.43	\$9.55	\$0.00	\$0.59	\$21.40	\$2.49	\$215.38
252689	Orchard Ridge	North	14.5	\$105.63	\$30.77	\$44.43	\$16.27	\$19.13	\$0.00	\$16.50	\$2.58	\$235.30
223654	Orlando Health and Rehabilitation Center	North	3	\$96.91	\$29.69	\$44.43	\$9.14	\$0.00	\$2.01	\$3.97	\$1.89	\$188.04
005219	Osceola Health Care Center	North	8.5	\$106.94	\$31.41	\$44.43	\$10.18	\$0.00	\$0.00	\$18.70	\$3.13	\$214.77
092678	Osprey Point Nursing Center	North	11	\$100.47	\$31.41	\$44.43	\$13.30	\$14.51	\$0.00	\$14.75	\$3.96	\$222.83
213900	Page Rehabilitation and Healthcare Center	North	14.5	\$106.94	\$31.41	\$44.43	\$13.64	\$19.13	\$0.00	\$19.81	\$1.26	\$236.61
005811	Palatka Health Care Center	North	3	\$106.94	\$31.41	\$44.43	\$11.80	\$0.00	\$0.00	\$17.89	\$4.03	\$216.50
263621	Palm City Nursing & Rehab Center	North	11.5	\$106.94	\$31.41	\$44.43	\$14.78	\$15.17	\$0.00	\$17.32	\$4.77	\$234.82
098577	Palm Garden of Aventura	South	7	\$115.09	\$34.44	\$50.36	\$12.16	\$0.00	\$0.00	\$16.87	\$5.45	\$234.36



			Prop	osed New Pe	er Diem Com	ponents by Fa	cility					
Facility Medicaid ID	Facility Name	Region Grouping	Quality Score	Direct Care Rate	Indirect Care Rate	Operation Rate	FRVS Rate	Quality Incentive Add-On Per Diem	Ventilator Care Add- On Per Diem	Provider Assessment Per Diem	Pass Through Per Diem (Taxes and Insurance)	Final Per Diem
098580	Palm Garden of Clearwater	North	19	\$106.94	\$31.41	\$44.43	\$16.72	\$25.06	\$0.00	\$16.98	\$3.48	\$245.02
098581	Palm Garden of Gainesville	North	17.5	\$106.94	\$31.41	\$44.43	\$14.70	\$23.09	\$2.89	\$14.69	\$4.52	\$242.65
098582	Palm Garden of Jacksonville	North	6	\$106.94	\$31.41	\$44.43	\$13.84	\$0.00	\$0.00	\$20.67	\$3.36	\$220.64
098583	Palm Garden of Largo	North	14	\$106.94	\$31.41	\$44.43	\$19.98	\$18.47	\$0.00	\$18.31	\$3.86	\$243.39
098584	Palm Garden of Ocala	North	10	\$106.94	\$31.41	\$44.43	\$17.92	\$0.00	\$0.18	\$18.39	\$3.58	\$222.85
098586	Palm Garden of Orlando	North	9	\$99.63	\$31.41	\$44.43	\$14.24	\$0.00	\$0.00	\$18.56	\$4.30	\$212.56
098587	Palm Garden of Pinellas	North	12	\$106.94	\$31.41	\$44.43	\$13.96	\$15.83	\$0.00	\$19.12	\$3.71	\$235.39
098588	Palm Garden of Port Saint Lucie	North	16	\$106.71	\$31.41	\$44.43	\$11.07	\$21.11	\$0.00	\$18.26	\$3.89	\$236.87
098589	Palm Garden of Sun City	North	22	\$106.94	\$31.41	\$44.43	\$14.45	\$29.02	\$0.00	\$17.61	\$3.65	\$247.50
098590	Palm Garden of Tampa	North	18	\$106.94	\$31.41	\$44.43	\$11.91	\$23.74	\$0.00	\$19.16	\$3.22	\$240.81
098591	Palm Garden of Vero Beach	North	4.5	\$106.45	\$31.41	\$44.43	\$14.65	\$0.00	\$0.00	\$18.75	\$3.88	\$219.56
098592	Palm Garden of West Palm Beach	North	12.5	\$106.94	\$31.41	\$44.43	\$13.44	\$16.49	\$0.00	\$19.71	\$5.04	\$237.44
098593	Palm Garden of Winter Haven	North	11	\$106.94	\$31.41	\$44.43	\$17.15	\$14.51	\$2.01	\$19.20	\$3.98	\$239.62
282618	Palm Terrace of Clewiston	North	9	\$106.94	\$31.41	\$44.43	\$7.49	\$0.00	\$0.00	\$21.62	\$1.69	\$213.57
282626	Palm Terrace of Lakeland	North	19	\$106.94	\$31.41	\$44.43	\$6.85	\$25.06	\$0.36	\$18.92	\$2.55	\$236.51
282537	Palm Terrace of St Petersburg	North	17.5	\$106.94	\$31.41	\$44.43	\$7.81	\$23.09	\$0.00	\$21.41	\$2.49	\$237.57
324167	Palmetto Rehabilitation and Health Center	South	19	\$115.09	\$34.44	\$50.36	\$11.26	\$25.06	\$0.00	\$14.06	\$6.67	\$256.93
212806	Palmetto Sub Acute Care Center Inc	South	17.5	\$115.09	\$34.44	\$50.36	\$13.50	\$23.09	\$0.00	\$11.29	\$6.94	\$254.70
005385	Panama City Health and Rehabilitation Center	North	19	\$106.94	\$31.41	\$44.43	\$6.50	\$25.06	\$0.00	\$22.56	\$1.08	\$237.98
227765	Park Meadows Health and Rehabilitation Center	North	11	\$106.94	\$31.41	\$44.43	\$6.23	\$14.51	\$0.00	\$21.39	\$2.13	\$227.03
228401	Park Ridge Nursing Center	North	11	\$106.60	\$28.47	\$44.43	\$5.64	\$14.51	\$0.00	\$20.95	\$1.70	\$222.30
317578	Parklands Rehabilitation and Nursing Center	North	6	\$106.94	\$31.41	\$44.43	\$7.54	\$0.00	\$0.00	\$19.49	\$4.25	\$214.05
005547	Parkside Health and Rehabilitation Center	North	19	\$102.99	\$31.41	\$44.43	\$8.18	\$25.06	\$0.00	\$21.99	\$1.67	\$235.72
324507	Peninsula Care and Rehabilitation Center	North	11	\$92.34	\$29.72	\$44.43	\$9.32	\$14.51	\$0.00	\$18.12	\$2.13	\$210.57
252662	Pinebrook Center	North	10	\$106.94	\$31.41	\$44.43	\$14.15	\$0.00	\$0.00	\$19.07	\$2.25	\$218.24
225754	Pinecrest Rehabilitation Center	South	15	\$115.09	\$34.44	\$50.36	\$11.29	\$19.79	\$0.00	\$21.35	\$3.79	\$256.10
263486	Pinellas Point Nursing and Rehab Center	North	15	\$105.21	\$30.71	\$44.43	\$8.48	\$19.79	\$0.00	\$20.38	\$3.14	\$232.13
155062	Pines Nursing Home	South	6.5	\$115.09	\$34.44	\$50.36	\$10.14	\$0.00	\$0.00	\$24.17	\$1.48	\$235.68
202703	Pines of Sarasota	North	9.5	\$106.94	\$31.41	\$44.43	\$10.62	\$0.00	\$0.00	\$22.76	\$2.11	\$218.26
043853	Plantation Bay Rehabilitation Center	North	17	\$98.91	\$29.96	\$44.43	\$10.65	\$22.43	\$0.00	\$18.97	\$2.52	\$227.87
044975	Plantation Key Nursing Center	South	5.5	\$111.31	\$32.59	\$50.36	\$8.14	\$0.00	\$0.00	\$19.69	\$14.92	\$237.00
226017	Plantation Nursing & Rehabilitation Center	South	19	\$115.09	\$34.44	\$50.36	\$11.91	\$25.06	\$1.30	\$21.59	\$3.61	\$263.36
122232	Plaza West	North	12.5	\$106.94	\$31.41	\$44.43	\$19.62	\$16.49	\$0.00	\$0.00	\$1.94	\$220.81
263923	Pompano Health and Rehabilitation Center	South	14	\$100.33	\$34.44	\$50.36	\$6.84	\$18.47	\$0.00	\$20.84	\$5.07	\$236.34
308251	Ponce Plaza Nursing & Rehabilitation Center	South	16	\$115.09	\$34.44	\$50.36	\$15.53	\$21.11	\$0.01	\$20.18	\$6.67	\$263.39
319325	Port Charlotte Rehabilitation Center	North	6	\$106.94	\$31.41	\$44.43	\$11.68	\$0.00	\$0.00	\$12.50	\$4.78	\$211.73
263508	Port Orange Nursing and Rehab Center	North	23	\$106.94	\$31.41	\$44.43	\$13.75	\$30.34	\$0.00	\$13.20	\$3.71	\$243.76
226009	Port St. Lucie Nursing and Restorative Care Center	North	20.5	\$106.94	\$31.41	\$44.43	\$9.21	\$27.04	\$0.00	\$20.00	\$3.07	\$242.09
259331	Pruitthealth - Santa Rosa	North	17	\$94.73	\$29.76	\$44.43	\$14.79	\$22.43	\$0.00	\$20.45	\$1.83	\$228.42
225274	Quality Health of Fernandina Beach	North	5	\$106.94	\$31.41	\$44.43	\$9.67	\$0.00	\$0.00	\$19.17	\$1.68	\$213.29
225053	Quality Health of North Port	North	14	\$106.94	\$31.41	\$44.43	\$9.81	\$18.47	\$0.00	\$20.67	\$2.53	\$234.24
225410	Quality Health of Orange County	North	13.5	\$106.94	\$31.41	\$44.43	\$8.94	\$17.81	\$0.00	\$20.19	\$2.07	\$231.77
223239	Regents Park at Aventura	South	12	\$115.09	\$34.44	\$50.36	\$12.36	\$15.83	\$0.00	\$18.18	\$6.50	\$252.77
204170	Regents Park Nursing & Rehabilitation Center	North	19	\$106.94	\$31.41	\$44.43	\$21.08	\$25.06	\$0.00	\$14.24	\$8.12	\$251.28
269727	Regents Park of Jacksonville	North	12	\$97.41	\$31.21	\$44.43	\$9.39	\$15.83	\$0.00	\$17.84	\$5.56	\$221.66



			Prop	osed New Pe	er Diem Com	ponents by Fa	cility					
Facility Medicaid ID	Facility Name	Region Grouping	Quality Score	Direct Care Rate	Indirect Care Rate	Operation Rate	FRVS Rate	Quality Incentive Add-On Per Diem	Ventilator Care Add- On Per Diem	Provider Assessment Per Diem	Pass Through Per Diem (Taxes and Insurance)	Final Per Diem
269697	Regents Park of Sunrise	South	7	\$94.91	\$34.44	\$50.36	\$11.74	\$0.00	\$0.00	\$19.05	\$7.56	\$218.06
269719	Regents Park of Winter Park	North	6	\$100.28	\$31.41	\$44.43	\$12.77	\$0.00	\$0.00	\$16.62	\$6.08	\$211.58
263869	Rehab & Healthcare Center of Cape Coral	North	17	\$106.94	\$31.41	\$44.43	\$8.54	\$22.43	\$0.00	\$16.37	\$5.06	\$235.16
263940	Rehabilitation and Healthcare Center of Tampa	North	5	\$101.40	\$31.41	\$44.43	\$6.84	\$0.00	\$0.20	\$18.23	\$4.20	\$206.71
104875	Rehabilitation Center at Park Place	North	15.5	\$106.94	\$31.41	\$44.43	\$5.35	\$20.45	\$0.00	\$21.49	\$1.64	\$231.69
072054	Rehabilitation Center of St. Pete	North	8.5	\$106.94	\$31.41	\$44.43	\$7.98	\$0.00	\$0.00	\$21.76	\$5.61	\$218.11
047787	Renaissance Health and Rehabilitation	North	15.5	\$99.90	\$31.41	\$44.43	\$7.39	\$20.45	\$3.75	\$22.04	\$2.54	\$231.90
282464	Ridgecrest Nursing and Rehabilitation Center	North	12	\$106.32	\$31.41	\$44.43	\$9.73	\$15.83	\$0.00	\$17.04	\$3.30	\$228.05
043846	Rio Pinar Health Care	North	8	\$96.51	\$24.33	\$44.43	\$9.16	\$0.00	\$0.00	\$19.16	\$2.52	\$196.11
200859	River Garden Hebrew Home for the Aged	North	29	\$106.94	\$31.41	\$44.43	\$21.60	\$38.26	\$0.00	\$19.80	\$2.69	\$265.11
044889	River Valley Rehabilitation Center	North	7	\$97.26	\$22.74	\$44.43	\$9.14	\$0.00	\$0.00	\$22.59	\$1.51	\$197.66
005386	Riverchase Health and Rehabilitation Center	North	22	\$106.94	\$31.41	\$44.43	\$7.64	\$29.02	\$0.00	\$21.54	\$1.69	\$242.65
046758	Riverside Care Center	South	15.5	\$115.09	\$34.44	\$50.36	\$9.15	\$20.45	\$0.00	\$22.57	\$1.59	\$253.63
260673	Riverwood Center	North	15	\$106.94	\$31.41	\$44.43	\$5.43	\$19.79	\$0.21	\$4.26	\$3.38	\$215.84
122344	Riverwood Health & Rehabilitation Center	North	8	\$106.94	\$31.41	\$44.43	\$7.73	\$0.00	\$0.00	\$20.60	\$1.66	\$212.76
048807	Riviera Health Resort	South	13.5	\$115.09	\$34.44	\$50.36	\$14.83	\$17.81	\$0.08	\$13.05	\$10.03	\$255.68
263451	Riviera Palms Rehabilitation Center	North	20	\$106.94	\$31.41	\$44.43	\$12.38	\$26.38	\$0.00	\$17.25	\$3.86	\$242.64
227587	Rockledge Health and Rehabilitation Center	North	17	\$106.94	\$31.41	\$44.43	\$6.81	\$22.43	\$0.00	\$16.33	\$2.61	\$230.93
059869	Rosewood Health and Rehabilitation Center	North	9.5	\$93.97	\$28.38	\$44.43	\$9.33	\$0.00	\$0.00	\$20.83	\$2.29	\$199.23
017223	Rosewood Healthcare and Rehabilitation Center	North	25.5	\$106.94	\$31.41	\$44.43	\$7.05	\$33.64	\$0.00	\$20.97	\$1.16	\$245.58
324213	Royal Care of Avon Park	North	7	\$92.63	\$31.41	\$44.43	\$10.39	\$0.00	\$0.00	\$18.59	\$3.01	\$200.45
228575	Royal Oak Nursing Center	North	15	\$105.31	\$28.05	\$44.43	\$7.93	\$19.79	\$0.00	\$19.84	\$2.78	\$228.12
263583	Royal Oaks Nursing and Rehab Center	North	18	\$106.94	\$30.04	\$44.43	\$13.58	\$23.74	\$0.00	\$14.13	\$3.28	\$236.14
006489	Royal Palm Beach Health and Rehabilitation Center	North	20	\$106.94	\$31.41	\$44.43	\$11.86	\$26.38	\$0.00	\$18.58	\$3.56	\$243.14
260452	Ruleme Center	North	14	\$106.94	\$31.41	\$44.43	\$6.41	\$18.47	\$0.00	\$19.43	\$2.88	\$229.96
210951	Sabal Palms Health Care Center	North	21.5	\$106.94	\$31.41	\$44.43	\$15.94	\$28.36	\$0.00	\$3.64	\$5.06	\$235.78
006483	Salerno Bay Health and Rehabilitation Center	North	22	\$106.94	\$31.41	\$44.43	\$9.43	\$29.02	\$0.00	\$19.37	\$3.68	\$244.26
202606	Samantha Wilson Care Center	North	12.5	\$106.94	\$31.41	\$44.43	\$14.33	\$16.49	\$0.00	\$16.90	\$1.39	\$231.87
061102	San Jose Health and Rehabilitation Center	North	11.5	\$86.06	\$24.35	\$44.43	\$10.38	\$15.17	\$0.00	\$20.74	\$2.70	\$203.82
312045	SandalWood Nursing Center	North	12	\$106.94	\$23.57	\$44.43	\$7.65	\$15.83	\$0.00	\$20.74	\$2.29	\$221.44
220621	Sandy Ridge Health and Rehabilitation	North	10	\$106.94	\$31.41	\$44.43	\$11.15	\$0.00	\$0.00	\$20.76	\$2.02	\$216.70
220612	Santa Rosa Health & Rehabilitation Center	North	16	\$106.94	\$31.41	\$44.43	\$11.15	\$21.11	\$0.00	\$21.26	\$2.08	\$238.35
263982	Sarasota Health and Rehabilitation Center	North	9.5	\$100.96	\$31.41	\$44.43	\$5.72	\$0.00	\$0.00	\$22.72	\$4.49	\$209.72
260355	Sarasota Memorial Nursing and Rehabilitation Center	North	27	\$106.94	\$31.41	\$44.43	\$8.82	\$35.62	\$2.56	\$15.88	\$0.00	\$245.64
085643	Sarasota Point Rehabilitation Center	North	9	\$106.94	\$31.41	\$44.43	\$11.51	\$0.00	\$0.00	\$21.07	\$10.23	\$225.58
312550	Savannah Cove	North	15	\$106.94	\$31.41	\$44.43	\$14.42	\$19.79	\$0.00	\$0.00	\$2.65	\$219.62
312312	Savannah Cove	North	11	\$106.94	\$31.41	\$44.43	\$14.24	\$14.51	\$0.00	\$0.00	\$5.01	\$216.53
059874	Sea Breeze Health Care	North	9	\$89.19	\$23.18	\$44.43	\$6.45	\$0.00	\$0.00	\$20.94	\$1.49	\$185.68
005543	Seaside Health and Rehabilitation Center	North	14	\$106.94	\$31.41	\$44.43	\$5.01	\$18.47	\$3.32	\$22.44	\$1.49	\$233.50
061107	SeaView Nursing and Rehabilitation Center	South	16	\$94.81	\$24.81	\$50.36	\$7.09	\$21.11	\$0.00	\$23.11	\$2.72	\$224.00
122236	Seminole Pavilion Rehabilitation & Nursing Services	North	15	\$106.94	\$31.41	\$44.43	\$15.96	\$19.79	\$0.00	\$0.00	\$2.12	\$220.63
033175	Seven Hills Health & Rehab Center	North	15.5	\$106.94	\$31.41	\$44.43	\$7.41	\$20.45	\$0.00	\$20.07	\$2.13	\$232.83
229202	Shell Point Nursing Pavilion	North	13.5	\$106.94	\$31.41	\$44.43	\$17.90	\$17.81	\$10.67	\$0.00	\$4.15	\$233.30
059852	Shoal Creek Rehabilitation Center	North	15	\$85.14	\$25.00	\$44.43	\$11.59	\$19.79	\$0.29	\$19.16	\$2.24	\$207.63
324132	Shore Acres Rehabilitation & Health Center	North	11	\$106.94	\$31.41	\$44.43	\$6.97	\$14.51	\$2.43	\$19.88	\$4.02	\$230.57



			Prop	osed New Pe	er Diem Com	ponents by Fa	cility					
Facility Medicaid ID	Facility Name	Region Grouping	Quality Score	Direct Care Rate	Indirect Care Rate	Operation Rate	FRVS Rate	Quality Incentive Add-On Per Diem	Ventilator Care Add- On Per Diem	Provider Assessment Per Diem	Pass Through Per Diem (Taxes and Insurance)	Final Per Diem
324426	Signature Healthcare at the Courtyard	North	12.5	\$91.73	\$31.41	\$44.43	\$13.32	\$16.49	\$0.00	\$20.04	\$1.48	\$218.89
324400	Signature HealthCARE Center of Waterford	South	16	\$105.23	\$31.11	\$50.36	\$8.55	\$21.11	\$0.00	\$3.60	\$2.68	\$222.63
324418	Signature Healthcare of Brookwood Gardens	South	9.5	\$100.54	\$30.19	\$50.36	\$10.06	\$0.00	\$0.00	\$19.77	\$3.06	\$213.98
324370	Signature HealthCARE of College Park	North	5	\$98.10	\$31.41	\$44.43	\$6.10	\$0.00	\$0.00	\$19.49	\$2.82	\$202.34
324388	Signature HealthCARE of Gainesville	North	9	\$91.27	\$31.41	\$44.43	\$5.73	\$0.00	\$0.00	\$18.26	\$2.23	\$193.31
019284	Signature HealthCARE of Jacksonville	North	10.5	\$100.86	\$27.82	\$44.43	\$4.83	\$13.85	\$0.00	\$21.56	\$1.67	\$215.03
324396	Signature Healthcare of North Florida	North	13.5	\$87.97	\$31.41	\$44.43	\$7.90	\$17.81	\$0.00	\$20.58	\$1.22	\$211.30
324434	Signature HealthCARE of Orange Park	North	8.5	\$99.11	\$31.41	\$44.43	\$10.06	\$0.00	\$0.00	\$19.81	\$1.83	\$206.64
324442	Signature HealthCARE of Ormond	North	15	\$94.67	\$31.41	\$44.43	\$8.93	\$19.79	\$0.00	\$13.65	\$2.44	\$215.33
001136	Signature HealthCARE of Palm Beach	North	12.5	\$106.94	\$31.41	\$44.43	\$8.14	\$16.49	\$0.00	\$15.56	\$3.08	\$226.04
324469	Signature Healthcare of Pinellas Park	North	9	\$92.72	\$31.41	\$44.43	\$9.81	\$0.00	\$0.00	\$19.54	\$2.25	\$200.15
324477	Signature HealthCARE of Port Charlotte	North	7	\$106.94	\$31.41	\$44.43	\$11.86	\$0.00	\$0.00	\$18.66	\$2.64	\$215.92
017230	Silvercrest Health and Rehabilitation Center	North	20	\$106.94	\$31.41	\$44.43	\$11.88	\$26.38	\$0.00	\$19.19	\$1.93	\$242.16
260771	Sinai Plaza Nursing & Rehab Center	South	13	\$115.09	\$34.44	\$50.36	\$16.74	\$17.15	\$0.00	\$21.57	\$0.93	\$256.27
162218	Solaris Healthcare Bayonet Point	North	14	\$106.94	\$31.41	\$44.43	\$7.69	\$18.47	\$0.00	\$17.66	\$3.94	\$230.53
162219	Solaris Healthcare Charlotte Harbor	North	12.5	\$106.94	\$31.41	\$44.43	\$8.44	\$16.49	\$0.00	\$17.78	\$2.68	\$228.16
162220	Solaris Healthcare Coconut Creek	South	18	\$115.09	\$34.44	\$50.36	\$12.49	\$23.74	\$0.00	\$16.56	\$6.51	\$259.20
162221	Solaris Healthcare Daytona	North	9	\$106.94	\$31.41	\$44.43	\$17.33	\$0.00	\$0.00	\$11.86	\$4.29	\$216.24
162222	Solaris Healthcare Imperial	North	11.5	\$106.94	\$31.41	\$44.43	\$13.82	\$15.17	\$0.00	\$14.68	\$3.46	\$229.90
162224	Solaris Healthcare Lake City	North	11	\$106.94	\$31.41	\$44.43	\$11.60	\$14.51	\$0.00	\$14.77	\$3.17	\$226.82
162225	Solaris Healthcare Merritt Island	North	16	\$106.94	\$31.41	\$44.43	\$8.62	\$21.11	\$0.38	\$17.03	\$3.28	\$233.19
162228	Solaris Healthcare Parkway	North	14	\$106.94	\$31.41	\$44.43	\$8.43	\$18.47	\$0.00	\$18.75	\$4.40	\$232.81
162230	Solaris Healthcare Pensacola	North	12.5	\$106.94	\$31.41	\$44.43	\$7.90	\$16.49	\$0.00	\$17.60	\$2.08	\$226.83
162231	Solaris Healthcare Plant City	North	16	\$106.94	\$31.41	\$44.43	\$7.77	\$21.11	\$0.00	\$19.49	\$4.02	\$235.16
162232	Solaris Healthcare Windermere	North	16	\$106.94	\$31.41	\$44.43	\$12.77	\$21.11	\$0.00	\$13.93	\$3.74	\$234.32
162226	Solaris Senior Living North Naples	North	7.5	\$106.94	\$31.41	\$44.43	\$15.15	\$0.00	\$0.00	\$17.81	\$3.63	\$219.37
072048	South Campus Rehabilitation & Nursing Center	North	7.5	\$106.94	\$31.41	\$44.43	\$8.73	\$0.00	\$0.00	\$18.41	\$4.03	\$213.95
054789	South Dade Nursing and Rehabilitation Center	South	9	\$90.57	\$29.12	\$50.36	\$13.52	\$0.00	\$0.00	\$18.40	\$4.72	\$206.68
226360	South Heritage Health & Rehabilitation Center	North	20.5	\$105.40	\$31.41	\$44.43	\$5.07	\$27.04	\$0.00	\$22.36	\$7.44	\$243.13
311308	South Pointe Plaza Rehabilitation and Nursing Center	South	15	\$112.09	\$28.03	\$50.36	\$8.14	\$19.79	\$0.00	\$4.06	\$3.92	\$226.39
224910	South Tampa Health and Rehabilitation Center	North	9	\$106.94	\$31.41	\$44.43	\$12.45	\$0.00	\$0.00	\$20.02	\$1.93	\$217.16
324566	Southern Oaks Rehabilitation and Nursing Center	North	10	\$106.94	\$31.41	\$44.43	\$8.18	\$0.00	\$0.00	\$4.20	\$3.56	\$198.70
019282	Southern Pines Healthcare Center	North	18	\$92.15	\$31.41	\$44.43	\$4.36	\$23.74	\$0.00	\$19.46	\$1.48	\$217.02
017236	Specialty Health and Rehabilitation Center	North	22	\$106.94	\$31.41	\$44.43	\$11.23	\$29.02	\$0.00	\$18.26	\$1.87	\$243.15
059877	Spring Hill Health and Rehabilitation Center	North	15.5	\$94.86	\$31.41	\$44.43	\$12.55	\$20.45	\$0.00	\$11.45	\$3.08	\$218.22
264571	Spring Lake Rehabilitation Center	North	13	\$106.94	\$31.41	\$44.43	\$15.71	\$17.15	\$0.00	\$8.58	\$6.23	\$230.43
267724	Springs at Boca Ciega Bay	North	17	\$106.94	\$31.41	\$44.43	\$9.58	\$22.43	\$0.00	\$14.03	\$3.36	\$232.17
268780	Springs at Lake Pointe Woods	North	11.5	\$106.94	\$31.41	\$44.43	\$14.00	\$15.17	\$0.00	\$20.54	\$3.53	\$236.02
225631	Springtree Rehabilitation & Health Care Center	South	9	\$113.79	\$34.44	\$50.36	\$19.63	\$0.00	\$0.00	\$13.96	\$4.77	\$236.95
253014	Springwood Center	North	5	\$104.13	\$26.35	\$44.43	\$14.02	\$0.00	\$0.00	\$22.73	\$2.86	\$214.51
217735	St Augustine Health and Rehabilitation Center	North	2.5	\$106.94	\$31.41	\$44.43	\$20.08	\$0.00	\$0.00	\$18.94	\$1.64	\$223.43
310841	St Mark Village	North	26	\$106.94	\$31.41	\$44.43	\$9.62	\$34.30	\$0.00	\$0.00	\$2.90	\$229.58
323799	St. Andrew's Bay Skilled Nursing and Rehabilitation	North	15	\$101.82	\$31.41	\$44.43	\$6.22	\$19.79	\$0.00	\$17.69	\$1.34	\$222.69
209473	St. Anne's Nursing Center	South	16.5	\$115.09	\$34.44	\$50.36	\$12.06	\$21.77	\$0.00	\$20.23	\$1.86	\$255.81



			Prop	osed New Pe	r Diem Com	ponents by Fa	cility					
Facility Medicaid ID	Facility Name	Region Grouping	Quality Score	Direct Care Rate	Indirect Care Rate	Operation Rate	FRVS Rate	Quality Incentive Add-On Per Diem	Ventilator Care Add- On Per Diem	Provider Assessment Per Diem	Pass Through Per Diem (Taxes and Insurance)	Final Per Diem
111543	St. Catherine Laboure Manor, Inc.	North	14	\$106.94	\$31.41	\$44.43	\$9.12	\$18.47	\$0.00	\$3.60	\$0.11	\$214.06
015613	St. James Health and Rehabilitation Center	North	19	\$97.33	\$31.12	\$44.43	\$17.25	\$25.06	\$0.00	\$22.16	\$6.61	\$243.95
205800	St. John's Nursing Center	South	19	\$115.09	\$34.44	\$50.36	\$9.31	\$25.06	\$0.00	\$20.27	\$1.42	\$255.95
211010	Stratford Court of Boca Raton	North	14	\$106.94	\$31.41	\$44.43	\$10.59	\$18.47	\$0.00	\$11.93	\$4.11	\$227.87
059400	Stratford Court of Palm Harbor	North	13	\$106.94	\$31.41	\$44.43	\$14.95	\$17.15	\$0.00	\$16.21	\$1.66	\$232.74
225991	Stuart Nursing & Restorative Care Center	North	20	\$106.94	\$31.41	\$44.43	\$9.64	\$26.38	\$0.00	\$20.69	\$3.86	\$243.35
059783	Summer Brook Health Care Center	North	18.5	\$87.60	\$23.61	\$44.43	\$8.49	\$24.40	\$0.00	\$23.27	\$2.34	\$214.14
209856	Sun Terrace Health Care Center	North	14	\$106.94	\$31.41	\$44.43	\$12.37	\$18.47	\$0.00	\$11.75	\$5.75	\$231.11
320412	Sunbelt Health & Rehab Center - Apopka, Inc.	North	12	\$106.94	\$31.41	\$44.43	\$17.45	\$15.83	\$0.00	\$15.61	\$0.24	\$231.91
202711	Sunnyside Nursing Home	North	24	\$106.94	\$31.41	\$44.43	\$16.57	\$31.66	\$0.00	\$19.95	\$2.72	\$253.68
207497	Sunrise Health and Rehabilitation Center	South	17	\$108.22	\$34.44	\$50.36	\$12.88	\$22.43	\$0.00	\$22.14	\$8.69	\$259.16
032551	Sunset Lake Health and Rehab Center	North	11.5	\$106.94	\$31.41	\$44.43	\$13.53	\$15.17	\$0.00	\$15.70	\$3.46	\$230.63
253430	Sunset Point	North	7	\$98.02	\$24.27	\$44.43	\$13.64	\$0.00	\$0.00	\$17.83	\$3.32	\$201.52
001135	Surrey Place Care Center	North	11	\$99.44	\$31.41	\$44.43	\$13.80	\$14.51	\$0.00	\$18.65	\$2.88	\$225.12
256277	Surrey Place Healthcare and Rehabilitation	North	22.5	\$106.94	\$31.41	\$44.43	\$18.83	\$29.68	\$0.00	\$12.63	\$4.71	\$248.62
268062	Susanna Wesley Health Center	South	20	\$115.09	\$34.44	\$50.36	\$15.72	\$26.38	\$0.00	\$16.75	\$1.73	\$260.47
005387	Suwannee Health and Rehabilitation Center	North	10	\$106.94	\$31.41	\$44.43	\$11.74	\$0.00	\$0.00	\$20.27	\$2.13	\$216.90
206300	Suwannee Valley Nursing Center	North	18	\$106.94	\$31.41	\$44.43	\$9.49	\$23.74	\$0.00	\$22.57	\$1.19	\$239.77
122248	Sylvan Health Center	North	18	\$106.94	\$31.41	\$44.43	\$22.41	\$23.74	\$0.00	\$0.00	\$5.25	\$234.17
213098	Tamarac Rehabilitation and Health Center	South	16.5	\$115.09	\$34.44	\$50.36	\$10.71	\$21.77	\$0.00	\$17.13	\$4.37	\$253.87
080079	Tarpon Bayou Center	North	8	\$106.53	\$31.41	\$44.43	\$4.72	\$0.00	\$0.00	\$21.13	\$3.49	\$211.69
323781	Tarpon Point Nursing and Rehabilitation Center	North	8.5	\$106.94	\$31.41	\$44.43	\$11.64	\$0.00	\$0.00	\$14.10	\$2.35	\$210.85
207446	Taylor Care Center	North	13	\$106.94	\$24.60	\$44.43	\$12.61	\$17.15	\$0.00	\$20.04	\$1.09	\$226.84
261611	Terra Vista Rehab and Health Center	North	10	\$96.89	\$31.14	\$44.43	\$7.76	\$0.00	\$0.09	\$21.97	\$3.65	\$205.92
122346	Terrace Health & Rehabilitation Center	North	16.5	\$106.94	\$31.41	\$44.43	\$11.80	\$21.77	\$0.00	\$13.57	\$4.21	\$234.12
325031	Terraces of Lake Worth Rehab and Health Center	North	11.5	\$106.94	\$31.41	\$44.43	\$12.04	\$15.17	\$0.00	\$22.41	\$6.34	\$238.74
309800	The Allegro at College Harbor	North	13	\$106.94	\$31.41	\$44.43	\$14.30	\$17.15	\$0.37	\$15.08	\$3.68	\$233.35
324485	The Bridge at Bay St. Joe	North	7	\$99.78	\$31.41	\$44.43	\$10.64	\$0.00	\$0.00	\$20.21	\$2.49	\$208.95
072320	The Club Health and Rehab Center at the Villages	North	18	\$106.94	\$31.41	\$44.43	\$5.69	\$23.74	\$0.00	\$0.25	\$8.99	\$221.44
318795	The Court at Palm Aire	South	16.5	\$115.09	\$34.44	\$50.36	\$14.51	\$21.77	\$0.00	\$13.91	\$4.10	\$254.17
102592	The Crossings	North	16	\$106.94	\$30.62	\$44.43	\$14.26	\$21.11	\$0.00	\$20.21	\$4.07	\$241.62
102586	The Crossroads	North	21	\$106.94	\$31.41	\$44.43	\$10.84	\$27.70	\$0.00	\$18.90	\$1.16	\$241.36
146222	The Floridean Nursing and Rehabilitation Center	South	16.5	\$115.09	\$34.44	\$50.36	\$15.11	\$21.77	\$0.00	\$11.03	\$5.58	\$253.37
212393	The Fountains Nursing Home Inc	North	21	\$99.49	\$31.41	\$44.43	\$5.52	\$27.70	\$0.00	\$23.08	\$6.17	\$237.79
228320	The Gardens Court	North	21	\$106.94	\$31.41	\$44.43	\$14.66	\$27.70	\$0.00	\$24.59	\$6.55	\$256.27
122342	The Gardens Health & Rehabilitation Center	North	6	\$106.94	\$31.41	\$44.43	\$17.89	\$0.00	\$0.00	\$18.82	\$3.88	\$223.36
080062	The Groves Center	North	9.5	\$95.72	\$31.41	\$44.43	\$6.41	\$0.00	\$0.00	\$19.70	\$2.39	\$200.04
043863	The Health and Rehabilitation Centre at Dolphins View	North	12.5	\$95.49	\$31.41	\$44.43	\$8.65	\$16.49	\$0.00	\$18.11	\$3.22	\$217.79
022994	The Home Association, Inc.	North	18	\$104.20	\$27.12	\$44.43	\$9.15	\$23.74	\$0.00	\$23.25	\$0.17	\$232.04
227773	The Lodge Health and Rehabilitation Center	North	21.5	\$106.94	\$31.41	\$44.43	\$9.60	\$28.36	\$0.00	\$15.81	\$3.88	\$240.42
135581	The Manor at Blue Water Bay	North	15.5	\$106.94	\$31.41	\$44.43	\$13.50	\$20.45	\$0.00	\$16.01	\$3.58	\$236.31
203599	The Manor at Carpenter's	North	16.5	\$106.94	\$31.41	\$44.43	\$17.34	\$21.77	\$0.00	\$0.00	\$2.36	\$224.24
122250	The Nursing Center at Freedom Village	North	11	\$106.94	\$31.41	\$44.43	\$13.55	\$14.51	\$0.00	\$0.00	\$5.17	\$216.00
267902	The Nursing Center at Mercy	South	15	\$91.57	\$34.44	\$50.36	\$11.48	\$19.79	\$0.00	\$6.92	\$5.11	\$219.67



			Prop	osed New Pe	r Diem Com	ponents by Fa	cility					
Facility Medicaid ID	Facility Name	Region Grouping	Quality Score	Direct Care Rate	Indirect Care Rate	Operation Rate	FRVS Rate	Quality Incentive Add-On Per Diem	Ventilator Care Add- On Per Diem	Provider Assessment Per Diem	Pass Through Per Diem (Taxes and Insurance)	Final Per Diem
259462	The Nursing Center at University Village	North	6.5	\$105.66	\$31.41	\$44.43	\$13.05	\$0.00	\$0.00	\$0.00	\$0.00	\$194.55
101391	The Oaks of Clearwater	North	8	\$92.81	\$31.41	\$44.43	\$13.14	\$0.00	\$0.00	\$20.56	\$1.08	\$203.42
203327	The Palace at Kendall Nursing and Rehab Center	South	21.5	\$115.09	\$34.44	\$50.36	\$16.44	\$28.36	\$0.00	\$15.84	\$4.34	\$264.87
252671	The Palms of Sebring	North	12	\$106.94	\$31.41	\$44.43	\$20.33	\$15.83	\$0.00	\$16.16	\$1.94	\$237.03
043847	The Palms Rehabilitation and Healthcare Center	North	15.5	\$101.74	\$27.88	\$44.43	\$12.20	\$20.45	\$0.00	\$18.22	\$2.62	\$227.53
321532	The Palms Rehabilitation and Nursing Center	South	8.5	\$115.09	\$34.44	\$50.36	\$12.10	\$0.00	\$0.00	\$19.72	\$6.48	\$238.18
018066	The Park Summit at Coral Springs	South	14	\$115.09	\$34.44	\$50.36	\$11.41	\$18.47	\$0.00	\$0.00	\$2.31	\$232.07
043850	The Parks Healthcare and Rehabilitation Center	North	10	\$96.93	\$30.64	\$44.43	\$11.96	\$0.00	\$6.71	\$21.47	\$2.20	\$214.34
129312	The Pavilion for Health Care	North	16.5	\$106.94	\$31.41	\$44.43	\$21.03	\$21.77	\$0.00	\$0.00	\$0.61	\$226.18
207799	The Ponce Therapy Care Center	North	10	\$106.94	\$31.41	\$44.43	\$12.28	\$0.00	\$0.00	\$20.57	\$4.69	\$220.30
263915	The Rehabilitation Center of the Palm Beaches	North	18	\$96.66	\$31.41	\$44.43	\$13.78	\$23.74	\$0.00	\$19.33	\$6.31	\$235.66
005380	The Rehabilitation Center of Winter Park	North	13	\$106.94	\$31.41	\$44.43	\$10.13	\$17.15	\$0.00	\$19.05	\$2.00	\$231.09
202533	The Rohr Home	North	20.5	\$106.94	\$31.41	\$44.43	\$13.84	\$27.04	\$0.00	\$21.55	\$0.00	\$245.21
148040	The Terrace at Hobe Sound	North	10	\$106.94	\$31.41	\$44.43	\$7.68	\$0.00	\$0.00	\$20.39	\$3.71	\$214.54
108507	The Terrace of Jacksonville	North	15	\$106.94	\$31.41	\$44.43	\$8.23	\$19.79	\$0.25	\$19.20	\$3.30	\$233.53
100487	The Terrace of Kissimmee	North	7	\$94.24	\$31.41	\$44.43	\$9.87	\$0.00	\$0.26	\$18.85	\$3.21	\$202.26
102419	The Terrace of St. Cloud	North	10	\$96.29	\$26.73	\$44.43	\$12.33	\$0.00	\$0.00	\$21.18	\$2.74	\$203.68
205460	The Village on High Ridge	North	11	\$104.90	\$31.41	\$44.43	\$7.02	\$14.51	\$0.00	\$23.22	\$2.35	\$227.84
158851	The Villages Rehabilitation and Nursing Center	North	10.5	\$106.94	\$31.41	\$44.43	\$16.58	\$13.85	\$0.00	\$5.31	\$4.56	\$223.06
206610	The Waterford	North	18	\$106.94	\$31.41	\$44.43	\$12.12	\$23.74	\$0.00	\$0.00	\$6.09	\$224.73
260568	Tierra Pines Center	North	11.5	\$106.94	\$31.41	\$44.43	\$8.73	\$15.17	\$0.00	\$22.98	\$2.51	\$232.16
263532	Tiffany Hall Nursing and Rehab Center	North	19	\$106.94	\$27.64	\$44.43	\$12.01	\$25.06	\$0.00	\$16.15	\$3.61	\$235.84
203335	TimberRidge Nursing & Rehab Center	North	9	\$106.94	\$31.41	\$44.43	\$18.20	\$0.00	\$4.70	\$14.80	\$2.51	\$222.98
263974	Titusville Rehabilitation and Nursing Center	North	6.5	\$106.87	\$31.41	\$44.43	\$5.40	\$0.00	\$0.14	\$22.23	\$3.12	\$213.60
213934	TMH Skilled Nursing Facility	North	18	\$106.94	\$31.41	\$44.43	\$9.69	\$23.74	\$0.00	\$0.00	\$0.09	\$216.30
226602	Treasure Isle Care Center	South	18	\$104.89	\$33.00	\$50.36	\$6.49	\$23.74	\$0.00	\$22.26	\$6.27	\$247.02
204625	Tri-County Nursing Home	North	10	\$96.20	\$31.41	\$44.43	\$15.00	\$0.00	\$0.00	\$18.92	\$1.92	\$207.87
101961	Trinity Regional Rehab Center	North	21.5	\$100.72	\$31.41	\$44.43	\$17.98	\$28.36	\$0.00	\$14.93	\$4.78	\$242.60
263591	Tuskawilla Nursing and Rehab Center	North	26.5	\$106.94	\$31.41	\$44.43	\$14.76	\$34.96	\$0.00	\$10.91	\$3.62	\$247.02
032482	Unity Health and Rehab Center	South	17	\$115.09	\$34.44	\$50.36	\$5.64	\$22.43	\$0.00	\$4.38	\$2.02	\$234.35
041686	University Center East	North	7.5	\$105.55	\$31.41	\$44.43	\$4.37	\$0.00	\$0.00	\$23.11	\$2.66	\$211.53
041685	University Center West	North	6.5	\$106.32	\$31.41	\$44.43	\$4.97	\$0.00	\$4.97	\$22.77	\$2.58	\$217.44
060993	University Hills Health and Rehabilitation	North	11.5	\$88.75	\$28.48	\$44.43	\$10.26	\$15.17	\$0.00	\$20.88	\$1.65	\$209.62
082204	University Plaza Rehabilitation & Nursing Center	South	17	\$115.09	\$34.44	\$50.36	\$22.01	\$22.43	\$0.00	\$19.60	\$3.61	\$267.53
265560	Valencia Hills Health and Rehabilitation Center	North	16.5	\$106.94	\$31.41	\$44.43	\$8.11	\$21.77	\$0.00	\$3.70	\$1.66	\$218.00
213837	Vi at Lakeside Village	North	15.5	\$106.94	\$31.41	\$44.43	\$13.13	\$20.45	\$0.00	\$0.00	\$2.13	\$218.48
046128	Victoria Nursing and Rehabilitation Center, Inc.	South	17.5	\$115.09	\$34.44	\$50.36	\$15.53	\$23.09	\$7.38	\$3.07	\$2.76	\$251.71
110482	Viera Health & Rehabilitation Center	North	27	\$106.94	\$31.41	\$44.43	\$16.48	\$35.62	\$0.00	\$13.12	\$4.76	\$252.74
122347	Villa Health & Rehabilitation Center	North	8	\$106.94	\$31.41	\$44.43	\$10.17	\$0.00	\$0.00	\$19.78	\$3.19	\$215.92
203165	Villa Maria Nursing Center	South	23	\$115.09	\$34.44	\$50.36	\$10.13	\$30.34	\$0.00	\$20.86	\$2.19	\$263.42
210463	Village on the Isle	North	25	\$106.94	\$31.41	\$44.43	\$12.65	\$32.98	\$0.00	\$0.00	\$1.98	\$230.37
002400	Village Place Health and Rehab Center	North	7	\$106.94	\$31.41	\$44.43	\$10.47	\$0.00	\$0.00	\$15.64	\$3.44	\$212.32
061109	Vista Manor	North	13.5	\$90.72	\$26.62	\$44.43	\$8.09	\$17.81	\$2.41	\$19.10	\$2.41	\$211.58
211052	W Frank Wells Nursing Home	North	12	\$106.94	\$31.41	\$44.43	\$17.36	\$15.83	\$0.00	\$22.57	\$0.00	\$238.52
324353	Washington Rehabilitation & Nursing Center	North	15	\$89.38	\$31.41	\$44.43	\$9.05	\$19.79	\$0.00	\$20.92	\$1.56	\$216.53



			Prop	osed New Pe	r Diem Com	ponents by Fa	cility					
Facility Medicaid ID	Facility Name	Region Grouping	Quality Score	Direct Care Rate	Indirect Care Rate	Operation Rate	FRVS Rate	Quality Incentive Add-On Per Diem	Ventilator Care Add- On Per Diem	Provider Assessment Per Diem	Pass Through Per Diem (Taxes and Insurance)	Final Per Diem
213152	Waters Edge Extended Care	North	15	\$106.94	\$31.41	\$44.43	\$15.95	\$19.79	\$0.00	\$0.00	\$9.36	\$227.87
005519	Wave Crest Health and Rehabilitation Center	North	10	\$106.94	\$31.41	\$44.43	\$9.17	\$0.00	\$0.00	\$22.48	\$1.83	\$216.25
043867	Wedgewood Healthcare Center	North	10	\$92.91	\$31.41	\$44.43	\$12.04	\$0.00	\$0.00	\$13.73	\$3.37	\$197.88
253464	West Bay of Tampa	North	9.5	\$106.94	\$27.31	\$44.43	\$14.38	\$0.00	\$0.00	\$19.75	\$1.28	\$214.08
026536	West Broward Rehabilitation and Healthcare	South	20.5	\$115.09	\$34.44	\$50.36	\$12.64	\$27.04	\$0.00	\$19.73	\$4.05	\$263.36
282359	West Gables Health Care Center	South	18	\$115.09	\$34.44	\$50.36	\$11.24	\$23.74	\$0.00	\$7.88	\$2.23	\$244.98
218171	West Jacksonville Health and Rehabilitation Center	North	9.5	\$101.16	\$27.72	\$44.43	\$10.15	\$0.00	\$0.00	\$18.66	\$3.33	\$205.45
217727	West Melbourne Health & Rehabilitation Center	North	11.5	\$106.94	\$27.87	\$44.43	\$14.54	\$15.17	\$0.00	\$21.68	\$1.83	\$232.46
202011	Westchester Gardens Rehabilitation & Care Center	North	20	\$106.94	\$31.41	\$44.43	\$10.50	\$26.38	\$0.00	\$14.12	\$3.07	\$236.84
209422	Westminster Communities of Bradenton Westminster Manor	North	13.5	\$106.94	\$31.41	\$44.43	\$18.56	\$17.81	\$0.00	\$0.00	\$1.38	\$220.52
200409	Westminster Oaks	North	12	\$106.94	\$31.41	\$44.43	\$15.35	\$15.83	\$0.00	\$0.00	\$2.02	\$215.97
212709	Westminster Suncoast	North	9.5	\$106.94	\$31.41	\$44.43	\$22.03	\$0.00	\$0.00	\$0.00	\$1.03	\$205.82
208540	Westminster Towers	North	11.5	\$106.94	\$31.41	\$44.43	\$16.75	\$15.17	\$0.00	\$0.00	\$1.23	\$215.92
203815	Westminster Towers and Shores of Bradenton	North	16.5	\$106.94	\$31.41	\$44.43	\$15.06	\$21.77	\$0.00	\$0.00	\$0.92	\$220.51
212083	Westminster Woods on Julington Creek	North	15	\$106.94	\$31.41	\$44.43	\$22.71	\$19.79	\$0.00	\$0.00	\$2.49	\$227.76
103475	Westwood Nursing & Rehabilitation Center	North	19	\$106.94	\$31.41	\$44.43	\$9.16	\$25.06	\$0.00	\$12.96	\$2.25	\$232.21
266612	Whispering Oaks	North	15	\$94.09	\$25.54	\$44.43	\$4.94	\$19.79	\$0.00	\$4.12	\$1.42	\$194.32
088601	Whitehall Boca Raton	North	14.5	\$106.94	\$31.41	\$44.43	\$11.51	\$19.13	\$0.00	\$10.87	\$9.74	\$234.01
317586	Williston Rehabilitation and Nursing Center	North	0.5	\$106.94	\$31.41	\$44.43	\$8.34	\$0.00	\$0.00	\$19.95	\$5.92	\$216.98
096150	Willowbrooke Court at Azalea Trace	North	12	\$106.94	\$31.41	\$44.43	\$8.27	\$15.83	\$0.00	\$0.00	\$0.74	\$207.61
206521	Willowbrooke Court at St Andrews Estates	North	9	\$106.94	\$31.41	\$44.43	\$10.50	\$0.00	\$0.00	\$0.00	\$5.37	\$198.64
227579	Wilton Manors Health & Rehabilitation Center	South	14.5	\$115.09	\$34.44	\$50.36	\$7.28	\$19.13	\$0.00	\$16.61	\$4.71	\$247.62
006340	Windsor Health and Rehabilitation Center	North	22	\$106.25	\$31.41	\$44.43	\$10.29	\$29.02	\$0.00	\$20.19	\$1.88	\$243.46
263991	Windsor Woods Rehab and Healthcare Center	North	7	\$96.94	\$31.41	\$44.43	\$11.22	\$0.00	\$0.00	\$20.59	\$3.72	\$208.30
264008	Winkler Court	North	17	\$103.25	\$31.41	\$44.43	\$14.78	\$22.43	\$0.00	\$18.51	\$4.87	\$239.67
228702	Winter Haven Health and Rehabilitation Center	North	6	\$96.06	\$31.41	\$44.43	\$6.00	\$0.00	\$0.00	\$21.35	\$4.45	\$203.69
324515	Winter Park Care and Rehabilitation Center	North	8	\$93.95	\$31.41	\$44.43	\$7.51	\$0.00	\$0.00	\$19.80	\$2.47	\$199.56
209848	Winter Park Towers	North	12	\$106.94	\$31.41	\$44.43	\$14.17	\$15.83	\$0.00	\$0.00	\$3.48	\$216.25
047788	Wood Lake Nursing and Rehabilitation Center	North	15	\$91.82	\$30.34	\$44.43	\$12.70	\$19.79	\$0.00	\$21.63	\$2.91	\$223.62
324141	Woodbridge Rehabilitation & Health Center	North	6.5	\$106.94	\$31.41	\$44.43	\$7.75	\$0.00	\$0.00	\$17.88	\$5.84	\$214.24
122341	Woodland Grove Health & Rehabilitation Center	North	8.5	\$106.94	\$31.41	\$44.43	\$16.62	\$0.00	\$0.24	\$21.08	\$5.09	\$225.81
008793	Woods of Manatee Springs	North	17	\$106.94	\$23.40	\$44.43	\$12.40	\$22.43	\$0.00	\$20.63	\$3.58	\$233.80
254762	Wrights Healthcare and Rehabilitation Center	North	10	\$106.93	\$31.41	\$44.43	\$4.48	\$0.00	\$0.00	\$19.86	\$6.26	\$213.36
212164	Ybor City Healthcare and Rehabilitation Center	North	27	\$106.94	\$31.41	\$44.43	\$8.89	\$35.62	\$0.00	\$22.28	\$1.71	\$251.27
320391	Zephyr Haven Health & Rehab Center, Inc.	North	12.5	\$100.76	\$31.41	\$44.43	\$16.84	\$16.49	\$2.25	\$18.06	\$0.24	\$230.47
320404	Zephyrhills Health & Rehab Center, Inc.	North	16	\$106.94	\$31.41	\$44.43	\$17.89	\$21.11	\$0.00	\$15.95	\$0.25	\$237.97



The next figure shows a comparison of current per diem payment to our new modelled payment. Two new modeled payments are provided, one with no cap on gains or losses and one with a five percent cap on losses and a cap on gains at 5.22 percent. The two caps are slightly different so that budget neutrality is maintained.

Figure 28. Estimated change in Medicaid reimbursement with and without application of a limit on gains and losses.

				Estimated	Change in Me	dicaid Reim	bursement						
	Facility Information			Current Pa	yment Method	Ne	ew Method with no	Gain/Loss Cap		Ne	ew Method with Gai	in/Loss Cap	
Facility			Medicaid	Current	Current	Proposed	Annual	Payment	Pymt	Proposed	Annual	Payment	Pymt
Mcaid		Mcaid	Annualized	Total Per	Annual	New Total	Proposed New	Change	Chng	New Total	Adjusted New	Change	Chng
ID	Facility Name	Util.	Days	Diem	Payment	Per Diem	Payment	(\$)	(%)	Per Diem	Payment	(\$)	(%)
205745	Abbey Delray	26%	8,910	\$282.78	\$2,519,576	\$217.18	\$1,935,075	-\$584,501	-23%	\$268.64	\$2,393,597	-\$125,979	-5%
206865	Abbey Delray South	23%	6,476	\$274.24	\$1,775,985	\$216.90	\$1,404,627	-\$371,359	-21%	\$260.53	\$1,687,186	-\$88,799	-5%
263958	Abbey Rehabilitation and Nursing Center	81%	31,957	\$223.40	\$7,139,178	\$213.06	\$6,808,836	-\$330,342	-5%	\$213.06	\$6,808,836	-\$330,342	-5%
268755	Abbiejean Russell Care Center LLC	78%	18,511	\$251.76	\$4,660,278	\$242.87	\$4,495,820	-\$164,458	-4%	\$242.87	\$4,495,820	-\$164,458	-4%
005826	Accentia Health & Rehab. Center of Tampa	76%	62,129	\$236.26	\$14,678,318	\$195.96	\$12,174,787	-\$2,503,531	-17%	\$224.44	\$13,944,402	-\$733,916	-5%
324094	Advanced Rehabilitation & Health Center	71%	29,299	\$251.99	\$7,383,067	\$233.24	\$6,833,817	-\$549,250	-7%	\$239.39	\$7,013,913	-\$369,153	-5%
320439	Adventist Care Centers - Courtland, Inc.	54%	22,761	\$216.03	\$4,916,995	\$233.03	\$5,303,904	\$386,909	8%	\$227.30	\$5,173,662	\$256,667	5%
261254	Alhambra Health and Rehabilitation Center	55%	11,338	\$232.41	\$2,635,053	\$229.59	\$2,603,078	-\$31,975	-1%	\$229.59	\$2,603,078	-\$31,975	-1%
227251	Alpine Health and Rehabilitation Center	84%	15,907	\$230.19	\$3,661,597	\$238.73	\$3,797,495	\$135,898	4%	\$238.73	\$3,797,495	\$135,898	4%
324451	Anchor Care & Rehabilitation Center	66%	25,063	\$195.75	\$4,906,185	\$200.05	\$5,013,893	\$107,708	2%	\$200.05	\$5,013,893	\$107,708	2%
227633	Apollo Health and Rehabilitation Center	54%	17,999	\$234.98	\$4,229,374	\$223.27	\$4,018,597	-\$210,777	-5%	\$223.27	\$4,018,597	-\$210,777	-5%
263478	Arbor Trail Rehab and Skilled Nursing Center	50%	18,297	\$195.63	\$3,579,528	\$220.27	\$4,030,356	\$450,827	13%	\$205.85	\$3,766,379	\$186,851	5%
325040	Arbor Village Nursing Center	68%	41,882	\$240.45	\$10,070,673	\$217.50	\$9,109,322	-\$961,351	-10%	\$228.43	\$9,567,140	-\$503,534	-5%
100509	Arcadia Health & Rehabilitation Center	62%	34,467	\$233.62	\$8,052,143	\$239.05	\$8,239,472	\$187,329	2%	\$239.05	\$8,239,472	\$187,329	2%
254291	Arch Plaza Nursing & Rehabilitation Center	80%	26,090	\$262.16	\$6,839,684	\$252.82	\$6,596,183	-\$243,501	-4%	\$252.82	\$6,596,183	-\$243,501	-4%
103165	Astoria Health & Rehabilitation Center	43%	17,986	\$214.81	\$3,863,524	\$238.86	\$4,296,073	\$432,549	11%	\$226.02	\$4,065,200	\$201,676	5%
310581	Atlantic Healthcare Center	61%	21,202	\$209.99	\$4,452,303	\$218.39	\$4,630,406	\$178,103	4%	\$218.39	\$4,630,406	\$178,103	4%
263389	Atlantic Shores Nursing and Rehab Center	56%	22,385	\$208.93	\$4,676,994	\$215.25	\$4,818,386	\$141,392	3%	\$215.25	\$4,818,386	\$141,392	3%
261629	Avalon Healthcare Center	76%	22,925	\$208.27	\$4,774,665	\$209.30	\$4,798,262	\$23,596	0%	\$209.30	\$4,798,262	\$23,596	0%
210676	Avante at Boca Raton Inc.	64%	24,426	\$261.12	\$6,378,200	\$266.98	\$6,521,347	\$143,146	2%	\$266.98	\$6,521,347	\$143,146	2%
203220	Avante at Inverness	68%	20,814	\$225.84	\$4,700,663	\$212.05	\$4,413,676	-\$286,987	-6%	\$214.55	\$4,465,630	-\$235,033	-5%
203238	Avante at Lake Worth	74%	27,245	\$243.00	\$6,620,565	\$244.62	\$6,664,555	\$43,990	1%	\$244.62	\$6,664,555	\$43,990	1%
203122	Avante at Leesburg, Inc.	72%	26,022	\$241.27	\$6,278,200	\$212.70	\$5,534,756	-\$743,445	-12%	\$229.20	\$5,964,290	-\$313,910	-5%
252018	Avante at Melbourne Inc	69%	22,062	\$249.98	\$5,515,065	\$214.96	\$4,742,514	-\$772,551	-14%	\$237.48	\$5,239,312	-\$275,753	-5%
252042	Avante at Mt Dora Inc	61%	22,917	\$215.43	\$4,936,895	\$222.78	\$5,105,499	\$168,604	3%	\$222.78	\$5,105,499	\$168,604	3%
005701	Avante at Ocala	54%	21,830	\$229.06	\$5,000,426	\$256.29	\$5,594,806	\$594,380	12%	\$241.02	\$5,261,448	\$261,022	5%
223808	Avante at Orlando Inc.	81%	27,657	\$248.16	\$6,863,369	\$220.57	\$6,100,341	-\$763,029	-11%	\$235.75	\$6,520,201	-\$343,168	-5%
252034	Avante at Ormond Beach Inc	68%	24,980	\$240.07	\$5,996,916	\$237.65	\$5,936,414	-\$60,502	-1%	\$237.65	\$5,936,414	-\$60,502	-1%
259870	Avante at St Cloud Inc	77%	29,639	\$236.22	\$7,001,434	\$232.86	\$6,901,772	-\$99,663	-1%	\$232.86	\$6,901,772	-\$99,663	-1%
200913	Avante Villa at Jacksonville Beach Inc	71%	32,441	\$237.20	\$7,695,012	\$240.99	\$7,818,040	\$123,028	2%	\$240.99	\$7,818,040	\$123,028	2%
284823	Aventura Plaza Rehabilitation & Nursing Center	76%	22,557	\$282.54	\$6,373,178	\$252.30	\$5,691,069	-\$682,109	-11%	\$268.41	\$6,054,519	-\$318,659	-5%
227871	Ayers Health and Rehabilitation Center	63%	26,578	\$199.96	\$5,314,542	\$225.76	\$6,000,195	\$685,653	13%	\$210.40	\$5,591,961	\$277,419	5%
140648	Bartow Center	76%	29,759	\$200.08	\$5,954,181	\$205.95	\$6,128,966	\$174,786	3%	\$205.95	\$6,128,966	\$174,786	3%
086990	Bartram Crossing	23%	5,715	\$252.32	\$1,442,028	\$237.60	\$1,357,910	-\$84,118	-6%	\$239.71	\$1,369,927	-\$72,101	-5%
043835	Bay Breeze Health and Rehabilitation Center	74%	30,150	\$215.58	\$6,499,861	\$208.38	\$6,282,512	-\$217,349	-3%	\$208.38	\$6,282,512	-\$217,349	-3%



				Estimated	Change in Me	dicaid Reim	bursement						
	Facility Information				yment Method		ew Method with no	Gain/Loss Cap		N	ew Method with Ga	in/Loss Cap	
Facility	j		Medicaid	Current	Current	Proposed	Annual	Payment	Pymt	Proposed	Annual	Payment	Pymt
Mcaid		Mcaid	Annualized	Total Per	Annual	New Total	Proposed New	Change	Chng	New Total	Adjusted New	Change	Chng
ID	Facility Name	Util.	Days	Diem	Payment	Per Diem	Payment	(\$)	(%)	Per Diem	Payment	(\$)	(%)
017225	Bay Breeze Senior Living and Rehabilitation Center	63%	25,510	\$245.24	\$6,256,014	\$236.03	\$6,021,162	-\$234,852	-4%	\$236.03	\$6,021,162	-\$234,852	-4%
128848	Bay Center	82%	36,445	\$210.12	\$7,657,871	\$228.40	\$8,323,978	\$666,107	9%	\$221.09	\$8,057,612	\$399,741	5%
263834	Bay Pointe Nursing Pavilion	83%	32,459	\$218.82	\$7,102,594	\$208.67	\$6,773,270	-\$329,324	-5%	\$208.67	\$6,773,270	-\$329,324	-5%
253448	Bay Tree Center	58%	23,828	\$200.24	\$4,771,357	\$216.61	\$5,161,306	\$389,949	8%	\$210.69	\$5,020,422	\$249,065	5%
018777	Bay Village of Sarasota	17%	4,071	\$272.76	\$1,110,388	\$224.06	\$912,149	-\$198,239	-18%	\$259.12	\$1,054,869	-\$55,519	-5%
147672	Bay Vue Nursing and Rehabilitation Center	74%	23,206	\$239.28	\$5,552,653	\$237.06	\$5,501,265	-\$51,387	-1%	\$237.06	\$5,501,265	-\$51,387	-1%
092681	Baya Pointe Nursing and Rehabilitation Center	50%	15,239	\$234.78	\$3,577,823	\$211.50	\$3,223,008	-\$354,815	-10%	\$223.04	\$3,398,932	-\$178,891	-5%
263575	Bayshore Pointe Nursing and Rehab Center	52%	18,723	\$225.73	\$4,226,298	\$241.98	\$4,530,621	\$304,323	7%	\$237.51	\$4,446,911	\$220,613	5%
017221	Bayside Health and Rehabilitation Center	71%	29,799	\$232.31	\$6,922,704	\$237.88	\$7,088,661	\$165,957	2%	\$237.88	\$7,088,661	\$165,957	2%
324108	Bayside Rehabilitation & Health Center	78%	24,859	\$269.73	\$6,705,248	\$219.77	\$5,463,152	-\$1,242,096	-19%	\$256.24	\$6,369,986	-\$335,262	-5%
260444	Bayview Center	83%	32,476	\$230.06	\$7,471,584	\$232.37	\$7,546,580	\$74,996	1%	\$232.37	\$7,546,580	\$74,996	1%
316652	Baywood Nursing Center	92%	17,750	\$211.79	\$3,759,296	\$207.55	\$3,684,033	-\$75,263	-2%	\$207.55	\$3,684,033	-\$75,263	-2%
228567	Bear Creek Nursing Center	51%	20,017	\$195.24	\$3,908,167	\$227.81	\$4,560,044	\$651,877	17%	\$205.43	\$4,112,173	\$204,006	5%
264521	Belleair Health Care Center	52%	21,024	\$228.56	\$4,805,256	\$224.60	\$4,722,079	-\$83,177	-2%	\$224.60	\$4,722,079	-\$83,177	-2%
033717	Benderson Family Skilled Nursing & Rehab Center	36%	4,555	\$242.46	\$1,104,401	\$225.14	\$1,025,492	-\$78,909	-7%	\$230.34	\$1,049,181	-\$55,220	-5%
043857	Beneva Lakes Healthcare and Rehabilitation Center	80%	32,985	\$224.14	\$7,393,410	\$228.15	\$7,525,685	\$132,276	2%	\$228.15	\$7,525,685	\$132,276	2%
208442	Bernard L Samson Nursing Center	65%	38,997	\$259.66	\$10,125,825	\$234.04	\$9,126,669	-\$999,155	-10%	\$246.67	\$9,619,533	-\$506,291	-5%
209511	Bishops Glen Retirement Center	45%	8,455	\$256.30	\$2,167,005	\$246.72	\$2,086,021	-\$80,984	-4%	\$246.72	\$2,086,021	-\$80,984	-4%
022987	Blountstown Health and Rehabilitation Center	71%	21,709	\$212.65	\$4,616,441	\$236.65	\$5,137,402	\$520,962	11%	\$223.75	\$4,857,419	\$240,978	5%
143762	Boca Ciega Center	82%	29,584	\$226.79	\$6,709,349	\$211.58	\$6,259,523	-\$449,826	-7%	\$215.45	\$6,373,882	-\$335,467	-5%
263842	Boca Raton Rehabilitation Center	65%	24,891	\$205.26	\$5,109,249	\$204.45	\$5,088,923	-\$20,326	0%	\$204.45	\$5,088,923	-\$20,326	0%
200107	Bon Secours Maria Manor Nursing Care Center	70%	65,116	\$242.39	\$15,783,539	\$220.65	\$14,367,939	-\$1,415,599	-9%	\$230.27	\$14,994,362	-\$789,177	-5%
263443	Bonifay Nursing and Rehab Center	80%	43,574	\$191.11	\$8,327,327	\$195.64	\$8,524,616	\$197,289	2%	\$195.64	\$8,524,616	\$197,289	2%
263613	Boulevard Rehabilitation Center	56%	30,005	\$204.09	\$6,123,720	\$226.89	\$6,807,773	\$684,052	11%	\$214.74	\$6,443,379	\$319,658	5%
263460	Boynton Beach Rehabilitation Center	58%	31,393	\$210.70	\$6,614,423	\$221.20	\$6,944,043	\$329,619	5%	\$221.20	\$6,944,043	\$329,619	5%
005814	Boynton Health Care Center	41%	10,490	\$264.77	\$2,777,472	\$249.31	\$2,615,291	-\$162,181	-6%	\$251.53	\$2,638,598	-\$138,874	-5%
073324	Braden River Rehabilitation Center, LLC	71%	41,063	\$210.44	\$8,641,162	\$228.73	\$9,392,469	\$751,306	9%	\$221.42	\$9,092,231	\$451,069	5%
043859	Bradenton Health Care	60%	22,299	\$212.24	\$4,732,787	\$227.73	\$5,078,122	\$345,336	7%	\$223.32	\$4,979,838	\$247,051	5%
043860	Brandon Health and Rehabilitation Center	39%	16,484	\$199.30	\$3,285,265	\$215.75	\$3,556,346	\$271,081	8%	\$209.70	\$3,456,755	\$171,491	5%
251399	Brandywyne Health Care Center	82%	33,022	\$199.52	\$6,588,635	\$211.04	\$6,969,039	\$380,404	6%	\$209.94	\$6,932,562	\$343,927	5%
260371	Bridgeview Center	78%	29,915	\$237.23	\$7,096,759	\$232.70	\$6,961,221	-\$135,538	-2%	\$232.70	\$6,961,221	-\$135,538	-2%
284793	Brighton Gardens of Tampa	17%	2,341	\$247.16	\$578,595	\$220.65	\$516,535	-\$62,060	-11%	\$234.80	\$549,666	-\$28,930	-5%
319376	Brookdale Atrium Way 2	30%	8,571	\$222.74	\$1,909,087	\$206.51	\$1,770,007	-\$139,079	-7%	\$211.60	\$1,813,632	-\$95,454	-5%
319244	Brookdale Palmer Ranch SNF	42%	8,166	\$267.76	\$2,186,553	\$235.87	\$1,926,144	-\$260,410	-12%	\$254.37	\$2,077,226	-\$109,328	-5%
228958	Brooksville Healthcare Center	71%	39,900	\$193.16	\$7,706,956	\$225.54	\$8,998,914	\$1,291,958	17%	\$203.24	\$8,109,259	\$402,303	5%
226335	Broward Nursing & Rehabilitation Center	74%	40,483	\$239.15	\$9,681,631	\$243.60	\$9,861,654	\$180,023	2%	\$243.60	\$9,861,654	\$180,023	2%
005381	Brynwood Health and Rehabilitation Center	75%	23,792	\$247.57	\$5,890,078	\$244.60	\$5,819,562	-\$70,516	-1%	\$244.60	\$5,819,562	-\$70,516	-1%
059369	Calusa Harbour	30%	5,880	\$264.35	\$1,554,396	\$224.11	\$1,317,743	-\$236,653	-15%	\$251.14	\$1,476,676	-\$77,720	-5%
022138	Carlton Shores Health and Rehab Center	41%	16,012	\$242.05	\$3,875,681	\$240.88	\$3,856,973	-\$18,708	0%	\$240.88	\$3,856,973	-\$18,708	0%
101959	Carrington Place of St. Pete	69%	27,995	\$211.26	\$5,914,137	\$230.29	\$6,447,054	\$532,918	9%	\$222.28	\$6,222,855	\$308,718	5%
263877	Carrollwood Care Center	62%	25,906	\$214.77	\$5,563,943	\$210.17	\$5,444,708	-\$119,235	-2%	\$210.17	\$5,444,708	-\$119,235	-2%
263885	Casa Mora Rehabilitation and Extended Care	81%	60,007	\$196.33	\$11,781,000	\$217.37	\$13,043,542	\$1,262,541	11%	\$206.58	\$12,395,969	\$614,968	5%



				Estimated	Change in Me	dicaid Reim	bursement						
	Facility Information			Current Pa	ayment Method	Ne	ew Method with no (Gain/Loss Cap		N	ew Method with Ga	in/Loss Cap	
Facility	-		Medicaid	Current	Current	Proposed	Annual	Payment	Pymt	Proposed	Annual	Payment	Pymt
Mcaid		Mcaid	Annualized	Total Per	Annual	New Total	Proposed New	Change	Chng	New Total	Adjusted New	Change	Chng
ID	Facility Name	Util.	Days	Diem	Payment	Per Diem	Payment	(\$)	(%)	Per Diem	Payment	(\$)	(%)
226068	Cathedral Gerontology Center Inc	75%	28,437	\$245.63	\$6,984,926	\$240.11	\$6,827,900	-\$157,026	-2%	\$240.11	\$6,827,900	-\$157,026	-2%
202789	Center for Health Care of the Alliance Community	65%	27,353	\$199.70	\$5,462,282	\$195.55	\$5,348,829	-\$113,453	-2%	\$195.55	\$5,348,829	-\$113,453	-2%
043856	Central Park Healthcare and Rehabilitation Center	64%	25,568	\$225.79	\$5,773,075	\$236.96	\$6,058,630	\$285,554	5%	\$236.96	\$6,058,630	\$285,554	5%
264563	Centre Pointe Health and Rehab Center	36%	14,891	\$217.98	\$3,245,988	\$230.43	\$3,431,315	\$185,328	6%	\$229.36	\$3,415,428	\$169,441	5%
220604	Century Health and Rehabilitation Center	79%	24,413	\$229.97	\$5,614,236	\$220.36	\$5,379,709	-\$234,527	-4%	\$220.36	\$5,379,709	-\$234,527	-4%
324361	Chautauqua Rehabilitation & Nursing Center	63%	29,934	\$201.98	\$6,046,102	\$217.04	\$6,496,800	\$450,698	7%	\$212.52	\$6,361,709	\$315,607	5%
005383	Chipola Health and Rehabilitation Center	63%	12,674	\$237.68	\$3,012,372	\$239.08	\$3,030,058	\$17,686	1%	\$239.08	\$3,030,058	\$17,686	1%
257419	Citrus Health and Rehabilitation Center	69%	23,404	\$240.07	\$5,618,680	\$216.82	\$5,074,384	-\$544,296	-10%	\$228.07	\$5,337,746	-\$280,934	-5%
122340	Citrus Hills Health & Rehabilitation Center	52%	20,277	\$236.96	\$4,804,891	\$223.24	\$4,526,643	-\$278,247	-6%	\$225.11	\$4,564,646	-\$240,245	-5%
208507	Claridge House Nursing & Rehabilitation Center	80%	65,834	\$233.48	\$15,370,620	\$235.75	\$15,520,639	\$150,019	1%	\$235.75	\$15,520,639	\$150,019	1%
140643	Clearwater Center	89%	32,495	\$216.87	\$7,047,308	\$214.00	\$6,953,862	-\$93,445	-1%	\$214.00	\$6,953,862	-\$93,445	-1%
221465	Clermont Health and Rehabilitation Center	77%	49,212	\$201.53	\$9,917,665	\$205.79	\$10,127,250	\$209,585	2%	\$205.79	\$10,127,250	\$209,585	2%
021261	Coastal Health and Rehabilitation Center	79%	34,167	\$216.56	\$7,399,045	\$229.88	\$7,854,275	\$455,230	6%	\$227.86	\$7,785,275	\$386,230	5%
043854	Colonial Lakes Health Care	79%	49,719	\$187.60	\$9,327,100	\$201.33	\$10,009,841	\$682,741	7%	\$197.39	\$9,813,975	\$486,875	5%
205796	Commons at Orlando Lutheran Towers	54%	24,968	\$220.15	\$5,496,790	\$221.41	\$5,528,133	\$31,343	1%	\$221.41	\$5,528,133	\$31,343	1%
103425	Community Convalescent Center	70%	30,249	\$204.60	\$6,188,948	\$202.97	\$6,139,677	-\$49,271	-1%	\$202.97	\$6,139,677	-\$49,271	-1%
098972	Community Health and Rehabilitation Center	49%	20,115	\$245.36	\$4,935,350	\$231.91	\$4,664,876	-\$270,474	-5%	\$233.09	\$4,688,583	-\$246,768	-5%
200956	Comprehensive Healthcare of Clearwater	69%	32,570	\$252.72	\$8,231,156	\$228.48	\$7,441,600	-\$789,556	-10%	\$240.09	\$7,819,598	-\$411,558	-5%
251666	Concordia Manor	84%	10,974	\$197.78	\$2,170,478	\$211.71	\$2,323,266	\$152,787	7%	\$208.11	\$2,283,777	\$113,299	5%
080431	Consulate Health Care at West Altamonte	67%	27,834	\$203.60	\$5,666,922	\$197.61	\$5,500,146	-\$166,775	-3%	\$197.61	\$5,500,146	-\$166,775	-3%
080374	Consulate Health Care of Bayonet Point	55%	22,763	\$193.44	\$4,403,268	\$197.82	\$4,503,064	\$99,796	2%	\$197.82	\$4,503,064	\$99,796	2%
080377	Consulate Health Care of Brandon	58%	24,499	\$198.11	\$4,853,387	\$214.48	\$5,254,436	\$401,049	8%	\$208.45	\$5,106,733	\$253,347	5%
080384	Consulate Health Care of Jacksonville	62%	24,459	\$214.82	\$5,254,319	\$228.94	\$5,599,730	\$345,411	7%	\$226.04	\$5,528,595	\$274,275	5%
080387	Consulate Health Care of Kissimmee	65%	27,789	\$199.54	\$5,544,895	\$226.17	\$6,285,118	\$740,223	13%	\$209.95	\$5,834,338	\$289,444	5%
080393	Consulate Health Care of Lake Parker	64%	26,668	\$200.19	\$5,338,664	\$194.74	\$5,193,295	-\$145,370	-3%	\$194.74	\$5,193,295	-\$145,370	-3%
080391	Consulate Health Care of Lakeland	74%	30,748	\$193.05	\$5,935,984	\$214.03	\$6,581,120	\$645,136	11%	\$203.13	\$6,245,843	\$309,858	5%
080394	Consulate Health Care of Melbourne	55%	29,679	\$208.75	\$6,195,423	\$205.55	\$6,100,651	-\$94,772	-2%	\$205.55	\$6,100,651	-\$94,772	-2%
080397	Consulate Health Care of New Port Richey	70%	29,222	\$191.41	\$5,593,412	\$210.92	\$6,163,611	\$570,199	10%	\$201.40	\$5,885,388	\$291,976	5%
080400	Consulate Health Care of North Ft. Myers	64%	26,942	\$195.89	\$5,277,666	\$190.89	\$5,142,976	-\$134,690	-3%	\$190.89	\$5,142,976	-\$134,690	-3%
080402	Consulate Health Care of Orange Park	65%	27,023	\$196.53	\$5,310,714	\$217.10	\$5,866,683	\$555,970	10%	\$206.78	\$5,587,933	\$277,219	5%
080405	Consulate Health Care of Pensacola	55%	23,271	\$206.07	\$4,795,413	\$220.15	\$5,123,198	\$327,784	7%	\$216.82	\$5,045,734	\$250,321	5%
080416	Consulate Health Care of Port Charlotte	66%	26,490	\$206.11	\$5,459,944	\$220.28	\$5,835,158	\$375,214	7%	\$216.87	\$5,744,953	\$285,009	5%
080406	Consulate Health Care of Safety Harbor	77%	32,876	\$197.08	\$6,479,064	\$207.43	\$6,819,599	\$340,535	5%	\$207.36	\$6,817,271	\$338,207	5%
080413	Consulate Health Care of Sarasota	74%	19,704	\$226.02	\$4,453,467	\$239.65	\$4,722,043	\$268,576	6%	\$237.82	\$4,685,938	\$232,471	5%
080409	Consulate Health Care of St. Petersburg	69%	28,911	\$202.97	\$5,867,982	\$202.59	\$5,857,012	-\$10,970	0%	\$202.59	\$5,857,012	-\$10,970	0%
080428	Consulate Health Care of Tallahassee	55%	21,912	\$209.15	\$4,582,858	\$216.06	\$4,734,322	\$151,465	3%	\$216.06	\$4,734,322	\$151,465	3%
080430	Consulate Health Care of Vero Beach	72%	39,822	\$200.17	\$7,971,321	\$201.56	\$8,026,635	\$55,314	1%	\$201.56	\$8,026,635	\$55,314	1%
080432	Consulate Health Care of West Palm Beach	60%	25,198	\$216.11	\$5,445,605	\$227.94	\$5,743,634	\$298,029	5%	\$227.39	\$5,729,866	\$284,261	5%
080434	Consulate Health Care of Winter Haven	55%	22,680	\$196.72	\$4,461,691	\$216.08	\$4,900,745	\$439,053	10%	\$206.99	\$4,694,592	\$232,900	5%
264512	Conway Lakes Health & Rehabilitation Center	33%	13,002	\$237.51	\$3,088,056	\$244.35	\$3,176,980	\$88,924	3%	\$244.35	\$3,176,980	\$88,924	3%
260649	Coquina Center	57%	21,310	\$240.46	\$5,124,307	\$234.97	\$5,007,283	-\$117,024	-2%	\$234.97	\$5,007,283	-\$117,024	-2%
043851	Coral Bay Healthcare and Rehabilitation	58%	23,979	\$216.51	\$5,191,811	\$223.64	\$5,362,577	\$170,767	3%	\$223.64	\$5,362,577	\$170,767	3%
323772	Coral Gables Nursing and Rehabilitation	71%	20,534	\$233.18	\$4,788,215	\$245.35	\$5,037,999	\$249,785	5%	\$245.35	\$5,037,999	\$249,785	5%
282529	Coral Reef Nursing & Rehabilitation Center	50%	31,135	\$247.58	\$7,708,276	\$235.12	\$7,320,460	-\$387,816	-5%	\$235.20	\$7,322,862	-\$385,414	-5%
043848	Coral Trace Health Care	56%	23,450	\$200.69	\$4,706,082	\$211.57	\$4,961,370	\$255,288	5%	\$211.16	\$4,951,739	\$245,657	5%



Facility					Estimated	Change in Me	dicaid Reim	bursement						
Mearly Facility Name		Facility Information							Gain/Loss Cap		N	ew Method with Gai	in/Loss Cap	
December Popular Pop	Facility	•		Medicaid	Current	Current	Proposed	Annual	Payment	Pymt	Proposed	Annual	Payment	Pymt
Country gridge Rethat and Healthcare Center	Mcaid		Mcaid			Annual		•	0	3		•	Change	Chng
29925 Contrionsy Scrings Village 49% 13.048 2345.90 33.72.196 3246.70 3.72.196 3246.70 14.72.196 3246.70 14.72.196 3247								,						
Courty-ord Cardens Rehabilitation Center		· · · · · · · · · · · · · · · · · · ·												5%
Section Countyparts of Oriented Rehabilitation and Health Section Se		J 1 9 9												-5%
Center 19th 54,048 54,	010082		62%	24,268	\$225.34	\$5,468,483	\$233.31	\$5,662,032	\$193,549	4%	\$233.31	\$5,662,032	\$193,549	4%
0.44886 Crestiver Renabilitation Center 70% 33.000 3190.69 \$6.296,630 \$197.40 \$6.518,110 \$221,480 48 \$197.40 \$6.518,110 \$221,480 \$4.528,110 \$221,480 \$4.528,180 \$2.718,580 \$2.718	324175	,		,	\$242.73			\$7,905,164			\$232.18	\$7,905,164		-4%
202716 Cross-hoord Nursing Center 60% 12.511 3198.48 \$2.483.146 \$3.77.55		S)		- 1										-3%
200735 Cross Care Center														4%
312151 Cross City Rehabilitation & Health Care Center		Crestwood Nursing Center			\$198.48		\$217.54	\$2,721,653						5%
088040 Cross Gardens Care Center 89% 30.210 \$271.04 \$6.677.546 \$3.293.4 \$3.293.4 \$5.908.848 \$3.290.936 4% \$3.293.4 \$6.908.848 \$3.200.936 \$4.000.936 \$6.908.848 \$3.200.936 \$4.000.936 \$6.908.848 \$3.200.936 \$4.000.936 \$6.908.848 \$3.200.936 \$4.000.936 \$6.908.848 \$3.200.936 \$4.000.936 \$6.908.848 \$3.200.936 \$4.000.936 \$6.908.848 \$3.200.936 \$4.000.936 \$6.908.848 \$3.200.936 \$6.908.848 \$3.200.936 \$4.000.936 \$6.908.848 \$3.200.936 \$6.908.848 \$6.908.	200735	Cross Care Center	63%	26,559	\$231.56	\$6,150,045	\$211.19	\$5,609,007	-\$541,037	-9%	\$219.98	\$5,842,542	-\$307,502	-5%
10282 Cross Landings Feath and Rehabilitation Center 89% 25,986 \$3,992,44 \$7,996,625 \$247,99 \$3,184,818 \$5,097,16 14% \$256,634 \$35,07,717 \$184,617 \$99 \$102791 Cross Terrace Rehabilitation Center 87% 19817 \$257,28 \$5,098,625 \$20,044 \$3,947,185 17% \$284,42 \$1,843,596 4254,926 526,044 \$3,943,185 510,004 \$1,000		Cross City Rehabilitation & Health Care Center			\$196.85	\$2,314,416	\$231.93	\$2,726,779			\$207.13	\$2,435,229	\$120,813	5%
102787 Cross Pointe Care Center 88% 26.386 \$299.24 \$7.895.625 \$247.39 \$6.527/60 \$31,367.665 17% \$284.27 \$7.500.844 \$394,781 \$51.007979 Cross Forrace Rehabilitation Center 73% 19.811 \$257.28 \$5.098.522 \$3.099.52 \$3.099.54 \$3.113.37 \$394.7155 19% \$244.42 \$4.843.599 \$259.406 \$3.000.00000000000000000000000000000000														4%
102791 Cross Ferace Rehabilitation Center 73% 19817 \$257.28 \$5.098.522 \$20.49 \$4.151.367 \$947.155 1-9% \$244.42 \$4.843.596 \$25.4926 59.046.233 \$0.558 recerce Care Center 86% \$23.572 \$5.102.843 \$2.5737 \$3.475.190 \$5.172.234 \$5.102.843 \$2.5737 \$3.475.190 \$5.102.843 \$2.5737 \$3.475.190 \$5.102.843 \$2.5737 \$3.475.190 \$5.058.262 \$4.002.853 \$2.5737 \$3.245.190 \$5.002.853 \$2.5737 \$3.245.190 \$5.002.853 \$2.5737 \$3.245.190 \$5.002.853 \$2.5737 \$3.245.190 \$5.002.853 \$2.5737 \$3.245.190 \$5.002.853 \$2.5737 \$3.245.190 \$5.002.853 \$2.5737 \$3.245.190 \$5.002.853 \$2.5737 \$3.245.190 \$5.002.853 \$2.5737 \$3.245.190 \$5.002.853 \$2.5737 \$3.245.190 \$5.002.853 \$2.5737 \$3.245.190 \$5.002.853 \$2.5737 \$3.245.190 \$5.002.853 \$2.5737 \$3.245.190 \$5.002.853 \$2.5737 \$3.245.190 \$5.002.853 \$2.5737 \$3.245.190 \$5.002.853 \$2.5737 \$3.245.190 \$2.5737 \$3.245.190 \$2.5737 \$3.245.190 \$2.5737 \$3.245.190 \$2.5737 \$3.245.190 \$2.5737 \$3.245.190 \$2.5737 \$3.245.190 \$2.5737 \$3.245.190 \$2.5737 \$3.245.190 \$2.5737 \$3.245.190 \$2.5737 \$3.245.190 \$2.5737 \$3.245.190 \$3.002.52 \$3.5738 \$3.249.190 \$3.2737 \$3.245.190 \$3.002.52 \$3.5738 \$3.249.190 \$3.2737 \$3.245.190 \$3.245.190 \$3.245.190 \$3.245.190 \$3.245.190 \$3.245.190 \$3.24		J.											-\$184,617	-5%
1946/33 Crossbreeze Care Center 86% 23,764 \$205.01 \$48,71 967 \$217.09 \$5,178,253 \$306,286 65% \$215.72 \$5,126,284 \$95,4317 \$57,000 \$1,0	102787	Cross Pointe Care Center		26,386	\$299.24	\$7,895,625	\$247.39	\$6,527,760		-17%				-5%
102833 Crosswinds Health and Rehabilitation Center 82% 15.420 2547 08 54.118.312 5225.37 33.475.190 \$-643.122 -16% \$233.72 \$3.912.396 \$-290.916 5-97 \$-290.916 5-97 \$-290.916	102791	Cross Terrace Rehabilitation Center		19,817	\$257.28	\$5,098,522	\$209.49	\$4,151,367	-\$947,155	-19%	\$244.42	\$4,843,596	-\$254,926	-5%
27840 Cypress Cruc Care Center 62%	046233			23,764	\$205.01	\$4,871,967		\$5,178,253		6%		\$5,126,284		5%
22894 Cypress Village 28% 11.4d 5231.59 \$2.654.9d \$2.201.5 \$3.2654.9d \$3.254.19f \$5.254.19f \$5.254.1	102833	Crosswinds Health and Rehabilitation Center	82%	15,420	\$267.08	\$4,118,312	\$225.37	\$3,475,190	-\$643,122	-16%	\$253.72	\$3,912,396	-\$205,916	-5%
122242 Cypress Village 28% 11,464 \$231,59 \$2,654,940 \$221,73 \$2,541,916 \$-\$113,024 4-4% \$221,73 \$2,541,916 \$-\$113,024 4-8% \$221,73 \$2,541,916 \$-\$113,024 4-8% \$221,73 \$2,541,916 \$-\$113,024 4-8% \$221,73 \$2,541,916 \$-\$113,024 4-8% \$221,73 \$2,541,916 \$-\$113,024 4-8% \$221,73 \$2,541,916 \$-\$113,024 4-8% \$221,73 \$2,541,916 \$-\$113,024 4-8% \$221,73 \$2,541,916 \$-\$113,024 4-8% \$221,73 \$2,541,916 \$-\$113,024 4-8% \$221,73 \$2,541,916 \$-\$113,024 4-8% \$231,73 \$2,541,916 \$-\$113,024 4-8% \$231,73 \$2,541,916 \$-\$113,024 4-8% \$231,73 \$2,541,916 \$-\$113,024 4-8% \$231,73 \$2,541,916 \$-\$113,024 4-8% \$231,73 \$2,541,916 \$-\$113,024 4-8% \$231,73 \$2,541,916 \$-\$113,024 4-8% \$231,73 \$2,541,916 \$-\$113,024 4-8% \$231,73 \$2,541,916 \$-\$113,024 4-8% \$231,73 \$2,541,916 \$-\$113,024 4-8% \$231,024 \$2,000,000,000 \$2,041,71 \$2,000,000,000 \$2,041,71 \$2,000,000,000 \$2,041,71 \$2,000,000,000 \$2,041,71 \$2,000,000,000 \$2,041,71 \$2,000,000,000 \$2,041,71 \$2,000,000,000 \$2,041,71 \$2,000,000,000,000,000,000,000,000,000,0	217263	Crystal River Health and Rehabilitation Center	62%	25,814	\$217.83	\$5,622,989	\$213.29	\$5,505,817	-\$117,172	-2%	\$213.29	\$5,505,817	-\$117,172	-2%
137349 Darry Hall of Life Care 74% 38,224 5241 48 59,230,370 5233,62 58,99,847 5300,522 33 58,99,847 5300,522 53 58,009,820 59,000,830 523,000,830 520	228940	Cypress Cove Care Center		20,021	\$209.23	\$4,189,086	\$230.95	\$4,623,850	\$434,764	10%	\$220.16	\$4,407,756		5%
24826 2005372 Debary Health and Rehabilitation Center 44% 36,591 \$248,26 \$9,084,030 \$225,30 \$8,609,757 \$474,273 5-5% \$225,85 \$8,629,829 \$454,202 5-59	122242	Cypress Village	28%	11,464	\$231.59	\$2,654,940	\$221.73	\$2,541,916		-4%				-4%
DoBary Health and Rehabilitation Center	317349	Darcy Hall of Life Care		38,224	\$241.48	\$9,230,370	\$233.62	\$8,929,847	-\$300,522	-3%	\$233.62	\$8,929,847	-\$300,522	-3%
263851 Deerfield Beach Health and Rehabilitation Center 65% 39,627 \$201.00 \$8,000,790 \$234.71 \$9,300,754 \$1,299,964 16% \$212.44 \$8,418,432 \$417,641 \$9,400,800 \$128.59 \$1,200,740,820 \$1,200,740,820 \$2,200,740,	217743	Daytona Beach Health and Rehabilitation Center	84%	36,591	\$248.26		\$235.30	\$8,609,757		-5%	\$235.85	\$8,629,829	-\$454,202	-5%
221599 Delaney Park Health and Rehabilitation Center 62% 12,705 \$216.31 \$2,748.231 \$241.18 \$3,064.221 \$315,990 11% \$227.60 \$2,891,689 \$143,458 \$59,04368 Deltang Health Care 662% 26,251 \$209.12 \$5,489,612 \$203.84 \$5,551,090 4138,522 3% \$203.84 \$5,551,090 \$138,522 3% \$203.84 \$5,551,090 \$138,522 3% \$203.84 \$5,551,090 \$138,522 3% \$203.84 \$5,551,090 \$138,522 3% \$203.84 \$5,551,090 \$138,522 3% \$203.84 \$5,551,090 \$138,522 3% \$203.84 \$5,551,090 \$138,522 3% \$203.84 \$5,551,090 \$138,522 3% \$203.84 \$1,882,035 \$399,054 59,061,010 \$24,587 \$200.04 \$4,918,292 \$223.83 \$5,503,303 \$585,010 12% \$210.48 \$5,175,027 \$256,735 59,062,000 \$256,795 \$200.04 \$4,918,292 \$223.83 \$5,503,303 \$585,010 12% \$210.48 \$5,175,027 \$256,735 59,062,000 \$256,795 \$200.04 \$4,918,292 \$223.83 \$3,500,984 \$4,918,292 \$223.83 \$3,500,984 \$4,918,292 \$223.83 \$3,900,984 \$4,918,292 \$223.83 \$4,900,985 \$4,900,985 \$2,918,300 \$3,912,195 \$205,905 \$2,928,000	005372				\$235.53		\$232.11	\$6,291,925	-\$92,503	-1%	\$232.11	\$6,291,925	-\$92,503	-1%
043866 Deltona Health Care 62% 26,251 \$209,12 \$5,489,612 \$203,84 \$5,351,090 \$138,522 -3% \$203.84 \$5,351,090 \$138,522 -38	263851	Deerfield Beach Health and Rehabilitation Center		39,627	\$201.90		\$234.71	\$9,300,754	\$1,299,964	16%		\$8,418,432		5%
103177 Desoto Health and Rehab 51% 7,053 \$280.89 \$1,981,089 \$230.56 \$1,626,120 -\$354,969 -18% \$266.84 \$1,882,035 -\$99,054 -59	221589	Delaney Park Health and Rehabilitation Center				\$2,748,231	\$241.18	\$3,064,221		11%		\$2,891,689		5%
Destin Healthcare and Rehabilitation Center 60% 24,587 \$200.04 \$4,918,292 \$223.83 \$5,503,303 \$585,010 12% \$210.48 \$5,175,027 \$256,735 59, 25669 Diamond Ridge Health and Rehabilitation Center 45% 17,920 \$229.80 \$4,118,100 \$218.19 \$3,909,984 \$208.116 -5% \$218.31 \$3,912,195 \$205,905 -59, 200,905 -59	043868	Deltona Health Care	62%	26,251	\$209.12	\$5,489,612	\$203.84	\$5,351,090	-\$138,522	-3%	\$203.84	\$5,351,090	-\$138,522	-3%
2526269 Diamond Ridge Health and Rehabilitation Center	103177	Desoto Health and Rehab	51%	7,053	\$280.89	\$1,981,089	\$230.56	\$1,626,120	-\$354,969	-18%	\$266.84	\$1,882,035	-\$99,054	-5%
Eagle Lake Rehab & Care Center	061101	Destin Healthcare and Rehabilitation Center	60%	24,587	\$200.04	\$4,918,292	\$223.83	\$5,503,303	\$585,010	12%	\$210.48	\$5,175,027	\$256,735	5%
East Bay Rehabilitation Center 52% 21,128 \$238.65 \$5,042,168 \$225.87 \$4,772,150 \$270,017 \$-5% \$226.72 \$4,790,059 \$-252,108 \$-57 \$230421 East Orlando Health & Rehab Center, Inc. 57% 23,995 \$246.58 \$5,916.682 \$240.26 \$5,764,922 \$-\$151,761 \$-3% \$240.26 \$5,764,922 \$-\$151,761 \$-3% \$240.26 \$5,764,922 \$-\$151,761 \$-3% \$240.26 \$5,764,922 \$-\$151,761 \$-3% \$240.26 \$5,764,922 \$-\$151,761 \$-3% \$240.26 \$5,764,922 \$-\$151,761 \$-3% \$240.26 \$5,764,922 \$-\$151,761 \$-3% \$240.26 \$5,764,922 \$-\$151,761 \$-3% \$240.26 \$5,764,922 \$-\$151,761 \$-3% \$240.26 \$5,764,922 \$-\$151,761 \$-3% \$240.26 \$5,764,922 \$-\$151,761 \$-3% \$240.26 \$5,764,922 \$-\$151,761 \$-3% \$240.26 \$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-3% \$240.26 \$-\$5,764,922 \$-\$151,761 \$-\$3,638,523 \$-\$170,314 \$-49 \$-\$248,783 \$-\$248,79 \$-\$248,79 \$-\$248,79 \$-\$248,79 \$-\$248,79 \$-\$248,79 \$-\$248,79 \$-\$248,79	256269	Diamond Ridge Health and Rehabilitation Center	45%	17,920	\$229.80	\$4,118,100	\$218.19	\$3,909,984	-\$208,116	-5%		\$3,912,195	-\$205,905	-5%
228788 East Ridge Retirement Village Inc 17% 3,216 \$25.52 \$812,098 \$242.89 \$781,133 \$30,965 4% \$242.89 \$781,133 \$30,965 49 \$25.707 Eden Springs Nursing and Rehab Center 74% 27,151 \$229.40 \$6,228,469 \$210.92 \$5,726,720 \$501,749 8% \$217.93 \$5,917,046 \$311,423 \$50,965 49 \$246.88 Edge-Wood Nursing Center 80% 16,385 \$214.72 \$3,518,156 \$207.36 \$3,397,650 \$3,397,650 \$3,397,650 \$33,397,650 \$120,506 \$374,226,99 \$368,243 \$59,1334 \$232.98 \$6,919,371 \$55,143,08 \$19,275 \$0% \$199.21 \$5,541,308 \$19,275 \$0.60972 Emerald Shore Center 47% 19,748 \$230.46 \$4,551,055 \$236.05 \$4,661,514 \$110,459 \$29 \$202.14 \$4,687,830 \$16,090 \$0.9059873 Evans Health Care Center 77% 23,180 \$213.35 \$4,945,416 \$223.02 \$5,401,465 \$456,049 \$9% \$224.49 \$5,203,567 \$258,151 \$59,20	101963	Eagle Lake Rehab & Care Center	83%	14,975	\$216.36	\$3,240,054	\$231.43	\$3,465,733	\$225,679	7%	\$227.66	\$3,409,185	\$169,131	5%
228788 East Ridge Retirement Village Inc 17% 3,216 \$252.52 \$812,098 \$242.89 \$781,133 -\$30,965 -4% 253707 Eden Springs Nursing and Rehab Center 74% 27,151 \$229.40 \$6,228,469 \$210.92 \$5,726,720 -\$501,749 -8% \$217.93 \$5,917,046 -\$311,423 -59 210684 Edgewater at Waterman Village 39% 16,050 \$237.31 \$3,808,837 \$226.70 \$3,638,523 -\$170,314 -4% \$226.70 \$3,638,523 -\$170,314 -4% \$226.70 \$3,638,523 -\$170,314 -4% \$226.70 \$3,638,523 -\$170,314 -4% \$226.70 \$3,638,523 -\$170,314 -4% \$226.70 \$3,638,523 -\$170,314 -4% \$226.70 \$3,638,523 -\$170,314 -4% \$226.70 \$3,638,523 -\$170,314 -4% \$226.70 \$3,638,523 -\$170,314 -4% \$220.75 \$3,518,156 \$207.36 \$3,397,650 -\$120,506 -3% \$237.36 \$3,397,650 -\$120,506 -3% \$237,	264539	East Bay Rehabilitation Center	52%	21,128	\$238.65	\$5,042,168	\$225.87	\$4,772,150	-\$270,017	-5%	\$226.72	\$4,790,059	-\$252,108	-5%
253707 Eden Springs Nursing and Rehab Center 74% 27,151 \$229.40 \$6,228,469 \$210.92 \$5,726,720 -\$501,749 -8% \$217.93 \$5,917,046 -\$311,423 -59, 200.84 Edgewater at Waterman Village 39% 16,050 \$237.31 \$3,808,837 \$226.70 \$3,638,523 -\$170,314 -4% \$226.70 \$226.70 \$226.70 \$226	320421	East Orlando Health & Rehab Center, Inc.	57%	23,995	\$246.58	\$5,916,682	\$240.26	\$5,764,922	-\$151,761	-3%	\$240.26	\$5,764,922	-\$151,761	-3%
210684 Edgewater at Waterman Village 39% 16,050 \$237.31 \$3,808,837 \$226.70 \$3,638,523 -\$170,314 -4% \$226.70 \$3,638,523 -\$170,314 -4% 254878 EdgeWood Nursing Center 80% 16,385 \$214.72 \$3,518,156 \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$237.20 \$237.20 \$237.20 \$237.20 \$237.20 \$239.63 \$7,116,670 \$237,506 -\$9 \$231.76 \$7,422,699 \$368,243 59 \$231.76 \$237.20 \$7,596,646 \$542,190 8% \$231.76	228788	East Ridge Retirement Village Inc	17%	3,216	\$252.52	\$812,098	\$242.89	\$781,133	-\$30,965	-4%	\$242.89	\$781,133	-\$30,965	-4%
210684 Edgewater at Waterman Village 39% 16,050 \$237.31 \$3,808,837 \$226.70 \$3,638,523 -\$170,314 -4% \$226.70 \$3,638,523 -\$170,314 -4% 254878 EdgeWood Nursing Center 80% 16,385 \$214.72 \$3,518,156 \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$207.36 \$3,397,650 -\$120,506 -3% \$237.20 \$237.20 \$237.20 \$237.20 \$237.20 \$239.63 \$7,116,670 \$237,506 -\$9 \$231.76 \$7,422,699 \$368,243 59 \$231.76 \$237.20 \$7,596,646 \$542,190 8% \$231.76	253707	Eden Springs Nursing and Rehab Center	74%	27,151	\$229.40	\$6,228,469	\$210.92	\$5,726,720	-\$501,749	-8%	\$217.93	\$5,917,046	-\$311,423	-5%
Edward J Healey Rehabilitation and Nursing Center 73% 29,699 \$252.24 \$7,491,231 \$232.98 \$6,919,371 -\$571,860 -8% \$239.63 \$7,116,670 -\$374,562 -598 \$133348 Egret Cove Center 87% 32,027 \$220.27 \$7,054,456 \$237.20 \$7,596,646 \$542,190 8% \$231.76 \$7,422,699 \$368,243 598 \$133196 Emerald Coast Center 81% 27,817 \$198.51 \$5,522,033 \$199.21 \$5,541,308 \$19,275 0% \$199.21 \$5,541,308 \$19,275 0% \$199.21 \$5,541,308 \$19,275 0% \$10,459 2% \$261637 Emerald Health Care Center 47% 19,748 \$230.46 \$4,551,055 \$236.05 \$4,661,514 \$110,459 2% \$236.05 \$4,661,514 \$110,459 2% \$260.072 Emerald Shores Health and Rehabilitation 57% 15,152 \$198.11 \$3,001,761 \$216.61 \$3,282,116 \$280,354 9% \$208.45 \$3,158,453 \$156,692 59855 Englewood Healthcare & Rehabilitation Center 57% 23,272 \$200.75 \$4,671,740 \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$215.24 \$6,427,801 \$318,885 598 \$263893 Evergreen Woods 55% 23,180 \$213.35 \$4,945,416 \$233.02 \$5,401,465 \$456,049 9% \$224.49 \$5,203,567 \$258,151 598 \$10.000 \$1.0	210684		39%	16,050	\$237.31	\$3,808,837	\$226.70	\$3,638,523	-\$170,314	-4%	\$226.70	\$3,638,523	-\$170,314	-4%
Center	254878	EdgeWood Nursing Center	80%	16,385	\$214.72	\$3,518,156	\$207.36	\$3,397,650	-\$120,506	-3%	\$207.36	\$3,397,650	-\$120,506	-3%
133196 Emerald Coast Center 81% 27,817 \$198.51 \$5,522,033 \$199.21 \$5,541,308 \$199.21 \$5,541,308 \$199.21 \$5,541,308 \$199.25 09 261637 Emerald Health Care Center 47% 19,748 \$230.46 \$4,551,055 \$236.05 \$4,661,514 \$110,459 2% \$236.05 \$4,661,514 \$110,459 2% 060972 Emerald Shores Health and Rehabilitation 57% 15,152 \$198.11 \$3,001,761 \$216.61 \$3,282,116 \$280,354 9% \$208.45 \$3,158,453 \$156,692 59 059855 Englewood Healthcare & Rehabilitation Center 57% 23,272 \$200.75 \$4,671,740 \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$215.24 \$6,427,801 \$318,885 59	212032		73%	29,699	\$252.24	\$7,491,231	\$232.98	\$6,919,371		-8%	\$239.63	\$7,116,670	-\$374,562	-5%
261637 Emerald Health Care Center 47% 19,748 \$230.46 \$4,551,055 \$236.05 \$4,661,514 \$110,459 2% \$236.05 \$4,661,514 \$110,459 2% \$260.05 \$4,661,514 \$4,687,830 \$15,692 2% \$260.05 \$4,661,514 \$1,692 2% \$260.05 \$4,661,514 \$4,687,830 \$15,692 2% \$260.05 \$4,661,514 \$4,687,830 \$15,692 2% \$260.05 \$4,661,514 \$4,687,830 \$15,692 2% \$260.05 \$4,661,514 \$4,687,830 \$15,692 2% \$260.05 \$4,661,514 \$4,687,830 \$15,692 2% \$260.05 \$4,661,514 \$4,687,830 \$16,090 0% \$260.05 \$4,661,514 \$4,687,830 \$16,090 0% \$260.05 \$4,661,514 \$4,687,830 \$16,090 0% \$260.05 \$4,661,514 \$4,687,830 \$16,090 0% \$260.05 \$4,661,514 \$4,687,830 \$16,090 0% \$260.05 \$4,661,514 \$4,687,830 \$16,090 0% \$260.05 \$4,661,514 \$4,687,830 \$16,090 0% \$260.05 \$4,661,514 \$4,687,830 \$16,090 0% \$260.05 \$4,661,514 \$4,687,830 \$16,090 0% \$260.05 \$4,661,514 \$4,687,830 \$16,090 0% \$260.05 \$4,661,514 \$4,687,830 \$16,090 0% \$260.05 \$4,661,514 \$4,687,830 \$16,090 0% \$260.05 \$4,661,514 \$4,687,830 \$16,090 0% \$260.05 \$4,661,514 \$4,687,8	133348	Egret Cove Center	87%	32,027	\$220.27	\$7,054,456	\$237.20	\$7,596,646	\$542,190	8%	\$231.76	\$7,422,699	\$368,243	5%
060972 Emerald Shores Health and Rehabilitation 57% 15,152 \$198.11 \$3,001,761 \$216.61 \$3,282,116 \$280,354 9% \$208.45 \$3,158,453 \$156,692 59 059855 Englewood Healthcare & Rehabilitation Center 57% 23,272 \$200.75 \$4,671,740 \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$215.24 \$6,427,801 \$318,885 59 263893 Evergreen Woods 55% 23,180 \$213.35 \$4,945,416 \$233.02 \$5,401,465 \$456,049 9% \$224.49 \$5,203,567 \$258,151 59	133196	Emerald Coast Center	81%	27,817	\$198.51	\$5,522,033	\$199.21	\$5,541,308	\$19,275	0%	\$199.21	\$5,541,308	\$19,275	0%
060972 Emerald Shores Health and Rehabilitation 57% 15,152 \$198.11 \$3,001,761 \$216.61 \$3,282,116 \$280,354 9% \$208.45 \$3,158,453 \$156,692 59 059855 Englewood Healthcare & Rehabilitation Center 57% 23,272 \$200.75 \$4,671,740 \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$215.24 \$6,427,801 \$318,885 59 263893 Evergreen Woods 55% 23,180 \$213.35 \$4,945,416 \$233.02 \$5,401,465 \$456,049 9% \$224.49 \$5,203,567 \$258,151 59	261637	Emerald Health Care Center	47%	19,748	\$230.46	\$4,551,055	\$236.05	\$4,661,514	\$110,459	2%	\$236.05	\$4,661,514	\$110,459	2%
059855 Englewood Healthcare & Rehabilitation Center 57% 23,272 \$200.75 \$4,671,740 \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$201.44 \$4,687,830 \$16,090 0% \$215.24 \$6,427,801 \$318,885 5% 263893 Evergreen Woods 55% 23,180 \$213.35 \$4,945,416 \$233.02 \$5,401,465 \$456,049 9% \$224.49 \$5,203,567 \$258,151 5%	060972	Emerald Shores Health and Rehabilitation	57%	15,152	\$198.11	\$3,001,761	\$216.61	\$3,282,116	\$280,354	9%	\$208.45	\$3,158,453	\$156,692	5%
263893 Evergreen Woods 55% 23,180 \$213.35 \$4,945,416 \$233.02 \$5,401,465 \$456,049 9% \$224.49 \$5,203,567 \$258,151 59	059855	Englewood Healthcare & Rehabilitation Center	57%	23,272	\$200.75	\$4,671,740	\$201.44	\$4,687,830	\$16,090	0%	\$201.44	\$4,687,830	\$16,090	0%
263893 Evergreen Woods 55% 23,180 \$213.35 \$4,945,416 \$233.02 \$5,401,465 \$456,049 9% \$224.49 \$5,203,567 \$258,151 59	059873	Evans Health Care	71%	29,863	\$204.56	\$6,108,916	\$222.79	\$6,653,260	\$544,345	9%	\$215.24	\$6,427,801	\$318,885	5%
		Evergreen Woods	55%	23,180	\$213.35	\$4,945,416	\$233.02	\$5,401,465		9%	\$224.49		\$258,151	5%
		<u> </u>								-14%				-5%



				Estimated	Change in Me	dicaid Reim	bursement						
	Facility Information				yment Method		ew Method with no	Gain/Loss Cap		N	ew Method with Ga	n/Loss Cap	
Facility	-		Medicaid	Current	Current	Proposed	Annual	Payment	Pymt	Proposed	Annual	Payment	Pymt
Mcaid		Mcaid	Annualized	Total Per	Annual	New Total	Proposed New	Change	Chng	New Total	Adjusted New	Change	Chng
ID	Facility Name	Util.	Days	Diem	Payment	Per Diem	Payment	(\$)	(%)	Per Diem	Payment	(\$)	(%)
227226	Fair Havens Center	61%	59,288	\$166.61	\$9,877,784	\$186.04	\$11,029,851	\$1,152,067	12%	\$175.30	\$10,393,404	\$515,620	5%
260690	Fairway Oaks Center	76%	32,501	\$233.10	\$7,575,853	\$215.21	\$6,994,694	-\$581,159	-8%	\$221.44	\$7,197,060	-\$378,793	-5%
204536	Fannie E Taylor Home for the Aged Inc	69%	5,781	\$192.64	\$1,113,640	\$208.72	\$1,206,626	\$92,986	8%	\$202.69	\$1,171,772	\$58,132	5%
227838	First Coast Health & Rehabilitation Center	79%	25,822	\$221.33	\$5,715,237	\$236.81	\$6,115,018	\$399,781	7%	\$232.89	\$6,013,573	\$298,335	5%
005374	Flagler Health and Rehabilitation Center	53%	21,440	\$235.86	\$5,056,811	\$239.05	\$5,125,158	\$68,348	1%	\$239.05	\$5,125,158	\$68,348	1%
043866	Fletcher Health and Rehabilitation Center	63%	25,128	\$202.68	\$5,092,938	\$199.46	\$5,012,083	-\$80,855	-2%	\$199.46	\$5,012,083	-\$80,855	-2%
001416	Florida Baptist Retirement Center	47%	3,957	\$208.92	\$826,683	\$211.66	\$837,526	\$10,844	1%	\$211.66	\$837,526	\$10,844	1%
320463	Florida Living Nursing Center	65%	45,970	\$231.35	\$10,634,957	\$246.39	\$11,326,352	\$691,394	7%	\$243.42	\$11,190,102	\$555,145	5%
212971	Florida Presbyterian Homes Inc	24%	3,601	\$264.06	\$950,864	\$243.21	\$875,790	-\$75,074	-8%	\$250.85	\$903,321	-\$47,543	-5%
163903	Fort Myers Rehabilitation and Nursing Center	78%	31,930	\$258.12	\$8,241,912	\$231.67	\$7,397,224	-\$844,689	-10%	\$245.22	\$7,829,817	-\$412,096	-5%
043861	Fort Pierce Health Care	84%	47,950	\$206.97	\$9,923,991	\$216.45	\$10,378,647	\$454,656	5%	\$216.45	\$10,378,647	\$454,656	5%
044888	Fort Walton Rehabilitation Center	52%	17,663	\$209.19	\$3,694,981	\$222.19	\$3,924,619	\$229,638	6%	\$220.11	\$3,887,859	\$192,878	5%
253481	Forum at Deer Creek	35%	6,832	\$273.17	\$1,866,294	\$259.83	\$1,775,132	-\$91,162	-5%	\$259.83	\$1,775,132	-\$91,162	-5%
132449	Fountain Manor Health & Rehabilitation Center	87%	41,700	\$220.41	\$9,191,193	\$244.86	\$10,210,600	\$1,019,408	11%	\$231.92	\$9,670,973	\$479,780	5%
080436	Franco Nursing and Rehabilitation Center	71%	28,876	\$219.43	\$6,336,162	\$258.94	\$7,477,187	\$1,141,025	18%	\$230.88	\$6,666,910	\$330,748	5%
122239	Freedom Square Rehabilitation & Nursing Services	45%	17,903	\$222.73	\$3,987,449	\$238.30	\$4,266,198	\$278,749	7%	\$234.35	\$4,195,594	\$208,145	5%
134463	Ft Lauderdale Health and Rehabilitation Center	52%	26,678	\$255.15	\$6,806,977	\$251.01	\$6,696,499	-\$110,478	-2%	\$251.01	\$6,696,499	-\$110,478	-2%
229288	Gainesville Health Care Center	69%	43,443	\$217.22	\$9,436,715	\$211.89	\$9,205,061	-\$231,653	-2%	\$211.89	\$9,205,061	-\$231,653	-2%
059404	Gardens of Port St. Lucie	40%	4,013	\$266.28	\$1,068,571	\$224.97	\$902,816	-\$165,755	-16%	\$252.96	\$1,015,142	-\$53,429	-5%
203203	Glades Health Care Center	84%	26,226	\$259.15	\$6,796,423	\$235.85	\$6,185,515	-\$610,909	-9%	\$246.19	\$6,456,602	-\$339,821	-5%
153181	Glades West Rehabilitation and Nursing Center	50%	12,898	\$251.59	\$3,244,998	\$240.72	\$3,104,855	-\$140,143	-4%	\$240.72	\$3,104,855	-\$140,143	-4%
005849	Glen Oaks Health Care Center	88%	22,372	\$274.15	\$6,133,322	\$248.35	\$5,556,142	-\$577,180	-9%	\$260.44	\$5,826,656	-\$306,666	-5%
005384	Glencove Health and Rehabilitation Center	59%	23,804	\$241.52	\$5,749,111	\$241.03	\$5,737,407	-\$11,704	0%	\$241.03	\$5,737,407	-\$11,704	0%
054790	Golden Glades Nursing and Rehabilitation Center	72%	47,023	\$215.59	\$10,137,905	\$230.82	\$10,853,734	\$715,829	7%	\$226.85	\$10,667,104	\$529,199	5%
019287	Golfcrest Healthcare Center	58%	12,952	\$202.68	\$2,625,085	\$217.19	\$2,813,048	\$187,962	7%	\$213.26	\$2,762,115	\$137,029	5%
019085	Golfview Healthcare Center	55%	9,778	\$209.81	\$2,051,524	\$198.49	\$1,940,793	-\$110,731	-5%	\$199.32	\$1,948,948	-\$102,576	-5%
268763	Good Samaritan Center	80%	43,140	\$215.97	\$9,316,834	\$234.99	\$10,137,389	\$820,555	9%	\$227.24	\$9,803,172	\$486,339	5%
204391	Good Samaritan Society-Daytona	76%	22,220	\$249.57	\$5,545,497	\$219.75	\$4,882,755	-\$662,741	-12%	\$237.09	\$5,268,222	-\$277,275	-5%
212792	Good Samaritan Society-Florida Lutheran	54%	10,130	\$215.61	\$2,184,118	\$214.15	\$2,169,326	-\$14,792	-1%	\$214.15	\$2,169,326	-\$14,792	-1%
205303	Good Samaritan Society-Kissimmee Village	64%	37,408	\$224.61	\$8,402,383	\$217.04	\$8,118,861	-\$283,521	-3%	\$217.04	\$8,118,861	-\$283,521	-3%
043875	Governor's Creek Health and Rehabilitation	78%	32,729	\$194.99	\$6,381,965	\$194.33	\$6,360,130	-\$21,835	0%	\$194.33	\$6,360,130	-\$21,835	0%
034504	Grace Healthcare of Lake Wales	62%	18,907	\$215.66	\$4,077,436	\$230.10	\$4,350,493	\$273,057	7%	\$226.91	\$4,290,279	\$212,842	5%
011998	Grace Rehabilitation Center of Vero Beach	38%	7,989	\$242.38	\$1,936,399	\$245.95	\$1,964,863	\$28,464	1%	\$245.95	\$1,964,863	\$28,464	1%
316644	Gracewood Rehabilitation and Nursing Care	80%	30,726	\$196.59	\$6,040,308	\$197.50	\$6,068,479	\$28,171	0%	\$197.50	\$6,068,479	\$28,171	0%
017242	Grand Boulevard Health & Rehab. Center	54%	14,731	\$251.31	\$3,702,090	\$237.13	\$3,493,119	-\$208,971	-6%	\$238.75	\$3,516,986	-\$185,105	-5%
043864	Grand Oaks Health and Rehabilitation Center	41%	17,507	\$207.78	\$3,637,690	\$199.86	\$3,498,918	-\$138,772	-4%	\$199.86	\$3,498,918	-\$138,772	-4%
227625	Greenbriar Rehabilitation and Nursing Center	42%	10,169	\$253.48	\$2,577,612	\$222.44	\$2,261,955	-\$315,657	-12%	\$240.80	\$2,448,731	-\$128,881	-5%
201651	Guardian Care Nursing & Rehabilitation Center	83%	35,558	\$251.84	\$8,955,019	\$248.90	\$8,850,301	-\$104,718	-1%	\$248.90	\$8,850,301	-\$104,718	-1%
201120	Gulf Coast Village	29%	8,870	\$268.04	\$2,377,488	\$200.14	\$1,775,233	-\$602,256	-25%	\$254.64	\$2,258,614	-\$118,874	-5%
014169	Gulf Shore Rehab & Nursing	54%	21,796	\$250.34	\$5,456,428	\$214.59	\$4,677,237	-\$779,191	-14%	\$237.82	\$5,183,607	-\$272,821	-5%
099366	Gulfport Rehabilitation Center	48%	9,387	\$205.29	\$1,927,016	\$209.20	\$1,963,789	\$36,773	2%	\$209.20	\$1,963,789	\$36,773	2%
043862	Habana Health Care Center	76%	39,468	\$209.23	\$8,257,763	\$204.74	\$8,080,812	-\$176,951	-2%	\$204.74	\$8,080,812	-\$176,951	-2%
224341	Haines City Health Care	74%	26,012	\$244.38	\$6,356,685	\$242.78	\$6,315,158	-\$41,527	-1%	\$242.78	\$6,315,158	-\$41,527	-1%
259586	Hamlin Place	53%	20,257	\$268.37	\$5,436,395	\$234.50	\$4,750,253	-\$686,143	-13%	\$254.95	\$5,164,576	-\$271,820	-5%



				Estimated	Change in Me	dicaid Reim	bursement						
	Facility Information				yment Method		ew Method with no	Gain/Loss Cap		N	ew Method with Ga	n/Loss Cap	
Facility Mcaid ID	Facility Name	Mcaid Util.	Medicaid Annualized Days	Current Total Per Diem	Current Annual Payment	Proposed New Total Per Diem	Annual Proposed New Payment	Payment Change (\$)	Pymt Chng (%)	Proposed New Total Per Diem	Annual Adjusted New Payment	Payment Change (\$)	Pymt Chng (%)
324027	Hampton Court Nursing Center	55%	22,897	\$259.81	\$5,948,888	\$274.32	\$6,281,048	\$332,161	6%	\$273.37	\$6,259,420	\$310,532	5%
043873	Harbor Beach Nursing and Rehabilitation Center	73%	14,577	\$217.00	\$3,163,272	\$229.00	\$3,338,204	\$174,933	6%	\$228.33	\$3,328,394	\$165,123	5%
268585	Harborchase of Naples	26%	2,981	\$272.05	\$810,980	\$219.35	\$653,889	-\$157,091	-19%	\$258.45	\$770,431	-\$40,549	-5%
213322	Harborchase of Venice	23%	3,302	\$225.66	\$745,134	\$212.55	\$701,849	-\$43,285	-6%	\$214.38	\$707,877	-\$37,257	-5%
122229	Harbour Health Center	41%	15,059	\$220.06	\$3,313,957	\$223.57	\$3,366,786	\$52,829	2%	\$223.57	\$3,366,786	\$52,829	2%
216399	Harbour's Edge	18%	3,265	\$278.64	\$909,747	\$227.10	\$741,488	-\$168,259	-18%	\$264.70	\$864,260	-\$45,487	-5%
316636	Harbourwood Health and Rehab Center	81%	32,557	\$209.87	\$6,832,874	\$226.89	\$7,386,980	\$554,106	8%	\$220.83	\$7,189,550	\$356,676	5%
211435	Hardee Manor Healthcare Center	68%	17,309	\$198.38	\$3,433,727	\$223.06	\$3,860,890	\$427,163	12%	\$208.73	\$3,612,967	\$179,241	5%
269107	Harmony Health Center	58%	42,599	\$194.18	\$8,271,857	\$206.83	\$8,810,838	\$538,981	7%	\$204.32	\$8,703,648	\$431,791	5%
043865	Harts Harbor Health Care Center	84%	52,341	\$188.88	\$9,885,948	\$204.58	\$10,708,012	\$822,064	8%	\$198.74	\$10,401,995	\$516,046	5%
258831	Haven of Our Lady of Peace	35%	14,398	\$239.93	\$3,454,555	\$240.61	\$3,464,324	\$9,769	0%	\$240.61	\$3,464,324	\$9,769	0%
261670	Hawthorne Health and Rehab of Brandon	40%	16,426	\$219.60	\$3,607,215	\$238.77	\$3,922,098	\$314,883	9%	\$231.07	\$3,795,512	\$188,297	5%
253456	Hawthorne Health and Rehab of Ocala	50%	19,903	\$217.85	\$4,335,779	\$212.34	\$4,226,286	-\$109,493	-3%	\$212.34	\$4,226,286	-\$109,493	-3%
094353	Hawthorne Health and Rehab of Sarasota	10%	1,541	\$267.05	\$411,524	\$246.81	\$380,334	-\$31,190	-8%	\$253.70	\$390,948	-\$20,576	-5%
043874	Health Center at Brentwood	54%	22,636	\$188.22	\$4,260,505	\$190.53	\$4,312,827	\$52,322	1%	\$190.53	\$4,312,827	\$52,322	1%
048441	Health Central Park	72%	54,314	\$230.09	\$12,496,962	\$224.70	\$12,204,110	-\$292,851	-2%	\$224.70	\$12,204,110	-\$292,851	-2%
263931	Healthcare and Rehab of Sanford	75%	28,160	\$199.91	\$5,629,485	\$207.94	\$5,855,629	\$226,143	4%	\$207.94	\$5,855,629	\$226,143	4%
210587	Healthpark Care Center Inc.	34%	13,300	\$254.92	\$3,390,445	\$244.97	\$3,258,036	-\$132,409	-4%	\$244.97	\$3,258,036	-\$132,409	-4%
010453	Heartland Health Care & Rehabilitation Center	24%	7,676	\$249.59	\$1,915,836	\$235.89	\$1,810,711	-\$105,125	-5%	\$237.11	\$1,820,044	-\$95,792	-5%
011997	Heartland Health Care and Rehabilitation Center of Boca Raton	16%	4,353	\$243.36	\$1,059,325	\$243.77	\$1,061,111	\$1,785	0%	\$243.77	\$1,061,111	\$1,785	0%
325309	Heartland Health Care Center- Boynton Beach	62%	25,544	\$204.71	\$5,229,018	\$214.77	\$5,485,990	\$256,973	5%	\$214.77	\$5,485,990	\$256,973	5%
325333	Heartland Health Care Center- Lauderhill	69%	26,031	\$193.48	\$5,036,452	\$198.72	\$5,172,767	\$136,315	3%	\$198.72	\$5,172,767	\$136,315	3%
325252	Heartland Health Care Center- Miami Lakes	20%	8,235	\$221.87	\$1,827,099	\$234.52	\$1,931,283	\$104,184	6%	\$233.45	\$1,922,473	\$95,375	5%
325287	Heartland Health Care Center of South Jacksonville	39%	15,032	\$210.76	\$3,168,090	\$227.64	\$3,421,906	\$253,816	8%	\$221.76	\$3,333,465	\$165,374	5%
325325	Heartland Health Care Center-Ft. Myers	37%	14,563	\$215.69	\$3,141,125	\$225.52	\$3,284,276	\$143,150	5%	\$225.52	\$3,284,276	\$143,150	5%
325236	Heartland Health Care Center-Jacksonville	40%	15,472	\$228.64	\$3,537,568	\$232.97	\$3,604,560	\$66,992	2%	\$232.97	\$3,604,560	\$66,992	2%
325244	Heartland Health Care Center-Kendall	22%	9,160	\$213.80	\$1,958,424	\$241.40	\$2,211,265	\$252,841	13%	\$224.96	\$2,060,653	\$102,230	5%
325490	Heartland Health Care Center-North Sarasota	66%	18,784	\$227.37	\$4,270,841	\$236.29	\$4,438,387	\$167,546	4%	\$236.29	\$4,438,387	\$167,546	4%
325261	Heartland Health Care Center-Orange Park	45%	16,629	\$205.63	\$3,419,386	\$224.06	\$3,725,831	\$306,445	9%	\$216.36	\$3,597,878	\$178,492	5%
325341	Heartland Health Care Center-Prosperity Oaks	51%	18,817	\$219.85	\$4,136,927	\$228.23	\$4,294,538	\$157,611	4%	\$228.23	\$4,294,538	\$157,611	4%
325350	Heartland of Tamarac	53%	24,747	\$232.16	\$5,745,315	\$235.58	\$5,829,982	\$84,666	1%	\$235.58	\$5,829,982	\$84,666	1%
325708	Heartland of Zephyrhills	57%	21,610	\$196.45	\$4,245,332	\$220.66	\$4,768,520	\$523,188	12%	\$206.71	\$4,466,938	\$221,606	5%
228591	Heather Hill Healthcare Center	74%	25,827	\$205.99	\$5,320,068	\$204.61	\$5,284,384	-\$35,684	-1%	\$204.61	\$5,284,384	-\$35,684	-1%
043838	Heritage Healthcare and Rehabilitation Center	73%	24,467	\$209.72	\$5,131,254	\$226.32	\$5,537,315	\$406,062	8%	\$220.67	\$5,399,105	\$267,851	5%
043833	Heritage Healthcare Center at Tallahassee	76%	45,554	\$196.21	\$8,938,114	\$189.99	\$8,654,823	-\$283,291	-3%	\$189.99	\$8,654,823	-\$283,291	-3%
005850	Heritage Park	73%	30,890	\$232.26	\$7,174,447	\$237.48	\$7,335,639	\$161,193	2%	\$237.48	\$7,335,639	\$161,193	2%
324345	Heritage Park Care and Rehabilitation Center	42%	15,987	\$207.27	\$3,313,602	\$226.70	\$3,624,235	\$310,633	9%	\$218.09	\$3,486,572	\$172,970	5%
061095	Heritage Park Rehabilitation and Healthcare	78%	33,331	\$196.55	\$6,551,068	\$189.17	\$6,305,389	-\$245,679	-4%	\$189.17	\$6,305,389	-\$245,679	-4%
043832	Heron Pointe Health and Rehabilitation	73%	30,895	\$189.73	\$5,861,677	\$188.45	\$5,822,178	-\$39,499	-1%	\$188.45	\$5,822,178	-\$39,499	-1%
265730	Hialeah Nursing and Rehabilitation Center	78%	74,473	\$209.74	\$15,620,019	\$211.18	\$15,727,242	\$107,223	1%	\$211.18	\$15,727,242	\$107,223	1%
250988	HIALEAH SHORES NURSING and REHAB CENTER	64%	23,209	\$252.97	\$5,871,104	\$253.28	\$5,878,263	\$7,159	0%	\$253.28	\$5,878,263	\$7,159	0%
263907	Highland Pines Rehabilitation Center	88%	30,233	\$217.25	\$6,568,216	\$227.54	\$6,879,338	\$311,122	5%	\$227.54	\$6,879,338	\$311,122	5%



				Estimated	Change in Me	dicaid Reim	bursement						
	Facility Information				ayment Method		ew Method with no	Gain/Loss Cap		N	ew Method with Ga	n/Loss Cap	
Facility			Medicaid	Current	Current	Proposed	Annual	Payment	Pymt	Proposed	Annual	Payment	Pymt
Mcaid		Mcaid	Annualized	Total Per	Annual	New Total	Proposed New	Change	Chng	New Total	Adjusted New	Change	Chng
ID	Facility Name	Util.	Days	Diem	Payment	Per Diem	Payment	(\$)	(%)	Per Diem	Payment	(\$)	(%)
260576	Highlands Lake Center	57%	36,193	\$221.78	\$8,026,742	\$234.89	\$8,501,226	\$474,484	6%	\$233.35	\$8,445,738	\$418,996	5%
047795	Hillcrest Health Care and Rehabilitation Center	65%	54,120	\$193.86	\$10,491,952	\$199.12	\$10,776,462	\$284,509	3%	\$199.12	\$10,776,462	\$284,509	3%
313424	Hollywood Hills Rehabilitation Center LLC	58%	28,239	\$231.21	\$6,529,247	\$227.47	\$6,423,593	-\$105,653	-2%	\$227.47	\$6,423,593	-\$105,653	-2%
046017	Homestead Manor A Palace Community	75%	17,552	\$262.33	\$4,604,460	\$258.11	\$4,530,323	-\$74,137	-2%	\$258.11	\$4,530,323	-\$74,137	-2%
263605	Hunters Creek Nursing and Rehab Center	56%	21,499	\$246.09	\$5,290,781	\$223.80	\$4,811,511	-\$479,271	-9%	\$233.79	\$5,026,242	-\$264,539	-5%
211281	Huntington Place	63%	21,210	\$192.19	\$4,076,386	\$207.45	\$4,400,067	\$323,681	8%	\$202.22	\$4,289,173	\$212,787	5%
260665	Indian River Center	74%	47,824	\$226.83	\$10,848,104	\$220.11	\$10,526,341	-\$321,764	-3%	\$220.11	\$10,526,341	-\$321,764	-3%
258750	Indigo Manor	63%	32,169	\$232.02	\$7,463,748	\$237.33	\$7,634,670	\$170,922	2%	\$237.33	\$7,634,670	\$170,922	2%
228621	Inn at Sarasota Bay Club	15%	2,708	\$298.97	\$809,599	\$249.94	\$676,834	-\$132,765	-16%	\$284.02	\$769,119	-\$40,480	-5%
059866	Island Health and Rehabilitation Center	71%	29,919	\$203.38	\$6,084,816	\$198.63	\$5,942,685	-\$142,130	-2%	\$198.63	\$5,942,685	-\$142,130	-2%
260657	Island Lake Center	71%	30,463	\$227.44	\$6,928,566	\$231.25	\$7,044,510	\$115,944	2%	\$231.25	\$7,044,510	\$115,944	2%
122343	Isle Health & Rehabilitation Center	53%	18,599	\$233.67	\$4,345,989	\$224.80	\$4,180,967	-\$165,023	-4%	\$224.80	\$4,180,967	-\$165,023	-4%
281743	Jacaranda Manor	90%	92,242	\$176.22	\$16,254,931	\$183.02	\$16,882,284	\$627,352	4%	\$183.02	\$16,882,284	\$627,352	4%
204161	Jackson Memorial Long Term Care Center	66%	41,348	\$246.35	\$10,186,043	\$224.52	\$9,283,565	-\$902,478	-9%	\$234.03	\$9,676,740	-\$509,302	-5%
203670	Jackson Memorial Perdue Medical Center	66%	33,982	\$271.98	\$9,242,363	\$251.39	\$8,542,681	-\$699,682	-8%	\$258.38	\$8,780,245	-\$462,118	-5%
253723	Jackson Plaza Nursing & Rehabilitation Center	75%	30,514	\$272.83	\$8,325,180	\$250.05	\$7,630,005	-\$695,176	-8%	\$259.19	\$7,908,921	-\$416,259	-5%
263494	Jacksonville Nursing and Rehab Center	72%	40,802	\$205.84	\$8,398,574	\$209.31	\$8,540,072	\$141,498	2%	\$209.31	\$8,540,072	\$141,498	2%
210285	John Knox Village Med Center	33%	18,353	\$244.14	\$4,480,661	\$212.93	\$3,907,862	-\$572,799	-13%	\$231.93	\$4,256,628	-\$224,033	-5%
203769	John Knox Village of Pompano Beach	16%	8,523	\$231.81	\$1,975,692	\$237.62	\$2,025,213	\$49,521	3%	\$237.62	\$2,025,213	\$49,521	3%
207381	Joseph L Morse Geriatric Center Inc	48%	47,048	\$248.60	\$11,696,241	\$242.47	\$11,407,813	-\$288,428	-2%	\$242.47	\$11,407,813	-\$288,428	-2%
208485	Jupiter Medical Center Pavilion Inc.	18%	3,004	\$250.89	\$753,671	\$233.22	\$700,589	-\$53,083	-7%	\$238.34	\$715,988	-\$37,684	-5%
324493	Kenilworth Care and Rehabilitation Center	57%	17,044	\$198.87	\$3,389,605	\$195.72	\$3,335,774	-\$53,831	-2%	\$195.72	\$3,335,774	-\$53,831	-2%
024167	Key West Health & Rehabilitation	66%	23,257	\$218.20	\$5,074,759	\$241.73	\$5,621,891	\$547,133	11%	\$229.59	\$5,339,661	\$264,902	5%
043839	Keystone Rehabilitation and Health Center	64%	26,562	\$185.65	\$4,931,352	\$186.76	\$4,960,689	\$29,337	1%	\$186.76	\$4,960,689	\$29,337	1%
089220	Krystal Bay Nursing and Rehabilitation	84%	24,904	\$254.44	\$6,336,531	\$259.33	\$6,458,385	\$121,854	2%	\$259.33	\$6,458,385	\$121,854	2%
032486	Lady Lake Specialty Care Center	38%	18,753	\$250.03	\$4,688,816	\$217.91	\$4,086,465	-\$602,351	-13%	\$237.53	\$4,454,376	-\$234,441	-5%
264482	Lafayette Health Care Center	73%	14,316	\$188.17	\$2,693,802	\$189.25	\$2,709,289	\$15,487	1%	\$189.25	\$2,709,289	\$15,487	1%
135647	Lake Bennett Health and Rehabilitation	48%	19,807	\$243.17	\$4,816,403	\$237.69	\$4,707,975	-\$108,428	-2%	\$237.69	\$4,707,975	-\$108,428	-2%
005851	Lake Eustis Care Center	55%	17,058	\$236.61	\$4,036,058	\$245.68	\$4,190,817	\$154,759	4%	\$245.68	\$4,190,817	\$154,759	4%
122243	Lake Harris Health Center	32%	13,387	\$206.06	\$2,758,584	\$201.39	\$2,696,007	-\$62,577	-2%	\$201.39	\$2,696,007	-\$62,577	-2%
043871	Lake Mary Health and Rehabilitation Center	41%	17,378	\$212.84	\$3,698,662	\$222.39	\$3,864,688	\$166,025	4%	\$222.39	\$3,864,688	\$166,025	4%
211923	Lake Park of Madison	81%	28,129	\$198.53	\$5,584,462	\$197.96	\$5,568,412	-\$16,049	0%	\$197.96	\$5,568,412	-\$16,049	0%
006339	Lake Placid Health and Rehabilitation Center	66%	40,636	\$244.59	\$9,939,253	\$232.89	\$9,463,697	-\$475,555	-5%	\$232.89	\$9,463,697	-\$475,555	-5%
229610	Lake View Care Center at Delray	40%	15,212	\$237.91	\$3,619,015	\$233.08	\$3,545,628	-\$73,387	-2%	\$233.08	\$3,545,628	-\$73,387	-2%
080068	Lakeland Hills Center	80%	32,231	\$210.25	\$6,776,494	\$204.62	\$6,594,977	-\$181,517	-3%	\$204.62	\$6,594,977	-\$181,517	-3%
207683	Lakeside Health Center	78%	28,888	\$238.31	\$6,884,354	\$239.12	\$6,907,577	\$23,223	0%	\$239.12	\$6,907,577	\$23,223	0%
256757	Lakeside Nursing and Rehabilitation Center	52%	20,812	\$212.49	\$4,422,302	\$217.35	\$4,523,468	\$101,166	2%	\$217.35	\$4,523,468	\$101,166	2%
061140	Lakeside Oaks Care Center	74%	23,055	\$201.41	\$4,643,535	\$207.56	\$4,785,407	\$141,871	3%	\$207.56	\$4,785,407	\$141,871	3%
256846	Lakeside Pavilion	69%	28,288	\$200.94	\$5,684,129	\$209.78	\$5,934,115	\$249,987	4%	\$209.78	\$5,934,115	\$249,987	4%
259225	Lakeview Terrace Skilled Nursing Facility	15%	1,058	\$215.79	\$228,307	\$226.25	\$239,375	\$11,067	5%	\$226.25	\$239,375	\$11,067	5%
312142	Lakewood Nursing Center	76%	22,797	\$204.54	\$4,662,816	\$229.69	\$5,236,182	\$573,365	12%	\$215.21	\$4,906,215	\$243,399	5%
141466	Lanier Terrace	76%	30,881	\$204.87	\$6,326,523	\$217.03	\$6,701,981	\$375,458	6%	\$215.56	\$6,656,767	\$330,244	5%
043876	Largo Health and Rehabilitation Center	65%	35,887	\$195.87	\$7,029,057	\$215.36	\$7,728,785	\$699,728	10%	\$206.09	\$7,395,974	\$366,917	5%
211516	Laurel Pointe Health and Rehabilitation	62%	21,526	\$198.62	\$4,275,391	\$218.90	\$4,712,142	\$436,751	10%	\$208.98	\$4,498,566	\$223,175	5%
316628	Laurellwood Nursing Center	92%	15,613	\$208.16	\$3,250,079	\$204.78	\$3,197,261	-\$52,818	-2%	\$204.78	\$3,197,261	-\$52,818	-2%



				Estimated	Change in Me	dicaid Reim	bursement						
	Facility Information				yment Method		ew Method with no	Gain/Loss Cap		N	ew Method with Ga	in/Loss Cap	
Facility	•		Medicaid	Current	Current	Proposed	Annual	Payment	Pymt	Proposed	Annual	Payment	Pymt
Mcaid		Mcaid	Annualized	Total Per	Annual	New Total	Proposed New	Change	Chng	New Total	Adjusted New	Change	Chng
ID	Facility Name	Util.	Days	Diem	Payment	Per Diem	Payment	(\$)	(%)	Per Diem	Payment	(\$)	(%)
320978	Lehigh Acres Health & Rehabilitation Center	50%	18,791	\$261.26	\$4,909,262	\$227.98	\$4,284,033	-\$625,229	-13%	\$248.19	\$4,663,798	-\$245,463	-5%
032553	Lexington Health & Rehabilitation Center	57%	30,508	\$227.91	\$6,953,176	\$209.56	\$6,393,116	-\$560,060	-8%	\$216.52	\$6,605,517	-\$347,659	-5%
259080	Life Care Center at Inverrary	49%	19,865	\$241.75	\$4,802,405	\$265.44	\$5,272,916	\$470,511	10%	\$254.37	\$5,053,091	\$250,686	5%
213161	Life Care Center at Wells Crossing	43%	16,025	\$217.48	\$3,485,189	\$239.00	\$3,830,051	\$344,861	10%	\$228.84	\$3,667,116	\$181,927	5%
210137	Life Care Center of Altamonte Springs	61%	45,183	\$228.21	\$10,311,398	\$231.39	\$10,454,770	\$143,372	1%	\$231.39	\$10,454,770	\$143,372	1%
211532	Life Care Center of Citrus County	41%	14,052	\$230.16	\$3,234,139	\$240.19	\$3,375,097	\$140,957	4%	\$240.19	\$3,375,097	\$140,957	4%
265381	Life Care Center of Estero	51%	24,646	\$243.21	\$5,994,247	\$249.88	\$6,158,485	\$164,238	3%	\$249.88	\$6,158,485	\$164,238	3%
214060	Life Care Center of Hilliard	67%	26,023	\$206.54	\$5,374,668	\$230.97	\$6,010,657	\$635,989	12%	\$217.32	\$5,655,226	\$280,558	5%
283193	Life Care Center of Jacksonville	17%	6,627	\$236.49	\$1,567,213	\$239.40	\$1,586,471	\$19,257	1%	\$239.40	\$1,586,471	\$19,257	1%
228338	Life Care Center of Melbourne	32%	13,078	\$219.53	\$2,871,039	\$234.85	\$3,071,385	\$200,345	7%	\$230.99	\$3,020,908	\$149,868	5%
259357	Life Care Center of New Port Richey	28%	10,594	\$228.70	\$2,422,808	\$238.39	\$2,525,515	\$102,708	4%	\$238.39	\$2,525,515	\$102,708	4%
266108	Life Care Center of Ocala	37%	14,448	\$237.79	\$3,435,593	\$245.26	\$3,543,487	\$107,894	3%	\$245.26	\$3,543,487	\$107,894	3%
284289	Life Care Center of Orange Park	51%	29,738	\$204.08	\$6,069,020	\$238.01	\$7,077,921	\$1,008,900	17%	\$214.74	\$6,385,823	\$316,803	5%
213403	Life Care Center of Orlando	25%	9,286	\$224.96	\$2,088,936	\$252.68	\$2,346,380	\$257,444	12%	\$236.70	\$2,197,978	\$109,042	5%
268186	Life Care Center of Palm Bay	48%	22,327	\$227.47	\$5,078,758	\$241.80	\$5,398,657	\$319,899	6%	\$239.35	\$5,343,870	\$265,111	5%
315664	Life Care Center of Pensacola	34%	14,155	\$229.24	\$3,244,823	\$235.60	\$3,334,866	\$90,043	3%	\$235.60	\$3,334,866	\$90,043	3%
217824	Life Care Center of Port Saint Lucie	27%	10,140	\$241.69	\$2,450,715	\$234.14	\$2,374,165	-\$76,550	-3%	\$234.14	\$2,374,165	-\$76,550	-3%
311685	Life Care Center of Punta Gorda	59%	28,647	\$249.65	\$7,151,640	\$239.56	\$6,862,745	-\$288,895	-4%	\$239.56	\$6,862,745	-\$288,895	-4%
223786	Life Care Center of Sarasota	33%	11,256	\$248.94	\$2,802,080	\$247.35	\$2,784,143	-\$17,937	-1%	\$247.35	\$2,784,143	-\$17,937	-1%
219380	Life Care Center of Winter Haven	50%	28,142	\$244.13	\$6,870,312	\$237.87	\$6,694,257	-\$176,055	-3%	\$237.87	\$6,694,257	-\$176,055	-3%
203980	Lisenby on Lake Caroline	76%	6,034	\$174.70	\$1,054,127	\$198.16	\$1,195,681	\$141,554	13%	\$183.82	\$1,109,153	\$55,025	5%
005379	Longwood Health and Rehabilitation Center	71%	29,579	\$238.21	\$7,046,017	\$226.43	\$6,697,559	-\$348,458	-5%	\$226.43	\$6,697,559	-\$348,458	-5%
205923	Lourdes-Noreen Mckeen Residence for Geriatric Care, Inc.	59%	27,246	\$274.36	\$7,475,223	\$239.42	\$6,523,152	-\$952,072	-13%	\$260.64	\$7,101,462	-\$373,761	-5%
313718	Lutheran Haven Nursing Home	49%	7,105	\$241.35	\$1,714,783	\$222.82	\$1,583,118	-\$131,666	-8%	\$229.28	\$1,629,044	-\$85,739	-5%
263516	MacClenny Nursing and Rehab Center	73%	28,650	\$197.35	\$5,654,184	\$225.05	\$6,447,791	\$793,608	14%	\$207.66	\$5,949,332	\$295,148	5%
213462	Madison Health and Rehabilitation Center	79%	16,007	\$246.77	\$3,950,065	\$241.28	\$3,862,221	-\$87,844	-2%	\$241.28	\$3,862,221	-\$87,844	-2%
324124	Madison Pointe Rehabilitation & Health Center	55%	21,923	\$242.35	\$5,312,995	\$217.74	\$4,773,444	-\$539,551	-10%	\$230.23	\$5,047,345	-\$265,650	-5%
043877	Magnolia Health and Rehabilitation Center	71%	29,098	\$208.05	\$6,053,734	\$224.67	\$6,537,346	\$483,612	8%	\$218.91	\$6,369,739	\$316,005	5%
269000	Majestic Oaks	38%	19,663	\$222.56	\$4,376,138	\$221.37	\$4,352,763	-\$23,375	-1%	\$221.37	\$4,352,763	-\$23,375	-1%
325422	Manor Care @ Lely Palms	40%	16,607	\$231.68	\$3,847,510	\$228.97	\$3,802,563	-\$44,947	-1%	\$228.97	\$3,802,563	-\$44,947	-1%
325473	Manor Care Health Services	48%	18,953	\$221.76	\$4,203,000	\$233.50	\$4,425,581	\$222,581	5%	\$233.33	\$4,422,397	\$219,397	5%
325449	Manor Care Nursing and Rehabilitation Center	61%	21,158	\$241.34	\$5,106,261	\$228.89	\$4,842,775	-\$263,486	-5%	\$229.27	\$4,850,948	-\$255,313	-5%
256935	Manor Oaks Nursing & Rehabilitation Center	51%	14,126	\$226.62	\$3,201,255	\$253.45	\$3,580,171	\$378,915	12%	\$238.45	\$3,368,361	\$167,106	5%
254177	Manor Pines Convalescent Center	37%	19,567	\$225.18	\$4,406,009	\$257.69	\$5,042,148	\$636,139	14%	\$236.93	\$4,636,003	\$229,994	5%
325384	ManorCare Health Services	33%	12,659	\$202.20	\$2,559,597	\$227.03	\$2,873,917	\$314,321	12%	\$212.75	\$2,693,208	\$133,611	5%
325368	ManorCare Health Services (Boca Raton)	67%	40,720	\$204.14	\$8,312,434	\$212.19	\$8,640,533	\$328,099	4%	\$212.19	\$8,640,533	\$328,099	4%
325520	ManorCare Health Services (Delray Beach)	36%	14,742	\$195.77	\$2,886,006	\$228.31	\$3,365,726	\$479,720	17%	\$205.99	\$3,036,655	\$150,650	5%
325457	ManorCare Health Services (Plantation)	47%	19,688	\$217.65	\$4,285,135	\$237.96	\$4,684,971	\$399,836	9%	\$229.01	\$4,508,819	\$223,684	5%
325376	ManorCare Health Services-Boynton Beach	59%	30,084	\$218.29	\$6,566,997	\$228.16	\$6,864,108	\$297,111	5%	\$228.16	\$6,864,108	\$297,111	5%
325678	ManorCare Health Services-Carrollwood	35%	13,561	\$228.51	\$3,098,840	\$211.42	\$2,867,131	-\$231,709	-7%	\$217.09	\$2,943,898	-\$154,942	-5%
325686	Manor-Care Health Services-Dunedin	53%	20,829	\$209.15	\$4,356,371	\$240.21	\$5,003,336	\$646,965	15%	\$220.07	\$4,583,773	\$227,403	5%
325694	ManorCare Health Services-Palm Harbor	44%	26,594	\$193.88	\$5,156,125	\$223.66	\$5,948,025	\$791,900	15%	\$204.00	\$5,425,274	\$269,150	5%
325465	ManorCare Health Services-Sarasota	59%	32,259	\$217.24	\$7,007,884	\$210.61	\$6,794,107	-\$213,777	-3%	\$210.61	\$6,794,107	-\$213,777	-3%
325481	ManorCare Health Services-West Palm Beach	50%	19,546	\$215.07	\$4,203,789	\$212.48	\$4,153,060	-\$50,729	-1%	\$212.48	\$4,153,060	-\$50,729	-1%



				Estimated	I Change in Me	dicaid Reim	bursement						
	Facility Information				ayment Method		ew Method with no	Gain/Loss Cap		N	ew Method with Ga	in/Loss Cap	
Facility	·		Medicaid	Current	Current	Proposed	Annual	Payment	Pymt	Proposed	Annual	Payment	Pymt
Mcaid ID	Facility Name	Mcaid Util.	Annualized Days	Total Per Diem	Annual	New Total Per Diem	Proposed New Payment	Change (\$)	Chng (%)	New Total Per Diem	Adjusted New Payment	Change	Chng (%)
325279	ManorCare Nursing and Rehabilitation Center	48%	16,544	\$206.80	Payment \$3,421,220	\$227.00	\$3,755,497	\$334,277	10%	\$217.59	\$3,599,807	(\$) \$178,588	5%
017222	Margate Health and Rehabilitation Center	59%	34,302	\$200.60	\$8,486,277	\$227.00	\$8,875,229	\$388,952	5%	\$217.39	\$8,875,229	\$388,952	5%
203475	Marianna Health & Rehabilitation	78%	43,729	\$247.40	\$10,024,021	\$230.74	\$9,670,011	-\$354,010	-4%	\$230.74	\$9,670,011	-\$354,010	-4%
043878	Marshall Health and Rehabilitation Center	83%	32,123	\$193.09	\$6,202,572	\$192.31	\$6,177,460	-\$354,010	0%	\$192.31	\$6,177,460	-\$354,010	0%
226033	Martin Nursing and Restorative Care Center	61%	22,320	\$245.75	\$5,485,229	\$245.16	\$5,471,866	-\$25,113	0%	\$245.16	\$5,471,866	-\$25,113	0%
201588	Mary Lee Depugh Nursing Home Association Inc	70%	9,376	\$245.75	\$2,158,764	\$245.10	\$2,247,173	\$88,409	4%	\$245.10	\$2,247,173	\$88,409	4%
201388	Mease Continuing Care	42%	13,042	\$230.24	\$2,792,184	\$234.07	\$2,796,107	-\$196,077	-7%	\$237.07	\$2,842,575	-\$149,609	-5%
263524	Medicana Nursing and Rehab Center	72%	21,754	\$205.18	\$4,463,486	\$214.39	\$5,018,624	\$555,138	12%	\$217.90	\$4,696,480	\$232,994	5%
264547	Melbourne Terrace Rehabilitation Center	31%	12,724	\$232.62	\$2,959,872	\$230.70	\$3,053,240	\$93,367	3%	\$239.96	\$3,053,240	\$93,367	3%
201006	Memorial Manor	38%	16,075	\$232.02	\$3,948,941	\$237.70	\$3,893,920	-\$55,021	-1%	\$239.90	\$3,893,920	-\$55,021	-1%
229628	Menorah House	69%	25,426	\$239.84	\$6,098,279	\$242.23	\$5,984,268	-\$35,021	-1%	\$235.36	\$5,984,268	-\$35,021	-2%
263541	Metro West Nursing and Rehab Center	73%	28,344	\$237.04	\$6,160,180	\$233.30	\$6,584,400	\$424,220	7%	\$233.30	\$6,481,742	\$321,561	5%
203341	Wello west Nursing and Renab Center					\$232.30			1 70			\$321,001	376
200506	Miami Jewish Health Systems	69%	99,002	\$252.23	\$24,970,869	\$236.07	\$23,371,311	-\$1,599,558	-6%	\$239.61	\$23,722,325	\$1,248,543	-5%
214035	Miami Shores Nursing and Rehab Center	73%	23,722	\$278.01	\$6,594,920	\$274.99	\$6,523,222	-\$71,698	-1%	\$274.99	\$6,523,222	-\$71,698	-1%
202941	Miracle Hill Nursing and Rehabilitation Centers, Inc.	80%	33,669	\$229.37	\$7,722,561	\$224.72	\$7,566,222	-\$156,339	-2%	\$224.72	\$7,566,222	-\$156,339	-2%
326011	Moosehaven, Inc.	48%	5,582	\$237.41	\$1,325,244	\$216.84	\$1,210,380	-\$114,864	-9%	\$225.54	\$1,258,982	-\$66,262	-5%
206431	Morton Plant Rehabilitation Center	22%	9,319	\$246.35	\$2,295,699	\$225.31	\$2,099,627	-\$196,072	-9%	\$234.03	\$2,180,914	-\$114,785	-5%
263559	Moultrie Creek Nursing and Rehab Center	45%	17,724	\$223.08	\$3,953,912	\$233.60	\$4,140,396	\$186,484	5%	\$233.60	\$4,140,396	\$186,484	5%
228001	North Beach Rehabilitation Center	54%	17,700	\$277.00	\$4,902,939	\$248.37	\$4,396,199	-\$506,740	-10%	\$263.15	\$4,657,792	-\$245,147	-5%
103858	North Campus Rehabilitation and Nursing Center	44%	12,977	\$255.21	\$3,311,803	\$230.73	\$2,994,190	-\$317,613	-10%	\$242.45	\$3,146,213	-\$165,590	-5%
132045	North Dade Nursing and Rehabilitation Center	69%	38,163	\$214.45	\$8,184,006	\$230.12	\$8,782,143	\$598,138	7%	\$225.64	\$8,611,211	\$427,205	5%
043880	North Florida Rehabilitation and Specialty Care	51%	20,871	\$202.52	\$4,226,764	\$198.91	\$4,151,466	-\$75,297	-2%	\$198.91	\$4,151,466	-\$75,297	-2%
325163	North Lake Rehabilitation and Health Center	94%	24,715	\$276.88	\$6,843,196	\$234.49	\$5,795,525	-\$1,047,670	-15%	\$263.04	\$6,501,036	-\$342,160	-5%
227641	North Rehabilitation Center	38%	5,367	\$238.73	\$1,281,275	\$213.18	\$1,144,128	-\$137,148	-11%	\$226.80	\$1,217,211	-\$64,064	-5%
156586	Northbrook Health and Rehabilitation Center	71%	24,400	\$220.55	\$5,381,483	\$241.84	\$5,900,996	\$519,512	10%	\$232.07	\$5,662,397	\$280,913	5%
041324	NuVista Living at Hillsborough Lakes	60%	15,571	\$231.47	\$3,604,148	\$221.40	\$3,447,412	-\$156,736	-4%	\$221.40	\$3,447,412	-\$156,736	-4%
038640	NuVista Living at Wellington Green	25%	7,428	\$234.76	\$1,743,805	\$214.16	\$1,590,799	-\$153,006	-9%	\$223.02	\$1,656,615	-\$87,190	-5%
258342	Oak Manor Healthcare & Rehabilitation Center	62%	35,547	\$208.99	\$7,428,847	\$237.91	\$8,456,845	\$1,027,998	14%	\$219.90	\$7,816,632	\$387,786	5%
130817	Oak View Rehabilitation Center	70%	29,363	\$246.51	\$7,238,388	\$218.95	\$6,428,929	-\$809,459	-11%	\$234.19	\$6,876,468	-\$361,919	-5%
043841	Oakbridge Healthcare Center	50%	21,217	\$202.55	\$4,297,546	\$202.91	\$4,305,181	\$7,635	0%	\$202.91	\$4,305,181	\$7,635	0%
006767	Oakbrook Health and Rehabilitation Center	66%	19,843	\$253.04	\$5,021,057	\$246.54	\$4,892,141	-\$128,916	-3%	\$246.54	\$4,892,141	-\$128,916	-3%
251721	Oakhurst Center	64%	38,652	\$198.94	\$7,689,599	\$230.06	\$8,892,446	\$1,202,847	16%	\$209.33	\$8,090,996	\$401,397	5%
263966	Oaks at Avon	56%	19,216	\$210.84	\$4,051,480	\$204.57	\$3,931,058	-\$120,422	-3%	\$204.57	\$3,931,058	-\$120,422	-3%
005549	Oaks of Kissimmee	58%	11,458	\$249.25	\$2,855,949	\$246.81	\$2,828,004	-\$27,945	-1%	\$246.81	\$2,828,004	-\$27,945	-1%
043843	Oaktree Healthcare	90%	18,937	\$207.24	\$3,924,457	\$208.79	\$3,953,869	\$29,413	1%	\$208.79	\$3,953,869	\$29,413	1%
266124	Oasis Health and Rehabilitation Center	78%	30,917	\$246.08	\$7,608,015	\$240.18	\$7,425,535	-\$182,480	-2%	\$240.18	\$7,425,535	-\$182,480	-2%
217395	Ocala Health and Rehabilitation Center	70%	42,880	\$203.48	\$8,725,029	\$224.83	\$9,640,501	\$915,471	10%	\$214.10	\$9,180,476	\$455,447	5%
048611	Ocala Oaks Rehabilitation Center	71%	28,169	\$210.68	\$5,934,780	\$211.55	\$5,959,099	\$24,318	0%	\$211.55	\$5,959,099	\$24,318	0%
226351	Ocean View Nursing & Rehabilitation Center LLC	65%	35,531	\$217.87	\$7,741,135	\$220.63	\$7,839,235	\$98,100	1%	\$220.63	\$7,839,235	\$98,100	1%
212733	Oceanside Extended Care Center	76%	54,279	\$177.91	\$9,656,853	\$206.26	\$11,195,836	\$1,538,983	16%	\$187.20	\$10,160,941	\$504,088	5%
103852	Ocoee Health Care Center	66%	26,235	\$232.57	\$6,101,526	\$226.06	\$5,930,799	-\$170,727	-3%	\$226.06	\$5,930,799	-\$170,727	-3%
023067	Okeechobee Healthcare Facility	76%	48,956	\$268.83	\$13,160,817	\$244.37	\$11,963,414	-\$1,197,403	-9%	\$255.39	\$12,502,776	-\$658,041	-5%
263567	Orange City Nursing and Rehab Center	51%	20,012	\$199.61	\$3,994,581	\$236.05	\$4,723,917	\$729,336	18%	\$210.03	\$4,203,098	\$208,517	5%



				Estimated	I Change in Me	dicaid Reim	bursement						
	Facility Information				ayment Method		ew Method with no	Gain/Loss Cap		N	ew Method with Ga	n/Loss Cap	
Facility			Medicaid	Current	Current	Proposed	Annual	Payment	Pymt	Proposed	Annual	Payment	Pymt
Mcaid		Mcaid	Annualized	Total Per	Annual	New Total	Proposed New	Change	Chng	New Total	Adjusted New	Change	Chng
ID	Facility Name	Util.	Days	Diem	Payment	Per Diem	Payment	(\$)	(%)	Per Diem	Payment	(\$)	(%)
207527	Orchard Park Health and Rehabilitation	71%	24,007	\$225.93	\$5,423,793	\$215.38	\$5,170,617	-\$253,176	-5%	\$215.38	\$5,170,617	-\$253,176	-5%
252689	Orchard Ridge	64%	27,611	\$195.63	\$5,401,532	\$235.30	\$6,496,940	\$1,095,408	20%	\$205.84	\$5,683,492	\$281,960	5%
223654	Orlando Health and Rehabilitation Center	81%	103,384	\$193.30	\$19,984,076	\$188.04	\$19,440,000	-\$544,076	-3%	\$188.04	\$19,440,000	-\$544,076	-3%
005219	Osceola Health Care Center	64%	24,590	\$235.15	\$5,782,398	\$214.77	\$5,281,218	-\$501,180	-9%	\$223.39	\$5,493,278	-\$289,120	-5%
092678	Osprey Point Nursing Center	54%	10,902	\$227.28	\$2,477,777	\$222.83	\$2,429,271	-\$48,506	-2%	\$222.83	\$2,429,271	-\$48,506	-2%
213900	Page Rehabilitation and Healthcare Center	62%	36,927	\$244.90	\$9,043,363	\$236.61	\$8,737,203	-\$306,160	-3%	\$236.61	\$8,737,203	-\$306,160	-3%
005811	Palatka Health Care Center	68%	42,983	\$250.21	\$10,754,931	\$216.50	\$9,305,684	-\$1,449,247	-13%	\$237.70	\$10,217,185	-\$537,747	-5%
263621	Palm City Nursing & Rehab Center	55%	20,798	\$226.71	\$4,715,158	\$234.82	\$4,883,810	\$168,652	4%	\$234.82	\$4,883,810	\$168,652	4%
098577	Palm Garden of Aventura	54%	22,009	\$244.94	\$5,390,821	\$234.36	\$5,158,137	-\$232,683	-4%	\$234.36	\$5,158,137	-\$232,683	-4%
098580	Palm Garden of Clearwater	54%	22,291	\$241.74	\$5,388,582	\$245.02	\$5,461,774	\$73,192	1%	\$245.02	\$5,461,774	\$73,192	1%
098581	Palm Garden of Gainesville	46%	18,477	\$231.51	\$4,277,636	\$242.65	\$4,483,414	\$205,778	5%	\$242.65	\$4,483,414	\$205,778	5%
098582	Palm Garden of Jacksonville	69%	28,946	\$243.23	\$7,040,515	\$220.64	\$6,386,680	-\$653,835	-9%	\$231.07	\$6,688,490	-\$352,026	-5%
098583	Palm Garden of Largo	62%	28,119	\$242.45	\$6,817,536	\$243.39	\$6,843,761	\$26,226	0%	\$243.39	\$6,843,761	\$26,226	0%
098584	Palm Garden of Ocala	63%	38,889	\$225.82	\$8,781,852	\$222.85	\$8,666,321	-\$115,531	-1%	\$222.85	\$8,666,321	-\$115,531	-1%
098586	Palm Garden of Orlando	66%	27,456	\$220.21	\$6,045,998	\$212.56	\$5,836,063	-\$209,935	-3%	\$212.56	\$5,836,063	-\$209,935	-3%
098587	Palm Garden of Pinellas	67%	26,916	\$241.55	\$6,501,600	\$235.39	\$6,335,654	-\$165,946	-3%	\$235.39	\$6,335,654	-\$165,946	-3%
098588	Palm Garden of Port Saint Lucie	64%	26,565	\$233.58	\$6,204,970	\$236.87	\$6,292,519	\$87,548	1%	\$236.87	\$6,292,519	\$87,548	1%
098589	Palm Garden of Sun City	56%	22,089	\$238.38	\$5,265,585	\$247.50	\$5,467,073	\$201,489	4%	\$247.50	\$5,467,073	\$201,489	4%
098590	Palm Garden of Tampa	65%	26,737	\$243.03	\$6,497,971	\$240.81	\$6,438,440	-\$59,531	-1%	\$240.81	\$6,438,440	-\$59,531	-1%
098591	Palm Garden of Vero Beach	71%	40,052	\$225.04	\$9,013,126	\$219.56	\$8,793,620	-\$219,506	-2%	\$219.56	\$8,793,620	-\$219,506	-2%
098592	Palm Garden of West Palm Beach	65%	39,047	\$223.17	\$8,714,303	\$237.44	\$9,271,385	\$557,083	6%	\$234.82	\$9,169,189	\$454,887	5%
098593	Palm Garden of Winter Haven	69%	25,950	\$245.69	\$6,375,585	\$239.62	\$6,218,066	-\$157,519	-2%	\$239.62	\$6,218,066	-\$157,519	-2%
282618	Palm Terrace of Clewiston	81%	34,909	\$235.07	\$8,205,961	\$213.57	\$7,455,667	-\$750,294	-9%	\$223.31	\$7,795,663	-\$410,298	-5%
282626	Palm Terrace of Lakeland	64%	37,874	\$232.88	\$8,820,127	\$236.51	\$8,957,766	\$137,639	2%	\$236.51	\$8,957,766	\$137,639	2%
282537	Palm Terrace of St Petersburg	83%	25,312	\$252.35	\$6,387,417	\$237.57	\$6,013,312	-\$374,105	-6%	\$239.73	\$6,068,047	-\$319,371	-5%
324167	Palmetto Rehabilitation and Health Center	50%	15,720	\$274.26	\$4,311,325	\$256.93	\$4,038,940	-\$272,385	-6%	\$260.54	\$4,095,759	-\$215,566	-5%
212806	Palmetto Sub Acute Care Center Inc	37%	12,219	\$263.28	\$3,216,974	\$254.70	\$3,112,173	-\$104,801	-3%	\$254.70	\$3,112,173	-\$104,801	-3%
005385	Panama City Health and Rehabilitation Center	75%	32,108	\$233.51	\$7,497,404	\$237.98	\$7,640,995	\$143,590	2%	\$237.98	\$7,640,995	\$143,590	2%
227765	Park Meadows Health and Rehabilitation Center	65%	31,634	\$238.21	\$7,535,545	\$227.03	\$7,181,851	-\$353,694	-5%	\$227.03	\$7,181,851	-\$353,694	-5%
228401	Park Ridge Nursing Center	77%	25,584	\$203.18	\$5,198,185	\$222.30	\$5,687,303	\$489,118	9%	\$213.79	\$5,469,531	\$271,345	5%
317578	Parklands Rehabilitation and Nursing Center	69%	28,461	\$239.99	\$6,830,301	\$214.05	\$6,091,937	-\$738,365	-11%	\$227.99	\$6,488,786	-\$341,515	-5%
005547	Parkside Health and Rehabilitation Center	82%	33,124	\$232.00	\$7,684,718	\$235.72	\$7,808,126	\$123,407	2%	\$235.72	\$7,808,126	\$123,407	2%
324507	Peninsula Care and Rehabilitation Center	67%	27,930	\$197.77	\$5,523,666	\$210.57	\$5,881,145	\$357,479	6%	\$208.09	\$5,812,001	\$288,335	5%
252662	Pinebrook Center	59%	21,487	\$227.92	\$4,897,323	\$218.24	\$4,689,220	-\$208,103	-4%	\$218.24	\$4,689,220	-\$208,103	-4%
225754	Pinecrest Rehabilitation Center	74%	21,222	\$261.96	\$5,559,296	\$256.10	\$5,434,881	-\$124,415	-2%	\$256.10	\$5,434,881	-\$124,415	-2%
263486	Pinellas Point Nursing and Rehab Center	81%	14,650	\$220.26	\$3,226,805	\$232.13	\$3,400,740	\$173,936	5%	\$231.76	\$3,395,244	\$168,439	5%
155062	Pines Nursing Home	80%	12,789	\$274.99	\$3,516,804	\$235.68	\$3,014,063	-\$502,741	-14%	\$261.24	\$3,340,963	-\$175,840	-5%
202703	Pines of Sarasota	64%	43,496	\$273.54	\$11,897,770	\$218.26	\$9,493,363	-\$2,404,407	-20%	\$259.86	\$11,302,881	-\$594,888	-5%
043853	Plantation Bay Rehabilitation Center	68%	28,994	\$203.96	\$5,913,750	\$227.87	\$6,606,730	\$692,980	12%	\$214.61	\$6,222,447	\$308,698	5%
044975	Plantation Key Nursing Center	63%	11,154	\$247.52	\$2,760,883	\$237.00	\$2,643,542	-\$117,341	-4%	\$237.00	\$2,643,542	-\$117,341	-4%
226017	Plantation Nursing & Rehabilitation Center	83%	9,696	\$261.09	\$2,531,495	\$263.36	\$2,553,523	\$22,029	1%	\$263.36	\$2,553,523	\$22,029	1%
122232	Plaza West	16%	5,720	\$220.03	\$1,258,548	\$220.81	\$1,263,054	\$4,506	0%	\$220.81	\$1,263,054	\$4,506	0%
263923	Pompano Health and Rehabilitation Center	79%	31,630	\$213.79	\$6,762,020	\$236.34	\$7,475,486	\$713,467	11%	\$224.94	\$7,114,997	\$352,977	5%
308251	Ponce Plaza Nursing & Rehabilitation Center	74%	37,787	\$246.22	\$9,303,730	\$263.39	\$9,952,617	\$648,887	7%	\$259.07	\$9,789,385	\$485,655	5%
319325	Port Charlotte Rehabilitation Center	45%	18,872	\$241.89	\$4,565,033	\$211.73	\$3,995,737	-\$569,296	-12%	\$229.80	\$4,336,781	-\$228,252	-5%



				Estimated	Change in Me	dicaid Reim	bursement						
	Facility Information			Current Pa	yment Method	Ne	ew Method with no	Gain/Loss Cap		N	ew Method with Ga	in/Loss Cap	
Facility Mcaid ID	Facility Name	Mcaid Util.	Medicaid Annualized Days	Current Total Per Diem	Current Annual Payment	Proposed New Total Per Diem	Annual Proposed New Payment	Payment Change (\$)	Pymt Chng (%)	Proposed New Total Per Diem	Annual Adjusted New Payment	Payment Change (\$)	Pymt Chng (%)
263508	Port Orange Nursing and Rehab Center	42%	15,764	\$223.44	\$3,522,354	\$243.76	\$3,842,700	\$320,346	9%	\$235.11	\$3,706,221	\$183,867	5%
226009	Port St. Lucie Nursing and Restorative Care Center	69%	28,501	\$237.71	\$6,775,087	\$242.09	\$6,899,887	\$124,800	2%	\$242.09	\$6,899,887	\$124,800	2%
259331	Pruitthealth - Santa Rosa	67%	27,297	\$194.32	\$5,304,238	\$228.42	\$6,235,273	\$931,035	18%	\$204.46	\$5,581,120	\$276,881	5%
225274	Quality Health of Fernandina Beach	63%	24,808	\$220.41	\$5,467,842	\$213.29	\$5,291,206	-\$176,636	-3%	\$213.29	\$5,291,206	-\$176,636	-3%
225053	Quality Health of North Port	66%	24,846	\$250.12	\$6,214,437	\$234.24	\$5,819,863	-\$394,574	-6%	\$237.61	\$5,903,715	-\$310,722	-5%
225410	Quality Health of Orange County	65%	21,701	\$247.80	\$5,377,423	\$231.77	\$5,029,558	-\$347,865	-6%	\$235.41	\$5,108,552	-\$268,871	-5%
223239	Regents Park at Aventura	59%	36,897	\$243.05	\$8,967,949	\$252.77	\$9,326,341	\$358,392	4%	\$252.77	\$9,326,341	\$358,392	4%
204170	Regents Park Nursing & Rehabilitation Center	44%	25,307	\$265.20	\$6,711,487	\$251.28	\$6,359,039	-\$352,448	-5%	\$251.94	\$6,375,913	-\$335,574	-5%
269727	Regents Park of Jacksonville	63%	26,618	\$206.12	\$5,486,537	\$221.66	\$5,900,272	\$413,735	8%	\$216.88	\$5,772,934	\$286,397	5%
269697	Regents Park of Sunrise	67%	28,167	\$206.05	\$5,803,734	\$218.06	\$6,142,142	\$338,408	6%	\$216.80	\$6,106,689	\$302,955	5%
269719	Regents Park of Winter Park	55%	22,164	\$208.31	\$4,617,023	\$211.58	\$4,689,376	\$72,354	2%	\$211.58	\$4,689,376	\$72,354	2%
263869	Rehab & Healthcare Center of Cape Coral	63%	25,388	\$216.08	\$5,485,892	\$235.16	\$5,970,334	\$484,441	9%	\$227.36	\$5,772,256	\$286,364	5%
263940	Rehabilitation and Healthcare Center of Tampa	68%	37,856	\$218.86	\$8,285,104	\$206.71	\$7,825,340	-\$459,764	-6%	\$207.92	\$7,870,848	-\$414,255	-5%
104875	Rehabilitation Center at Park Place	82%	32,694	\$247.95	\$8,106,389	\$231.69	\$7,575,000	-\$531,389	-7%	\$235.55	\$7,701,070	-\$405,319	-5%
072054	Rehabilitation Center of St. Pete	91%	34,106	\$267.91	\$9,137,366	\$218.11	\$7,438,834	-\$1,698,532	-19%	\$254.52	\$8,680,497	-\$456,868	-5%
047787	Renaissance Health and Rehabilitation	82%	34,628	\$216.70	\$7,503,798	\$231.90	\$8,030,253	\$526,456	7%	\$228.01	\$7,895,496	\$391,698	5%
282464	Ridgecrest Nursing and Rehabilitation Center	51%	23,145	\$228.63	\$5,291,553	\$228.05	\$5,278,111	-\$13,442	0%	\$228.05	\$5,278,111	-\$13,442	0%
043846	Rio Pinar Health Care	70%	44,703	\$196.78	\$8,796,442	\$196.11	\$8,766,736	-\$29,706	0%	\$196.11	\$8,766,736	-\$29,706	0%
200859	River Garden Hebrew Home for the Aged	58%	36,315	\$260.32	\$9,453,452	\$265.11	\$9,627,459	\$174,007	2%	\$265.11	\$9,627,459	\$174,007	2%
044889	River Valley Rehabilitation Center	89%	40,352	\$195.66	\$7,895,446	\$197.66	\$7,975,992	\$80,546	1%	\$197.66	\$7,975,992	\$80,546	1%
005386	Riverchase Health and Rehabilitation Center	83%	34,056	\$235.16	\$8,008,701	\$242.65	\$8,263,844	\$255,144	3%	\$242.65	\$8,263,844	\$255,144	3%
046758	Riverside Care Center	86%	37,119	\$267.35	\$9,923,646	\$253.63	\$9,414,538	-\$509,108	-5%	\$253.98	\$9,427,464	-\$496,182	-5%
260673	Riverwood Center	87%	69,342	\$206.65	\$14,329,608	\$215.84	\$14,966,962	\$637,355	4%	\$215.84	\$14,966,962	\$637,355	4%
122344	Riverwood Health & Rehabilitation Center	68%	27,601	\$235.74	\$6,506,781	\$212.76	\$5,872,447	-\$634,335	-10%	\$223.96	\$6,181,442	-\$325,339	-5%
048807	Riviera Health Resort	46%	35,372	\$264.60	\$9,359,523	\$255.68	\$9,043,897	-\$315,627	-3%	\$255.68	\$9,043,897	-\$315,627	-3%
263451	Riviera Palms Rehabilitation Center	64%	23,025	\$219.14	\$5,045,809	\$242.64	\$5,586,812	\$541,003	11%	\$230.58	\$5,309,200	\$263,391	5%
227587	Rockledge Health and Rehabilitation Center	42%	15,324	\$238.88	\$3,660,571	\$230.93	\$3,538,841	-\$121,730	-3%	\$230.93	\$3,538,841	-\$121,730	-3%
059869	Rosewood Health and Rehabilitation Center	74%	31,056	\$206.33	\$6,407,701	\$199.23	\$6,187,133	-\$220,568	-3%	\$199.23	\$6,187,133	-\$220,568	-3%
017223	Rosewood Healthcare and Rehabilitation Center	79%	42,114	\$239.34	\$10,079,683	\$245.58	\$10,342,477	\$262,794	3%	\$245.58	\$10,342,477	\$262,794	3%
324213	Royal Care of Avon Park	57%	17,072	\$198.58	\$3,390,173	\$200.45	\$3,422,148	\$31,975	1%	\$200.45	\$3,422,148	\$31,975	1%
228575	Royal Oak Nursing Center	70%	27,226	\$206.57	\$5,624,099	\$228.12	\$6,210,729	\$586,630	10%	\$217.35	\$5,917,677	\$293,578	5%
263583	Royal Oaks Nursing and Rehab Center	43%	16,419	\$204.79	\$3,362,390	\$236.14	\$3,877,136	\$514,747	15%	\$215.48	\$3,537,906	\$175,517	5%
006489	Royal Palm Beach Health and Rehabilitation Center	66%	28,045	\$245.72	\$6,891,116	\$243.14	\$6,818,944	-\$72,173	-1%	\$243.14	\$6,818,944	-\$72,173	-1%
260452	Ruleme Center	67%	29,898	\$231.53	\$6,922,158	\$229.96	\$6,875,197	-\$46,962	-1%	\$229.96	\$6,875,197	-\$46,962	-1%
210951	Sabal Palms Health Care Center	68%	42,218	\$207.82	\$8,773,665	\$235.78	\$9,953,966	\$1,180,302	13%	\$218.67	\$9,231,650	\$457,985	5%
006483	Salerno Bay Health and Rehabilitation Center	65%	26,222	\$243.76	\$6,391,901	\$244.26	\$6,405,084	\$13,183	0%	\$244.26	\$6,405,084	\$13,183	0%
202606	Samantha Wilson Care Center	40%	16,698	\$242.40	\$4,047,639	\$231.87	\$3,871,749	-\$175,889	-4%	\$231.87	\$3,871,749	-\$175,889	-4%
061102	San Jose Health and Rehabilitation Center	73%	30,904	\$191.47	\$5,917,087	\$203.82	\$6,298,740	\$381,653	6%	\$201.46	\$6,225,959	\$308,872	5%
312045	SandalWood Nursing Center	61%	17,217	\$198.61	\$3,419,437	\$221.44	\$3,812,615	\$393,178	11%	\$208.98	\$3,597,932	\$178,495	5%
220621	Sandy Ridge Health and Rehabilitation	77%	15,937	\$235.44	\$3,752,247	\$216.70	\$3,453,573	-\$298,675	-8%	\$223.67	\$3,564,635	-\$187,612	-5%
220612	Santa Rosa Health & Rehabilitation Center	79%	27,867	\$222.58	\$6,202,562	\$238.35	\$6,642,164	\$439,603	7%	\$234.20	\$6,526,335	\$323,774	5%
263982	Sarasota Health and Rehabilitation Center	85%	38,384	\$212.66	\$8,162,649	\$209.72	\$8,049,875	-\$112,774	-1%	\$209.72	\$8,049,875	-\$112,774	-1%



Estimated Change in Medicaid Reimbursement														
Facility Information					yment Method		ew Method with no	Gain/Loss Cap		New Method with Gain/Loss Cap				
Facility			Medicaid	Current	Current	Proposed	Annual	Payment	Pymt	Proposed	Annual	Payment	Pymt	
Mcaid		Mcaid	Annualized	Total Per	Annual	New Total	Proposed New	Change	Chng	New Total	Adjusted New	Change	Chng	
ID	Facility Name	Util.	Days	Diem	Payment	Per Diem	Payment	(\$)	(%)	Per Diem	Payment	(\$)	(%)	
260355	Sarasota Memorial Nursing and Rehabilitation Center	37%	13,624	\$227.30	\$3,096,715	\$245.64	\$3,346,653	\$249,939	8%	\$239.16	\$3,258,363	\$161,649	5%	
085643	Sarasota Point Rehabilitation Center	59%	7,260	\$274.13	\$1,990,188	\$225.58	\$1,637,679	-\$352,509	-18%	\$260.42	\$1,890,679	-\$99,509	-5%	
312550	Savannah Cove	18%	2,111	\$235.98	\$498,152	\$219.62	\$463,627	-\$34,525	-7%	\$224.18	\$473,244	-\$24,908	-5%	
312312	Savannah Cove	41%	3,556	\$231.25	\$822,323	\$216.53	\$769,989	-\$52,334	-6%	\$219.69	\$781,206	-\$41,116	-5%	
059874	Sea Breeze Health Care	72%	28,800	\$187.96	\$5,413,199	\$185.68	\$5,347,603	-\$65,596	-1%	\$185.68	\$5,347,603	-\$65,596	-1%	
005543	Seaside Health and Rehabilitation Center	86%	42,038	\$241.55	\$10,154,119	\$233.50	\$9,815,978	-\$338,141	-3%	\$233.50	\$9,815,978	-\$338,141	-3%	
061107	SeaView Nursing and Rehabilitation Center	83%	23,971	\$205.74	\$4,931,731	\$224.00	\$5,369,469	\$437,738	9%	\$216.48	\$5,189,168	\$257,436	5%	
122236	Seminole Pavilion Rehabilitation & Nursing Services	36%	14,594	\$220.18	\$3,213,284	\$220.63	\$3,219,932	\$6,648	0%	\$220.63	\$3,219,932	\$6,648	0%	
033175	Seven Hills Health & Rehab Center	71%	37,878	\$230.37	\$8,726,034	\$232.83	\$8,819,069	\$93,035	1%	\$232.83	\$8,819,069	\$93,035	1%	
229202	Shell Point Nursing Pavilion	10%	6,719	\$240.50	\$1,615,936	\$233.30	\$1,567,521	-\$48,416	-3%	\$233.30	\$1,567,521	-\$48,416	-3%	
059852	Shoal Creek Rehabilitation Center	69%	28,433	\$187.72	\$5,337,437	\$207.63	\$5,903,673	\$566,235	11%	\$197.52	\$5,616,051	\$278,614	5%	
324132	Shore Acres Rehabilitation & Health Center	80%	29,115	\$251.08	\$7,310,089	\$230.57	\$6,713,147	-\$596,942	-8%	\$238.52	\$6,944,585	-\$365,504	-5%	
324426	Signature Healthcare at the Courtyard	73%	30,419	\$210.63	\$6,407,011	\$218.89	\$6,658,336	\$251,325	4%	\$218.89	\$6,658,336	\$251,325	4%	
324400	Signature HealthCARE Center of Waterford	68%	50,954	\$198.16	\$10,096,917	\$222.63	\$11,344,114	\$1,247,196	12%	\$208.50	\$10,623,976	\$527,059	5%	
324418	Signature Healthcare of Brookwood Gardens	67%	30,764	\$218.32	\$6,716,513	\$213.98	\$6,582,774	-\$133,740	-2%	\$213.98	\$6,582,774	-\$133,740	-2%	
324370	Signature HealthCARE of College Park	70%	20,506	\$215.11	\$4,411,140	\$202.34	\$4,149,236	-\$261,904	-6%	\$204.36	\$4,190,583	-\$220,557	-5%	
324388	Signature HealthCARE of Gainesville	58%	22,998	\$197.98	\$4,553,098	\$193.31	\$4,445,815	-\$107,283	-2%	\$193.31	\$4,445,815	-\$107,283	-2%	
019284	Signature HealthCARE of Jacksonville	79%	39,825	\$202.03	\$8,045,681	\$215.03	\$8,563,645	\$517,964	6%	\$212.57	\$8,465,666	\$419,985	5%	
324396	Signature Healthcare of North Florida	75%	40,807	\$198.78	\$8,111,664	\$211.30	\$8,622,673	\$511,009	6%	\$209.16	\$8,535,093	\$423,429	5%	
324434	Signature HealthCARE of Orange Park	62%	21,620	\$211.04	\$4,562,581	\$206.64	\$4,467,631	-\$94,950	-2%	\$206.64	\$4,467,631	-\$94,950	-2%	
324442	Signature HealthCARE of Ormond	39%	7,557	\$204.87	\$1,548,198	\$215.33	\$1,627,215	\$79,017	5%	\$215.33	\$1,627,215	\$79,017	5%	
001136	Signature HealthCARE of Palm Beach	49%	18,602	\$232.56	\$4,326,148	\$226.04	\$4,204,834	-\$121,314	-3%	\$226.04	\$4,204,834	-\$121,314	-3%	
324469	Signature Healthcare of Pinellas Park	73%	28,075	\$216.39	\$6,075,214	\$200.15	\$5,619,074	-\$456,140	-8%	\$205.57	\$5,771,453	-\$303,761	-5%	
324477	Signature HealthCARE of Port Charlotte	73%	36,797	\$222.76	\$8,196,874	\$215.92	\$7,945,381	-\$251,493	-3%	\$215.92	\$7,945,381	-\$251,493	-3%	
017230	Silvercrest Health and Rehabilitation Center	71%	14,892	\$244.62	\$3,642,935	\$242.16	\$3,606,195	-\$36,740	-1%	\$242.16	\$3,606,195	-\$36,740	-1%	
260771	Sinai Plaza Nursing & Rehab Center	68%	34,385	\$267.90	\$9,211,759	\$256.27	\$8,812,008	-\$399,751	-4%	\$256.27	\$8,812,008	-\$399,751	-4%	
162218	Solaris Healthcare Bayonet Point	55%	32,721	\$251.82	\$8,239,949	\$230.53	\$7,543,333	-\$696,616	-8%	\$239.23	\$7,827,952	-\$411,997	-5%	
162219	Solaris Healthcare Charlotte Harbor	50%	30.842	\$257.91	\$7,954,349	\$228.16	\$7,036,954	-\$917,396	-12%	\$245.01	\$7,556,632	-\$397,717	-5%	
162220	Solaris Healthcare Coconut Creek	44%	18,818	\$260.78	\$4,907,302	\$259.20	\$4,877,588	-\$29,713	-1%	\$259.20	\$4,877,588	-\$29,713	-1%	
162221	Solaris Healthcare Daytona	32%	7,910	\$249.14	\$1,970,663	\$216.24	\$1,710,444	-\$260,219	-13%	\$236.68	\$1,872,130	-\$98,533	-5%	
162222	Solaris Healthcare Imperial	45%	16,563	\$253.35	\$4,196,173	\$229.90	\$3,807,817	-\$388,356	-9%	\$240.68	\$3,986,364	-\$209,809	-5%	
162224	Solaris Healthcare Lake City	52%	21,438	\$245.76	\$5,268,626	\$226.82	\$4,862,634	-\$405,993	-8%	\$233.47	\$5,005,195	-\$263,431	-5%	
162225	Solaris Healthcare Merritt Island	46%	28,247	\$251.88	\$7,114,877	\$233.19	\$6,586,860	-\$528,017	-7%	\$239.29	\$6,759,133	-\$355,744	-5%	
162228	Solaris Healthcare Parkway	49%	29,833	\$256.07	\$7,639,232	\$232.81	\$6,945,470	-\$693,762	-9%	\$243.26	\$7,257,270	-\$381,962	-5%	
162230	Solaris Healthcare Pensacola	53%	31,617	\$247.51	\$7,825,413	\$226.83	\$7,171,806	-\$653,607	-8%	\$235.13	\$7,434,142	-\$391,271	-5%	
162231	Solaris Healthcare Plant City	65%	40,571	\$250.52	\$10,163,693	\$235.16	\$9,540,811	-\$622,882	-6%	\$237.99	\$9,655,508	-\$508,185	-5%	
162232	Solaris Healthcare Windermere	38%	15,570	\$248.12	\$3,863,235	\$234.32	\$3,648,294	-\$214,941	-6%	\$235.71	\$3,670,073	-\$193,162	-5%	
162226	Solaris Senior Living North Naples	39%	7,494	\$288.54	\$2,162,326	\$219.37	\$1,643,923	-\$518,403	-24%	\$274.11	\$2,054,209	-\$108,116	-5%	
072048	South Campus Rehabilitation & Nursing Center	71%	26,431	\$245.06	\$6,477,162	\$213.95	\$5,654,847	-\$822,315	-13%	\$232.81	\$6,153,304	-\$323,858	-5%	
054789	South Dade Nursing and Rehabilitation Center	71%	46,646	\$204.85	\$9,555,414	\$206.68	\$9,640,726	\$85,312	1%	\$206.68	\$9,640,726	\$85,312	1%	
226360	South Heritage Health & Rehabilitation Center	92%	16,163	\$233.81	\$3,779,053	\$243.13	\$3,929,765	\$150,712	4%	\$243.13	\$3,929,765	\$150,712	4%	
311308	South Pointe Plaza Rehabilitation and Nursing Center	84%	55,016	\$198.66	\$10,929,292	\$226.39	\$12,454,840	\$1,525,549	14%	\$209.03	\$11,499,801	\$570,509	5%	



	Estimated Change in Medicaid Reimbursement													
Facility Information					ayment Method		ew Method with no	Gain/Loss Cap		New Method with Gain/Loss Cap				
Facility			Medicaid	Current	Current	Proposed	Annual	Payment	Pymt	Proposed	Annual	Payment	Pymt	
Mcaid		Mcaid	Annualized	Total Per	Annual	New Total	Proposed New	Change	Chng	New Total	Adjusted New	Change	Chng	
ID	Facility Name	Util.	Days	Diem	Payment	Per Diem	Payment	(\$)	(%)	Per Diem	Payment	(\$)	(%)	
224910	South Tampa Health and Rehabilitation Center	75%	40,494	\$214.41	\$8,682,225	\$217.16	\$8,793,642	\$111,416	1%	\$217.16	\$8,793,642	\$111,416	1%	
324566	Southern Oaks Rehabilitation and Nursing Center	86%	58,916	\$211.01	\$12,431,954	\$198.70	\$11,706,775	-\$725,178	-6%	\$200.46	\$11,810,356	-\$621,598	-5%	
019282	Southern Pines Healthcare Center	64%	22,338	\$195.71	\$4,371,803	\$217.02	\$4,847,893	\$476,090	11%	\$205.93	\$4,600,012	\$228,208	5%	
017236	Specialty Health and Rehabilitation Center	62%	25,675	\$246.05	\$6,317,329	\$243.15	\$6,242,839	-\$74,490	-1%	\$243.15	\$6,242,839	-\$74,490	-1%	
059877	Spring Hill Health and Rehabilitation Center	43%	18,252	\$197.70	\$3,608,433	\$218.22	\$3,982,948	\$374,514	10%	\$208.02	\$3,796,793	\$188,360	5%	
264571	Spring Lake Rehabilitation Center	27%	11,174	\$244.41	\$2,731,060	\$230.43	\$2,574,876	-\$156,184	-6%	\$232.19	\$2,594,507	-\$136,553	-5%	
267724	Springs at Boca Ciega Bay	43%	16,252	\$242.42	\$3,939,842	\$232.17	\$3,773,186	-\$166,656	-4%	\$232.17	\$3,773,186	-\$166,656	-4%	
268780	Springs at Lake Pointe Woods	58%	22,749	\$245.29	\$5,580,198	\$236.02	\$5,369,108	-\$211,089	-4%	\$236.02	\$5,369,108	-\$211,089	-4%	
225631	Springtree Rehabilitation & Health Care Center	43%	15,618	\$229.83	\$3,589,463	\$236.95	\$3,700,627	\$111,164	3%	\$236.95	\$3,700,627	\$111,164	3%	
253014	Springwood Center	79%	32,102	\$217.90	\$6,995,035	\$214.51	\$6,886,334	-\$108,701	-2%	\$214.51	\$6,886,334	-\$108,701	-2%	
217735	St Augustine Health and Rehabilitation Center	68%	27,285	\$228.29	\$6,228,824	\$223.43	\$6,096,186	-\$132,638	-2%	\$223.43	\$6,096,186	-\$132,638	-2%	
310841	St Mark Village	54%	12,927	\$245.57	\$3,174,543	\$229.58	\$2,967,795	-\$206,748	-7%	\$233.30	\$3,015,816	-\$158,727	-5%	
323799	St. Andrew's Bay Skilled Nursing and Rehabilitation	58%	22,991	\$210.80	\$4,846,425	\$222.69	\$5,119,791	\$273,367	6%	\$221.80	\$5,099,408	\$252,983	5%	
209473	St. Anne's Nursing Center	68%	48,703	\$255.03	\$12,420,692	\$255.81	\$12,458,701	\$38,009	0%	\$255.81	\$12,458,701	\$38,009	0%	
111543	St. Catherine Laboure Manor, Inc.	58%	49,302	\$237.97	\$11,732,377	\$214.06	\$10,553,470	-\$1,178,908	-10%	\$226.07	\$11,145,758	-\$586,619	-5%	
015613	St. James Health and Rehabilitation Center	86%	22,212	\$207.21	\$4,602,466	\$243.95	\$5,418,725	\$816,258	18%	\$218.02	\$4,842,715	\$240,249	5%	
205800	St. John's Nursing Center	71%	44,870	\$256.81	\$11,523,258	\$255.95	\$11,484,371	-\$38,887	0%	\$255.95	\$11,484,371	-\$38,887	0%	
211010	Stratford Court of Boca Raton	34%	5,592	\$260.79	\$1,458,357	\$227.87	\$1,274,248	-\$184,109	-13%	\$247.75	\$1,385,439	-\$72,918	-5%	
059400	Stratford Court of Palm Harbor	27%	5,191	\$255.31	\$1,325,325	\$232.74	\$1,208,157	-\$117,167	-9%	\$242.55	\$1,259,058	-\$66,266	-5%	
225991	Stuart Nursing & Restorative Care Center	57%	16,438	\$247.09	\$4,061,657	\$243.35	\$4,000,153	-\$61,504	-2%	\$243.35	\$4,000,153	-\$61,504	-2%	
059783	Summer Brook Health Care Center	85%	35,714	\$189.00	\$6,750,121	\$214.14	\$7,647,798	\$897,677	13%	\$198.87	\$7,102,477	\$352,356	5%	
209856	Sun Terrace Health Care Center	23%	8,316	\$239.69	\$1,993,294	\$231.11	\$1,921,902	-\$71,393	-4%	\$231.11	\$1,921,902	-\$71,393	-4%	
320412	Sunbelt Health & Rehab Center - Apopka, Inc.	52%	21,864	\$218.39	\$4,774,778	\$231.91	\$5,070,407	\$295,629	6%	\$229.79	\$5,024,022	\$249,243	5%	
202711	Sunnyside Nursing Home	47%	9,204	\$290.01	\$2,669,281	\$253.68	\$2,334,836	-\$334,445	-13%	\$275.51	\$2,535,817	-\$133,464	-5%	
207497	Sunrise Health and Rehabilitation Center	59%	39,020	\$248.39	\$9,691,987	\$259.16	\$10,112,437	\$420,450	4%	\$259.16	\$10,112,437	\$420,450	4%	
032551	Sunset Lake Health and Rehab Center	42%	17,259	\$257.76	\$4,448,682	\$230.63	\$3,980,458	-\$468,223	-11%	\$244.87	\$4,226,247	-\$222,434	-5%	
253430	Sunset Point	60%	24,692	\$198.46	\$4,900,261	\$201.52	\$4,975,863	\$75,602	2%	\$201.52	\$4,975,863	\$75,602	2%	
001135	Surrey Place Care Center	56%	11,144	\$230.75	\$2,571,455	\$225.12	\$2,508,755	-\$62,700	-2%	\$225.12	\$2,508,755	-\$62,700	-2%	
256277	Surrey Place Healthcare and Rehabilitation	31%	6,767	\$264.58	\$1,790,425	\$248.62	\$1,682,419	-\$108,006	-6%	\$251.35	\$1,700,904	-\$89,521	-5%	
268062	Susanna Wesley Health Center	63%	25,316	\$265.58	\$6,723,512	\$260.47	\$6,594,122	-\$129,389	-2%	\$260.47	\$6,594,122	-\$129,389	-2%	
005387	Suwannee Health and Rehabilitation Center	77%	46,960	\$246.03	\$11,553,334	\$216.90	\$10,185,746	-\$1,367,588	-12%	\$233.72	\$10,975,667	-\$577,667	-5%	
206300	Suwannee Valley Nursing Center	87%	18,848	\$251.85	\$4,746,940	\$239.77	\$4,519,147	-\$227,793	-5%	\$239.77	\$4,519,147	-\$227,793	-5%	
122248	Sylvan Health Center	20%	4,086	\$247.79	\$1,012,451	\$234.17	\$956,807	-\$55,644	-5%	\$235.40	\$961,828	-\$50,623	-5%	
213098	Tamarac Rehabilitation and Health Center	55%	19,107	\$240.43	\$4,593,846	\$253.87	\$4,850,695	\$256,849	6%	\$252.98	\$4,833,645	\$239,799	5%	
080079	Tarpon Bayou Center	85%	31,854	\$213.95	\$6,815,147	\$211.69	\$6,743,315	-\$71,832	-1%	\$211.69	\$6,743,315	-\$71,832	-1%	
323781	Tarpon Point Nursing and Rehabilitation Center	81%	26,959	\$245.29	\$6,612,862	\$210.85	\$5,684,415	-\$928,447	-14%	\$233.03	\$6,282,219	-\$330,643	-5%	
207446	Taylor Care Center	62%	21,731	\$230.28	\$5,004,317	\$226.84	\$4,929,541	-\$74,776	-1%	\$226.84	\$4,929,541	-\$74,776	-1%	
261611	Terra Vista Rehab and Health Center	76%	28,527	\$209.06	\$5,963,909	\$205.92	\$5,874,371	-\$89,537	-2%	\$205.92	\$5,874,371	-\$89,537	-2%	
122346	Terrace Health & Rehabilitation Center	48%	20,361	\$227.57	\$4,633,563	\$234.12	\$4,766,817	\$133,254	3%	\$234.12	\$4,766,817	\$133,254	3%	
325031	Terraces of Lake Worth Rehab and Health Center	84%	27,580	\$268.05	\$7,392,734	\$238.74	\$6,584,415	-\$808,318	-11%	\$254.64	\$7,023,097	-\$369,637	-5%	
309800	The Allegro at College Harbor	39%	5,340	\$272.76	\$1,456,558	\$233.35	\$1,246,073	-\$210,485	-14%	\$259.13	\$1,383,730	-\$72,828	-5%	
324485	The Bridge at Bay St. Joe	75%	27,918	\$205.35	\$5,732,939	\$208.95	\$5,833,529	\$100,590	2%	\$208.95	\$5,833,529	\$100,590	2%	
072320	The Club Health and Rehab Center at the Villages	0%	1	\$243.68	\$244	\$221.44	\$221	-\$22	-9%	\$231.49	\$231	-\$12	-5%	
318795	The Court at Palm Aire	36%	7,264	\$250.19	\$1,817,390	\$254.17	\$1,846,317	\$28,927	2%	\$254.17	\$1,846,317	\$28,927	2%	



Estimated Change in Medicaid Reimbursement													
	Facility Information		yment Method		ew Method with no	Gain/Loss Cap		Ne	ew Method with Gai	in/Loss Cap			
Facility Mcaid ID	Facility Name	Mcaid Util.	Medicaid Annualized Days	Current Total Per Diem	Current Annual Payment	Proposed New Total Per Diem	Annual Proposed New Payment	Payment Change (\$)	Pymt Chng (%)	Proposed New Total Per Diem	Annual Adjusted New Payment	Payment Change (\$)	Pymt Chng (%)
102592	The Crossings	76%	14,660	\$308.35	\$4,520,399	\$241.62	\$3,542,215	-\$978,185	-22%	\$292.93	\$4,294,379	-\$226,020	-5%
102586	The Crossroads	57%	10,539	\$279.36	\$2,944,199	\$241.36	\$2,543,702	-\$400,497	-14%	\$265.39	\$2,796,989	-\$147,210	-5%
146222	The Floridean Nursing and Rehabilitation Center	37%	11,870	\$257.37	\$3,055,037	\$253.37	\$3,007,488	-\$47,549	-2%	\$253.37	\$3,007,488	-\$47,549	-2%
212393	The Fountains Nursing Home Inc	51%	6,485	\$247.64	\$1,605,928	\$237.79	\$1,542,036	-\$63,892	-4%	\$237.79	\$1,542,036	-\$63,892	-4%
228320	The Gardens Court	44%	14,558	\$265.58	\$3,866,333	\$256.27	\$3,730,785	-\$135,548	-4%	\$256.27	\$3,730,785	-\$135,548	-4%
122342	The Gardens Health & Rehabilitation Center	55%	19,672	\$236.79	\$4,658,182	\$233.36	\$4,393,853	-\$264,329	-6%	\$224.95	\$4,425,273	-\$232,909	-5%
080062	The Groves Center	74%	28,778	\$200.03	\$5,756,417	\$200.04	\$5,756,894	\$476	0%	\$200.04	\$5,756,894	\$476	0%
043863	The Health and Rehabilitation Centre at Dolphins View	54%	9,774	\$224.65	\$2,195,773	\$217.79	\$2,128,685	-\$67,089	-3%	\$217.79	\$2,128,685	-\$67,089	-3%
022994	The Home Association, Inc.	70%	22,072	\$211.83	\$4,675,618	\$232.04	\$5,121,684	\$446,066	10%	\$222.89	\$4,919,685	\$244,067	5%
227773	The Lodge Health and Rehabilitation Center	51%	17,404	\$254.33	\$4,426,359	\$240.42	\$4,184,309	-\$242,050	-5%	\$241.61	\$4,205,041	-\$221,318	-5%
135581	The Manor at Blue Water Bay	41%	16,768	\$239.46	\$4,015,304	\$236.31	\$3,962,426	-\$52,878	-1%	\$236.31	\$3,962,426	-\$52,878	-1%
203599	The Manor at Carpenter's	18%	4,224	\$253.72	\$1,071,733	\$224.24	\$947,184	-\$124,549	-12%	\$241.04	\$1,018,146	-\$53,587	-5%
122250	The Nursing Center at Freedom Village	35%	12,462	\$234.68	\$2,924,632	\$216.00	\$2,691,792	-\$232,840	-8%	\$222.95	\$2,778,400	-\$146,232	-5%
267902	The Nursing Center at Mercy	13%	5,532	\$198.02	\$1,095,457	\$219.67	\$1,215,236	\$119,779	11%	\$208.36	\$1,152,640	\$57,183	5%
259462	The Nursing Center at University Village	50%	19,241	\$203.94	\$3,923,921	\$194.55	\$3,743,260	-\$180,661	-5%	\$194.55	\$3,743,260	-\$180,661	-5%
101391	The Oaks of Clearwater	70%	13,248	\$204.71	\$2,711,933	\$203.42	\$2,694,964	-\$16,969	-1%	\$203.42	\$2,694,964	-\$16,969	-1%
203327	The Palace at Kendall Nursing and Rehab Center	49%	31,086	\$264.68	\$8,227,821	\$264.87	\$8,233,884	\$6,064	0%	\$264.87	\$8,233,884	\$6,064	0%
252671	The Palms of Sebring	49%	17,970	\$207.81	\$3,734,432	\$237.03	\$4,259,382	\$524,950	14%	\$218.66	\$3,929,369	\$194,937	5%
043847	The Palms Rehabilitation and Healthcare Center	66%	27,664	\$204.79	\$5,665,225	\$227.53	\$6,294,459	\$629,234	11%	\$215.48	\$5,960,950	\$295,725	5%
321532	The Palms Rehabilitation and Nursing Center	71%	29,232	\$252.69	\$7,386,690	\$238.18	\$6,962,595	-\$424,095	-6%	\$240.06	\$7,017,355	-\$369,334	-5%
018066	The Park Summit at Coral Springs	35%	4,075	\$236.11	\$962,156	\$232.07	\$945,677	-\$16,479	-2%	\$232.07	\$945,677	-\$16,479	-2%
043850	The Parks Healthcare and Rehabilitation Center	70%	29,371	\$211.96	\$6,225,401	\$214.34	\$6,295,416	\$70,016	1%	\$214.34	\$6,295,416	\$70,016	1%
129312	The Pavilion for Health Care	12%	1,594	\$207.05	\$330,033	\$226.18	\$360,529	\$30,496	9%	\$217.86	\$347,261	\$17,228	5%
207799	The Ponce Therapy Care Center	72%	27,256	\$248.11	\$6,762,350	\$220.30	\$6,004,615	-\$757,735	-11%	\$235.70	\$6,424,232	-\$338,117	-5%
263915	The Rehabilitation Center of the Palm Beaches	69%	23,944	\$227.11	\$5,437,833	\$235.66	\$5,642,709	\$204,876	4%	\$235.66	\$5,642,709	\$204,876	4%
005380	The Rehabilitation Center of Winter Park	68%	34,639	\$246.71	\$8,545,691	\$231.09	\$8,004,753	-\$540,937	-6%	\$234.37	\$8,118,406	-\$427,285	-5%
202533	The Rohr Home	79%	15,944	\$259.14	\$4,131,771	\$245.21	\$3,909,598	-\$222,174	-5%	\$246.19	\$3,925,183	-\$206,589	-5%
148040	The Terrace at Hobe Sound	61%	25,010	\$225.99	\$5,652,062	\$214.54	\$5,365,634	-\$286,429	-5%	\$214.69	\$5,369,459	-\$282,603	-5%
108507	The Terrace of Jacksonville	55%	33,811	\$227.79	\$7,701,760	\$233.53	\$7,895,890	\$194,130	3%	\$233.53	\$7,895,890	\$194,130	3%
100487	The Terrace of Kissimmee	62%	26,612	\$205.90	\$5,479,451	\$202.26	\$5,382,465	-\$96,986	-2%	\$202.26	\$5,382,465	-\$96,986	-2%
102419	The Terrace of St. Cloud	66%	28,469	\$203.68	\$5,798,614	\$203.68	\$5,798,623	\$9	0%	\$203.68	\$5,798,623	\$9	0%
205460	The Village on High Ridge	48%	7,526	\$222.88	\$1,677,396	\$227.84	\$1,714,729	\$37,333	2%	\$227.84	\$1,714,729	\$37,333	2%
158851	The Villages Rehabilitation and Nursing Center	25%	10,268	\$232.53	\$2,387,583	\$223.06	\$2,290,426	-\$97,157	-4%	\$223.06	\$2,290,426	-\$97,157	-4%
206610	The Waterford	9%	1,827	\$285.05	\$520,792	\$224.73	\$410,576	-\$110,216	-21%	\$270.80	\$494,753	-\$26,040	-5%
260568	Tierra Pines Center	78%	33,844	\$219.36	\$7,424,165	\$232.16	\$7,857,225	\$433,059	6%	\$230.82	\$7,811,707	\$387,541	5%
263532	Tiffany Hall Nursing and Rehab Center	56%	21,021	\$206.19	\$4,334,255	\$235.84	\$4,957,631	\$623,376	14%	\$216.95	\$4,560,503	\$226,248	5%
203335	TimberRidge Nursing & Rehab Center	49%	27,852	\$239.78	\$6,678,461	\$222.98	\$6,210,403	-\$468,058	-7%	\$227.79	\$6,344,538	-\$333,923	-5%
263974	Titusville Rehabilitation and Nursing Center	82%	38,347	\$214.02	\$8,207,105	\$213.60	\$8,190,771	-\$16,334	0%	\$213.60	\$8,190,771	-\$16,334	0%
213934	TMH Skilled Nursing Facility	3%	448	\$231.96	\$103,916	\$216.30	\$96,902	-\$7,014	-7%	\$220.36	\$98,720	-\$5,196	-5%
226602	Treasure Isle Care Center	88%	50,098	\$218.62	\$10,952,300	\$247.02	\$12,375,403	\$1,423,104	13%	\$230.03	\$11,524,010	\$571,710	5%
204625	Tri-County Nursing Home	66%	18,366	\$218.71	\$4,016,885	\$207.87	\$3,817,692	-\$199,193	-5%	\$207.87	\$3,817,692	-\$199,193	-5%
101961	Trinity Regional Rehab Center	51%	21,281	\$214.42	\$4,563,130	\$242.60	\$5,162,821	\$599,691	13%	\$225.62	\$4,801,325	\$238,195	5%
263591	Tuskawilla Nursing and Rehab Center	34%	10,286	\$218.59	\$2,248,387	\$247.02	\$2,540,876	\$292,489	13%	\$230.00	\$2,365,753	\$117,366	5%

154



	Estimated Change in Medicaid Reimbursement												
Facility Information					ayment Method		ew Method with no	Gain/Loss Cap		New Method with Gain/Loss Cap			
Facility Mcaid		Mcaid	Medicaid Annualized	Current Total Per	Current Annual	Proposed New Total	Annual Proposed New	Payment Change	Pymt Chng	Proposed New Total	Annual Adjusted New	Payment Change	Pymt Chng
ID	Facility Name	Util.	Days	Diem	Payment	Per Diem	Payment	(\$)	(%)	Per Diem	Payment	(\$)	(%)
032482	Unity Health and Rehab Center	87%	85,415	\$246.15	\$21,025,150	\$234.35	\$20,017,339	-\$1,007,811	-5%	\$234.35	\$20,017,339	- \$1,007,811	-5%
041686	University Center East	85%	14,757	\$225.16	\$3,322,741	\$211.53	\$3,121,579	-\$201,162	-6%	\$213.91	\$3,156,604	-\$166,137	-5%
041685	University Center West	90%	16,812	\$218.58	\$3,674,839	\$217.44	\$3,655,645	-\$19,194	-1%	\$217.44	\$3,655,645	-\$19,194	-1%
060993	University Hills Health and Rehabilitation	77%	32,742	\$195.00	\$6,384,530	\$209.62	\$6,863,395	\$478,865	8%	\$205.17	\$6,717,802	\$333,272	5%
082204	University Plaza Rehabilitation & Nursing Center	59%	21,188	\$240.61	\$5,098,026	\$267.53	\$5,668,495	\$570,469	11%	\$253.17	\$5,364,143	\$266,117	5%
265560	Valencia Hills Health and Rehabilitation Center	68%	60,663	\$198.59	\$12,047,302	\$218.00	\$13,224,760	\$1,177,458	10%	\$208.96	\$12,676,171	\$628,869	5%
213837	Vi at Lakeside Village	4%	761	\$280.14	\$213,187	\$218.48	\$166,263	-\$46,924	-22%	\$266.13	\$202,527	-\$10,659	-5%
046128	Victoria Nursing and Rehabilitation Center, Inc.	63%	58,683	\$251.57	\$14,762,882	\$251.71	\$14,770,873	\$7,991	0%	\$251.71	\$14,770,873	\$7,991	0%
110482	Viera Health & Rehabilitation Center	32%	12,194	\$241.44	\$2,944,072	\$252.74	\$3,081,966	\$137,894	5%	\$252.74	\$3,081,966	\$137,894	5%
122347	Villa Health & Rehabilitation Center	60%	24,439	\$231.94	\$5,668,453	\$215.92	\$5,276,853	-\$391,600	-7%	\$220.35	\$5,385,030	-\$283,423	-5%
203165	Villa Maria Nursing Center	73%	51,614	\$269.10	\$13,889,431	\$263.42	\$13,596,047	-\$293,384	-2%	\$263.42	\$13,596,047	-\$293,384	-2%
210463	Village on the Isle	26%	5,394	\$275.66	\$1,486,915	\$230.37	\$1,242,640	-\$244,275	-16%	\$261.88	\$1,412,569	-\$74,346	-5%
002400	Village Place Health and Rehab Center	49%	17,440	\$261.24	\$4,555,972	\$212.32	\$3,702,832	-\$853,140	-19%	\$248.18	\$4,328,173	-\$227,799	-5%
061109	Vista Manor	61%	25,443	\$195.83	\$4,982,429	\$211.58	\$5,383,315	\$400,886	8%	\$206.05	\$5,242,512	\$260,083	5%
211052	W Frank Wells Nursing Home	88%	16,553	\$269.44	\$4,460,077	\$238.52	\$3,948,288	-\$511,789	-11%	\$255.97	\$4,237,073	-\$223,004	-5%
324353	Washington Rehabilitation & Nursing Center	81%	47,395	\$197.93	\$9,380,727	\$216.53	\$10,262,424	\$881,698	9%	\$208.26	\$9,870,400	\$489,674	5%
213152	Waters Edge Extended Care	19%	2,107	\$286.02	\$602,645	\$227.87	\$480,116	-\$122,529	-20%	\$271.72	\$572,513	-\$30,132	-5%
005519	Wave Crest Health and Rehabilitation Center	74%	31,301	\$251.90	\$7,884,619	\$216.25	\$6,768,964	-\$1,115,655	-14%	\$239.30	\$7,490,388	-\$394,231	-5%
043867	Wedgewood Healthcare Center	45%	18,291	\$201.89	\$3,692,840	\$197.88	\$3,619,346	-\$73,493	-2%	\$197.88	\$3,619,346	-\$73,493	-2%
253464	West Bay of Tampa	65%	26,974	\$202.01	\$5,448,915	\$214.08	\$5,774,526	\$325,610	6%	\$212.55	\$5,733,349	\$284,433	5%
026536	West Broward Rehabilitation and Healthcare	66%	25,842	\$262.97	\$6,795,565	\$263.36	\$6,805,625	\$10,060	0%	\$263.36	\$6,805,625	\$10,060	0%
282359	West Gables Health Care Center	28%	11,573	\$240.44	\$2,782,608	\$244.98	\$2,835,138	\$52,531	2%	\$244.98	\$2,835,138	\$52,531	2%
218171	West Jacksonville Health and Rehabilitation Center	65%	25,155	\$203.79	\$5,126,388	\$205.45	\$5,168,207	\$41,819	1%	\$205.45	\$5,168,207	\$41,819	1%
217727	West Melbourne Health & Rehabilitation Center	69%	35,696	\$226.21	\$8,074,871	\$232.46	\$8,297,752	\$222,881	3%	\$232.46	\$8,297,752	\$222,881	3%
202011	Westchester Gardens Rehabilitation & Care Center	46%	18,571	\$235.06	\$4,365,284	\$236.84	\$4,398,309	\$33,025	1%	\$236.84	\$4,398,309	\$33,025	1%
209422	Westminster Communities of Bradenton Westminster Manor	55%	10,821	\$230.70	\$2,496,387	\$220.52	\$2,386,204	-\$110,184	-4%	\$220.52	\$2,386,204	-\$110,184	-4%
200409	Westminster Oaks	35%	14,735	\$213.88	\$3,151,516	\$215.97	\$3,182,280	\$30,764	1%	\$215.97	\$3,182,280	\$30,764	1%
212709	Westminster Suncoast	52%	21,668	\$207.06	\$4,486,580	\$205.82	\$4,459,773	-\$26,808	-1%	\$205.82	\$4,459,773	-\$26,808	-1%
208540	Westminster Towers	51%	20,926	\$216.97	\$4,540,256	\$215.92	\$4,518,298	-\$21,957	0%	\$215.92	\$4,518,298	-\$21,957	0%
203815	Westminster Towers and Shores of Bradenton	42%	17,896	\$211.21	\$3,779,734	\$220.51	\$3,946,334	\$166,600	4%	\$220.51	\$3,946,334	\$166,600	4%
212083	Westminster Woods on Julington Creek	17%	3,408	\$230.45	\$785,371	\$227.76	\$776,190	-\$9,181	-1%	\$227.76	\$776,190	-\$9,181	-1%
103475	Westwood Nursing & Rehabilitation Center	40%	7,349	\$252.90	\$1,858,580	\$232.21	\$1,706,487	-\$152,094	-8%	\$240.26	\$1,765,651	-\$92,929	-5%
266612	Whispering Oaks	85%	70,645	\$161.25	\$11,391,188	\$194.32	\$13,727,897	\$2,336,708	21%	\$169.66	\$11,985,808	\$594,620	5%
088601	Whitehall Boca Raton	19%	8,116	\$258.89	\$2,101,185	\$234.01	\$1,899,264	-\$201,920	-10%	\$245.95	\$1,996,125	-\$105,059	-5%
317586	Williston Rehabilitation and Nursing Center	73%	30,643	\$244.50	\$7,492,100	\$216.98	\$6,648,905	-\$843,195	-11%	\$232.27	\$7,117,495	-\$374,605	-5%
096150	Willowbrooke Court at Azalea Trace	15%	3,715	\$226.60	\$841,826	\$207.61	\$771,282	-\$70,544	-8%	\$215.27	\$799,735	-\$42,091	-5%
206521	Willowbrooke Court at St Andrews Estates	18%	4,620	\$296.42	\$1,369,458	\$198.64	\$917,728	-\$451,730	-33%	\$281.60	\$1,300,985	-\$68,473	-5%
227579	Wilton Manors Health & Rehabilitation Center	52%	24,384	\$258.63	\$6,306,363	\$247.62	\$6,037,943	-\$268,420	-4%	\$247.62	\$6,037,943	-\$268,420	-4%
006340	Windsor Health and Rehabilitation Center	66%	26,459	\$235.81	\$6,239,220	\$243.46	\$6,441,641	\$202,421	3%	\$243.46	\$6,441,641	\$202,421	3%
263991	Windsor Woods Rehab and Healthcare Center	60%	20,030	\$205.11	\$4,108,255	\$208.30	\$4,172,247	\$63,992	2%	\$208.30	\$4,172,247	\$63,992	2%
264008	Winkler Court	74%	31,125	\$219.16	\$6,821,408	\$239.67	\$7,459,789	\$638,381	9%	\$230.60	\$7,177,485	\$356,077	5%



	Estimated Change in Medicaid Reimbursement													
Facility Information					Current Payment Method		New Method with no Gain/Loss Cap				New Method with Gain/Loss Cap			
Facility Mcaid ID	Facility Name	Mcaid Util.	Medicaid Annualized Days	Current Total Per Diem	Current Annual Payment	Proposed New Total Per Diem	Annual Proposed New Payment	Payment Change (\$)	Pymt Chng (%)	Proposed New Total Per Diem	Annual Adjusted New Payment	Payment Change (\$)	Pymt Chng (%)	
228702	Winter Haven Health and Rehabilitation Center	77%	36,684	\$200.65	\$7,360,608	\$203.69	\$7,472,246	\$111,638	2%	\$203.69	\$7,472,246	\$111,638	2%	
324515	Winter Park Care and Rehabilitation Center	64%	20,812	\$203.87	\$4,242,947	\$199.56	\$4,153,320	-\$89,627	-2%	\$199.56	\$4,153,320	-\$89,627	-2%	
209848	Winter Park Towers	35%	13,071	\$210.47	\$2,751,012	\$216.25	\$2,826,567	\$75,556	3%	\$216.25	\$2,826,567	\$75,556	3%	
047788	Wood Lake Nursing and Rehabilitation Center	76%	31,267	\$217.56	\$6,802,355	\$223.62	\$6,991,932	\$189,577	3%	\$223.62	\$6,991,932	\$189,577	3%	
324141	Woodbridge Rehabilitation & Health Center	73%	30,456	\$254.39	\$7,747,711	\$214.24	\$6,524,804	-\$1,222,907	-16%	\$241.67	\$7,360,325	-\$387,386	-5%	
122341	Woodland Grove Health & Rehabilitation Center	61%	24,586	\$237.50	\$5,839,106	\$225.81	\$5,551,766	-\$287,340	-5%	\$225.81	\$5,551,766	-\$287,340	-5%	
008793	Woods of Manatee Springs	74%	27,809	\$229.28	\$6,376,073	\$233.80	\$6,501,742	\$125,669	2%	\$233.80	\$6,501,742	\$125,669	2%	
254762	Wrights Healthcare and Rehabilitation Center	47%	9,096	\$215.74	\$1,962,359	\$213.36	\$1,940,756	-\$21,603	-1%	\$213.36	\$1,940,756	-\$21,603	-1%	
212164	Ybor City Healthcare and Rehabilitation Center	75%	20,007	\$224.00	\$4,481,556	\$251.27	\$5,027,140	\$545,584	12%	\$235.69	\$4,715,493	\$233,937	5%	
320391	Zephyr Haven Health & Rehab Center, Inc.	76%	31,509	\$208.49	\$6,569,371	\$230.47	\$7,261,933	\$692,562	11%	\$219.38	\$6,912,292	\$342,921	5%	
320404	Zephyrhills Health & Rehab Center, Inc.	50%	17,794	\$228.56	\$4,066,945	\$237.97	\$4,234,410	\$167,465	4%	\$237.97	\$4,234,410	\$167,465	4%	
Total			15,947,376		\$3,587,534,662		\$3,587,527,268	-\$7,394	0%		\$3,587,488,887	-\$45,775	0%	